1921-1922.

### NEW ZEALAND.

## APPROPRIATIONS

CHARGEABLE ON

# THE CONSOLIDATED FUND

AND

### OTHER ACCOUNTS

FOR THE YEAR ENDING 31st MARCH, 1922.

# INDEX.

## 1921-1922.

Accident Insurance Account			226	Messengers, Office-keepers, and Charwomen		Page 92
Advances to Local Authorities Branch	••	• •	000	Meteorological Office	••	
Advances to Sottlers Branch	•	• •	000	Meteorological Office Mines Department	• •	
Advances to Settlers Branch Advances to Workers Branch Agriculture Audit Department Aviation	••	• •	231			87
Agriculture	••		168	Mines: Miscellaneous Services Ministers' Secretaries Museum		92
Audit Department	••	••	103	Museum	••	97
Aviation	••		137	Museum	••	J.
Aviation	• •	• •	101	3.61 11 61 1		
To 1 .			60	Miscellaneous Services— Customs		- 4 -
Bankruptcy		• •	69	Customs	• •	141
Bellamy's	••	• •	32	Education	• •	198
			1	Internal Affairs	• •	99
Carriage of Mails by Railway	• •		54	Justice	• •	70
Census and Statistics			95	Lands and Survey	• •	158
Child Welfare	• •		194	Marine	• •	150
Civil List	• •		6	Mines	• •	87
Clerk of Executive Council			92	Native	• •	61
Conveyance of Inland Mails			53	Police	• •	79
Conveyance of Ocean Mails	• •		52	Post and Telegraph	• •	54
Carriage of Mails by Railway Census and Statistics Child Welfare Civil List Clerk of Executive Council Conveyance of Inland Mails Conveyance of Ocean Mails Cook Islands Coroners Criminal Prosecutions Crown Law Office Customs Offices and Services Customs: Miscellaneous			80	Treasury	• •	35
Coroners			70			
Criminal Prosecutions			73	National Provident and Friendly Societies	De-	
Crown Law Office			77	partment		42
Customs Offices and Services	:.		139	Native Department		60
Customs: Miscellaneous			141	Native Trustee's Account		223
•				Native Land Settlement Account		211
Defence Departments Discharged Soldiers Settlement Account			123	Native Land Purchase Expenses	٠.	211
Discharged Soldiers Settlement Accou	int		214	Native Schools		188
Dominion Laboratory			98	Native: Miscellaneous Services		61
Tomainon Tanoratory	••	• •	30	partment and Friendry Societies of partment  Native Department  Native Trustee's Account  Native Land Settlement Account  Native Land Purchase Expenses  Native Schools  Native : Miscellaneous Services  Nauru and Ocean Islands Account  Naval Defence  New Zealand Military Forces and Cadets  Non-Effective Services—Defence		208
The state of the s			183	Naval Defence		123
Education Department: Head Office		• •		New Zealand Military Forces and Cadets		125
Education: Miscellaneous Services	••	• •	190	Non-Effective Services-Defence		137
Education of the Blind	••	• •		2102 22200110 2021100		
Education of the Blind Electoral Elementary Education External Affairs	••	••		Potent Office		68
Elementary Education	••	• •	185	Pareire Description	• •	82
External Affairs	••	• •	63	Pensions Department	••	7
				Dharial Instruction	• •	190
Fishing Industry Promotion Account	••	• •		Physical instruction	••	77
Friendly Societies Department	• •	• •	42	Police Wissell and Commission	• •	77
			ļ	Police: Miscellaneous Services	• •	79
General Assembly Library General Expenses, Legislative Depart	• •		31	Post and Telegraph working-expenses.	• •	49
General Expenses, Legislative Depart	ments		33	Post and Telegraph Salaries	• •	49
Geological Survey Branch of the M	Iines Depa	rt-		Patent Office Pensions Department Permanent Charges Physical Instruction Police: Police: Miscellaneous Services Post and Telegraph working-expenses. Post and Telegraph: Miscellaneous Services Printing and Stationery	• •	54
ment	• •		86	Printing and Stationery	• •	
Government Accident Insurance Acco	unt		226	Prisons	• •	73
Government Domains		٠.	59	Protection of Fish and Oysters	٠.,	149
Government Insurance Account			224	Public Buildings, Domains, and Maintenance		
Government Steamers			150	Roads Public Service Commissioner's Office	• •	57
			Į.	Public Service Commissioner's Office	• •	105
Hansard Health Department High Commissioner's Office House of Representatives Housing Account			32	Public Trustee's Account		220
Health Department		٠.	114			
High Commissioner's Office			96	Railways Department		44
House of Representatives			30	Rates on Crown Lands		
Housing Account			212	Rates on Native Lands		36
				Registrar-General's Office		
Industries and Commerce			64	Repatriation		219
Inspection of Machinery			148	Rifle Clubs		138
Insurance, Government Life Account			224			
Insurance, Government Accident Acc	count		226	Scenery Preservation Account		206
Insurance, State Fire Account			227	School Buildings, Furniture, and Sites		189
Interest and Sinking Fund	••		7 ]	School for the Deaf		191
Internal Affairs Department			89	Schools for the Feeble-minded		192
Internal Affairs: Miscellaneous Servi			99	Secondary and Higher Education	•••	186
				Special Acts of the Legislature		16
Justice Department			67	Stamp Duties Department	••	38
Justice: Miscellaneous Services			70	State Advances Account		229
			1	State Coal-mines Account		204
Labour Department			152	State Fire Insurance Account		227
Land and Deeds Registry			39	State Forests Account	• •	200
Land and Income Tax Department			36	Summary	•••	4
Land for Settlements Account	••		209	Supreme Courts		71
Lands and Survey Department	••		155	<del></del>		, -
Lands and Survey: Miscellaneous Se			158	Technical Instruction		187
Law Drafting Office	••		31		• •	179
Legislative Council			30		••	188
Legislative : General Expenses	••		33	Training of Teachers	••	34
			- 1	Treasury Department	• •	34 35
Magistrates' and Wardens' Courts			72	Treasury: Miscellaneous	• •	90
Maintenance and Improvement of Ro			59	** )		101
Maintenance of Irrigation Works	••		59	Valuation	• •	164
Maintenance of Telegraph and Teleph	one Lines		54			
Marine, Harbours, and Inspection of	Machinery		144	Wardens' Courts		72
Marine: Miscellaneous Services		• •	150	War Expenses Account		216
Material and Stores—Education	••	••	198	Weather Reporting Office		146
Mental Hospitals	••		109	Westport Harbour Account		215
Mercantile Marine, Superintendents			147	Working Railways Department		44

## 1921-1922.

## SUMMARY.

	SOMMATOL.	5 P	7
Page.		1921	-22.
	Summary of Services chargeable on the Con- solidated Fund and other Accounts		
			.,
	REVENUE ACCOUNT.	£	£
	PERMANENT APPROPRIATIONS—		
6.	Civil List	31,100	
$\begin{array}{c c} 7 \\ 16 \end{array}$	Interest and Sinking Fund Under Special Acts of the Legislature	8,512,352	:
10	Order Special Acts of the Legislature	4,640,531	
	Annual Appropriations—	13,183,983	
33	I.—Vote, Legislative Departments	82,091	
34	II.— " Treasury Department	47,330	14 14
36	" Land and Income Tax Department	66,956	
38	" Stamp Duties Department	117,210	-v - *
42	III.— " National Provident and Friendly	07 650	
44	Societies Department IV.— ,, Working Railways Department	$27,650 \\ 6,492,776$	• •
49	V ,, Post and Telegraph Working		
57	Expenses VI.— " Public Buildings	$2,557,600 \\ 111,705$	
59	,, Domains	5,748	in in
59	,, Maintenance and Improvement		•
59	of Roads, Maintenance of Irrigation Works	64,000 2,000	
60	VII.— ,, Native Department	27,180	•
63	VIII.— ,, Department of External Affairs	20,716	• •
64	,, Department of Industries and Commerce	185,758	
67	IX.— ,, Department of Justice	34,512	•
71 73	" Supreme and Magistrates' Courts " Prisons Department	90,472 $92,815$	
77	,, Crown Law Office	6,550	
77	,, Police Department	435,910	
80 82	X.— ,, Cook Islands XI.— ,, Pensions Department	15,256 $142,466$	
85	XII.— ,, Mines Department	57,779	
102	XIII.— ,, Department of Internal Affairs	408,348	
$\begin{array}{c} 103 \\ 105 \end{array}$	,, Audit Department ,, Public Service Commissioner's	25,136	
	Office	9,676	
106 109	,, Printing and Stationery XIV — ,, Mental Hospitals	23,730 301,830	
114	,, Health Department	214,205	-
123	XV.— ,, Naval Defence	342,587	
125	,, New Zealand Military Forces and Cadets	376,441	
137	"Aviation	8,426	
$\begin{array}{c} 137 \\ 138 \end{array}$	,, Non-effective Services ,, Rifle Clubs	12,427 $21,490$	
139	XVI.— ,, Customs Department	141,228	
144	,, Marine Department	150,173	
$\begin{array}{c} 152 \\ 155 \end{array}$	XVII.— ,, Department of Labour XVIII.— ,, Department of Lands and Survey	$ \begin{array}{c c} 39,132 \\ 254,370 \end{array} $	
164	XIX.— ,, Valuation Department	62,172	
166	XX.— ,, Electoral Department	5,950	-
$\frac{168}{179}$	XXI.— ,, Department of Agriculture XXII.— ,, Tourist Department	331,968 96,404	
183	XXIII.— ,, Education Department	2,659,198	
		16,169,371	
	TOTAL—REVENUE ACCOUNT	10,100,011	29,353,354
			,

### SUMMARY—continued.

Page.		1921	-22.
	Summary of Services chargeable on the Consolidated Fund and other Accounts— $contd$ .	£	£
	OTHER ACCOUNTS.		
200	STATE FORESTS ACCOUNT	131,247	
204	STATE COAL-MINES ACCOUNT	294,542	
206	SCENERY PRESERVATION ACCOUNT	68,293	
208	NAURU AND OCEAN ISLANDS ACCOUNT	130,000	
209	LAND FOR SETTLEMENTS ACCOUNT	13,368	
211	NATIVE LAND SETTLEMENT ACCOUNT	3,350	
12	HOUSING ACCOUNT	252,613	
214	DISCHARGED SOLDIERS SETTLEMENT	,	
	ACCOUNT	40,000	
114	FISHING INDUSTRY PROMOTION AC-	10,000	
215	COUNT	10,000	
16	WESTPORT HARBOUR ACCOUNT	62,120	٦
220	WAR EXPENSES ACCOUNT	1,833,849	
$\frac{120}{123}$	PUBLIC TRUSTEE'S ACCOUNT	212,477	
$\frac{125}{24}$	NATIVE TRUSTEE'S ACCOUNT	6,886	
$\frac{124}{126}$	GOVERNMENT INSURANCE ACCOUNT	112,676	
120	GOVERNMENT ACCIDENT INSURANCE ACCOUNT	11,002	
007	COLLOND TAXALLD ANOTH ACCOUNT	80,959	
227	STATE ADVANCES ACCOUNT—	00,509	
29	A D	370,779	
31	A T77 D	102,600	
232	Advances to Workers Branch Advances to Local Authorities Branch	102,800 $104,805$	
104	ADVANCES TO LOCAL AUTHORITIES DRANCH	104,000	

## 1921-1922.

## CIVIL LIST

	1921 <b>–2</b> 2.		
	Salaries.	Other Charges	. Total.
	£	£	£
His Excellency the Governor-General	5 ,000	2,500	7,500
Establishment of the General Government	14,800	1,800	16,600
For Native Purposes	•••	7,000	7,000
TOTAL—CIVIL LIST	19,800	11,300	31,100
TOTAL CIVIL LIST	••••		£31,100

## PERMANENT CHARGES.

		1001 00
INTEREST AND SINKING FUND.		1921–22.
New Zealand Loans Act, 1908—  Aid to Public Works and Land Settlement Act, 1896—  Interest on £200,000 @ 3½ per cent., 15 February and 15  August		£ 7,000
Aid to Public Works and Land Settlement Act, 1900— Interest on £91,300 @ 4 per cent., 1 May and 1 November Interest on 2,900 ,, 4½ per cent., 1 May and 1 November	3,652 131	3,783
£94,200		
Aid to Public Works and Land Settlement Act, 1900, and Finance Act, 1915 (Section 106)— Interest on £57,400 @ 4½ per cent., 1 May and 1 November	•••	2,583
Aid to Public Works and Land Settlement Act, 1901— Interest on £71,600 @ 4 per cent., 1 June and 1 December Interest on 32,900 ,, 4½ per cent., 1 January and 1 July	2,864 1,481	4 945
£104,500		4,345
Aid to Public Works and Land Settlement Act, 1901, and Finance Act, 1915 (Section 106)— Interest of 61,800 @ Altren cont. 1 Inno and 1 December		01
Interest on £1,800 @ 4½ per cent., 1 June and 1 December	•••	81
Aid to Public Works and Land Settlement Act, 1902— Interest on £203,100 @ 4 per cent., 1 June and 1 December Interest on 14,900,, 4½ per cent., 1 June and 1 December	8,124 671	8,795
£218,000		0,190
Aid to Public Works and Land Settlement Act, 1902, and Finance Act, 1915 (Section 106)— Interest on £249,800 @ 4½ per cent., 1 June and 1 December	e •••	11,241
Aid to Public Works and Land Settlement Act, 1903— Interest on £15,400 @ 4 per cent., 1 January and 1 July Interest on 224,300 ,, 4½ per cent., 1 January and 1 July Interest on 14,600 ,, 5½ per cent., 1 January and 1 July Interest on 283,600 ,, 4 per cent., 1 February and 1 August Interest on 26,440 ,, 4½ per cent., 1 February and 1 August	616 10,094 803 11,344 1,190	94 045
£564,340		24,047
Aid to Public Works and Land Settlement Act, 1903, and Finance Act, 1915 (Section 106)— Interest on £25,250 @ 4½ per cent., 1 January and 1 July Interest on 191,200, 4½ per cent., 1 February and 1 August	1,136 8,604	N. M.
£216,450		9,740
Aid to Public Works and Land Settlement Act, 1904— Interest on £565,500 @ 4 per cent., 1 February and 1 August	•••	22,620
Aid to Public Works and Land Settlement Act, 1905— Interest on £156,000 @ 4½ per cent., 1 January and 1 July Interest on 53,500,, 5½ per cent., 1 January and 1 July	7,020 2,943	
£209,500		9,963

### ${\tt PERMANENT \ CHARGES} - {\it continued}.$

		1
INTEREST AND SINKING FUND—continued.		1921–22.
New Zealand Loans Act, 1908—continued.  Aid to Public Works and Land Settlement Act, 1905, and  Finance Act, 1915 (Section 106)—	•	£
Interest on £500,500 @ $4\frac{1}{2}$ per cent., 1 January and 1 July	•••	22,523
Aid to Public Works and Land Settlement Act, 1906— Interest on £425,900 @ 4 per cent., 1 January and 1 July Interest on 500,000 ,, 3½ per cent., 1 January and 1 July Interest on 5,000 ,, 4½ per cent., 1 January and 1 July	£ 17,036 17,500 225	34,761
£930,900		01,101
Aid to Public Works and Land Settlement Act, 1906, and Finance Act, 1915 (Section 106)— Interest on £29,100 @ 4½ per cent., 1 January and 1 July		1,309
	•••	1,000
Aid to Public Works and Land Settlement Act, 1907— Interest on £667,000 @ 4 per cent., 1 January and 1 July Interest on 200,000, 3½ per cent., 1 January and 1 July Interest on 200, 4½ per cent., 1 January and 1 July	26,680 7,000 9	33,689
£867,200		. 90,000
Aid to Public Works and Land Settlement Act, 1907, and Finance Act, 1915 (Section 106)—		in di Service Ali
Interest on £122,500 @ $4\frac{1}{2}$ per cent., 1 January and 1 July	•••	5,513
Aid to Public Works and Land Settlement Act, 1908— Interest on £50,000 @ 4 per cent., 1 April and 1 October	•••	2,000
Aid to Public Works and Land Settlement Act, 1910—Interest on £191,010 @ $4\frac{1}{2}$ per cent., 1 June and 1 December		8,595
Aid to Public Works and Land Settlement Act, 1911— Interest on £50,000 @ 4½ per cent., 1 June and 1 December Interest on 50,000 ,, 3½ per cent., 1 June and 1 December Interest on 49,000 ,, 4 per cent., 1 January and 1 July	2,250 1,750 1,960	* 000
£149,000		5,960
Aid to Public Works and Land Settlement Act, 1911, and Finance Act, 1915 (Section 106)— Interest on £25,000 @ 4½ per cent., 1 June and 1 December	•••	1,125
Aid to Public Works and Land Settlement Act, 1912— Interest on £186,500 @ $4\frac{1}{2}$ per cent., 15 April and 15 October	•••	8,393
Aid to Public Works and Land Settlement Act, 1912, and Finance Act, 1915 (Section 106)—	-	
Interest on £19,500 @ $4\frac{1}{2}$ per cent., 15 April and 15 October	•••	, 877
Aid to Public Works and Land Settlement Act, $1914$ — Interest on £1,170,100 @ 4 per cent., 1 May and 1 November Interest on 1,320,000 ,, $4\frac{1}{2}$ per cent., 1 May to 1 November Interest on 59,900 ,, $4\frac{1}{2}$ per cent., 30 June and 31 December Interest on 100,000 ,, 4 per cent., 1 February and 1 August	46,804 59,400 2,696 4,000	110,000
£2,650,000		112,900
Aid to Water-power Works Act, 1910— Interest on £405,000 @ 4 per cent., 1 May and 1 November Interest on 64,000 ,, $4\frac{1}{2}$ per cent., 1 May and 1 November	16,200 2,880	
On further issues, say	500	V 7 "
£469,000	19,580	
Amount to be recovered from Electric Supply Account	19,580	
		***

## $\begin{array}{ccc} \text{PERMANENT} & \text{CHARGES--} \\ \hline continued. \end{array}$

Interest on \$15,000 @ 4 per cent., 1 May and 1 November   Appropriation Act, 1917 (Cold-storage Advances Account) —			1921–22.
Interest on £15,000 @ 4 per cent., 1 May and 1 November   Appropriation Act, 1917 (Cold-storage Advances Account)	INTEREST AND SINKING FUND—continued.		
Amount to be recovered from State Coal-mines Account	Appropriation Act, 1912 (Irrigation and Water-supply Account)— Interest on £15,000 @ 4 per cent., 1 May and 1 November		£ 600
Helief Account	Interest on £93,750 @ 4 per cent., 1 March and 1 September	3,750	
Interest on £120,000 @ 4 per cent., 1 April and 1 October 4,800   Interest on 30,000 ,, 4 per cent., 1 April and 1 October 1,200   £150,000   6,000   6,000	Relief Account)— Interest on £75,000 @ 4 per cent.  Amount to be recovered from Waimarino Bush Fire		•••
Amount to be recovered from State Coal-mines Account 6,000  Coal-mines Act, 1908, and Appropriation Act, 1912— Interest on £25,000 @ 4 per cent., 1 April and 1 October 1,000 Amount to be recovered from State Coal-mines Account 1,000  Discharged Soldiers Settlement Act, 1915, and Amendment Act, 1916— Interest on £64,000 @ 4 per cent., 1 March and 1 September 1,620  £100,000  Amount to be recovered from Discharged Soldiers Settlement Account 4,180  Discharged Soldiers Settlement Act, 1915, and Finance Act, 1917 (Section 82)— Interest on £400,000 @ 4 per cent., 1 March and 1 September 16,000 Amount to be recovered from Discharged Soldiers Settlement Account 16,000  Discharged Soldiers Settlement Loans Act, 1919 (Section 3)— Interest on £170,000 @ 4 per cent., 1 March and 1 September 6,800  Discharged Soldiers Settlement Loans Act, 1919 (Section 3)— Interest on £170,000 @ 4 per cent., 1 March and 1 September 6,800  Discharged Soldiers Settlement Loans Act, 1919 (Section 4), (Land for Settlements)— Interest on £420,000 @ 4 per cent., due 1 March and 1 September 16,800 Interest on 2,380,000 ,, 4½ per cent., due 1 March and 1 September 250 Interest on 5,000 ,, 5 per cent., due 1 March and 1 September 250 Interest on 3,050 ,, 4½ per cent., due 21 March and 3 September	Interest on £120,000 @ 4 per cent., 1 April and 1 October		· ••••
Coal-mines Act, 1908, and Appropriation Act, 1912—   Interest on £25,000 @ 4 per cent., 1 April and 1 October 1,000	£150,000	6,000	·
Interest on £25,000 @ 4 per cent., 1 April and 1 October 1,000 Amount to be recovered from State Coal-mines Account 1,000  Discharged Soldiers Settlement Act, 1915, and Amendment Act, 1916— Interest on £64,000 @ 4 per cent., 1 March and 1 September 1,620  £100,000 4,180  Amount to be recovered from Discharged Soldiers Settlement Account 4,180  Discharged Soldiers Settlement Act, 1915, and Finance Act, 1917 (Section 82)— Interest on £400,000 @ 4 per cent., 1 March and 1 September Amount to be recovered from Discharged Soldiers Settlement Account 16,000  Discharged Soldiers Settlement Loans Act, 1919 (Section 3)— Interest on £170,000 @ 4 per cent., 1 March and 1 September 6,800  Amount to be recovered from Discharged Soldiers Settlements Account 6,800  Discharged Soldiers Settlement Loans Act, 1919 (Section 4), (Land for Settlements)— Interest on £420,000 @ 4 per cent., due 1 March and 1 September 6,800  Interest on £380,000 , 4½ per cent., due 1 March and 1 September 16,800  Interest on 5,000 , 5 per cent., due 1 March and 1 September 250 Interest on 75,000 , 4½ per cent., due 3 March and 3 September 250 Interest on 3,050 , 4½ per cent., due 3 March and 3 September 250 Interest on 50,000 , 4½ per cent., due 3 March and 3 September 250 Interest on 50,000 , 4½ per cent., due 3 March and 21 November	Amount to be recovered from State Coal-mines Account	6,000	
Act, 1916—  Interest on £64,000 @ 4 per cent., 1 March and 1 September   1,620	Interest on £25,000 @ 4 per cent., 1 April and 1 October		•••
Interest on \$64,000 @ 4 per cent., 1 March and 1 September		<del></del> ,	
Amount to be recovered from Discharged Soldiers Settlement Account	Interest on £64,000 @ 4 per cent., 1 March and 1 September		
### Discharged Soldiers Settlement Act, 1915, and Finance Act, 1917  (Section 82)—  Interest on \$\pmu400,000 @ 4  per cent., 1 March and 1 September Amount to be recovered from Discharged Soldiers Settlement Account	£100,000	4,180	2. 4
Interest on \$\frac{9}{4}00,000 @ 4 per cent., 1 March and 1 September Amount to be recovered from Discharged Soldiers Settlement Account		4,180	
Interest on £400,000 @ 4 per cent., 1 March and 1 September Amount to be recovered from Discharged Soldiers Settlement Account		/	
Discharged Soldiers Settlement Loans Act, 1919 (Section 3)—   Interest on £170,000 @ 4 per cent., 1 March and 1 September 6,800     Amount to be recovered from Discharged Soldiers Settlements Account 6,800     Discharged Soldiers Settlement Loans Act, 1919 (Section 4), (Land for Settlements)—   Interest on £420,000 @ 4 per cent., due 1 March and 1 September 16,800     Interest on 2,380,000 ,, 4½ per cent., due 1 March and 1 September 107,100     Interest on 5,000 ,, 5 per cent., due 1 March and 1 September 250     Interest on 75,000 ,, 4½ per cent., due 3 March and 3 September 3,375     Interest on 3,050 ,, 4½ per cent., due 21 May and 21 November 137     Interest on 50,000 ,, 4½ per cent., 119 days to 3 September and ½-year to 3 March 1,859	Interest on £400,000 @ 4 per cent., 1 March and 1 September Amount to be recovered from Discharged Soldiers Settle-		·
Interest on £170,000 @ 4 per cent., 1 March and 1 September 6,800		16,000	
Discharged Soldiers Settlement Loans Act, 1919 (Section 4), (Land for Settlements) —   Interest on £420,000 @ 4 per cent., due 1 March and 1 September 16,800   Interest on 2,380,000 ,, 4½ per cent., due 1 March and 1 September 107,100   Interest on 5,000 ,, 5 per cent., due 1 March and 1 September 250   Interest on 75,000 ,, 4½ per cent., due 3 March and 3 September 3,375   Interest on 3,050 ,, 4½ per cent., due 21 May and 21 November 137   Interest on 50,000 ,, 4½ per cent., 119 days to 3 September and ½-year to 3 March 1,859	Interest on £170,000 @ 4 per cent., 1 March and 1 September	6,800	
Interest on		6,800	
$\begin{array}{cccccccccccccccccccccccccccccccccccc$	for Settlements)—		•••
$\begin{array}{cccccccccccccccccccccccccccccccccccc$		16,800	·
$\begin{array}{cccccccccccccccccccccccccccccccccccc$		107,100	
$ \begin{array}{cccccccccccccccccccccccccccccccccccc$		250	
$ \begin{array}{cccccccccccccccccccccccccccccccccccc$	Interest on $75,000$ ,, $4\frac{1}{2}$ per cent., due 3 March and	3,375	
Interest on 50,000 ,, $4\frac{1}{2}$ per cent., 119 days to 3 September and $\frac{1}{2}$ -year to 3 March 1,859	Interest on $3,050$ ,, $4\frac{1}{2}$ per cent., due 21 May and		
	Interest on $50,000$ ,, $4\frac{1}{2}$ per cent., 119 days to 3 Sep-		
- //	£2,933,050	129,521	
Amount to be recovered from Land for Settlements Account (Discharged Soldiers) 129,521		129,521	

### PERMANENT CHARGES—continued.

		1921–22.
INTEREST AND SINKING FUND—continued.		
Discharged Soldiers Settlement Loans Act, 1920— Interest on £250,000 @ $4\frac{1}{2}$ per cent., 1 March and 1 September Interest on 1,510,860 @ $5\frac{1}{2}$ per cent., 15 January and 15 July On further issues, say	£ 11,250 83,097 20,000	£
£1,760,860	114,347	
Amount to be recovered from Discharged Soldiers Settlement Account	114,347	
District Railways Purchasing Acts, 1885-86— Interest on £40,000 @ 4 per cent. 1 January and 1 July	•••	1,600
Education Purposes Loans Act, 1919— Interest on £210,000 @ $4\frac{1}{2}$ per cent., 1 January and 1 July Interest on 60,000 ,, 5 per cent., 1 January and 1 July Interest on 100,000 ,, $4\frac{1}{2}$ per cent., 70 days to 1 July and $\frac{1}{2}$ year to 1 January Interest on 50,000 ,, $4\frac{1}{2}$ per cent., 36 days to 1 July and	9,450 3,000 3,113	
Interest on $60,000$ , $4\frac{1}{2}$ per cent., $166$ days to 1 January On further issues, say	1,347 1,228 5,000	
£480,000		23,138
Electric Power Works Loans Act, 1919— Interest on £56,500 @ 5 per cent., due 15 January and 15 July On further issues, say	2,825 100,000	
Amount to be recovered from the Electric Supply Account	$102,825 \\ 102,825$	
Finance Act, 1909 (Public Works)— Interest on £46,901 @ 4½ per cent., 1 February and 1 August		2,111
Finance Act, 1915 (Section 105), (Public Works)— Interest on £1,794,400 @ $4\frac{1}{2}$ per cent., 15 June and 15 December Interest on 69,195 ,, $5\frac{1}{2}$ per cent., 15 June and 15 December	80,748 3,806	04 554
£1,863,595		84,554
*Finance Act, 1915 (Section 106), (Conversions)— Interest on £100,500 @ $4\frac{1}{2}$ per cent., 30 June and 31 December Interest on 994,300, $4\frac{1}{2}$ per cent., 1 January and 1 July Interest on 355,800, $4\frac{1}{2}$ per cent., 1 February and 1 August Interest on 7,100, $4\frac{1}{2}$ per cent., 1 March and 1 September Interest on 127,500, $4\frac{1}{2}$ per cent., 31 March and 30 Sept. Interest on 170,000, $4\frac{1}{2}$ per cent., 1 May and 1 November Interest on 276,600, $4\frac{1}{2}$ per cent., 1 June and 1 December Interest on 19,500, $4\frac{1}{2}$ per cent., 15 April and 15 October Interest on 71,700, $4\frac{1}{2}$ per cent., 1 April and 1 October	4,522 44,744 16,011 320 5,738 7,650 12,447 877 3,226	
£2,123,000	95,535	
Amounts to be recovered from— & Land for Settlements Account 32,514  Mining Advances Account 450  State Advances Office 450	33,414	:
Finance Act, 1916 (Section 35), (War Expenses)— Interest on £7,894,800 @ $4\frac{1}{2}$ per cent., 1 March and 1 Sept. Interest on 1,120,000 ,, 4 per cent , 1 April and 1 October Interest on 4,736,842 ,, 5 per cent., 31 March and 30 Sept.	355,266 44,800 236,842	62,121
<del></del>		636,908

<sup>\*</sup> Shown for year 1921-22 under separate authorizing Acts

### ${\tt PERMANENT \ CHARGES--} continued.$

		· · · · · · · · · · · · · · · · · · ·
		1921–22.
INTEREST AND SINKING FUND-contin	ued.	
Finance Act, 1916 (Section 35), Appropriation Act, 1917 (Sec. 27), (War Expenses)—	ction	£
Interest on £17,900 @ 4½ per cent., 1 March and 1 Septer	mber	805
Finance Act, 1916 (Section 49), (Public Works)— Interest on £1,000,000 @ 4 per cent., 1 February and 1 A	ugust	40,000
Finance Act, 1916 (Section 50), (State Forests)— Interest on £49,000 @ 4 per cent., 1 February and 1 Aug Interest on 1,000 ,, 4½ per cent., 1 February and 1 Aug		The state of the s
£50,000	2,002	
Amount to be recovered from State Forests Account	2,002	
Finance Act, 1917 (Section 77), (Aid to Public Works)— Interest on £850,000 @ 4 per cent., 1 February and 1 Aug		34,000
Finance Act, 1918 (Section 10), (War Expenses)— Interest on £1,505,000 @ 4 per cent., $\bar{1}$ June and 1 Decer Interest on 26,000 ,, 4 per cent., 20 April and 20 Oc Interest on 1,210,250 ,, $4\frac{1}{2}$ per cent., 15 May and 15 Novem Interest on 587,400 ,, $4\frac{1}{2}$ per cent., 20 April and 20 Oct Interest on 6,600,000 ,, $5\frac{3}{8}$ per cent., 31 March and 30 Section 10.	tober 1,040 nber 54,461 ober 26,433	400 004
£9,928,650		496,884
Finance Act, 1918 (No. 2), Part 4 (War Expenses)— Interest on £3,132,140 @ 4½ per cent., 20 April and 20 Octo	ber	140,946
Finance Act, 1918 (No. 2), (Section 6)— Sinking Fund on War Loans @ 1 per cent. on £81,538,570	) · · · · · · · · · · · · · · · · ·	815,386
Finance Act, 1918 (No. 2), (Section 29), (Public Works)— Interest on £1,950,000 @ 4 per cent., 1 February and 1 Au Interest on $550,000$ ,, $4\frac{1}{2}$ per cent., 1 February an August		
£2,500,000		102,750
Finance Act, 1918 (No. 2), (Section 30), Cold-storage Adva	nces	
Account— Interest on £27,000 @ 4 per cent., 1 March and 1 September Amount to be recovered from Cold-storage Advan		
Account	1,080	
Finance Act, 1918 (No. 2), (Section 31), (Discharged Soldier Interest on £1,000,000 @ 4 per cent., 1 March and 1 Septem Amount to be recovered from Discharged Soldiers Set	ber 40,000	•••
ment Account	40,000	
Finance Act, 1918 (No. 2), (Section 32), (State Forests)— Interest on £80,000 @ 4 per cent., 1 February and 1 August Interest on 20,000, 4½ per cent., 1 February and 1 August ½-year to 1 February	ist $3,150$	•••
Interest on $5,000$ ,, $4\frac{1}{2}$ per cent., 13 days to 1 August	and	
$\frac{1}{2}$ -year to 1 February On further issues, say	121	
£175,000	8,160	
Amount to be recovered from State Forests Account	8,160	
		•••
Finance Act, 1919 (Section 5), (Public Works)— Interest on £150,000 @ $4\frac{1}{2}$ per cent., 1 February and 1 Aug	mat	6,750

#### PERMANENT CHARGES—continued. 1921-22.INTEREST AND SINKING FUND-continued. Finance Act, 1920 (Section 15), (Public Works)— Interest on £1,040,000 @ $4\frac{1}{2}$ per cent., 1 June and 1 December Interest on 900,000 ,, 5 per cent., 1 June and 1 December Interest on 150,000 ,, $4\frac{1}{2}$ per cent., 57 days to 1 June and $\frac{1}{2}$ -year to 1 December ... 46,800 45,000 4,429 Interest on 190,000 ,, $4\frac{1}{2}$ per cent., 40 days to 1 June and $\frac{1}{2}$ -year to 1 December ... 150,000 ,, $4\frac{1}{2}$ per cent., 25 days to 1 June and 5,212 Interest on $\frac{1}{2}$ -year to 1 December 3,837 33,000 ,, $4\frac{1}{2}$ per cent., 8 days to 1 June and Interest on $\frac{1}{2}$ year to 1 December ... 37,000 ,, $4\frac{1}{2}$ per cent., 7 days to 1 June and 775Interest on 864 $\frac{1}{2}$ -year to 1 December 106,917 £2,500,000 Finance Act, 1920 (Section 15), (Nauru and Ocean Islands)-Interest on £600,000 @ 5 per cent., 1 June to 1 December ... 30,000 Amount to be recovered from the Nauru and Ocean 30,000 Islands Account Finance Act, 1921 (Section 10), (Public Works)— Interest on £ 63,000 @ $4\frac{1}{2}$ per cent, 7 days to 1 June and 1,472 $\frac{1}{2}$ -year to 1 December Interest on 100,000, 4½ per cent., 6 days to 1 June and $\frac{1}{2}$ -year to 1 December 2,324 On further issues, say 32,879 36,675 £163,000 Fishing Industry Promotion Act, 1919— Interest on £1,220 @ $4\frac{1}{2}$ per cents, 1 June and 1 December Interest on 270 ,, 5 per cent., 1 June and 1 December 55 14 On further issues, say 250319 £1,490 Amount to be recovered from Fishing Industry Promotion 319 Fruit-preserving Industry Act, 1913, and Finance Act, 1917 (Section 80)-2,048 Interest on £51,210 @ 4 per cent., 1 April and 1 October Interest on 18,400 ,, $4\frac{1}{2}$ per cent., 1 April and 1 October... 828 £69,610 2,876 Amount to be recovered from Fruit-preserving Industry Advances Account 2,876 Government Railways Act, 1908-Railways Improvements Authorization Acts, 1904-7-Interest on £67,500 @ 4 per cent., 1 January and 1 July ... Interest on 3,300 ,, 4 per cent., 1 February and 1 August Interest on 17,000 ,, 4 per cent., 30 June and 31 December Interest on 140,000 ,, $4\frac{1}{2}$ per cent., 30 June and 31 December Interest on 2,000 ,, $4\frac{1}{2}$ per cent., 1 February and 1 August 2,700 132 680 6,300 90 9,902 £229,800 Government Railways Act, 1908, Railways Improvements Authorization Acts, 1904-7, and Finance Act, 1915 (Section 106)-Interest on $2600 @ 4\frac{1}{2}$ per cent., 1 January and 1 July ... Interest on 1,600 ,, $4\frac{1}{2}$ per cent., 1 March and 1 September... Interest on 500 ,, $4\frac{1}{2}$ per cent., 30 June and 31 December... 27 72 . 11.4. 22 121

£2,700

#### PERMANENT CHARGES—continued. 1921-22.INTEREST AND SINKING FUND—continued. Government Railways Act, 1908-£ Finance Act, 1909— £ 2,250 Interest on £50,000 @ $4\frac{1}{2}$ per cent., 30 June and 31 December 336 8,400 ,, 4 per cent., 1 February and 1 August Interest on 2,586 Government Railways Act, 1908, Finance Act, 1909, and Finance Act, 1915 (Section 106)-Interest on £15,400 $\overset{.}{@}$ 4½ per cent., 1 February and 1 August 693 1,200 ,, 4½ per cent., 1 March and 1 September 54Interest on 747 £16,600 Government Railways Amendment Act, 1910— Interest on £53,350 @ 4 per cent., 1 February and 1 August Interest on 114,180 ,, 4 per cent., 1 January and 1 July ... 2,134 4,567 6,701 £167,530 Government Railways Amendment Act, 1910, and Finance Act, 1915 (Section 106)-90 Interest on £2,000 @ $4\frac{1}{2}$ per cent., 1 January and 1 July Greymouth Harbour Board Act, 1884— Interest on £100,000 @ 4 per cent., 1 September and 1 March 4,000 Amount to be recovered from the Greymouth Harbour Board 4,000 Harbours Act, 1908, and Greymouth Harbour Loans Consolidation Act, 1910, and Amendment Act, 1910-Interest on £260,000 @ 4 per cent., 1 January and 1 July 10,400 Amount to be recovered from the Greymouth Harbour Board 10,400Hauraki Plains Amendment Acts, 1913 and 1914-Interest on £44,000 @ 4 per cent., 1 February and 1 August... 1,760 Amount to be recovered from the Hauraki Plains Settlement Account 1,760 Hauraki Plains Amendment Act, 1913, and Appropriation Act, 1918 (Section 43)-Interest on £46,000 @ 4 per cent., 1 February and 1 August 1,840 Interest on 34,000 @ 4½ per cent., 1 February and 1 August 1,530 £80,000 3,370 Amount to be recovered from the Hauraki Plains Settle-3,370 ment Account Hauraki Plains Amendment Act, 1913, and Appropriation Act, 1919 (Section 18) Interest on £20,000 @ $4\frac{1}{2}$ per cent., 1 February and 1 August 900 Interest on 20,000 ,, $4\frac{1}{2}$ per cent., 97 days to 1 August and ½-year to 1 February 689 5,000 ,, $4\frac{1}{2}$ per cent., 34 days to 1 August and Interest on ½-year to 1 February ... 5,000 ,, 4½ per cent., 13 days to 1 August and 133 Interest on 120 ½-year to 1 February 1,842 £50,000

Amount to be recovered from Hauraki Plains Settlement

1,842

Account

### PERMANENT CHARGES—continued.

		· · · · · · · · · · · · · · · · · · ·
INTEREST AND SINKING FUND—continued.		1921–22.
Hauraki Plains Amendmeut Act, 1913, and Finance Act, 1920 (Section 16)— On issues, say Amount to be recovered from Hauraki Plains Settlement Account	£ 500	£
Housing Act, 1919 (Section 30), (Housing Account)— Interest on £270,000 @ 4½ per cent., 1 January and 1 July Interest on 30,000 ,, 4½ per cent., 37 days to 1 July and ½-year to 1 January	12,150 812	
Interest on $2,400$ , $4\frac{1}{2}$ per cent., 177 days to 1 January, 1922 On further issues, say	52 5,000	
£302,400	18,014	
Amount to be recovered from Housing Account	18,014	
Housing Act, 1919 (Section 46), (Loans to Employers for Workers'  Dwellings Account)—  Interest on £3,150 @ 4½ per cent., 1 January and 1 July  Interest on 225 ,, 4½ per cent., 85 days to 1 July and  ½-year to 1 January	142	•••
Interest on 600,, $4\frac{1}{2}$ per cent., 56 days to 1 July and $\frac{1}{2}$ -year to 1 January	18	:
On further issues, say	$-\frac{100}{007}$	
£3,975	267	
Amount to be recovered from Loans to Employers for Workers' Dwellings Account	267	
Hutt Railway and Road Improvement Acts, 1903, 1905, 1907, and		••• • •
1910— Interest on £102,000 @ 4 per cent., 1 May and 1 November Interest on 127,000 ,, 4½ per cent., 1 May and 1 November Interest on 17,300 ,, 4 per cent., 1 January and 1 July Interest on 55,190 ,, 4 per cent., 1 February and 1 August Interest on 5,190 ,, 4 per cent., 30 June and 31 December	4,080 5,715 692 2,208 208	10 009
£306,680		12,903
Irrigation and Water-supply Act, 1913— Interest on £75,100 @ 4 per cent., 1 April and 1 October Interest on 24,900 ,, 4½ per cent., 1 April and 1 October	3,004 1,121	4,125
£100,000		
Kauri-gum Industry Amendment Act, 1914— Interest on £32,000 @ 4 per cent., 1 May and 1 November Interest on 18,000 ,, 4½ per cent., 1 May and 1 November	1,280 810	
£50,000	2,090	
Amount to be recovered from Kauri-gum Industry Account	2,090	
Tauri-gum Industry Amendment Act, 1914, Appropriation Act, 1918 (Section 45)—  Interest on £3,000 @ 4 per cent., 1 May and 1 November  Interest on 5,500 ,, 4½ per cent., 167 days to 1 November  Interest on 2,000 ,, 4½ per cent., 145 days to 1 November  On further issues, say	120 103 36 200	•••
£10,500	459	
Amount to be recovered from Kauri-gum Industry Account	459	

### PERMANENT CHARGES—continued.

I DIMANTINI OHANGED—communica.		
		1921–22.
INTEREST AND SINKING FUND —continued.		
Lands Improvement and Native Lands Acquisition Act, 1894— Interest on £400,000 @ 4½ per cent., 31 March and 30 September	•••	£ 18,000
Land for Settlements Act, 1908—	£	
Interest on £866,525 @ 4 per cent., 1 January and 1 July	34,661	
Interest on $415,185$ ,, $4\frac{1}{2}$ per cent., 1 January and 1 July	18,683	
Interest on 9,600, 5½ per cent., 1 January and 1 July	528	
Interest on 339,615, 4 per cent., 1 February and 1 August Interest on $164,745$ , $4\frac{1}{2}$ per cent., 1 February and 1 August	$13,585 \\ 7,414$	
Interest on 5,300, 5 per cent., 1 February and 1 August	265	
Interest on $4{,}100$ ,, $5\frac{1}{2}$ per cent., 1 February and 1 August	225	
Interest on $10,000$ ,, $4\frac{1}{2}$ per cent., 1 March and 1 September Interest on $77,000$ ,, $4$ per cent., 15 March and 15 Sept.	450 2 080	
Interest on 77,000, 4 per cent., 15 March and 15 Sept. Interest on 800, 4 per cent., 31 March and 30 Sept.	$\frac{3,080}{32}$	
Interest on 133,800 ,, 4 per cent., 1 April and 1 October	5,352	
Interest on 65,000 , 4 per cent., 1 May and 1 November	2,600	
Interest on $4,100$ ,, $4\frac{1}{2}$ per cent., 1 May and 1 November Interest on $37,778$ ,, $4\frac{1}{3}$ per cent., 1 June and 1 December	$184 \\ 1,700$	
promise his recommendation and the second se		
£2,133,548 	88,759	
Amount to be recovered from the Land for Settlements	88,759	
		•••
Land for Settlements Act, 1908, and Finance Act, 1915 (Section 106)— Interest on £170,350 @ $4\frac{1}{2}$ per cent., 1 January and 1 July	- 7 CCC	
Interest on $108,100$ (a) $\frac{42}{2}$ per cent., 1 February and 1 August	7,666 $4,864$	
Interest on 127,500 ,, $4\frac{1}{2}$ per cent., 31 March and 30 September	5,737	
Interest on 71,700, 4½ per cent., 1 April and 1 October	3,226	*
Interest on 112,600 ,, 4½ per cent., 1 May and 1 November	5,067	
£590,250 =====	26,560	
Amount to be recovered from the Land for Settlements Account	26,560	
		•••
Land Laws Amendment Act, 1913— Interest on £14,200 @ 4 per cent., 1 January and 1 July	568	
Interest on 24,200, 4½ per cent., 1 January and 1 July	1,089	
Interest on 8,000, 4 per cent., 22 January and 22 July	320	
Interest on 119,050 ,, 4 per cent., 1 February and 1 August Interest on $65,300$ ,, $4\frac{1}{2}$ per cent , 1 February and 1 August	$\begin{array}{c} 4,762 \\ 2,938 \end{array}$	
Interest on $65,300$ ,, $4\frac{1}{2}$ per cent , 1 February and 1 August Interest on $244,800$ ,, 4 per cent., 1 March and 1 September	9,792	
Interest on 10,200 ,, $4\frac{1}{2}$ per cent., 1 March and 1 September	459	
Interest on 20,000 ,, 5 per cent., 26 March and 26 September Interest on 15,000 ,, $4\frac{1}{2}$ per cent., 29 March and 29 September	1,000 $675$	
Interest on $15,000$ , $4\frac{1}{2}$ per cent., 29 March and 29 September Interest on $166,000$ , $4\frac{1}{2}$ per cent., 30 March and 30 September	7,470	
Interest on 50,000,, $4\frac{1}{2}$ per cent., 31 March and 30 September	2,250	
Interest on 698,000, 4 per cent., 1 April and 1 October	27,920	
Interest on 79,100, 4½ per cent, 1 April and 1 October Interest on 100,000, 4 per cent., 1 June and 1 December	$\frac{3,559}{4,000}$	
Interest on 10,000, 4½ per cent., 19 due and 19 December	450	
Interest on 10,500,, 4 per cent., 30 June and 31 December	420	
£1,634,350	67,672	
Amount to be recovered from the Land for Settlements	25 250	
Account	67,672	•••
Land Laws Amendment Act, 1913, and Appropriation Act, 1918 (Section 42)—		
Interest on £560,000 @ 4 per cent., 1 April and 1 October	22,400	
Interest on $10,000$ , $4\frac{1}{2}$ per cent., 1 April and 1 October	450	
£570,000	22,850	
Amount to be recovered from the Land for Settlements	99 050	
Account	22,850	
and the contract of the contra		

### PERMANENT CHARGES —continued.

		<u> </u>
INTEREST AND SINKING FUND—continued.		1921–22
Land Laws Amendment Act, 1913, and Finance Act, 1915		
(Section 106) — Interest on £ 1,100 @ $4\frac{1}{2}$ per cent., 1 January and 1st July	£ 49 625	£
Interest on 13,900 ,, 4½ per cent., 1 February and 1 August		, č
£15,000	674	
Amount to be recovered from the Land for Settlements Account	674	
Local Bodies' Loans Act, 1908— Government Loans to Local Bodies Act, 1886— Interest on £250,300 @ 4 per cent., 1 March and 1 September	•••	10,019
Local Bodies' Loans Act, 1908— Interest on £790,000 @ $4\frac{1}{2}$ per cent., 1 January and 1 July Interest on 416,000 ,, 4 per cent., 1 March and 1 September Interest on $645,000$ ,, $4\frac{1}{2}$ per cent., 1 March and 1 September Interest on 50,000 ,, 4 per cent., 1 June and 1 December	35,550 16,640 29,025 2,000	
£1,901,000	•	83,216
Maori Land Settlement Act, 1905—		
Interest on £ 39,175 @ 4 per cent., 1 January and 1 July Interest on $145,000$ ,, $4\frac{1}{2}$ per cent., 1 January and 1 July	$     \begin{array}{r}       1,567 \\       6,525 \\       \hline     \end{array} $	8,092
£184,175		, ,,,,,
Maori Land Settlement Act, 1905, and Finance Act, 1915		, n
(Section 106)— Interest on £15,375 @ $4\frac{1}{2}$ per cent., 1 January and 1 July	•••	699
Maori Land Settlement Act Amendment Act, 1907— Interest on £50,000 @ 4½ per cent., 1 January and 1 July	•••	2,250
Mining Amendment Act, 1913— Interest on £7,000 @ 4 per cent., 1 May and 1 November Interest on 4,500 ,, $4\frac{1}{2}$ per cent., 1 May and 1 November	280 202	
£11,500	482	ta sa sa
Amount to be recovered from the Mining Advances Account	482	
Ining Amendment Act, 1913, and Amendment Act, 1919— Interest on £10,000 @ 4½ per cent., 1 May and 1 November	450	• • •
Interest on 2,000 ,, $4\frac{1}{2}$ per cent., 24 days to 1 May and $\frac{1}{2}$ -year to 1 November  Interest on 5,000 ,, $4\frac{1}{2}$ per cent., 10 days to 1 May and	51	
$\frac{1}{2}$ -year to 1 November Interest on 2,000 ,, $4\frac{1}{2}$ per cent., 136 days to 1 November	$\begin{array}{c} 119 \\ 34 \end{array}$	
On further issues, say	100	
£19,000	754	
Amount to be recovered from the Mining Advances Account	754	
Interest on £4,800 @ $4\frac{1}{2}$ per cent., 1 January and 1 July  Interest on £4,800 @ $4\frac{1}{2}$ per cent., 20 January and 20 July  Interest on 1,128,500 ,, 4 per cent., 1 April and 1 October  Interest on 612,400 ,, $4\frac{1}{2}$ per cent., 1 April and 1 October  Interest on 25,000 ,, 5 per cent., 1 April and 1 October  Interest on 20,000 ,, $4\frac{1}{4}$ per cent., 1 April and 1 October  Interest on 3,000 ,, $4\frac{1}{2}$ per cent., 5 June and 5 December On further issues, say	216 68 45,140 27,558 1,250 850 135 2,500	
£1,795,200	77,717	
Amount to be recovered from the Native Land Settle- ments Account	77,717	,
		1

PERMANENT CHARGES—continued		
		1921–22
INTEREST AND SINKING FUND—continued.		
Native Land Purchases Act, 1892— Interest on £125,000 @ 4 per cent., 30 April and 31 October		£ 5,000
Naval Defence Act, 1909— Interest on £963,131 @ 4½ per cent., 1 June and 1 December Sinking Fund on £1,795,167 @ 4 per cent	£ 43,341 . 71,807	
New Zealand Consols Act, 1908— Interest on £ 6,845 @ 3½ per cent., 1 February and 1 Augus Interest on 469,147 ,, 4 per cent., 1 February and 1 August	t 240 18,766	115,148
£475,992		19,006 
New Zealand Loans Act, 1908— Consolidated Loan Act, 1867 — Interest on £13,000 @ $4\frac{1}{2}$ per cent., 15 April and 15 October		205
	•••	585 585
Consolidated Stock Act, 1884— Interest payable— On £194,200 @ 4 per cent., 1 February and 1 August On 165,000 ,, 4½ per cent., 1 January and 1 July On 385,500 ,, 4 per cent., 30 June and 31 December	7,425	20.010
£744,700		30,613
Defence and other Purposes Loan Act, 1870— Interest on £25,000 @ 4 per cent., 1 January and 1 July Interest on 75,000 ,, 4½ per cent., 15 April and 15 October £100,000	1,000	4,375
General Purposes Loan Act, 1873— Interest on £54,700 @ 4 per cent., 28 May and 28 November Interest on 5,200 ,, 4 per cent., 15 April and 15 October Interest on 800 ,, 5 per cent., 15 April and 15 October	2,188 208 40	0.496
£60,700		2,436
Immigration and Public Works Loan Act, 1870— Interest on £27,900 @ $4\frac{1}{2}$ per cent., 15 April and 15 October		1,255
New Zealand Consolidated Inscribed Stock (London issue)— Interest @ 4 per cent., payable 1 May and 1 November— On £3,000,000 New Zealand Loan Act, 1882 On 1,500,000 New Zealand Loan Act, 1884 On 1,567,800 New Zealand Loan Act, 1886 On 1,000,000 North Island Main Trunk Railway Loan Act,	120,000 60,000 62,712	
1882 On 1,000,000 New Zealand Loan Act, 1888 On 5,371,200 First series of Conversions On 6,263,811 Second series of Conversions On 4,688,444 Third series of Conversions On 4,557,047 Sixth series of Conversions On 619,500 Expenses of Conversions and Raising Loans On 100,000 additional to £3,000,000 Loan, 1912 On 230,500 for Redemptions On 2,100 for Naval Defence On 200,000 for Redemptions	40,000 40,000 214,848 250,553 187,538 182,282 24,780 4,000 9,220 84 8,000	
£30,100,402	1,204,017	
Amount to be recovered from—  Land for Settlements Account 951 State Coal-mines Account 21 Native Land Settlement Account 149 State Advances Account 9,549	10,670	1,193,347

PERMANENT CHARGES -continued.		
INTEREST AND SINKING FUND—continued.		1921–22
New Zealand Loans Act, 1908—continued.  New Zealand Consolidated Inscribed Stock (London issue)—contd.  Interest @ 4 per cent., payable 1 February and 1 August— On £3,000,000 Loan, 1912 On 600,000 additional to £3,000,000 Loan, 1912 On 1,951,825 Conversions £3,500,000 Loan, October, 1913 On 4,590,000 Conversions £4,500,000 Loan, January, 1914 On 375,000 Bank of New Zealand Act, 1913 On 100,000 part Charges and Expenses £3,000,000 Loan, 1913 On 5,000 for Redemption Expenses On 262,803 for Conversions, Aid to Public Works and Land Settlement Act, 1914 (scrip)	£ 120,000 24,000 78,073 183,600 15,000 4,000 200	£
£10,884,628	435,385	
Amount to be recovered from—  Land for Settlements Account 34,346 State Coal-mines Account 2,067 Native Land Settlement Account 10,200 State Advances Account 113,381	159,994	077. 00
Interest @ 3½ per cent., payable 1 January and 1 July— On £2,768,000 Fourth series of Conversions On 717,068 Fifth series of Conversions On 1,036,000 Seventh series of Conversions On 12,947,541 for Conversions On 85,323 Expenses of Conversions and Raising Loans On 15,000 Naval Defence Act, 1909	96,880 25,097 36,260 453,164 2,986 525	275,39
£17,568,932	614,912	
Amount to be recovered from—  Land for Settlements Account 35,192 State Coal-mines Account 14 Cheviot Estate Account 8,866 State Advances Account 36,133	80,205	
Interest @ 3 per cent., payable 1 April and 1 October— On £2,750,000 Government Advances to Settlers Loan On 240,000 Government Advances to Settlers Loan On 2,500,000 Aid to Public Works and Land Settlement Loan On 759,000 for Conversion, Aid to Public Works On 3,368,616 for Conversions	82,500 7,200 75,000 22,770 101,058	534,70
On 42,364 for Expenses	1,271	
£9,659,980	289,799	
Amount to be recovered from—  Land for Settlements Account 2,075 State Advances Account 89,700  New Zealand Inscribed Stock Act, 1917—	91,775	198,02
Aid to Public Works and Land Settlement Act, 1903— Interest on £4,425 @ 5½ per cent., 1 January and 1 July	•••	24
Aid to Public Works and Land Settlement Act, 1914— Interest on £100,000 @ 5½ per cent., 30 June and 31 December		5,50

PERMANENT CHARGES—continued.		·- <u></u>
INTEREST AND SINKING FUND—continued.		1921–22.
New Zealand Inscribed Stock Act, 1917—continued.  Discharged Soldiers Settlement Loans Act, 1920—  Interest on £2,500 @ 5 per cent., 15 January and 15 July Interest on 2,475,944 ,, 5½ per cent., 15 January and 15 July On further issues, say	£ 125 136,177 20,000	£
£2,478,444	156,302	
Amount to be recovered from Discharged Soldiers Settlement Account	156,302	
Electric Power-works Loan Act, 1919— Interest on £1,331,010 @ 5 per cent., 15 January and 15 July Amount to be recovered from Electric Supply Account	66,550 66,550	•••
Finance Act, 1915 (Section 105), (Public Works)— Interest on £1,300 @ 5 per cent., 15 June and 15 December Interest on 140,135 ,, $5\frac{1}{2}$ per cent., 15 June and 15 December	65 7,707	
£141,435	•	7,772
Finance Act, 1916 (Section 35), (War Purposes)— Interest on £2,539,750 @ 4½ per cent., 15 May and 15 Novem	lber	114,289
Finance Act, 1918 (Section 10), (War Purposes)— Interest on £4,801,950 @ $4\frac{1}{2}$ per cent., 15 May and 15 Novembe Interest on 281,100 ,, 5 per cent., 15 May and 15 Novembe Interest on 4,569,480 ,, $4\frac{1}{2}$ per cent., 20 April and 20 October Interest on 439,340 ,, 5 per cent., 20 April and 20 October		457,737
£10,091,870		,,,,,,,,,
Finance Act, 1918 (No. 2), (Part IV), (War Purposes)— Interest on £27,060 @ 5 per cent., 20 April and 20 October Interest on 1,678,870 ,, $4\frac{1}{2}$ per cent., 20 April and 20 October	1,353 · 75,549	7/2 000
Finance Act, 1919 (Section 5), (Public Works)— Interest on £600,000 @ 5 per cent., 15 January and 15 July	•••	76,902 30,000
Land for Settlements Act, 1908— Interest on £ 800 @ 5½ per cent., 1 January and 1 July Interest on 14,150 ,, 5½ per cent., 1 February and 1 August	$\begin{array}{c} 44 \\ 778 \end{array}$	
£14,950	822	
Amount to be recovered from Land for Settlements Account	822	
Railways Improvement Authorization Act, 1914— Interest on £12,490 @ 5 per cent., 15 January and 15 July		 625
War Purposes Loan Act, 1917— Interest on £2,810 @ 3 per cent., 15 May and 15 November Interest on 770,960 ,, 5 per cent., 15 May and 15 November Interest on 12,821,515 ,, $4\frac{1}{2}$ per cent., 15 May and 15 November	84 38,548 576,968	615 600
£13,595,285		615,600
New Zealand State-guaranteed Advances Act, 1909-		1,308,668
Land for Settlements Branch— Interest on £ 25,000 @ 3½ per cent., 1 April and 1 October Interest on 470,000 ,, 3¾ per cent., 1 April and 1 October	875 17,625	
£495,000	18,500	
Amount to be recovered from Land for Settlements Account	18,500	

#### PERMANENT CHARGES—continued. 1921-22.INTEREST AND SINKING FUND—continued. New Zealand State-guaranteed Advances Act, 1909—continued. £ Native Land Settlement Branch-Interest on £381,600 @ $3\frac{1}{2}$ per cent., 1 April and 1 October ... 13,356 Interest on 54,500 ,, $3\frac{3}{4}$ per cent., 1 April and 1 October ... Interest on 110,000 ,, 4 per cent., 1 April and 1 October ... 2,044 4,400 19,800 £546,100 Amount to be recovered from Native Land Settlement Account 19,800 Guaranteed Mining Advances Branch-Interest on £5,000 @ 33 per cent., 1 April and 1 October 187 Amount to be recovered from Mining Advances Account... 187 Advances to Local Authorities Branch— Interest on £200,515 @ $3\frac{1}{2}$ per cent., 1 April and 1 October ... Interest on 95,425 ,, $3\frac{3}{4}$ per cent., 1 April and 1 October ... Interest on 56,800 ,, 4 per cent., 1 April and 1 October ... 7,018 3,579 2,272 £352,740 12,869 Amount to be recovered from— Hauraki Plains Settlement Account 3,438 7,981 Land for Settlements Account ... Rangitaiki Land Drainage Account 1,450 12,869 $New\ Zealand\ State ext{-}Guaranteed\ Advances}\ Acts,\ 1909 ext{-}10-$ Land for Settlements Branch— Interest on £53,900 @ 4 per cent., 1 May and 1 November Interest on 148,465 ,, 4 per cent., 1 January and 1 July ... 2,156 5,939 194,000 ,, 4 per cent., 1 April and 1 October ... 7,760 Interest on 741,066 ,, 4 per cent., 30 Åpril and 31 October 73,700 ,, $3\frac{1}{2}$ per cent., 30 April and 31 October 29,643 Interest on 2,580 Interest on 24,000 ,, 4 per cent., 1 March and 1 September 282,800 ,, 4 per cent., 1 February and 1 August 6,000 ,, $4\frac{1}{2}$ per cent., 1 March and 1 September 960 11,312 Interest on Interest on 270 £1,523,931 60,620 Amount to be recovered from the Land for Settlements Account 60,620 Native Land Settlement Branch— Interest on £30,000 @ $3\frac{3}{4}$ per cent., 1 April and 1 October ... Interest on 50,000 , 4 per cent., 1 April and 1 October ... 1,126 2,000 £80,000 3,126 Amount to be recovered from the Native Land Settlement Account 3,126 New Zealand State-guaranteed Advances Acts, 1909-10, and Finance Act, 1915 (Section 106)— Lana for Settlements Branch-Interest on £73,550 @ $4\frac{1}{2}$ per cent., 1 January and 1 July ... Interest on 10,000 ,, $4\frac{1}{2}$ per cent., 1 February and 1 August Interest on 4,000 ,, $4\frac{1}{2}$ per cent., 1 March and 1 September 3,310 450 180 £87,550 3,940 Amount to be recovered from the Land for Settlements Account 3,940 Guaranteed Mining Advances— Interest on £10,000 @ $4\frac{1}{2}$ per cent., 1 January and 1 July ...

Amount to be recovered from Mining Advances Account ...

450

450

560 1,620

2,180

2,180

### Appropriations for Consolidated Fund Services.

#### PERMANENT CHARGES—continued. 1921-22. INTEREST AND SINKING FUND—continued. £. Post and Telegraph Act, 1908-Interest on £200,000 @ 4½ per cent., 1 January and 1 July ... 9,000 Public Debt Extinction Act, 1910— 203,132 Sinking Fund on £105,000,000 Adjustment for financial years 1916 to 1921 (inclusive) 156,649 359,781 Public Revenues Act, 1910— Reserve Fund Securities Act, 1907— Interest on £800,000 @ 4 per cent., 1 February and 1 August 32,000 Treasury Bills-Interest on bills issued during the year @ $4\frac{1}{2}$ per cent., 30 September and 31 March 246 Public Revenues Amendment Act, 1914 (Section 8), (War Expenses)-Public Revenues Amendment Act, 1915 (No. 2), (Section 9)— Interest on £898,990 @ $4\frac{1}{2}$ per cent., 1 June and 1 December 40,454 Interest on 1,168,421 ,, $3\frac{1}{2}$ per cent., 30 September and 31 March 40,895 81,349 £2.067,411 Public Revenues Amendment Act. 1915 (Section 5), (War Expenses)-Public Revenues Amendment Act, 1915 (Section 3), (War Expenses Public Revenues Amendment Act, 1915 (No. 2), (Section 2)— Interest on £4,873,669 @ 5 per cent., 31 March and 30 Sept. Interest on 1,700,000 ,, $4\frac{1}{2}$ per cent., 1 February and 1 August Interest on 3,750 ,, 4 per cent., 1 February and 1 August Interest on 3,90,000 ,, 4 per cent., 1 May and 1 November Interest on 3,232,323 ,, $4\frac{1}{2}$ per cent., 1 June and 1 December 243,683 76,500 150 15,600 145,455481,388 £10,199,742 Public Works Act, 1908-Paeroa-Waihi Railway Act, 1903-Interest on £86,250 @ 4 per cent., 31 March and 30 September 3,450 Waikaka Branch Railway Act, 1905-Interest on 53,476 @ 4½ per cent., 1 May and 1 November ... 2,406 Railways Improvement Authorization Act, 1914— Interest on £255,000 @ 4 per cent., 1 February and 1 August 10,200 Interest on 415,000 ,, $4\frac{1}{2}$ per cent., 1 February and 1 August Interest on 30,000 ,, 5 per cent., 1 February and 1 August Interest on 9,200 ,, $4\frac{1}{2}$ per cent., 117 days to 1 August and 18,6751,500 ½-year to 1 February 340 20,000 ,, $4\frac{1}{2}$ per cent., 34 days to 1 August and Interest on ½-year to 1 February 534 £729,200° 31,249 Rangitaiki Land Drainage Amendment Act, 1913— Interest on £10,000 @ 4 per cent., 1 March and 1 September 400 Amount to be recovered from Rangitaiki Land Drainage Account 400

Rangitaiki Land Drainage Amendment Acts, 1913 and 1914— Interest on £14,000 @ 4 per cent., 1 March and 1 September Interest on 36,000,, 4½ per cent., 1 March and 1 September

Amount to be recovered from Rangitaiki Land Drainage

£50,000

Account

### PERMANENT CHARGES—continued.

		•
		1921–29
INTEREST AND SINKING FUND—continued.		
Rangitaiki Land Drainage Amendment Act, 1913, and Finance Act, 1917 (Section 81)—  Interest on £40,000 @ 4 per cent., 1 March and 1 September  Amount to be recovered from Rangitaiki Land Drainage Account	£ 1,600	£
Rangitaiki Land Drainage Amendment Act, 1913, and Appropriation Act, 1918 (Section 44)— Interest on £47,000 @ 4 per ceut., 1 March and 1 September Interest on 3,000, 4½ per cent., 1 March and 1 September	1,880 135	•••
£50,000	2,015	
Amount to be recovered from the Rangitaiki Land Drainage Account	2,015	
Rangitaiki Land Drainage Amendment Act, 1913, and Appropriation Act, 1919 (Section 19)—	<del></del> -	••• à
Interest on £60,000 @ 4½ per cent., 1 March and 1 September Amount to be recovered from the Rangitaiki Land Drain-	2,700	
age Account	2,700	• • •
Rangitaiki Land Drainage Amendment Act, 1913, and Finance Act, 1920 (Section 16)—  Interest on £20,000 @ 4½ per cent., 1 June and 1 December  Interest on 10,000,, 5 per cent., 1 June and 1 December  Interest on 20,000,, 4½ per cent., 36 days to 1 June and  ½-year to 1 December	900 500 539	
Interest on 5,000 ,, 4½ per cent., 156 days to 1 December On further issues, say	96 200	
£55,000	2,235	
Amount to be recovered from the Rangitaiki Land Drainage Account	2,235	•••
Scenery Preservation Act, 1908— Interest on £89,000 @ 4 per cent., 1 May and 1 November Interest on 5,000 ,, 4½ per cent., 1 May and 1 November	3,560 225	
£94,000	3,785	
Amount to be recovered from the Scenery Preservation Account	3,785	
State Advances Act, 1913— Advances to Settlers Branch— Interest on £573,200 @ 4 per cent., 1 June and 1 December Amount to be recovered from State Advances Office	22,928 22,928	
Advances to Workers Branch— Interest on £50,000 @ 4 per cent., 1 June and 1 December Amount to be recovered from State Advances Office	2,000 2,000	•••
Local Authorities Branch— Interest on £200,000 @ 4 per cent., 1 June and 1 December Amount to be recovered from State Advances Office	8,000 8,000	•••
Swamp Drainage Act, 1915— Interest on £46,000 @ 4 per cent., 1 May and 1 November Amount to be recovered from Swamp Land Drainage Ac-	1,840	•••
count	1,840	•••

### PERMANENT CHARGES—continued.

•		1921–22.
INTEREST AND SINKING FUND—continued.		
Swamp Drainage Act, 1915, and Appropriation Act, 1918 (Section 46)— Interest on £27.000 @ 4 per cent., 1 May and 1 November Interest on 50,000 ,, $4\frac{1}{2}$ per cent., 1 May and 1 November Interest on 50,000 ,, 5 per cent., 1 May and 1 November Interest on 20,000 ,, $4\frac{1}{2}$ per cent., 17 days to 1 May and $\frac{1}{2}$ -year to 1 November Interest on 10,000 ,, $4\frac{1}{2}$ per cent., 178 days to 1 November Interest on 20,000 ,, $4\frac{1}{2}$ per cent., 172 days to 1 November Interest on 20,000 ,, $4\frac{1}{2}$ per cent., 172 days to 1 November Interest on 20,000 ,, $4\frac{1}{2}$ per cent., 154 days to 1 November Interest on 20,000 ,, $4\frac{1}{2}$ per cent., 145 days to 1 November On further issues, say	£ 1,080 2,250 250 492 219 424 380 358 500	£
£172,000 ——————————————————————————————————	5,953	
Amount to be recovered from Swamp Land Drainage Account	5,953	
		•••
Waihou and Ohmemuri Rivers Improvement Act, 1910— Interest on £130,000 @ 4 per cent., 1 February and 1 August Interest on 20,000, 4½ per cent., 1 February and 1 August	5,200 900	
£150,000	6,100	
Amount to be recovered from the Waihou and Ohinemuri Rivers Improvement Account	6,100	
Waihou and Ohinemuri Rivers Improvement Act, 1910, and		•••
Finance Act, 1919 (Section 6)— Interest on £68,000 @ $4\frac{1}{2}$ per cent., 1 February and 1 August Interest on 3,000 ,, $4\frac{1}{2}$ per cent., 118 days to 1 August,	3,060	
Interest on 10,000 ,, $4\frac{1}{2}$ per cent., 101 days to 1 August, $\frac{1}{2}$ -year to 1 February	111 350	
On further issues, say	1,000	
£81,000	4,521	
Amount to be recovered from the Waihou and Ohinemuri Rivers Improvement Account	4,521	
War Purposes Loan Act, 1917, and War Purposes Loan Act, 1917 (No. 2), (New Zealand Loans Act, 1908, and Amendment Act,		•••
Interest on $3,300,000$ , $5\frac{5}{8}$ per cent., 31 March and 30 September 17 Interest on $1,530,000$ , $5$ per cent., 31 March and 30 September 7	76,075 77,375 76,500 37,054	
£14,508,250		697,004
Wellington and Manawatu Railway Purchase Act, 1908— Interest on £500,000 @ 4½ per cent., 1 March and 1 September		22,500
Westport Harbour Act, 1920— Westport Harbour Board Act, 1884— Interest on £150,000 @ 4 per cent., 1 March and 1 September Sinking Fund, 1 per cent. on above	6,000 1,500	
Westport Harbour Board Act, 1884, and Loan Acts, 1896, 1897, and 1900— Interest on £500,000 @ 4 per cent., 1 January and 1 July	20,000	
Sinking Fund, 1 per cent. on above	5,000	

### ${\bf PERMANENT~CHARGES-} continued.$

1921-	
Mestport Harbour Board Loan Act, 1908—	-22.
Mestport Harbour Boara Loan Act, 1908—	
Amount to be recovered from the Westport Harbour Account  44,500  To provide for increase in rate of interest for renewal of loans falling due during the year  State Advances Debt— The Government Advances to Settlers Act, 1894, and Extension Act, 1901— Interest on £80,000 @ 4½ per cent. 1 June and 1 December 3,600  Amount to be recovered from the State Advances Office  Government Advances to Settlers Act, 1908— Advances to Settlers— Interest on £105,000 @ 4½ per cent., 1 June and 1 December 4,725 Interest on 57,900 ,, 4 per cent., 1 January and 1 July 2,316 Interest on 100,000 ,, 4½ per cent., 1 March and 1 September 4,500  £262,900  Amount to be recovered from the State Advances Office  Advances to Workers— Interest on £5,000 @ 4 per cent., 1 January and 1 July 200 Interest on £5,000 @ 4 per cent., 1 January and 1 July 200 Interest on £5,000 @ 4 per cent., 1 January and 1 December 1,125  £30,000  Amount to be recovered from the State Advances Office  1,325  Amount to be recovered from the State Advances Office  1,325	ś
To provide for increase in rate of interest for renewal of loans falling due during the year	
The Government Advances to Settlers Act, 1894, and Extension Act, 1901—  Interest on £80,000 @ 4½ per cent. 1 June and 1 December 3,600  Amount to be recovered from the State Advances Office 3,600  Government Advances to Settlers Act, 1908—  Advances to Settlers—  Interest on £105,000 @ 4½ per cent., 1 June and 1 December 4,725  Interest on 57,900 ,, 4 per cent., 1 January and 1 July 2,316  Interest on 100,000 ,, 4½ per cent., 1 March and 1 September 4,500  £262,900 11,541  Amount to be recovered from the State Advances Office 11,541  Advances to Workers—  Interest on £ 5,000 @ 4 per cent., 1 January and 1 July 200  Interest on 25,000 ,, 4½ per cent., 1 June and 1 December 1,125  £30,000 1,325  Amount to be recovered from the State Advances Office 1,325	,000
Interest on £80,000 @ 4½ per cent. 1 June and 1 December 3,600  Amount to be recovered from the State Advances Office 3,600  Government Advances to Settlers Act, 1908—  Advances to Settlers— Interest on £105,000 @ 4½ per cent., 1 June and 1 December 4,725 Interest on 57,900 ,, 4 per cent., 1 January and 1 July 2,316 Interest on 100,000 ,, 4½ per cent., 1 March and 1 September 4,500  £262,900	
Advances to Settlers— Interest on £105,000 @ 4½ per cent., 1 June and 1 December 4,725 Interest on 57,900 ,, 4 per cent., 1 January and 1 July 2,316 Interest on 100,000 ,, 4½ per cent., 1 March and 1 September 4,500  £262,900	
Advances to Settlers— Interest on £105,000 @ 4½ per cent., 1 June and 1 December 4,725 Interest on 57,900 ,, 4 per cent., 1 January and 1 July 2,316 Interest on 100,000 ,, 4½ per cent., 1 March and 1 September 4,500  £262,900	
Interest on 57,900 ,, 4 per cent., 1 January and 1 July 2,316 Interest on 100,000 ,, 4½ per cent., 1 March and 1 September 4,500  £262,900	
Amount to be recovered from the State Advances Office  Advances to Workers— Interest on £ 5,000 @ 4 per cent., 1 January and 1 July 200 Interest on 25,000 ,, 4½ per cent., 1 June and 1 December 1,125 £30,000  Amount to be recovered from the State Advances Office 1,325	
Office	
Interest on £ 5,000 @ 4 per cent., 1 January and 1 July 200 Interest on 25,000 ,, 4½ per cent., 1 June and 1 December 1,125  £30,000 1,325  Amount to be recovered from the State Advances Office 1,325	
Amount to be recovered from the State Advances Office 1,325	
Amount to be recovered from the State Advances Office 1,325	
•••	
Government Advances to Settlers Act, 1908, and Finance Act, 1915 (Section 106)— Advances to Workers—	
Interest on £10,000 @ 4½ per cent., 1st January and 1st July Amount to be recovered from the State Advances	
Office 450	•
New Zealand State-guaranteed Advances Acts, 1909 and 1910— Advances to Settlers— Interest on £1,762,626 @ 4½ per cent., 1 June and 1 December 79,318 Interest on 205,000 ,, 4 per cent., 1 June and 1 December 8,200	
Interest on 750,000, 4 per cent., 23 April and 23 October 30,000 Interest on 43,794, 4 per cent., 1 February and 1 August 1,752	
£2,761,420 119,270	
Amount to be recovered from the State Advances Office 119,270	

## $A \ ppropriations \ for \ Consolidated \ Fund \ Services.$

PERMANENT CHAR	RGES—c	ontinued.		
INTEREST AND SINKING F	UND—co	ontinued.		1921–22.
Advances to Workers— Interest on £205,000 @ 4 per cent., 1 Janual Interest on 7,000 ,, 4 per cent., 1 April Interest on 750,406 ,, 4 per cent., 1 February Interest on 328,283 ,, 4½ per cent., 1 June £1,290,689  Amount to be recovered from the Office	and 1 O ary and and 1 De	ctober  1 August cember	\$,200 280 30,016 14,773 53,269	£
TOTAL INTEREST	AND S	INKING	FUND	£8,512,352
Interest and Sinking Fund Less Recoveries	•••		 •••;	10,319,184 1,806,832
Net charge to Consolidated Fund	•••			£8,512,352

### ANALYSIS.

_			1921-22. Estimated,	
Purpose of Loans.		Gross.	Recoveries from respective Accounts.	Net charge to Consolidated Fund.
		£	£	£
War Expenses		4,615,198		4,615,198
Discharged Soldiers Settlement (	including	l ' '		, ,
purchase of Estates)		467,150	467,150	
Land for Settlements		403,456	403,456	
State Advances		463,048	463,048	
Public Works		487,100		487,100
Electric Supply		188,955	188,955	
Greymouth Harbour Board		14,400	14,400	
Westport Harbour		44,500	44,500	•••
Miscellaneous Purposes		3,635,377	225,323	3,410,054
TOTAL	•••	£10,319,184	£1,806,832	£8,512,352

PERMANENT CHARGES	-continued.		
	CIGI (MIXIN)		1921–22.
UNDER SPECIAL ACTS OF THE LE	GISLATURE.		
Appropriation Act, 1916 (Section 9)— Payment of subsidies to Local Bodies in respect of	general rates	•••	£ 165,000
Appropriation Act, 1920 (Section 11)— Butter subsidy for seasons 1918-19 and 1919-20		•••	8,251
Appropriation Act, 1920 (Section 12)— Butter subsidies payable for season 1920–21		• • •	504,146
Auckland University College Act, 1882 Grant-in-aid		•••	4,000
Civil Service Act, 1908— Pensions, Compensation, and Gratuities under Civ	il Service Act, 190	8	28,000
Defence Act, 1909— Pensions and allowances	••		3,000
Education Act, 1914—		5	
Education Boards— Subsidies on bequests and on voluntary contr Public Primary Schools (including District H		int of	15,000
Technical Instruction— Subsidies on bequests and on voluntary contribu	utions	•••	4,000
National Scholarships— Grants to Education Boards for junior and senio	or scholarships		12,000
Secondary Schools— Subsidies on bequests and on voluntary contribu	itions	•••	1,000
Education Reserves Amendment Act, 1913 (Section 3) Compensation for improvements	<del> </del>		13,000
Finance Act, 1918 (No. 2), (Section 8)— Free issue of official postage-stamps to members of	both Houses		1,850
Finance Act, 1919 (Section 14)— Pensions in respect of Police Officers			500
Finance Act, 1920 (Section 21)— Interest at 4 per cent. on New Zealand Exped profits and regimental funds deposited with Gov		nteen	2,904
Finance Act, 1920 (Section 43)— Canterbury College (additional to statutory grant)			2,000
Fire Brigades Act, 1908— Section 21 (subsidies payable)			2,000
Greymouth Harbour Board Amendment Act, 1920 (Se Subsidy for interest, sinking fund, and other loan		•••	15,000
High Commissioner Act, 1908— Salary of High Commissioner		•••	2,000
Hospitals and Charitable Institutions Acts, 1909, 191 Subsidies payable	0, and 1913— 		425,000
Industrial Conciliation and Arbitration Act, 1908— Salaries of Judge and Members of the Arbitration	Court	•••	3,500
Judicature Act, 1908— Superannuation allowances			3,750
Judicature Amendment Acts, 1913 and 1920—			
Salarias of Indress of the Supreme Court	••	•••	16,250

### PERMANENT CHARGES—continued.

UNDER SPECIAL ACTS OF THE LEGIS	SLATU	JRE	-cont	inued.	1921–22.
Land Act, 1908—					£
Payments to Receivers of Land Revenue, Local for payment to local authorities in respect of					54,792
National Endowment Residue— For Education purposes For Old-age Pensions	•••			£ 71,737 30,744	
Land Settlement Finance Act, 1909 (Section 13)— Deficiencies in interest due on debentures guara	nteed	by th	a Go		102,481
Legislature Act, 1908, and Civil List Act, 1920—		•			•••
Payment to Members of the Legislative Council a  Legislative Officers' Salaries—	nd Hou	ise of .	Repre	esentatives	47,650
Legislative Council—					
Speaker Chairman of Committees	• • •			•••	800 500
Clerk				 	750
Clerk Assistant					550
House of Representatives— Speaker					1,000
Chairman of Committees				•••	750
Clerk					750
Clerk Assistant	•••		• • •	•••	550
*Local Bodies' Amendment Act, 1908 (Section 10 Sinking funds of guaranteed loans payable to P		rustee	e		600
Local Bodies' Loans Act, 1913 (Subsections 3 and Sinking funds payable to State Advances Office	4 of Se	ction	•		500
			•••	•••	300
Magistrates' Courts Amendment Acts, 1913 and 19 Salaries of Magistrates	20—			· • •	25,433
Marlborough High School Act, 1899— Grant-in-aid				•••	400
Miner's Phthisis Act, 1915, and Finance Act, 1920 Pensions and allowances	) <u> </u>			•••	29,500
M					
Municipal Corporations Act, 1908 (Section 73)— Subsidies payable in respect of general rates					25,000
Matienal Duranidant Floor A Act 1010 (Section 95)				(°	
National Provident Fund Act, 1910 (Section 25)— Subsidies on contributions	•••		· · · •	$\mathfrak{L}$ $27,416$	
TT: 1010 7 37 1' 7 17 17	7 4	1 101	^	•	
Finance Act, 1916, and National Provident For Maternity allowances (section 18)	una Ac	t, 191	0	7,000	
Maternity allowances for Friendly Societies (	$\section$	67)	•••	28,500	
Subsidy on total contributions from appropriate from the ground of 21st December 1	coved	Frien	dly		
Societies for the year ended 31st December tion 75)	oer, 19	19 (s	ec-	1,056	
	•••		•••		63,97
New Plymouth Harbour Board Endowment Act, 18 One-fourth of proceeds of sales, &c., payable to		ur Bo	ard		8,500
New Zealand Institute Act, 1908— General expenses of Institute	•••				1,000
New Zealand Loans Act, 1908— New Zealand Consolidated Stock— Charges and expenses of management			•••	•••	23,500
Public Debts Sinking Funds—	d ounce	ngog			50
Salary of Secretary to the Commissioners, an	(I HX DE				

## ${\tt PERMANENT~CHARGES-} continued.$

FERMANENT CHAN				
				1921–22.
UNDER SPECIAL ACTS OF THE LEG	ISLATUR	E—cont	inued.	
New Zealand University Act, 1908— Contribution to University	•••	•••	•••	£ 4,000
New Zealand University Amendment Act, 1914,	and Aman	dmant		
Act, 1919 (Section 4)—	, and Amen	WINGTO	:	2 .00
University National Scholarships University bursaries	•••	•••	• • •	3,400 10,000
National Research Scholarships				250
Grants-in-aid to Auckland University College			£ 8,000	
Victoria University College	* • • • •	• • • •	8,000	
Canterbury University College University of Otago	•••		$5,000 \\ 10,500$	
,				31,500
University Colleges— Subsidies on bequests and on voluntary cont	ributions		•••	8,000
Orchard-tax Act, 1916 (Section 4)—			v	
Proceeds of Orchard-tax payable to New growers' Federation, Limited	Zealand	Fruit-		2,000
	•••	•••	•••	2,000
Pensions Act, 1913, and Finance Act, 1920— Military pensions (Maori War)				40,000
Old-age pensions			750,000	,
Less amount charged to National Endows	ment Resid	ue	30,744	719,256
Widows' pension	•••	•••	•••	225,000
Public Revenues Act, 1910, and Appropriation Ac			1 200	
Salary of Controller and Auditor-General Claims repayable under sections 16, 29, and 90	o	•••	1,300 300	
				1,600
Public Revenues Amendment Act, 1912 (Section 5) Fire Insurance Fund		•••	•••	10,000
Public Service Act, 1912, and Appropriation Act, Salaries of Public Service Commissioners	1920—	•••		2,700
Public Service Classification and Superannua	tion Amen	dment		
Acts, 1908, 1909, and 1912—				
Annual contributions— Public Service Superannuation Fund			86,000	
Railway Superannuation Fund		•••	25,000	
Teachers' Superannuation Fund	•••	•••	43,000	154,000
Rabbit Nuisance Act, 1908— Expenses connected with the destruction of ra	bbits	•••	•••	5,500
Reserves and other Lands Disposal and Public B	Rodies Emp	wering	Act, 1916	
(Section 67)— Compensation to Mrs. Ann Noble, of Alexandr	ra, Otago	•••	•••	78
Schafer, McGuire, and Others Pension Act, 1872- Mrs. Ellen McGuire		•••	•••	18
Slaughtering and Inspection Act, 1908—				
Compensation to owners of condemned stock	•••	·		9,000
Stock Act, 1908— Compensation for stock destroyed	•••			11,000
Valuation of Land Act, 1908 (Section 33)— Acquisition of land under Sections 30 and 31	•••	•••		3,000
Victoria College Act, 1905—			-	
Grant-in-aid	•••	•••		4,000

PERMANENT CHARGES—continued.							
				1921–22.			
UNDER SPECIAL ACTS OF THE LEGI Waihou and Ohinemuri Rivers Improvement Act, 1	1910—			£			
Section 17 (d) and Amendment Act, 1912, an (Section 27), (Crown's proportion of interest raised under the Act)	id Appro			1,000			
War Pensions Act, 1915, and Finance Act, 1920—Pensions and allowances				1,750,000			
Walsh and Others Pension Act, 1869— Mrs. Ellen Ann Hewett	••/	•••		50			
Westport Harbour Act, 1920, and Finance Act, 19 Transfer to Westport Harbour Account	21 (Sect	ion 4)	•••	24,000			
TOTAL UNDER SPECIAL A	ACTS	•••	•••	£4,640,531			

### ANALYSIS.

					1921–22.
					Expended.
					£
Education Purposes	•••	•••	•••		184,287
Pensions	• • •				2,829,896
Subsidies to Local Authorities					207,000
Subsidies to Hospital Boards			•••	•••	425,000
Subsidies on account of Butter					512,397
Miscellaneous	•••	••	•••		481,951
TOTALS		•••	•••	•••	£4,640,531

### SUMMARY.

		1 (1)			1921–22.
Interest and Sinking Fund	,		•••		£ 8,512,352
Under Special Acts		•••	•••	• / •	4,640,531
TOTAL PERMANENT	CHARGES	***		•••	£13,152,883

## I.—LEGISLATIVE DEPARTMENTS.

				1921–22.				
		· · · · · · · · · · · · · · · · · · ·		Salaries.	Othe	r Charges.	Total.	
Vote No.	1.—Le	gislative Departments—		£		£	£	
Subdivis	ion No	. I.—Legislative Council		2,600		230	2,830	
"		II.—House of Representatives		3,440		9,725	13,165	
; "	. 1	II.—Law Drafting Office		2,834		200	3,034	
	-	IV.—General Assembly Library		3,395		1,538	4,938	
"		V.—Hansard		7,320		9,050	16,370	
"		VI.—Bellamy's		6,536		2,938	9,474	
,,	T	III.—General Expenses		4,121		28,164	32,288	
		TOTAL—VOTE No. 1		30,246		51,845	82,091	
	TOTA	AL		30,246		51,845	82,091	
Number of Persons.	Item.	VOTE No. 1.—LEGISLATIV Subdivision No. 1.—Legi			s.		1–22.	
1921–22.		Subdivision No. I.—Legi			ь.	£	£	
	1	Salaries and other Charges				0.105		
	1					2,185		
		Uniform cost-of-living increas cost of living rises or falls	e, subje			315		
		Uniform cost-of-living increas cost of living rises or falls Cost-of-living increase, in addi by the Civil List Act, 192 Clerk, Legislative Council	e, subjection to s		 ded £ 50			
		Uniform cost-of-living increas cost of living rises or falls Cost-of-living increase, in addi by the Civil List Act, 192	e, subjection to s		ded £			
		Uniform cost-of-living increas cost of living rises or falls Cost-of-living increase, in addi by the Civil List Act, 192 Clerk, Legislative Council Clerk Assistant	e, subjection to s	 alaries provi 	 ded £ 50	315		
	2	Uniform cost-of-living increas cost of living rises or falls Cost-of-living increase, in addi by the Civil List Act, 192 Clerk, Legislative Council	e, subjection to s 20 ENTAL TO	 ealaries provi 	 ded £ 50	100	•	
	2	Uniform cost-of-living increas cost of living rises or falls Cost-of-living increase, in addi by the Civil List Act, 192 Clerk, Legislative Council Clerk Assistant	e, subjection to second	alaries provi council	ded £ 50 50	100 2,600	- 2,830	
	2	Uniform cost-of-living increas cost of living rises or falls Cost-of-living increase, in addi by the Civil List Act, 192 Clerk, Legislative Council Clerk Assistant  OTHER CHARGES FOR AND INCIDE Staff of Minister leading Legis  Total—Subdivis	ee, subjection to so	calaries provi	ded £ 50 50	100 2,600	2,830	
	2	Uniform cost-of-living increase cost of living rises or falls Cost-of-living increase, in addition by the Civil List Act, 192 Clerk, Legislative Council Clerk Assistant  OTHER CHARGES FOR AND INCIDE Staff of Minister leading Legis  Total—Subdivis  Subdivision No. II.—House Salaries—	ee, subjection to so	calaries provi	 ded £ 50 50	100 2,600 230	2,830	
		Uniform cost-of-living increas cost of living rises or falls Cost-of-living increase, in addi by the Civil List Act, 192 Clerk, Legislative Council Clerk Assistant  OTHER CHARGES FOR AND INCIDE Staff of Minister leading Legis  Total—Subdivis  Subdivision No. II.—House Salaries— Second Clerk Assistant Sergeant-at-Arms	e, subjection to s 20—  ENTAL TO slative Con No.  of Repr	calaries provi	ded £ 50 50	100 2,600 230 500 300	- 2,830	
		Uniform cost-of-living increase cost of living rises or falls Cost-of-living increase, in addition by the Civil List Act, 192 Clerk, Legislative Council Clerk Assistant  OTHER CHARGES FOR AND INCIDE Staff of Minister leading Legis  Total—Subdivis  Subdivision No. II.—House Salaries— Second Clerk Assistant Sergeant-at-Arms Reader and Clerk of Bills and Accountant and Record Clerk	e, subjection to s 20—  ENTAL TO slative Control No.  of Repr	calaries provi	ded £ 50 50	100 2,600 230	- 2,830	
1 1 1 1		Uniform cost-of-living increase cost of living rises or falls Cost-of-living increase, in addition by the Civil List Act, 192 Clerk, Legislative Council Clerk Assistant  OTHER CHARGES FOR AND INCIDE Staff of Minister leading Legis  Total—Subdivis  Subdivision No. II.—House Salaries— Second Clerk Assistant Sergeant-at-Arms Reader and Clerk of Bills and Accountant and Record Clerk Chief Messenger	e, subjection to s 20—  ENTAL TO slative Con No.  of Repr	calaries provi	ded £ 50 50	100 2,600 230 500 300 380 350 330	- 2,830	
1 1 1 1 1		Uniform cost-of-living increase cost of living rises or falls Cost-of-living increase, in addition by the Civil List Act, 192 Clerk, Legislative Council Clerk Assistant  OTHER CHARGES FOR AND INCIDE Staff of Minister leading Legis  Total—Subdivis  Subdivision No. II.—House Salaries— Second Clerk Assistant Sergeant-at-Arms Reader and Clerk of Bills and Accountant and Record Clerk Chief Messenger Assistant Chief Messenger	e, subjection to s 20—  ENTAL TO slative Con No.  of Repr	calaries provi	ded £ 50 50	100 2,600 230 230 500 380 350 330 305	2,830	
1 1 1 1		Uniform cost-of-living increase cost of living rises or falls Cost-of-living increase, in addition by the Civil List Act, 192 Clerk, Legislative Council Clerk Assistant  OTHER CHARGES FOR AND INCIDE Staff of Minister leading Legis  Total—Subdivis  Subdivision No. II.—House Salaries— Second Clerk Assistant Sergeant-at-Arms Reader and Clerk of Bills and Accountant and Record Clerk Chief Messenger	e, subjection to so	alaries provi	ded £ 50 50	100 2,600 230 230 500 380 350 330 305 265	- 2,830	
1 1 1 1 1 1 4		Uniform cost-of-living increas cost of living rises or falls Cost-of-living increase, in addi by the Civil List Act, 192 Clerk, Legislative Council Clerk Assistant  OTHER CHARGES FOR AND INCIDE Staff of Minister leading Legis  Total—Subdivis  Subdivision No. II.—House Salaries— Second Clerk Assistant Sergeant-at-Arms Reader and Clerk of Bills and Accountant and Record Clerk Chief Messenger Assistant Chief Messenger Messenger Committee Clerks: 3 at £235 Clerk, House of Representa	ition to s 20—  ENTAL TO slative Con No.  of Repr  Papers  , 1 at £2 tives	alaries provi	ded £ 50 50	100 2,600 230 230 500 380 350 330 305 265 910 50	- 2,830	
1 1 1 1 1 1 1		Uniform cost-of-living increase cost of living rises or falls Cost-of-living increase, in addition by the Civil List Act, 192 Clerk, Legislative Council Clerk Assistant  OTHER CHARGES FOR AND INCIDE Staff of Minister leading Legis  Total—Subdivis  Subdivision No. II.—House Salaries— Second Clerk Assistant Sergeant-at-Arms Reader and Clerk of Bills and Accountant and Record Clerk Chief Messenger Assistant Chief Messenger Messenger Committee Clerks: 3 at £235	ition to s 20—  ENTAL TO slative Con No.  of Repr  Papers  , 1 at £2 tives	alaries provi	ded £ 50 50	500 230 230 500 380 350 330 305 265 910	2,830	

 $<sup>\</sup>boldsymbol{*}$  Includes cost-of-living increase to scale salaries or wages.

### I.—LEGISLATIVE DEPARTMENTS—continued.

Number of Persons.	Item.		1921-	-22.
1921–22.	-   	VOTE No. 1.—LEGISLATIVE DEPARTMENTS—continued.		——————————————————————————————————————
		Subdivision No. 11.—House of Representatives—contd.	£	£
	4	OTHER CHARGES FOR AND INCIDENTAL TO— Office fittings and requisites, including printing and stationery	1,260	
	5	Telephone services, including installation, extensions, maintenance, rent, and calls	450	
	6	Temporary Assistance—       £         Extra Clerks        1,774         Extra Committee Reporters        100         Extra Messengers        4,505         Orderlies        1,626	#0 00F	
	7	Contingencies, including unforeseen expenditure incidental to the other items of the vote	*8,005 10	
		Matal Subdivision No. 71	9,725	13,165
		Total—Subdivision No. II		10,100
			248	
		Subdivision No. III.—Law Drafting Office.		
	8	Salaries— Bill Drafting Department—		
1		Law Draftsman	900	
2		1 at £550, 1 at £500 Compilation Department—	1,050	
1		Compiler of Statutes Clerical and General— Shorthand-writer, Typiste, and Office Assistant	700 184	- g'
5			2,834	
,	9	OTHER CHARGES FOR AND INCIDENTAL TO— Office requisites, printing and stationery, postage, purchase of law reports, telephones, and con- tingencies	200	
		Total—Subdivision No. III		3,03
			. :	
		Subdivision No. IV.—General Assembly Library.		
1 1	10	SALARIES—  Library—  Chief Librarian (also grant of £50 per annum as Advisory Director, Turnbull Library)  Assistant Librarian	725 500	
5		5 Assistants in Library: 1 at £400, 1 at £350, 1 at £335, 2 at £320 Binder for Parliamentary Library	1,725 295	
1	-	Messenger	*3,395	•
9	_		0,000	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

### I.—LEGISLATIVE DEPARTMENTS—continued.

Number of Persons.	Item.		1921–	<b>22.</b>
1921–22.	<b></b>	VOTE No. 1.—LEGISLATIVE DEPARTMENTS— continued.	1	
		Subdivision No. IV.—General Assembly Library— continued.	£	£
	11 12 13 14 15	OTHER CHARGES FOR AND INCIDENTAL TO— Allowance to H. J. Millan, late Assistant, on retirement Binding books Grant to Library Fund Newspapers and carriage of books Payment for London Gazette and other official publications  Total—Subdivision No. IV	50 400 600 370 118 1,538	4,93
		Subdivision No. V.— Hansard.	9	
1 11 1 1 1 1 1 2	16	Salaries—  Hansard Staff and Reporters— Chief Reporter  11 Reporters: 5 at £460, 2 at £455, 1 at £425, 1 at £405, 2 at £380  Hansard Supervisor  Clerk to Hansard Supervisor Hansard Indexer  Committee Reporters: 2 at £255 Extra assistance for Hansard	705 4,800 430 405 195 225 510 50	
	17	OTHER CHARGES FOR AND INCIDENTAL TO— Printing of Hansard	*7,320 9,050	
		Total—Subdivision No. V		16,37
		Subdivision No. VI.—Bellamy's.		
	18	Salaries—  Manager (also Custodian) † Attendants, Manager's staff: 3 at 17s., 3 at 15s. 6d., and 1 at 15s. per diem  Extra Attendants, Manager's staff, during session (transferred from Subdivision II)	*450 *2,053 *4,033	
	19 20 21	OTHER CHARGES FOR AND INCIDENTAL TO— Linen, glassware, china, cutlery, plateware, towels, kitchen utensils, uniforms, and furniture, &c., for use of members in Bellamy's and Parliamentary Buildings  Maintenance of staff during session Washing linen, &c	1,050 1,688 200	
			2,938	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages. keepers, &c., during the recess.

<sup>†</sup> These attendants are employed as door-

## $A\,ppropriations\,\,for\,\,Consolidated\,\,Fund\,\,Services.$

### I.—LEGISLATIVE DEPARTMENTS—continued.

Number of Persons.	Item.		1921-	22.
1921–22.	 	VOTE No. 1.—LEGISLATIVE DEPARTMENTS— continued.		
		Subdivision No. VII.—General Expenses.	£	£
	22	Salaries—		
4		4 Gardeners: 2 at 16s., 2 at 15s. 6d. per diem	986 [	
1		1 Night-watchman	265	
1		Extra Watchmen Electrician in charge of lighting, bells, and telephones	2,466	
•		during session	202	
1		Furnace Attendant during session	202	
7			*4,121	
		OTHER CHARGES FOR AND INCIDENTAL TO-		
	23	Advertising	10	
	24	Allowance for retired extra clerks and messengers		
	0.5	(12 months)	1,280	
	25 26	Allowance to A. Ankers, Watchman, on retirement	*9 700	
	27	Cleaning up buildings (three) previous to session	*3,700 100	
	28	Compassionate allowance to ex-Messenger R. Fullerton	50	
	29	Fuel, light, power, and water	2,500	
	30	Furniture, brooms, brushware, soap, towels, linen,		
		matches, tools, coal-buckets, and shovels (purchase and repairs to)	600	
	31	Laundry-work for Legislative Department	150	
	32	Parliamentary photographic shield	25	
	33	Passages and expenses of witnesses attending Committees of both Houses	50	
	34	Passages of members of both Houses	1,350	
	35	Passages of members of both Houses other than pro-	1,550	
		vided for by the Civil List Act, 1920	452	
	36	Postage and telegrams, including parliamentary	900	
	37	papers Postage of Statutes, Journals, &c., to other Parlia-	900	
		ments and Libraries (previously paid for by		
		Internal Affairs Department)	30	
	38	Printing of Statutes, Journals, and Appendices,		
		Bills, and Order Papers (previously paid for by Government Printing Office)	15,550	
	39	Private Secretary to the Leader of the Opposition	120	
	40	Refreshments to Messengers, Orderlies, &c., on late-	405	
	41	sitting nights Translating Acts into Maori	$\frac{125}{95}$	
	42	Travelling allowances and expenses	$\begin{bmatrix} 35 \\ 50 \end{bmatrix}$	
	43	Typewriters: Purchase and repairs	100	
	44	Uniforms for messengers	400	
	45	Upkeep of parliamentary grounds	100	
	46	Winding and repairing clocks, &c Window-cleaning, rubbish-removal, and chimney-	42	
	<b>3</b> 1	sweeping	370	
	48	Contingencies, including unforeseen expenditure in-	-	
		cidental to the other items of the vote	25	
		·	28,164	
		Total—Subdivision No. VII		32,285
		TOTAL—VOTE No. 1		82,091
	mor	'AL	£82,091	

 $<sup>\</sup>boldsymbol{*}$  Includes cost-of-living increase to scale salaries or wages.

## II.—DEPARTMENTS OF FINANCE.

				19	21–22.	
· · · · · · · · · · · · · · · · · · ·	• • • • • • • • • • • • • • • • • • •	.  -	Salaries.	Othe	r Charges.	Total.
Vote No. 2.—Tr	easury Department—		£		£	£
Subdivision	I.—Treasury Department		21,253			21,253
" II	I.—Miscellaneous Services		•••		26,027	26,027
" III	Rates on Crown and Native Lan	ids	•••		50	
	TOTAL—VOTE No. 2		21,253	-	26,077	47,330
Vote No. 3.—L	and and Income Tax Department		33,231		33,725	66,956
Vote No. 4.—St	amp Duties Department—				'	
$Sub m{d}ivision \ m{I}$	-Stamp Duties Department		21,352		22,701	44,053
,, <i>II.</i> –	-Land and Deeds Registry		36,370	. ".	36,787	73,157
	TOTAL—VOTE No. 4		57,722		59,488	117,210
TO	TAL		112,206		119,290	231,496
1921–22.	Subdivision No. 1.—Treasur				£	£
1921-22.	Salaries—  Administrative Dr.  1 at £1,150 (Secretary, Receiver Paymaster-General, Registr Zealand Consols and New Inscribed Stock), (also Super State Advances Office, £100) 1 at £1,000 (Assistant Secret	visio r-Ger Zer inter	epartment.  N. neral, New aland adent Ac-	£ 150	£	£
	countant to the Treasury, an Registrar New Zealand Con New Zealand Inscribed Stock	nsols ()	and	000	2,150	
2	CLERICAL DIVISI  Class I—  2 at £650  Class II—	on.	•••		1,300	
4	4 at £550		•••		2,200	
3	Class IV— 2 at £450 1 at £425 Class V—			$900 \\ 425$	1,325	
7	4 at £380 3 at £365 Class VI—		1,	520 095	2,615	
11	9 at £350 2 at £330			150 660	3,810	l <sub>g</sub>

### II.—DEPARTMENTS OF FINANCE—continued.

Number of Persons.	Item.					1921-	22.
	-ļ	VOTE No. 2.—TREASUL		PARTMEN	VT		
1921–22.		continue	ed.				.:
	1 1	~ 1	<b>n</b>			£	£
		Subdivision No. I—Treasury	Depart	<i>ment</i> —cont	inued.		
	1 .	0					
	1 1	Salaries—continued.				,	
		CLERICAL DIVISIO	Ncont	imaad			
		Class VII—	11	mucci.	£		
		4 at £320			$1,\tilde{2}80$		
		1 at £310			310		
	1 1	2 at £290			580		
		3 at £270			810		
		2 at £260			520		
		3 at £250	•••	•••	750		
		1 at £240		•••	240		
		2 at £230	•••	• • • •	460		
		1 at £215	• • •		215		
	[. [	6 at £160	•••	•••	960		
		2 at £140	•••	•••	280		
		1 at £115	α) ···	•••	$115 \ 333$	1	
		4 at £100 (1 for 4 month	a)	***	$\frac{555}{411}$		
		5 at £85 (2 for 11 month 5 at £80	.D)	•••	400		
44		2 at £65		• • • •	130		
11		2 800	• • •	•••	100	7,794	
		Cadets' lodging-allowance			•••	400	
	1	Cadous Toaging and wanted	•••	•••	į.	100	
		GENERAL D	IVISION.				
		1 at £285		•••	285		
	1 1	1 at £240			240		
		2 at £230	•••		460		
		1 at £164	• • • •	•••	164		
	1 1	3 at £152	•••	• • •	456	}	
		2 at £140	•••		280		
		1 at £124	•••	•••	124		
15		4 at £100		•••	400	0.400	
	-					2,409	
88						04 002	
	-	Less estimated credit	a undor	goation 4	8 of the	24,003	
		Public Revenues Ac		section 4		1,500	
		I done Hevendes he	0, 1010	•••	•••	1,000	
		Less salaries of officer	s on loa	n <u></u>		*22,503	
		1 at High Commissi	oner's o	ffice	450	22,300	
		3 at Samoa			800		
	1 1	5 44 /544==4				1,250	
		Total-Sub	division	ı No. I			21,25
	1 1						
		Subdivision No. II—Mi	17	9			
		Subdivision No. 11-Mi	<i>всенапе</i> (	ous Service	δ.		
		Miscellaneous Services—					
		Charges for and incidenta	Τ. ΤΟ				
	2	Advances made to New Ze		embers of I	[mnerial		
		Air Forces detained in	Svdnev	owing to th	ne mari-		
		time strike	Junoy	J.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		478	
	3	Advertising, photographs,	books.	newspape	rs, and		
		other publications				75	
	4	Allowances to officers temp	oorarily	performing	special		
	-	or higher duties			•••	100	
	5	Bank exchange, commission	a, discou	int, and sta	mp duty	5,000	
	6	Law-costs	•••	•••	•••	25	
	7	Office fittings and requisite	es (inclu	ıding print	ing and	1	
	. 1	stationery)				4,500	

\* Includes cost-of-living increase to scale salaries or wages.

Number of Persons.	Item.	VOTE No. 2.—TREASURY DEPARTMENT—	1921-	22.
1921–22.	-! 	continued.		
		Subdivision No. II.—Miscellaneous Services—continued.	£	£
	8 9	MISCELLANEOUS SERVICES—continued. CHARGES FOR AND INCIDENTAL TO—continued. Overtime and meal allowances Payment to P.S. Superannuation Fund in respect of superannuated Civil servants who were re-employed	500	
		during the war and whose emoluments did not exceed £315 per annum	296	
	10	Postage, telegrams, and rent of boxes	3,500	
	11	Premium paid to Ministry of Food, London, on moneys accepted for payment in New Zealand	6,763	
	12	Refunds under the Unclaimed Moneys Act, 1908 (Section 8)	100	
	13	Rent, proportion of, High Commissioner's Office, Lon-	İ	
	14	don Subsistence allowance granted to repatriated muni-	150	
	15	tion-workers without means to reach their homes	500	
	16	Telegrams beyond the Dominion (recoverable) Telephone services (including installation, extensions,	300	
	17	maintenance, rent, and calls) Temporary assistance	$^{75}_{*4,400}$	
	18	Travelling allowances and expenses	100	
	19	Value of interest coupons paid by Post-office, but lost in transit after cancellation	10	•
	20	Contingencies, including unforeseen expenditure incidental to the other items of the vote	50	
		Transfer to the other home of the following		
		Less estimated credits under section 48 of the	26,627	
		Public Revenues Act, 1910	600	
		Total -Subdivision No. II		26,02
		Subdivison No. III.—Rates on Crown and Native Lands.		
	21	Payable under section 108 of the Rating Act, 1908— Special rates on Crown Lands, payable in respect	40	
	22	of security given by local bodies for certain loans Payment of special rates on lands acquired by the Crown, as provided by section 112 of the Local	40	
	23	Bodies' Loans Act, 1913 Special rates on Native Lands, payable in respect	5	
		of security given by local bodies for certain loans	5	
		$Total-Subdivision\ No.\ III \ \ -$		5
		TOTAL—VOTE No. 2		47,33
		LAND AND INCOME TAX DEPARTMENT.		
		VOTE No. 3.		
	1	Salaries—		
		Administrative Division.		
1		1 at £1,250 (Commissioner of Taxes)	1,250	
		CLERICAL DIVISION.		
1		Class Special—   1 at £750	750	
		Class I—	İ	
1		1 at £650 $\dots$	650	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages. † Legislative authority was subsequently obtained to charge this item to Discharged Soldiers Settlement Account.

Number of Persons.	Item.					1921–	22.
1921–22.	-   	LAND AND INCO	OME TAX DEI continued.	PARTME	NT—		
		VOTE No. 3—continue	ad.			£	£
	1	Salaries—continued.					
		$C$ LERICAL $Class\ IV$ —	Division—conta	inued.			
6		6 at £450	•••	•••		2,700	
		Class V—			£		
		9 at £400			3,600		
11		2 at £380	•••	• • •	760	4 200	
		Class VI—				4,360	
		9 at £350			3,150	ľ	
,		2 at £330	•••		660		
13		2 at £310	•••		620	4,430	
		Class VII—				±,±0∪ {	
		1 at £320	•••	•••	320		
		1 at £290 3 at £270	•••	•••	290 810		
		4 at £250	•••	•••	1,000		
		6 at £230	•••	•••	1,380	1	
		7 at £215	•••	•••	1,505		
		32 at £160 18 at £115	•••	•••	$\begin{bmatrix} 5,120 \\ 2,070 \end{bmatrix}$		
		15 at £100	•••		1,500		
95		8 at £85	•••	•••	680		
		Lodging-allowances	s: 14 at £40, 10	at £30°		14,675 860	
			ERAL DIVISION.				
		4 at £270	ERAL DIVISION.		1,080	.	
		6 at £250	•••	•••	1,500	1	
		1 at £206	•••		206		
- 13		1 at £184 1 at £115	•••	•••	184 115		
	-					3,085	
<b>13</b> 8						*34,860	
<u>.</u> .		Less proportion of	of salaries and in it not payable fo			1,629	
		provision for the	at let pujuste i	<i>j</i>	-  -		
		OTHER CHARGES FOR	AND INCIDENTAL	то—	1.	33,231	
	2	Advertising, photo			ers, and	222	
	1 -					650	
		other publication	s	•••	•••		•
	3 4		s	•••		15,875	
	3	other publication Contribution to Val Law-costs Office fittings and	s uation Departm 	ent		15,875 1,950	
	3 4 5	other publication Contribution to Val Law-costs Office fittings and stationery)	s uation Departm requisites (inclu	ent	ting and	15,875 1,950 4,500	
	3 4 5 6	other publication Contribution to Val Law-costs Office fittings and stationery) †Overtime and mea	s luation Departm requisites (inclu l allowances	ding prin	ting and	15,875 1,950	
	3 4 5	other publication Contribution to Val Law-costs Office fittings and stationery) †Overtime and mea Payment to Post services of officer	s uation Departm requisites (inclu l allowances and Telegraph s	ding prin	ting and	15,875 1,950 4,500 100 1,560	
	3 4 5 6 7 8	other publication Contribution to Val Law-costs Office fittings and stationery) †Overtime and mea Payment to Post services of officer Postage, telegrams,	s uation Departm requisites (inclu l allowances and Telegraph s	ding prin	ting and	15,875 1,950 4,500 100 1,560 4,000	
	3 4 5 6 7 8 9	other publication Contribution to Val Law-costs Office fittings and stationery) †Overtime and mea Payment to Post services of officer Postage, telegrams, Rent of offices	s uation Departm requisites (inclu l allowances and Telegraph s and rent of box	ding prin	ting and nent for	15,875 1,950 4,500 100 1,560 4,000 850	
	3 4 5 6 7 8	other publication Contribution to Val Law-costs Office fittings and stationery) †Overtime and mea Payment to Post services of officer Postage, telegrams, Rent of offices Telephone services	s uation Departm requisites (inclu l allowances and Telegraph s and rent of box	ding prin	ting and nent for	15,875 1,950 4,500 100 1,560 4,000	
	3 4 5 6 7 8 9 10 11 12	other publication Contribution to Val Law-costs Office fittings and stationery) †Overtime and mea Payment to Post services of officer Postage, telegrams, Rent of offices Telephone services Temporary assistan Travelling allowanc	s uation Departm requisites (inclu l allowances and Telegraph s and rent of box ce es and expenses	ding prin Departm	ting and nent for	15,875 1,950 4,500 100 1,560 4,000 850 140	
	3 4 5 6 7 8 9 10 11	other publication Contribution to Val Law-costs Office fittings and stationery) †Overtime and mea Payment to Post services of officer Postage, telegrams, Rent of offices Telephone services Temporary assistan	s uation Departm requisites (inclu l allowances and Telegraph s and rent of box ce es and expenses uding unforesee	ding prin  Department  ding prin  Department  ding prin   ting and nent for	15,875 1,950 4,500 100 1,560 4,000 850 140 *2,500		
	3 4 5 6 7 8 9 10 11 12	other publication Contribution to Val Law-costs Office fittings and stationery) †Overtime and mea Payment to Post services of officer Postage, telegrams, Rent of offices Telephone services Temporary assistan Travelling allowanc Contingencies, inch	s uation Departm requisites (inclu l allowances and Telegraph s and rent of box ce es and expenses uding unforesee	ding prin  Department  ding prin  Department  ding prin   ting and nent for iture in-	15,875 1,950 4,500 100 1,560 4,000 850 140 *2,500 1,500		

<sup>\*</sup>Includes cost-of-living increase to scale salaries or wages. † Previously charged to "Temporary Assistance."

Number of Persons.		1921	L-22.
921-22.	VOTE No. 4.—STAMP DUTIES DEPARTMENT.		<u> </u>
	Subdivision No. I.—Stamp Duties Department.	£	£
1	Salaries-	***	
	Administrative Division.	1.18	
1	1 at £1,000 (Commissioner, also Secretary, Land and		
	Deeds, £100)	1,000	
	CLERICAL DIVISION.		
	Special Class—		
1	1 at £750 £	750	
	1 at £650 650		
2	1 at £600 600		
2	Class II— ————————————————————————————————	1,250 $1,100$	
	Class III—	1,100	1
2	2 at £500	1,000	
4	Class V— 4 at £400	1,600	
_	Class VI—	1,000	
1	9 at £350 3,150 1 at £330 330		
11	1 at £330 330 1 at £310 310		·
	Class VII—	3 ,790	;
	2 at £320 640 2 at £310 620		
	1 at £290 290		-
	1 at £270 270		*
<i>i</i> .	2 at £250 500 3 at £230 690		
	2 at £215 430		
	21 at £160 3,360		
	1 at £140 140 1,150		
48	3 at £100 300	ž.	
	GENERAL DIVISION.	8,390	
	GENERAL DIVISION.  1 at £295 295		
	1 at £245 245	1	į
	5 at £225 1,125 1 at £206 206		
	1 at £206 206 1 at £184 184		
	1 at £152 152		
	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
18	2 at £100 200	نو.	
	and the second of the second o	3,172	
89	· · · · · · · · · · · · · · · · · · ·	*22,052	
	Less salaries of officers provided for and not	22,002	
,	required	700	
		21,352	
	OTHER CHARGES FOR AND INCIDENTAL TO-		}
$\begin{array}{c c} 2 \\ 3 \end{array}$	Audit fees for inspection of accounts	350	
3 4	Cost of peace stamps	1,500 5,070	
5	Cost of new embossing dies	175	ĺ
6	Freight, cartage, and transport charges	300	
7 8	Fuel, light, power, and water Law-costs	100 500	
9	New Samoan stamps (recoverable) Office-cleaning	300 20	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

Number of Persons.	Item.	VOTE No. 4.—STAMP DUTIES DEPARTMENT—	1921–	<b>22.</b>
1921-22.	 	continued.		
<u>.</u> .	(		£	£
		Subdivision No. 1.—Stamp Duties Department—	:	
	1	continued.		
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.	ļ	
	12	Overtime and meal allowances	50	
İ	13	Postage, telegrams, and rent of boxes	2,000	
	14	Postage-stamp paper	5,000	
	15	Printing and stationery	2,500	
	16	Printing ink	600	
	17	Purchase of amusement-tax tickets	300	
	18	Recoupment of stamp duties revenue embezzled by		
		T. U. Bristow, Napier	150	
	19	Refund of fees, Westland Timber Company, Limited	36	
	$\begin{vmatrix} 20 \\ 21 \end{vmatrix}$	Stamp-printing machinery	200	
	41	Telephone services (including installation, extensions, maintenance, rent, and calls)	200	
	22	Temporary assistance	*1,550	
	23	Travelling allowances and expenses	1,050	
	24	Typewriters: Purchase and repairs	150	
	25	Valuation fees	250	
	26	Valuator (2 years, 1920–21 and 1921–22)	100	
	27	Contingencies, including unforeseen expenditure in-		
		cidental to the other items of the vote	50	
	Ç		00 051	
		Less estimated credits under section 48 of Public	22,951	
		Revenues Act, 1910	250	
		nevenues not, 1710	200	
			22,701	
	l 1	Total—Subdivision No. I		44,053
	li			-
			İ	
				•
	. '	Subdivision No. II.—Land and Deeds Registry.	-	
	28	G	}	
	20	Salaries—		
		Administrative Division.		
	, , ,	Secretary (also Commissioner of Stamp Duties, £1,000)	100	
			-	
		PROFESSIONAL DIVISION. £ 1 at £850 (Registrar-General of Land, &c.) 850		
2	4 .	1 at £800 (District Land Registrar, &c.) 800		
_		2 44 4500 (2 15121 2 15	1,650	
	7	Class A—		
1		1 at £750	750	
		Class B—		
		1 at £625 $\dots$ 625	1	
		2 at £600	1 30	
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
- 7		3 at £550 1,650	4,050	
7	1 5	1 at £490	4,000	
		Class $D$ —		
7 · 1	į.			
	ű.	1 at £450 450	1 1 1	
	ii v			
1	53	1 at £450 450 1 at £430 430	880	
1	10 mg/s	1 at £450 450 1 at £430 430 CLERICAL DIVISION.	880	
1	10 m	1 at £450 450 1 at £430 430 430 CLERICAL DIVISION.		
2	The second secon	1 at £450 450 1 at £430 430 CLERICAL DIVISION.  Class IV— 7 at £450 3,150		
1	with the second of the second	1 at £450 450 1 at £430 430 CLERICAL DIVISION.  Class IV— 7 at £450 3,150 1 at £425 425		
2	22 mag (2)	1 at £450 450 1 at £430 430  CLERICAL DIVISION.  Class IV— 7 at £450 3,150 1 at £425 425  Class V—		
2		1 at £450 450 1 at £430 430 CLERICAL DIVISION.  Class IV— 7 at £450 3,150 1 at £425 425		

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

Number of Persons.	Item.					1921	-22.
1921–22.	}	VOTE No. 4.—ST	AMP DUTIES I continued.	EPART	MENT—		
		Subdivision No. I	II Land  and  Ii continued.	Deeds Reg	gistry—	£	£
	28	Salaries—continue	ed.				
		CLERIC	al Division—cont	inued.			
i	}	Class VI—		.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		1	
	1	4 at £350	•••	•••	1,400		
7	İ	2 at £330 1 at £310	•••	•••	660 310		
•		1 80 2010	•••	. • •	910	2,370	
	j	Class VII-				2,010	
		6 at £320	•••	• • • .	1,920		
		5 at £310	•••	•••	1,550		
j	1	4 at £290 8 at £270	. •••	•••	1,160		
		7 at £250	•••	•••	$\frac{2,160}{1,750}$		
		7 at £230		•••	1,610	3	
]		3 at £215	•••	•••	645		
		13 at £160	•••	•••	2,080	1	
		1 at £140	•••	•••	140		
97		22 at £115 21 at £100	•••	•••	2,530		
31		21 00 2100	•••	•••	2,100	17,645	
		G	ENERAL DIVISION.			,	:
		1 at £250	•••	***	250	i	
		1 at £235	•••	•••	235	-	
ĺ	-	2 at £206 1 at £164	•••	•••	412	*	
		3 at £152	***	•••	$\begin{bmatrix} 164 \\ 456 \end{bmatrix}$	İ	
	1	9 at £140	•••	••	1,260		
1	1	2 at £124	•••	•••	248	1	
		1 at £115	•••	•••	115		
24		4 at £100	•••	•••	400	9 540	*
154	1					3,540	
<del></del>		Less salarie	s provided for an	d not req	uired	*36,970 600	
					Ì	36,370	
	29	OTHER CHARGES F Account, record,	or and incidental and other books		g cost of		
ľ		material, print	ing, and binding)	•••		600	
	30		otographs, books,	newspap	ers, and	050	
	31	other publicati	ous fficers temporarily	performin	g special	950	
		or higher dutie	es	·		200	
	32		spection of accoun			300	
	33 34	Compassionate a Contract work fo	llowance: Widow	v oi Iv. Sin	1	$\frac{450}{2,500}$	
	35	Draughtsman's v	vork performed by	the Survey	v Depart-	2,000	
İ		ment.	•••	• • •		21,000	
1	36	Freight, cartage,	and transport cha	irges		110	
	37	Fuel, light, powe	er, and water	•••	••• {	350	
1	38 39	Mounting and bi		 idina prin	ting and	50	
	99	stationery)	nd requisites (inclu	ading prin	ming and	200	
}	40	†Office cleaning	•••	•••		50	
1	41	Overtime and me	eal allowances	•••		150	
	42	Postage, telegran	ns, and rent of box	ces		350	
}		Printing and sta			1	3,000	
	43	Defend on the 1	tionery	 Time i		0,000	
	43   44	Refund contribu Bray	tionery tions Superannua			27	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

<sup>†</sup> Previously charged to "Contingencies."

Number of Persons.	Item.		1921	-22.
1921–22.		VOTENO. 4.—STAMP DUTIES DEPARTMENT— continued.  Subdivision No. II.—Land and Deeds Registry— continued.	£	£
	46 47 48 49 50	OTHER CHARGES FOR AND INCIDENTAL TO—continued. Telephone services (including installation, extensions, maintenance, rent, and calls) Temporary assistance Travelling allowances and expenses Typewriters: Purchase and repairs Contingencies, including unforeseen expenditure incidental to the other items of the vote	300 *3,650 1,150 200	
÷		Less estimated credits under section 48 of Public Revenues Act, 1910  Total—Subdivision No. II	36,937 150 36,787	73,15
		TOTAL—VOTE No. 4	-	117,210

 $<sup>\</sup>boldsymbol{\ast}$  Includes cost-of-living increase to scale salaries or wages.

# III.—NATIONAL PROVIDENT AND FRIENDLY SOCIETIES DEPARTMENT.

						19	921–22.	
				-	Salarie	s. Oth	er Charges.	Total.
	ng r			-	£		£	£
Vote No. 5.		ational Provident Office	and Friendly Socie	eties	13,	072	14,578	27,650
***				1				
TOT	AL		•••		13,	072	14,578	27,650
Number of Persons.	Item.						192	1–22.
1921–22.			L PROVIDENT A			DLY	£	£
	1	VOTE No. 5. Salaries—	Administrative Di	INICIA	Ν			
1		ļ	uperintendent and				800	
			Professional Div	Vision	r <b>.</b>	£		
2		1 at £575 1 at £550	•••		•••	575 550		
			CLERICAL DIVIS	ION.			1,125	
1		Class III— 1 at £475 Class IV-—			•••	•	475	
1		1 at £450 Class V—	•••				450	
3		3 at £400 Class VI—	•••		•••		1,200	
7		6 at £350 1 at £330	•••			2,100 330		
		Class VII— 4 at £320	•••			1,280	2,430	
		2 at £290 3 at £270	•••		•••	580 810		
		2 at £215 9 at £160	····		•••	430 1,440		
		2 at £115 2 at £100	•••		•••	230 200		
33		1 at £85 8 at £65	•••		•••	85 520		
		Cadets' lodg	ing-allowances		•••		5,575	

## $\label{lem:consolidated} \textit{Appropriations for Consolidated Fund Services}.$

#### III.—NATIONAL PROVIDENT AND FRIENDLY SOCIETIES DEPARTMENT.

Number of Persons.	Item.		1921-	22.
921–22.	<u> </u>	NATIONAL PROVIDENT AND FRIENDLY SOCIETIES DEPARTMENT—continued.		
		VOTE No. 5—continued.	£	£
	1	Salaries—continued.		
		GENERAL DIVISION.		
		1 at £320 320		
4		2 at £152 304   1 at £140 140		
+	_	1 at £140 140	764	
52				
			13,214	
		Less proportion of increases to salaries provided for but not payable for full year	142	
		for but not payable for full year	142	
			*13,072	
		OTHER CHARGES FOR AND INCIDENTAL TO-		
	2	Allowance to Secretary, National Provident Fund		
	3	Board	$\begin{bmatrix} 15 \\ 5,700 \end{bmatrix}$	
	4	Expenses of Actuary's removal from Sydney to	3,100	
		Wellington to take up appointment	100	
	5	Maternity payments specially approved	12	*
	6	Office fittings and requisites (including printing and	1 500	
	7	stationery) Overtime and meal allowances	$\begin{array}{c c} 1,500 \\ 100 \end{array}$	
	8	Payment for statistical returns of sickness and	100	
		mortality	700	
	9	Payment to Post and Telegraph Department	600	
	10	Postage, telegrams, and rent of boxes Rent	900   1,300	
	12	Shortages due to contributions over-credited	1,000	
	13	Telephone services (including installation, extensions,		
	1	maintenance, rent, and calls)	100	•
	14 15	Temporary assistance Travelling allowances and expenses	*1,800	
	16	Contingencies, including unforeseen expenditure in-	000	
		cidental to the other items of the vote	50	
			13,478	
	1.7	WAR EXPENSES—		
	17	Assistance to Sick and Funeral Funds of Friendly Societies on account of deficiencies due to the war		
		and of excess after-discharge sickness	1,000	
	18	Half contributions of contributors of National Provi-	2,000	
		dent Fund serving with Expeditionary Forces	100	
			1,100	a
		TOTAL—VOTE No. 5		27,6

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

#### IV.—WORKING RAILWAYS DEPARTMENT.

			19	021-22.
				Total.
Vote	No. 6.—Working Railways		٧	£ 6,492,776
	TOTAL			6,492,776
	GROSS REVENUE	•••	£	Estimated. 7,250,000
Item.			192	1–22.
	Classification and Increases under Act.	8	,022	Miles.
1	WORKING RAILWAYS.  VOTE No. 6. HEAD OFFICE—		£	£
	General Manager Assistant General Manager, £1,200; Chief Clerk, £650; Chief Accountant, £900; Assistant Chief Accountant, £650; General Inspector, £650; District Traffic Manager, £650; Comptroller of Stores, £700; Officer in Charge, Advertising Branch, £650; 5 Audit Inspectors at £500; 79 Clerks—1 at £650, 1 at £550, 1 at £520, 2 at £500, 5 at £465, 3 at £450, 1 at £410, 5 at £400, 7 at £355, 3 at £350, 2 at £345, 14 at £320, 1 at £310, 6 at £290, 2 at £270, 6 at £250, 11 at £230, 8 at £215; 11 Cadets—4 at £160, 1 at £115, 1 at £100, 5 at £85; Cadets lodging-allowance—5 at £40, 1 at £30.  Contingencies—Temporary clerical and drafting assistance, pay of office-cleaners, messengers, and night-watchmen, stationery and supplies, travelling allowances and expenses, allowance to members under Regulation No. 86 (made under the Government Railways Act, 1908), increased night allowances to members and allowances to members on transfer in excess of the regulations, special allowance to shorthand-writers, cost of hearing Appeal Board cases, expenses in connection with sittings of Wages Boards, and all other unforeseen expenditure incidental to the other items of the vote	35,	910	

#### IV.—WORKING RAILWAYS—continued.

Item.	WORKING RAILWAYS—continued.		1-22. Miles.
	VOTE No. 6—continued.	0,022	
2	DEPARTMENTAL OFFICES—		£
	Maintenance Branch—Chief Engineer, £1,100; Assistant Chief Engineer, £900; Supervising En-	£	<b>ಪ</b>
	gineer, £750; Inspector, Building Construction—		
	1 at £450, 1 at £400; Officer in Charge, Architectural Branch, £800; 8 District Engineers—3		
	at £750, 1 at £700, 3 at £650, 1 at £600; 6		
	Assisting Engineers—1 at £550, 1 at £520, 3 at		
	£500, 1 at £425; 103 Clerks and Draughtsmen—1		
	at £650, 4 at £550, 4 at £500, 6 at £450, 3 at £410, 6 at £400, 1 at £380, 8 at £355, 4 at £350,		
	1 at £330, 11 at £320, 4 at £310, 5 at £290, 6 at		
	£270, 10 at £250, 22 at £230, 7 at £215; 27 Cadets—1 at £170, 7 at £160, 1 at £150, 1 at £130,		
	7 at £95, 10 at £85; 20 Cadets' lodging-allowance		
	at £40 each.		
	Signal Branch—Signal Engineer, £900; Assistant Signal Engineer, £650; Electrician, £520; Chief		
	Clerk, £465; Draftsmen and Clerks—1 at £450, 1		74
	at £290, 1 at £355, 1 at £310, 2 at £215; Civil		
	Engineering Cadets—1 at £150; Cadets—1 at £85. Locomotive Branch—Chief Mechanical Engineer,		
	£1,100; Assistant Chief Mechanical Engineer,		
	£800; 5 Locomotive Engineers—1 at £750, 2 at		
	£700, 1 at £650, 1 at £525; 4 Assistant Locomotive Engineers—1 at £525, 1 at £355, 2 at £350; 1		
	Locomotive Inspector at £550; 3 Boiler Inspectors		
	—1 at £450, 1 at £500, 1 at £425; 2 Brake		
	Inspectors—1 at £375, 1 at £365; 74 Clerks—1 at £650, 1 at £550, 1 at £520, 1 at £500, 2 at £465,		
	1 at £450, 4 at £400, 1 at £370, 14 at £355, 6 at		
	£350, 13 at £320, 1 at £310, 2 at £290, 5 at £270,	1	
	8 at £250, 3 at £230, 10 at £215; 5 Cadets—2 at £160, 1 at £100, 2 at 85.		
	Traffic Branch — Chief Traffic Manager, £1,250; 10		
	District Traffic Managers — 1 at £750, 2 at £700, 6 at £650, 1 at £570; 4 Assistant District Traffic		
İ	Managers at £650; 156 Clerks—1 at £650, 2 at		
	£550, 2 at £525, 1 at £520, 3 at £500, 5 at £475,		
	3 at £450, 20 at £400, 11 at £355, 14 at £350, 28 at £320, 4 at £310, 5 at £290, 9 at £270, 2 at £250,		
	20 at £230, 26 at £215; 17 Cadets—10 at £160,		
	1 at £100, 6 at £85; Cadets' lodging-allowance—	1.51 000	
	6 at £40	151,390	
	ance, stationery and supplies, travelling allow-		
	ances and expenses, allowances to members under		
	Regulation No. 86 (made under the Government Railways Act, 1908), increased night allowances to		
	members and allowances to members on transfer in		
	excess of the regulations, and all other unforeseen expenditure incidental to the other items of the		
	vote	5,610	
		157,000	
	Total Hand and Danautmantal Office		
	Total Head and Departmental Offices	215,000	
3	Working-expenses of Sections—		
	Including salaries and wages; allowances made to		
	members by regulations made under section 68 of		
	the Government Railways Act, 1908, for special work performed in the course of their duty; payments		
	for Sunday duty; general repairs and miscellaneous		
	services; supplies of stores, provisions, stationery,		
1	water, and material; advertising; compensation for accidents, personal injuries received, loss of por-		

	IV.—WO	RKING RAI	ILWAYS-	-continue	d.	n
Item.	WORKING R		-continued	•		1–22. Miles.
3	Working-expenses of perty by fire, dam on goods lost or of telephones, mainted the Workers' Companient on with work which Department passionate allowadrafting assistance penses; allowance No. 86 (made un Act, 1908); increas and allowances to of the regulations contingencies and	SECTIONS—co age to or loss destroyed; p mance of wire pensation Act is outside rai t has benefic inces; tempo e; travelling es to member der the Gov sed night allo members on	s of goods costages, fes; payments; payments interested allowances under Fernment owances to a transfer and supp	telegrams, ents under onts in con- ndaries in est; com- rical and e and ex- Regulation Railways o members in excess lies; also	£	£
	incidental to the o					
	Maintenance of Way a	nd Works-				
	Section— Whangarei Kaihu		•••	•••	29,000 5,000	
	Gisborne North Island Mair South Island Main			· · · · · · · · · · · · · · · · · · ·	$ \begin{array}{r} 14,000 \\ 554,139 \\ 417,100 \end{array} $	v
	Westland Westport Nelson	••••	•••	•••	73,500 15,400 15,000	
	Picton Special allowance	to ex-Inspe	ector J. S	•••	18,000	
	originating idea	of ballast pic	ougn	•• •	50	
	Less estimated Public Revenu		r section	48 of the	9,000 1,132,189	
	Maintenance of Signa 1921–22— Section—	ls, Telegraph	is, and $T$	${\it Telephones},$		
	Whangarei	•••	• •••	•••	765	
	Gisborne North Island Main South Island Main			•••	340 47,075 26,075	
	Westland Westport	•••	•••		1,355 $825$	
ĺ	Nelson Picton	•••			190 375	
	Locomotive Running Rolling-stock—	and Repairs	and Re	newals of	77,000	
	Section— Whangarei Kaihu	·			25,740 3,920	
	Gisborne North Island Mair	 Line and Br	anches		20,850 1,752,750	
	South Island Main Westland		anches 		1,16,7000 64,500	
	$egin{array}{lll}  ext{Westport} & \dots & \dots & \dots & \dots \\  ext{Picton} & \dots & \dots & \dots & \dots \\  ext{Picton} & \dots & \dots & \dots & \dots \\  ext{The substitution} & \dots & \dots & \dots & \dots \\  ext{The substitution} & \dots & \dots & \dots & \dots \\  ext{The substitution} & \dots & \dots & \dots & \dots \\  ext{The substitution} & \dots & \dots & \dots & \dots \\  ext{The substitution} & \dots & \dots & \dots & \dots \\  ext{The substitution} & \dots & \dots & \dots & \dots \\  ext{The substitution} & \dots & \dots & \dots & \dots \\  ext{The substitution} & \dots & \dots \\  ext{The substitution} & \dots & \dots \\  ext{The substitution} & \dots & \dots \\  ext{The substitution} & \dots & \dots \\  ext{The substitution} & \dots & \dots \\  ext{The substitution} & \dots & \dots \\  ext{The substitution} & \dots & \dots \\  ext{The substitution} & \dots & \dots \\  ext{The substitution} & \dots & \dots \\  ext{The substi$				37,300 15,400 15,290	
	Allowance to engine Rimutaka Incline	men and fir			250	
	Less estimated	credits under	r section	48 of the	3,103,000	
	Public Revent				3,000	
					3,100,000	

#### IV.—WORKING RAILWAYS—continued.

						1–22. Miles.
	WORKING RAII	LWAYS-c	ontinued			
	VOTE No. 6—continued.				£	£
3	Working-expenses of Sec	TIONS—con	tinued.			
	Traffic Expenses— Section—					
	Whangarei				16,500	
	Kaihu		•••		2,600	
	Gisborne	•••	• • •		10,300	
	North Island Main Li				980,200	
	South Island Main Lin	ne and Bra	nche	• • • •	800,390	
	Westland	. •••	•••		52,000	
	Westport	• • •	•••	• • • •	29,000	
	Nelson Picton	•••	• • •	• • •	23,000	
	Allowance to guards em	oloved on F	 Rimutaka lu	 ncline	14,000	
	Cash lost in transit by ra				19	
	Cash low in signific by it		•••	***		٠.
					1,928,109	
	Less estimated cree		section 48	of the		
	Public Revenues	Act, 1910			16,000	
					1,912,109	
	i also Walsatiny ataoman	comico			11 500	
	Lake Wakatipu steamer	service	***	•••	11,500	
	Minaellamanua	. •			-	
	Miscellaneous— Allowances to be paid to Second Divisions in each of pay set forth in the Railways Act, 1912, for the course of their dut Less already provide various sections	excess of the schedules to or special way	e maximun o the Gover ork perform 	n rates nment		
	Allowances to be paid to Second Divisions in each of pay set forth in the Railways Act, 1912, for the course of their dut Less already provide various sections	excess of the schedules to or special way ded for und	te maximun o the Gover vork perform  ler the 	n rates nment med in £101	1	
	Allowances to be paid to Second Divisions in each of pay set forth in the Railways Act, 1912, for the course of their dut Less already provide various sections  Audit fees for inspection	excess of the schedules to repectal way ded for und of accounts	te maximun o the Gover vork perform  ler the 	n rates nment med in £101	900	
	Allowances to be paid to Second Divisions in each of pay set forth in the Railways Act, 1912, for the course of their dut Less already provide various sections  Audit fees for inspection Compassionate allowance	excess of the schedules to repectal way ded for und of accounts	te maximun o the Gover vork perform  ler the 	n rates nment med in £101	1	
	Allowances to be paid to Second Divisions in each of pay set forth in the Railways Act, 1912, for the course of their dut Less already provide various sections  Audit fees for inspection Compassionate allowance L. Hopkirk E. F. Wallace	excess of the schedules to repectal way ded for und of accounts	te maximun o the Gover vork perform  ler the 	n rates nment med in £101	900	
	Allowances to be paid to Second Divisions in each of pay set forth in the Railways Act, 1912, for the course of their dut Less already provide various sections  Audit fees for inspection Compassionate allowance L. Hopkirk E. F. Wallace E. Longman	excess of the schedules to repectal way ded for und of accounts	te maximun o the Gover vork perform  ler the 	n rates rnment med in £101  100	1 900 100 250 25	
	Allowances to be paid to Second Divisions in each of pay set forth in the Railways Act, 1912, for the course of their dut Less already provide various sections  Audit fees for inspection Compassionate allowance L. Hopkirk E. F. Wallace E. Longman M. M. Derbidge	excess of the schedules to repectal way ded for und of accounts	te maximun o the Gover vork perform  ler the 	rates rement med in £101	1 900 100 250 25 250	
	Allowances to be paid to Second Divisions in each of pay set forth in the Railways Act, 1912, for the course of their dut Less already provide various sections.  Audit fees for inspection Compassionate allowance L. Hopkirk E. F. Wallace E. Longman M. M. Derbidge H. T. B. Walker	excess of the schedules to repectal way ded for und of accounts	te maximun o the Gover vork perform  ler the 	100	1 900 100 250 25 250 50	
	Allowances to be paid to Second Divisions in each of pay set forth in the Railways Act, 1912, for the course of their dut Less already provide various sections.  Audit fees for inspection Compassionate allowance L. Hopkirk E. F. Wallace E. Longman M. M. Derbidge H. T. B. Walker F. Marshall	excess of the schedules to repectal way ded for und of accounts	te maximun o the Gover vork perform  ler the 	100	1 900 100 250 25 250 50 20	
	Allowances to be paid to Second Divisions in each of pay set forth in the Railways Act, 1912, for the course of their dut Less already provide various sections.  Audit fees for inspection Compassionate allowance L. Hopkirk E. F. Wallace E. Longman M. M. Derbidge H. T. B. Walker F. Marshall T. M. Dore	excess of the schedules to repectal way ded for und of accounts	te maximun o the Gover vork perform  ler the 	n rates nment med in £101  100	1 900 100 250 25 250 50 20 100	
٠	Allowances to be paid to Second Divisions in each of pay set forth in the Railways Act, 1912, for the course of their dut Less already provide various sections.  Audit fees for inspection Compassionate allowance L. Hopkirk E. F. Wallace E. Longman M. M. Derbidge H. T. B. Walker F. Marshall T. M. Dore T. McLean	excess of the schedules to respecial way ded for und of accounts es to—	te maximum to the Gover tork perfore the the the the the the the the the th	n rates nment med in £101  100	1 900 100 250 25 250 50 20 100 62	
	Allowances to be paid to Second Divisions in each of pay set forth in the Railways Act, 1912, for the course of their dut Less already provide various sections.  Audit fees for inspection Compassionate allowance L. Hopkirk E. F. Wallace E. Longman M. M. Derbidge H. T. B. Walker F. Marshall T. M. Dore T. McLean Fee to Chairman of Railways and the second provided that the second payment of Railways and the second provided that the second payment is second provided that the second payment is second provided to the second payment in the second payment is second payment in the second payment in the second payment is second payment in the second payment is second payment in the s	excess of the schedules to respecial way of accounts es to—	te maximum to the Gover tork perform the the the the the the the the the the the	n rates nment med in £101  100	1 900 100 250 25 250 50 20 100	
	Allowances to be paid to Second Divisions in each of pay set forth in the Railways Act, 1912, for the course of their dut Less already provide various sections.  Audit fees for inspection Compassionate allowance L. Hopkirk E. F. Wallace E. Longman M. M. Derbidge H. T. B. Walker F. Marshall T. M. Dore T. McLean Fee to Chairman of Railways.	excess of the schedules to repected with the special with the schedules to repected with the schedules the schedules to repe	te maximum to the Gover tork perform the the the the the the the the the the the	n rates nment med in £101  100	1 900 100 250 25 250 50 20 100 62	
	Allowances to be paid to Second Divisions in each of pay set forth in the Railways Act, 1912, for the course of their dut Less already provide various sections.  Audit fees for inspection Compassionate allowance L. Hopkirk E. F. Wallace E. Longman M. M. Derbidge H. T. B. Walker F. Marshall T. M. Dore T. McLean Fee to Chairman of Railways Pay and travelling-expected to the second pay and travelling-expected pay second provisions in the second pay and travelling-expected pay second provisions in the second pay and travelling-expected pay second provisions in the second pay and travelling-expected pay and travelling-expected pay second pay second pay and travelling-expected pay second pay and travelling-expected pay second pay second pay and travelling-expected pay second pay second pay and travelling-expected pay second pay and travelling-expected pay second pay second pay and travelling-expected pay second pay and travelling-expected pay second pay second pay and travelling-expected pay second pay and travelling-expected pay second pay second pay and travelling-expected pay second pay second pay and travelling-expected pay second pay and travelling-expected pay second pa	excess of the schedules to repected with the special with the schedules to repected with the schedules the schedules to repected with the schedules the sched	te maximum to the Gover tork perform the the the the the the the the the the the	n rates nment med in £101  100	1 900 100 250 25 25 250 50 20 100 62 50	
	Allowances to be paid to Second Divisions in each of pay set forth in the Railways Act, 1912, for the course of their dut Less already provid various sections.  Audit fees for inspection Compassionate allowance L. Hopkirk E. F. Wallace E. Longman M. M. Derbidge H. T. B. Walker F. Marshall T. M. Dore T. McLean Fee to Chairman of Railways Pay and travelling-exincidental expenses.	excess of the schedules to repected with the special with	e maximum o the Gover ork perform ler the s Boards Transport C Instructor	n rates nment med in £101  100	1 900 100 250 25 250 50 20 100 62	
	Allowances to be paid to Second Divisions in each of pay set forth in the Railways Act, 1912, for the course of their dut Less already provide various sections.  Audit fees for inspection Compassionate allowance L. Hopkirk E. F. Wallace E. Longman M. M. Derbidge H. T. B. Walker F. Marshall T. M. Dore T. McLean Fee to Chairman of Railways Pay and travelling-expected to the second pay and travelling-expected pay second provisions in the second pay and travelling-expected pay second provisions in the second pay and travelling-expected pay second provisions in the second pay and travelling-expected pay and travelling-expected pay second pay second pay and travelling-expected pay second pay and travelling-expected pay second pay second pay and travelling-expected pay second pay second pay and travelling-expected pay second pay and travelling-expected pay second pay second pay and travelling-expected pay second pay and travelling-expected pay second pay second pay and travelling-expected pay second pay and travelling-expected pay second pay second pay and travelling-expected pay second pay second pay and travelling-expected pay second pay and travelling-expected pay second pa	excess of the schedules to repected with the special with	e maximum o the Gover ork perform ler the s Boards Transport C Instructor	n rates nment med in £101  100	1 900 100 250 25 25 250 50 20 100 62 50	
	Allowances to be paid to Second Divisions in each of pay set forth in the Railways Act, 1912, for the course of their dut Less already provide various sections.  Audit fees for inspection Compassionate allowance L. Hopkirk E. F. Wallace E. Longman M. M. Derbidge H. T. B. Walker F. Marshall T. M. Dore T. McLean Fee to Chairman of Railways Pay and travelling-exincidental expenses Palmerston North Stat	excess of the schedules to special way led for und of accounts es to—  way Appeal Military Tapenses of cost	le maximum o the Gover ork perform ler the s Boards !ransport C Instructor of Royal	rates rement med in £101  100   corps—s, and  Com	1 900 100 250 25 25 250 50 20 100 62 50	
	Allowances to be paid to Second Divisions in each of pay set forth in the Railways Act, 1912, for the course of their dut Less already provide various sections.  Audit fees for inspection Compassionate allowance L. Hopkirk E. F. Wallace E. Longman M. M. Derbidge H. T. B. Walker F. Marshall T. M. Dore T. McLean Fee to Chairman of Railways Pay and travelling-enincidental expenses Palmerston North State mission Special allowance to Priv Expenses in connection	excess of the schedules to special way led for und of accounts es to—  way Appeal Military Tapenses of cost wate Secreta with mer	le maximum o the Gover ork perform ler the s Boards !ransport C Instructor of Royal ary: 1 at £	n rates nment med in £101  100   torps—s, and  Com 330	1 900 100 250 25 250 50 20 100 62 50 1,000 800	
	Allowances to be paid to Second Divisions in each of pay set forth in the Railways Act, 1912, for the course of their dut Less already provide various sections.  Audit fees for inspection Compassionate allowance L. Hopkirk E. F. Wallace E. Longman M. M. Derbidge H. T. B. Walker F. Marshall T. M. Dore T. McLean Fee to Chairman of Railways Pay and travelling-enincidental expenses Palmerston North State mission  Special allowance to Priv Expenses in connection Department visiting	excess of the schedules to special way led for und of accounts es to—  way Appeal Military Tapenses of cost wate Secreta with mer Australia.	le maximum o the Gover ork perform ler the s Boards !ransport C Instructor of Royal ary: 1 at £ nbers of R	n rates nment med in £101  100   torps—s, and  Com  330 ailway	1 900 100 250 25 250 50 20 100 62 50 1,000 800	
	Allowances to be paid to Second Divisions in each of pay set forth in the Railways Act, 1912, for the course of their dut Less already provide various sections.  Audit fees for inspection Compassionate allowance L. Hopkirk E. F. Wallace E. Longman M. M. Derbidge H. T. B. Walker F. Marshall T. M. Dore T. McLean Fee to Chairman of Railways Pay and travelling-enincidental expenses Palmerston North State mission Special allowance to Priv Expenses in connection	excess of the schedules to special way led for und of accounts es to—  way Appeal Military Tapenses of cost wate Secreta with mer Australia.	le maximum o the Gover ork perform ler the s Boards !ransport C Instructor of Royal ary: 1 at £ nbers of R	n rates nment med in £101  100   torps—s, and  Com  330 ailway	1 900 100 250 25 250 50 20 100 62 50 1,000 800	
	Allowances to be paid to Second Divisions in each of pay set forth in the Railways Act, 1912, for the course of their dut Less already provide various sections.  Audit fees for inspection Compassionate allowance L. Hopkirk E. F. Wallace E. Longman M. M. Derbidge H. T. B. Walker F. Marshall T. M. Dore T. McLean Fee to Chairman of Railways Pay and travelling-enincidental expenses Palmerston North State mission  Special allowance to Priv Expenses in connection Department visiting	excess of the schedules to special way led for und of accounts es to—  way Appeal Military Tapenses of cost wate Secreta with mer Australia.	le maximum o the Gover ork perform ler the s Boards !ransport C Instructor of Royal ary: 1 at £ nbers of R	n rates nment med in £101  100   torps—s, and  Com- 330 ailway , and	1 900 100 250 25 250 50 20 100 62 50 1,000 800 20	
	Allowances to be paid to Second Divisions in each of pay set forth in the Railways Act, 1912, for the course of their dut Less already provide various sections.  Audit fees for inspection Compassionate allowance L. Hopkirk E. F. Wallace E. Longman M. M. Derbidge H. T. B. Walker F. Marshall T. M. Dore T. McLean Fee to Chairman of Railways Pay and travelling-exincidental expenses Palmerston North States mission Special allowance to Prix Expenses in connection Department visiting America on official but the state of the second proper to the second prop	excess of the schedules to repected with mer Australia, schedules to respect to the schedules to respect to the schedules to respect to the schedules to respect to the schedules to respect to the schedules to respect to the schedules to respect to the schedules	te maximum to the Gover tork perform the the the the the the the the the the the	rates rement med in £101  100   forps—s, and  Com  330  ailway, and	1 900 100 250 25 250 50 20 100 62 50 1,000 800 20	
	Allowances to be paid to Second Divisions in each of pay set forth in the Railways Act, 1912, for the course of their dut Less already provide various sections.  Audit fees for inspection Compassionate allowance L. Hopkirk E. F. Wallace E. Longman M. M. Derbidge H. T. B. Walker F. Marshall T. M. Dore T. McLean Fee to Chairman of Railways Pay and travelling-enincidental expenses Palmerston North State mission  Special allowance to Priv Expenses in connection Department visiting	excess of the schedules to repectal way of accounts es to—  way Appeal Military Tapenses of cost wate Secreta with mer Australia isiness	te maximum to the Gover tork perform the the the the the the the the the the the	rates rement med in £101  100   orps—s, and Com ailway, and s, and	1 900 100 250 25 250 50 20 100 62 50 1,000 800 20	

tem.	WORKING RAILWAYS—continued.	=	1–22. Miles.
	VOTE No. 6 —continued.		· · · · · · · · · · · · · · · · · · ·
3	Working-expenses of Sections—continued.	£	£
	Stores Branch—  Demurrage charged s.s. "Australind" at Wellington, awaiting a berth owing to lack of accommodation at the wharf  Purchase of stores and material and store expenses, including salaries, wages, cartage, freights, miscellaneous services, workers' compensation for accidents, contingencies 2,426,000  Less estimated credits for stores to be issued, provided for in other	1,000	
	State Sawmills— Purchase of land, standing timber, expenses of working mills, including	21,000	
!	salaries, wages, machinery, supplies, repairs, transport charges, tram construction, royalties, workers' compensation for accidents, and contingencies—  Piha Sawmill 700  Mamaku Sawmill 50,000  Pukete Timber Reserve 600  Maroa Timber Reserve 14,000  Erua Timber Reserve 4,000  Frankton Juncton Sawmill and Timber-yard 45,000		
	Less estimated credits 94,350	20,000	
	TOTAL—VOTE No. 6	<u> </u>	6,492,7

#### V.—POST AND TELEGRAPH DEPARTMENT.

			1921–22.				
A			Salaries. Other Charges.			Total.	
Vote No. 7—Post and Telegraph Work- ing-expenses		£		£	£		
		1,684,5	28	873,072	2,557,600		
	то	TAL		1,684,5	28	873,072	2,557,600
No. of Persons.			The second secon	And the second s			1921–22.
1921-22.	Item.	Classification	on and I	Increases	under	Act.	
	1 1	POST AND		RAPH V	VORKI	ING-	£
<del>-</del>	1	VOTE No. 7.  Postal and Telegr	aph Sala	ır <b>i</b> es—			1,500
4 /14		Apr	TINISTRAT	eive Divis	ION	£	
		1 at £1,250 1 at £1,200				1,250 $1,200$	-
4		1 at £1,000 1 at £900		•••		1,000 900	. 4 050
, .		CLERICAL A Special Class—	and Engi	ineering l	Divisio	NS.	4,350
		1 at £900 3 at £850				$900 \\ 2,550$	. <u>I</u> -
		4 at £800 6 at £750		•••	***	3,200 4,500	i si
18		4 at £700				$-\frac{2,800}{-}$	13,950
28		Class I— 7 at £650 21 at £600		•••	•••	$\frac{4,550}{12,600}$	25
		Class II—					17,150
26		26 at £550		•••	•••	•••	14,300
39		Class III— 32 at £500 7 at £475			•••	16,000 3,325	• :
99		Class IV—		•••		0,020	19,325
90	.	90 at £450			***	•••	40,500

No. of Persons.							1921–22.
1921–22.	Item.						
	100111.	POST AND EXI		RAPH V		G-	£
		VOTE No. 7-contin	nued.				-
	1	Postal and Telegra	aph Sala	ries—con	tinued.		
	İ	CLERICAL AND E	NGINEERI	ng Divis	ions—con	tinued.	
		Class V—				£	
		152 at £400		•••		60,800	
1.01		7 at £380		•••	•••	2,660	
161		2 at £365		•••	• • •	730	64,190
	1	Class VI—					04,190
257		257 at £350			•••	•••	89,950
		Class VII—				•	
		1,047 at £320		• • •	•••	335,040	
		127 at £310		• • •	• •	39,370	
		156 at £290		• • •		45,240	
		332 at £270 6 at £258				$89,640 \\ 1,548$	
	[ !	177 at £250		•••	•••	$\frac{1,340}{44,250}$	
		178 at £230		• • •	•••	40,940	-
		453 at £215			• • • • • • • • • • • • • • • • • • • •	97,395	
		1 at £206			•••	206	***
		177 at £160				28,320	,
		145 at £140	,			20,300	,
		2 at £124				248	
		112 at £115				12,880	
2,928		15 at £100		•••	: • •	1,500	756,877
		G.	ENER <b>A</b> L	Division.			190,011
			Female	Officers.			
		Class I					
1		1 at £380		•••	• • •	•••	380
		Class II—					2 612
8	1	8 at £330		•••	•••	•••	2,640
42		$Class~III$ — $42~{ m at}~\pounds 290$					12,180
44		Class IV—		•••	•••	•••	12,100
24		24 at £270					6,480
		Class V-					-,
113		113 at £250			•••	•••	28,250
		Class VI—			***		
		2 at £232				464	
54		52 at £230		•••	•••	11,960	10 404
		Class VII— 2 at £219				438	12,424
		2 at £215		• • •	***	430	
		106 at £210				22,260	<b>[</b> [
		1 at £182		•••	•••	182	
130		19 at £180		•••		3,420	
		Class VIII					26,730
		139 at £160			• • •	22,240	-
		134 at £150			•••	20,100	
		124 at £137		•••		16,988	:
•		1 at £130		•••		130	
		101 at £124		• • •	•••	12,524	
600		77 at £111		• •	•••	8,547	
600		24 at £98		•••	•••	$\frac{2,352}{}$	82,881
							,,

## ${\tt V.-POST~AND~TELEGRAPH~DEPARTMENT-} continued.$

No. of Persons.			with the second			1921–22.
1921-2 <b>2.</b>	Item.		LEGRAPH W		īG-	
		EXPEN	SES—continue	d.		£
		VOTE No. 7—continued.		. 4	٠	
	1	Postal and Telegraph	Salaries—conti	nued.		
		GENERAL D	ivision—contin	ued.		
		Female O	<i>ficers</i> —cont <b>i</b> nu	ed.		
		Shorthand-writers	, Typists, and	Масни	NISTS.	
		Special Class-				
2		2 at £270	•••		•••	540
		Class I— 4 at £250			£ 1,000	
6		2 at £240	•••		480	
,		Class II—				1,480
. `		2 at £240 14 at £230	•••	•••	$\frac{480}{3,220}$	
17		1 at £218	•••	•	218	
		Class III—				3,91
		3 at £206 17 at £184		• •••	$\begin{matrix} 618 \\ 3,128 \end{matrix}$	·
23		3 at £164	•••	•••	492	
		Class IV—				4,23
, .		1 at £164	, , , , , , , , , , , , , , , , , , ,	• • •	164	
		18 at £152 11 at £140	•••	•••	$\substack{2,736\\1,540}$	
35		5 at £124	•••	•••	620	5,06
		Class V—			40.	3,000
		1 at £124 6 at £115	•••		$\begin{array}{c} 124 \\ 690 \end{array}$	
14		7 at £100	•••	•••	700	
1.00						1,51
		Class I—	le Officers.			
3	1	3 at £450	•••	•••		1,350
		Class II—				! 
8		8 at £410	•••		•••	3,28
		Class III—				
8		8 at £380	•••	•••	•••	3,040
90		Class IV—				10.65
39		39 at £350	•••	•••		13,650
92		Class V— 92 at £325				29,90
<i>0</i> 4					•••	20,000
186		Class VI— 186 at £300	•••	•••	·	55,800
		Class VII—				
	-	22 at £295	•••	•••	6,490	
150		128 at £284	•••	•••	36,352	42,849

V.—POST	AND	TELEGRAPH	DEPARTMENT-	-continued.

No. of		. ·	1921–22.
Persons.	'	POST AND TELEGRAPH WORKING-	1021-22.
1000 01		EXPENSES—continued.	
1920–21.	Item.	VOTE No. 7—continued.	£
		ı	
	1	Postal and Telegraph Salaries—continued.	
		General Division—continued.	1
		Male Officers—continued.	
		Class VIII—	
		969 at £258 250,002	
		37 at £245 9,065	
		1 at £232 232	
		1 at £225 225	
		83 at £219 18,177	
		5 at £206 1,030	
11 -		63 at £163 10,269	14
1. '		8 at £150 1,200	`
		152 at £137 20,824	
		$58 \text{ at } £124 \qquad \dots \qquad 7,192$	
		160 at £111 17,760	
		$423 \text{ at } £98 \qquad \dots \qquad 41,454$	\$ +
1,969	1	9 at £85 765	
			378,19
	1	Class IX—	
687		687 at £72	49,46
7,762			*1,786,82
1,102			1,100,02
		Less proportion of salaries provided for but not	
		payable during current year	26,00
	1	payable during current year	20,00
			1,760,82
		North stations, tale graphists, and stand and magaziness	1,100,02
	ł	New stations, telegraphists, cadets, and messengers,	3,00
•		and training cadets	3,00
			1,763,82
			1,705,02
8,49 ·		Less estimated credits under section 48 of the	150 00
		Public Revenues Act, 1910	156,00
			1 407 00
		***	1,607,82
	-		
a t		Contribution to Railways Department for combined	
di.		Post-Telegraph-Railway Offices	14,00
		Non-classified officers, including country postmasters	
		and telephonists, payable by salary (number, 1890)	62,00
. :	1		ļ <del></del> -
	ļ	***	76,00
		Salaries of Medical Referees	70
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1			76,70
	Ì		1,684,52
140,00			
		•	
		CONVEYANCE OF OCEAN MAILS.	
300 P. E.		CONTINUON OF COMMITTION	
	2	Charges for and incidental to—	
	1		
		Suez Services—	
· · · · · ·		Australian overland transit 1,700	
5 - 1.2 - 1 - ₹			
5 - 1 <u>.</u>			
		Australia-Europe 1,000	
n de la companya de l			2,700

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

		Ì	
Item.		199	21–22.
	POST AND TELEGRAPH WORKING-EXPENSES		
	—continued.		· · · · · · · · · · · · · · · · · · ·
	VOTE No. 7—continued.	. *	
	CONVEYANCE OF OCEAN MAILS—continued.		
2	CHARGES FOR AND INCIDENTAL TO—continued.		
	Pacific Services—		
	Vancouver service          20,000           San Francisco service          25,000		
	Resident Agency, San Francisco 325		du .
	North American and overland transit 6,100		
	Australia-San Francisco service 400		
	Coastal Services—	- 51,825	
	Auckland services, including Great		le en ma
	Barrier 2,900		
	Blenheim services 1,270		100
	Chatham Islands 500 Invercargill services 390		
	Invercargill services 390 Nelson services 240	1	
	Wellington-Pelorus Sound 460		
		5,760	
		<u></u>	,
	Gratuities and landing and shipping  Postal Union transit charges	25,000 800	
		86,085	
	Less estimated credits under section 48 of the Public Revenues Act, 1910	22,500	
		63,585	
			1.4 0
	CONVEYANCE OF INLAND MAILS.		
3	CHARGES FOR AND INCIDENTAL TO-	18,300	
	Auckland Blenheim	2,200	
	Christehurch	12,050	
	Dunedin	10,900	
1	Gisborne	9,500	
	Greymouth Hamilton	1,400 17,700	
	Hokitika	1,800	
	Invercargill	5,700	
	Napier	10,500	
	Nelson	6,600	
	New Plymouth Oamaru	7,000 1,400	
	Thames	5,200	
	Timaru	6,400	
	Wanganui	9,700	
	Wellington	25,600 2,500	
	Westport	7,000	
		<del></del>	· b
	Tara antimated anality males aretics 40 -1 th-	161,450	
	Less estimated credits under section 48 of the Public Revenues Act, 1910	7,300	
	Tubilo factoridos ficel facto		
		154,150	
1		1	İ

Item.	POST AND TELEGRAPH WORKING-EXPENSES —continued.	192	21–22.
	—continued.  VOTE No. 7—continued.	£	£
		_ ~	
4	CARRIAGE OF MAILS BY RAILWAY.  CHARGES FOR AND INCIDENTAL TO— Carriage of Mails by Railway— Special trains and trucks 3,000 Ordinary mails 79,751 Arrears, 1917–18 to 1920–21 5,718	88,469	
	MAINTENANCE OF TELEGRAPH AND TELE- PHONE LINES.		
5	CHARGES FOR AND INCIDENTAL TO— Maintenance of Telegraph and Telephone Lines— £ Extra labour 62,000* Material for repairs 102,000 Rural telephones (assistance to settlers) 200 Travelling-expenses of telegraph engineers		D.
	Less estimated credits under section 48	183,200	
	of the Public Revenues Act, 1910	4,000	
		179,200	
6	MISCELLANEOUS SERVICES.  CHARGES FOR AND INCIDENTAL TO— Allowances— Forage 1,500 Locality allowances for cadets stationed away from home 500		
	away from home		
	Appeal 100	44,939	
	Fees: Carriage of private bags Mechanical Appliances, Bicycles, &c.— Allowance to officers using their own bicycles, and to motor-cycle riders  Purchase of motor-cycles, motor-cars, and bicycles	1,700	
į		43,200	

 $<sup>\</sup>boldsymbol{*}$  Includes cost-of-living increase to scale salaries or wages.

m.	1921–22.		
POST AND TELEGRAPH WORKING-EXT —continued.	PENSES	£	£
VOTE No. 7—continued.		~	la i v
MISCELLANEOUS SERVICES—contin	ued.		
Charges for and incidental to—continued Cash Deficiencies—			
Loss of cash by officers selling Post-			
office Investment Certificates from	£		
motor-lorries	2		
New Lynn, deficiency in cash	29		
Reotahi, cash destroyed in fire	8	39	
Office Management Expenses—	<del></del>	09	
Advertising, photographs, books, news-	•		
papers, and other publications	800		
Audit fees	600		
Bank exchange, commission, discount,			Lan
and stamp duty	500		it <sub>e</sub>
Cleaning and scavenging	17,000	]	
* Clerks and telegraphists	5,000		
* Exchange cadettes	21,000		
Law-costs	200		
Light, fuel, and water	22,000		
Mail-bags, purchase of	3,000		
New Zealand's share of the cost of			
International Postal and Telegraph			
Bureaux, Berne	230	:	1 .
Office expenses	7,000		
Payment to High Commissioner, Lon-		ļ	
don, for clerical work performed for	700		
the Department Rent	700		
Share of rent of London office	$7,500 \\ 150$		
Stationery, printing, and binding	85,000		
* Temporary officers, postmen, messen-	00,000		
gers, and general division	57,000		
8,		227,680	1.1
			¥
Overtime and meal allowances	20,000		
Parcel-post expenses	30,000		
Repairs, fittings, new buildings, &c	6,000	56 000	
		56,000	
Sundry Charges—			
Compensation for articles lost or			
damaged during transmission by post	150		
Expenses in connection with Post and	•		•
Telegraph Board of Appeal	500	1	
Expenses of New Zealand delegate			
(Mr. R. B. Morris) attending Madrid			
Postal Conference	550		
Expenses of Chief Telegraph Engineer's			
visit to England and America	250		
Pensions for officers retired, whose			
allowance from the Superannuation	050		
Fund is under £52 per annum	250		
Compassionate allowance to the widow of the late B. R. Harrison, Clerk,			
C.P.O., Auckland	1,125		
Compensation to relatives of late	⊥,⊥Δυ		
Lineman Olsen, killed whilst on			
duty (amount awarded by Court)	1,144		
Compensation to J. Siggle for loss of	.,	·	
, C			
an eye caused through an accident			

<sup>\*</sup> Includes cost-of-living increase to wages.

Item. (A. 1-20), (1),	192	1–22.
POST AND TELEGRAPH WORKING EXPENSES —continued.		
VOTE No. 7—continued.	£	£
MISCELLANEOUS SERVICES—continued.		
6 CHARGES FOR AND INCIDENTAL TO—continued. Sundry Charges—continued. Amounts improperly withdrawn from Post-office Savings-bank accounts— Wellington, No. 438846 9 Wellington, No. 440033 10 Wellington, No. 423907 38		
Wellington, Nos. 437537 and 317869       24         Wellington, No. 295005        10         Auckland, No. 405942        15         Christchurch, No. 316387        15	4,310	7. <b>y</b>
Travelling-expenses, &c.—  Inspection of offices 3,500 Railway travelling post-offices allowances 3,500 Relieving-expenses 10,000 Removal expenses 17,500 Travelling expenses, allowances, and tram-fares 6,000		
Uniform clothing	40,500	
Less estimated credits under section 48 of the Public Revenues Act, 1910	436,668	
TOTAL—VOTE No. 7	387,668 ————	2,557,600

## VI.—PUBLIC BUILDINGS, DOMAINS, AND MAINTENANCE OF ROADS.

					19	21–22.	
		<u></u>		Salaries.	Othe	er Charges.	Total.
Marin - Allehani yanggung yang sahalan sayanggala kasa				£		£	£
ote No.	8.—I	Pablic Buildings		6,640		105,065	111,705
		Government Domains				650	
			•••	5,098			5,748
" 1	.01	Maintenance and Improvement of	Roads	• • •		64,000	64,00
" 1	1.—	Maintenance of Irrigation Works	•••	•••		2,000	2,000
7	YOT! A	L		11,738	-	171,715	182 /59
	OIM	ш		11,100		171,710	183,458
Number of Persons.	Item.					1921	L <b>-</b> 22.
 1921–22.	ļ	PUBLIC BUII	LDINGS	3.			
1021-22.		VOTE No. 8.				£	£
		Expenses incidental to the Buildings, including Ai Fittings, and Furniture	DITIONS				
	1	Salaries— Professional	Divicion				
_		Class A—	DIVISION	•			
1		1 at £900 (Architect) Class C—	•••	•••	• • •	900	
1		1 at £530 Class D—	•••	•••		530	
		1 at £450		•••	£ 450		
3		1 at £430		* * *	430		
э		1 at £395	•••		395	1,275	!
		CLERICAL DI	VISION.				
1		$Class\ IV$ $1\ { m at}\ \pounds 450$		•••		450	
		Class V—					
		1 at £450 (over scale) 1 at £400		•••	450 400		
3		1 at £380			380		
3		Class VI— 3 at £350				1,230 1,050	
		Class VII-	•		• • •		
2		2 at £320	•••	•••	•••	640	
		General Di	vision.				
2		1 at £295 1 at £270		•••	$\frac{295}{270}$		
		1 au a210	•••	•••	<u></u>	565	
16							
	1					*6,640	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

## VI.—PUBLIC BUILDINGS, DOMAINS, AND MAINTENANCE OF ROADS—continued.

Number of Persons.	Item.		1921	L <b>-22.</b>
1921–22.	 	PUBLIC BUILDINGS—continued.		
		VOTE No. 8—continued.	£	£
		Maintenance, etc.—continued.		
		Other Charges for and incidental to—		
	2	†Accident compensation, sick-pay, holiday pay, and	<b>*</b> 00	
	3	special leave to workmen Advertising, photographs, books, newspapers, and	500	
		other publications	150	
	4	Contribution to Drainage Board for drainage, public buildings, Christchurch	150	
	5	Contribution to Drainage Board for drainage, public	100	
	6	buildings, Dunedin	150	
	0	Dunedin Chief Post-office (alterations and additions to Garrison Hall)	1,300	
		Expenses in addition to or in excess of amount pro-		
		vided under the Civil List Act, 1920: Govern- ment Houses, Auckland and Wellington—		
	7	Fuel, light, water, and cleaning for official and		
	8	reception rooms, outbuildings, and grounds Telephones	$egin{array}{c} 475 \ 140 \end{array}$	
	9	Freight, cartage, and transport charges	2,000	
	10	Government Buildings throughout the Dominion—		£
		Office requisites, fuel, light, power, water, cleaning, scavenging, and other annual services	3,000	••
	11	Government House, Auckland	500	No.
	12	Government House, Wellington Government Buildings throughout the Dominion—	2,500	
	13	Departmental Buildings	22,500	
	14 15	$egin{array}{cccccccccccccccccccccccccccccccccccc$	19,000 5,000	
	16	Gaols	2,000	
	17 18	Police-stations	11,000	
	19	Customhouses  Post and Telegraph Offices	700 26,000	
	20	Mental Hospitals	4,000	
	$\begin{vmatrix} 21 \\ 22 \end{vmatrix}$	Quarantine Stations Public Works Workshops	500 3,000	
	23	Other Government Buildings	2,000	
	24	Lyttelton Borough Council, for extra water supplied	100	
	25	to Government Departments Parliamentary Buildings	2,000	
	26	Repairs to Seddon Memorial	50	
	27	†Safety appliances at public buildings for use of window-cleaners	100	
	28	Services and supplies for other Departments	2,000	
	29 30	†Special and other rates on Government properties Telephone services (including installation, extensions,	200	
		maintenance, rent, and calls)	350	
	31	Tramways: Expenses re inquiries, appointments to	100	
	32	Appeal Boards, &c Travelling allowances and expenses	$100 \mid 1,500 \mid$	
	33	*Wages of overseers and staff workmen	14,000	
	34	Contingencies, including unforeseen expenditure incidental to the other items of the vote	100	
			127,065	
		Less estimated credits under section 48 of the Public Revenues Act, 1910	22,000	
		T done two foliates flow, 1910		
		TOTAL—VOTE No. 8	105,065	111,70

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages. † Previously charged to "Contingencies."

## VI.—PUBLIC BUILDINGS, DOMAINS, AND MAINTENANCE OF ROADS—continued.

Number f Persons.	Item.		1921-	22.
921–22.	<u> </u>	GOVERNMENT DOMAINS.		
941-44.		VOTE No. 9.	£	£
	1	Salaries		
		GENERAL DIVISION.		
		1 at £295 295		
		1 at £285 285   3 at £269 807		
6		1 / 0050		
O		1 at £295 295	1,640	
		Temporary Officers.	,	
		8 Gardeners at £250/8 2,003		
14		6 Gardeners at £242/11/6 1,455		
	-		3,458	
20		-		
	-	OTHER CHARGES FOR AND INCIDENTAL TO—	*5,098	
	2	†Casual labour	200	
	$\overline{3}$	†Coal, coke, &c	100	
	4	†Flower seeds, bulbs, plants, &c	180	
	5	†Garden implements, manures, &c	120	
	6	Contingencies, including unforeseen expenditure in-		
		cidental to the other items of the vote	50	
			650	
		TOTAL—VOTE No. 9  -		5,7
		MAINTENANCE AND IMPROVEMENT OF		
		ROADS. VOTE No. 10.		
	1	OTHER CHARGES FOR AND INCIDENTAL TO— Expenses incidental to the Maintenance and Improvement of Roads*	64,000	
		TOTAL—VOTE No. 10		64,0
		MAINTENANCE OF IRRIGATION WORKS.		
		VOTE No. 11.		
	1	OTHER CHARGES FOR AND INCIDENTAL TO— Expenses incidental to maintenance of dams, headworks, races, weirs, &c., Central Otago Irrigation Works (recoverable)	2,000	
		TOTAL—VOTE No. 11		2,0

 $\boldsymbol{*}$  Includes cost-of-living increase to scale salaries or wages.

<sup>†</sup> Previously charged to "Contingencies".

VII.—NATIVE DEPARTMENT.

						1	921–22.	
					Salarie	es. Ot	her Charges.	Total.
Vote No. 1	2.—]	Native Department	i <del></del>		£	3	£	£
Subdivisio	n $I$	.—Native Departm .—Miscellaneous S	ent		18,	731	3,250 5,199	21,98. 5,198
		TOTAL—VOTE NO	o		18,	,731	8,449	27,180
T	OTAI		•••		18,	781	8,449	27,180
Number of Persons.	Item.			-			192	1-22.
1921–22.	 	VOTE No.						T .
		Subdivisi	on No. I.—	-Native De	partment	4	£	£
	1	Salaries— Ai	MINISTRA <b>TI</b>	ve Divisio	ON.			
. 1		1 at £150 (a and Secreta	lso Under- ry for Cook	Secretary Islands, £	for Justi 100)	ce, £800,	150	s. *
		Olares II	CLERICAL	Division.				
3		Class II— 3 at £550		•••	•••	•••	1,650	
·1		Class III— 1 at £475		•••			475	
3		Class IV— 1 at £450 2 at £425				£ 450 850		
	-	Class V					1,300	
1		1 at £400		•••	• • •	•••	400	·
11		Class VI— 11 at £350			• • •		3,850	
		Class VII— 9 at £320 2 at £310 1 at £280 1 at £270 1 at £260 7 at £250	month)			2,880 620 280 25 270 260		
		7 at £250 5 at £230 2 at £215 8 at £160 2 at £135 2 at £130		•••		1,750 1,150 430 1,280 270 260		
42		1 at £100		•••	•••	100		

#### ${\tt VII.--NATIVE\ DEPARTMENT--} continued.$

Number of Persons.	Item.	VOTE No. 12.—NATIVE DEPARTMENT—continued.	1921-	-22.
1921–22.		Subdivision No. I.—Native Department—continued.	£	£
	1	Salaries—continued.	æ	ಎರ
	1			
		General Division. £ 328		
		1 at £140 140	:	
5		$egin{array}{ c c c c c c c c c c c c c c c c c c c$		
			707	
		Judges of Native Land Court.	-	
		$ \begin{array}{cccccccccccccccccccccccccccccccccccc$		
7	-	2 at £750 1,500	5,700	
74				
		Less proportion of increases to salaries provided	*23,807	
		for but not payable for full year	76	
	ĺ		23,731	<i>i</i>
	2	OTHER CHARGES FOR AND INCIDENTAL TO— Travelling allowances and expenses	3,250	
•			26,981	
		Less recoveries	5,000	
		Total—Subdivision No. I		21,981
		Subdivision No. II.—Miscellaneous Services.		
	3	CHARGES FOR AND INCIDENTAL TO—		
	) 3	Allowances to officers temporarily performing special or higher duties	60	
	5	Audit fees for inspection of accounts Compensation owing on Owhaturia South No. 1	50	
		Block, prior amount irregularly paid on Native	80	
	6	Land Court order	38	
	7	to late Keepa te Rangipuawhe	63 25	
	8	Fees to Supervisors, Native Interpreters examinations Freight, cartage, and transport charges	150	
	9 10	Fuel, light, power, water, and cleaning Grant to C. B. Jordan, Under-Secretary, in lieu of	100	
		leave of absence on retirement	75	
	$\begin{vmatrix} 11 \\ 12 \end{vmatrix}$	Law-costs Payment to Ohinemuri County Council for water	20	
		supplied to Native settlements on the banks of the Ohinemuri River	50	
	13	Payment to Department of Lands and Survey for services of officers placing diagrams on Native	50	
		Land Court orders, &c., for period 1913 to 1920	1,668	

\* Includes cost-of-living increase to scale salaries or wages.

Number of Persons.	Item.	VOTE No. 12—NATIVE DEPARTMENT—continued.	1921–	22.
1921–22.		Sub livision No. II.—Miscellaneous Services—continued.  CHARGES FOR AND INCIDENTAL TO—continued.	£	£
	14 15 16 17 18	Postage, telegrams, rent of boxes, and telephones Printing, stationery, office fittings, and requisites Rent Temporary assistance	900 850 250 *1,800	
	10	Contingencies, including unforeseen expenditure incidental to the other items of the vote	6,199	
		$egin{array}{ccccc}  ext{Less recoveries} & \dots & \dots & \dots & \dots & \dots & \dots & \dots & \dots & \dots & $	1,000	5,19
•		TOTAL—VOTE No. 12		27,18

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

## VIII.—DEPARTMENTS OF EXTERNAL AFFAIRS AMD INDUSTRIES AND COMMERCE.

				19	21–22.		
			Salaries. Oth		er Charges.	Total.	
Vote No.18	epartment of External Affairs	£ 2,184			£ 20,716		
" 14.—Department of Industries and Commerce			12,250		173,508	185,758	
		TOTAL	14,434		192,040	206,47	
Number of Persons.	Item.			'	192	1–22.	
1001 00		DEPARTMENT OF EXTERNAL	AFFAIRS.				
1921–22.	1	VOTE No. 13. Salaries—			£	£	
1		Administrative Division 1 at £800 (Secretary)	Ń	•••	800		
		CLERICAL DIVISION.					
1		Class IV— 1 at £450			450		
1		Class V— 1 at £400			400		
1		Class $VII$ — 1 at £230		• • •	230		
		GENERAL DIVISION.					
2		2 at £152	•••		304		
6	_				*2,184		
	2	OTHER CHARGES FOR AND INCIDENTAL Advertising, books, photographs, r		and			
		other publications			40		
	$\begin{vmatrix} 3 \\ 4 \end{vmatrix}$	Expenses of upkeep, Samoan observed Expenses of Ministerial visit to Samo Presents to natives	аtory a, 1921–22—	 £ 147	2,700		
		Incidental expenses	•••	80	007		
	5 6	Freight, cartage, and transport charg Grant to Samoan Administration on		•••	227 5		
		Medical and Educational Services Wireless Services		•••	$13,500 \\ 2,500$		
	7	Office fittings and requisites, includ stationery	•••	•••	160		
	8	Pay, allowances, and incidental ex Constabulary			200		
	9	Payment to H. E. Tattersall of di New Zealand and Imperial rat	es of pay		900		
	10	gratuities on account of war service Photographic film: Cost of obtaining		; :	300 300		

ullet Includes cost-of-living increase to scale salaries.

## $\begin{array}{c} {\rm VIII.--DEPARTMENTS} \ \ {\rm OF} \ \ {\rm EXTERNAL} \ \ {\rm AFFAIRS} \ \ {\rm AND} \ \ {\rm INDUSTRIES} \ \ {\rm AND} \\ {\rm COMMERCE--} continued. \end{array}$

Number of-Persons.	Item.		1921-	-22.
921–22.	-	DEPARTMENT OF EXTERNAL AFFAIRS—contd.		
		VOTE No. 13—continued.	£	£
	11 12	OTHER CHARGES FOR AND INCIDENTAL TO—continued.  Postage and telegrams, and rent of boxes  Telephone services, including installation, extensions,	300	
	13	maintenance, rent and calls Travelling allowances and expenses	30 130	
	14	Typewriters: Purchase and repairs	10	
	15	Contingencies, including unforeseen expenditure incidental to the other items of the vote	30	
			20,432	
		Less estimated credits under section 48 of the Public Revenues Act, 1910	1,900	
			18,532	
•		TOTAL—VOTE No. 13		20,71
v "		DEPARTMENT OF INDUSTRIES AND COM-		
		MERCE.		*
	1.	VOTE No. 14. Salaries—		£
		Professional Division.		
2		Class B— 2 at £550	1,100	
4		Class D— 4 at £450	1,800	
-		CLERICAL DIVISION.	1,000	
		Class I—		
1		1 at £650	650	
1		1 at £550	550	
2		2 at £450	900	
1	.	Class V— 1 at £365 (£15, 2 months)	368	
		Class VI—		
6	-	1 at £330 (£20, 4 months) 337		
		1 at £330 (£20, 7 months) 342   1 at £330 330		•
		1 at £290 (£20, 3 months) 295		
		1 at £290 290   290	1,944	
		1 at £310 310   1 at £270 (£20, 8 months) 283		
		1 at £160 160		
. 4		1 at £100 (£15, 2 months) 102	855	
		General Division.  1 at £250 250		
		2 at £230 460		
		2 at £206 412 1 at £164 (£20, 5 months) 172		
		1 at £152 152		
		1 at £140 (£12, 7 months) 147		
		1 at £140 (£12, 1 month) 141 1 at £100 (£24, 7 months) 114		
		1 at £100 (£24, 10 months) 120		
		1 at £100 (£15, 4 months) 105	2,073	

## VIII.—DEPARTMENTS OF EXTERNAL AFFAIRS AND INDUSTRIES AND COMMERCE—continued.

Number of Persons.	Item.		1921	-22.
920–21.	·   ·—	DEPARTMENT OF INDUSTRIES AND COM- MERCE—continued.	<u> </u>	
		VOTE No. 14—continued.	£	£
	1	SALARIES—continued.		
		BOARD OF TRADE.		
3		1 at £1,000 (Chairman) 1,000 1 at £800 800		
		1 at £800 (9 months) 600	2,400	
		Trade Representatives.		
		1 at £300 (also Tourist Agent, £400) 300	•	
3		1 at £100 (also Tourist Agent, £350) 100 1 at £50 (also Tourist Agent, £50) 50		
39			450	
			*13,090	
		Less salaries provided for and not required	840	
		OTHER CHARGES FOR AND INCIDENTAL TO—	12,250	
	2	Advertising, photographs, books, newspapers, and	07.5	
÷	3	other publications Advisory committees: Expenses in connection with	275	
	4	meeting Audit fees	170 493	
	5	Account, record, and other books (including cost of		
	6	material, printing, and binding) Bicycles: Purchase and upkeep	$\begin{bmatrix} 150 \\ 5 \end{bmatrix}$	
	7	Cement: Expenses of Commission of Inquiry into prices	65	
	8	Distribution of commodities: Expenses in connection	{	•
	9	with	50   160	
	10	Freight, cartage, and transport charges	20	
	11	Fuel, light, power, and water	90	
	12	Industrial Exhibition at Wellington, expenses in connection with	100	
	13	Law-costs	200	
	14	Office-cleaning	50	
	15	Office furniture, fittings, and requisites (including		
		printing and stationery)	250	
	16	Overtime and meal allowances	10	
	17	Postage, telegrams, and rent of boxes	800	
	18	Price Investigation Tribunals—		
		Fees to members of		• .
		Travelling-expenses Witnesses' expenses	720	
		Purchase of goods for purpose of investigations		
	19	Promotion of sale of New Zealand manufactures in		
		outside markets	50	
	20	Purchase of wheat, to establish a credit for the (re-		
		coverable)	500,000	
	21	Publications, preparation and distribution of	100	
	22	Rates: Head Office	5	
	23	Rent: High Commissioner's Office, London	150	
	24	Standardization of footwear Subsidies to—	25	
	25	Flourmillers	180,000	
	0.0	Steamer services—	10,000	
	26	New Zealand - Vancouver (half)	10,000	
	27 28	New Zealand-San Francisco (half) New Zealand-Chatham Islands (half)	$\begin{bmatrix} 12,500 \\ 250 \end{bmatrix}$	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

<sup>†</sup> Transferred to vote "Mines Department."

## $\begin{array}{c} {\rm VIII.--DEPARTMENTS} \ \ {\rm OF} \ \ {\rm EXTERNAL} \ \ {\rm AFFAIRS} \ \ {\rm AND} \ \ {\rm INDUSTRIES} \ \ {\rm AND} \\ {\rm COMMERCE--} continued. \end{array}$

Number of Persons.	Item.	!	1921-	-22.
		DEPARTMENT OF INDUSTRIES AND COM-		
<b>1</b> 921–22.		${ m MERCE-} continued.$	£	£
		VOTE No. 14—continued.	~	<b>~</b>
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.		
	29	Telephone services (including installation, extension,		
	1	maintenance, rent, and calls)	275	
	30	Transfer and removal expenses	100	
	31	Travelling allowances and expenses	1,400	
	32	Typewriters, purchase and repairs of	25	
	33	Contingencies, including unforeseen expenditure in-		
		cidental to the other items of the vote	20	
	34	Coal Control Branch: Working-expenses (including	}	
		salaries of staff, cost-of-living bonus, and salaries		
	1 ~~	of local secretaries)	+ (	
	35	Government Firewood Depot: Working-expenses		
		(including salaries of staff, cost-of-living bonus,		
		and wages), (recoverable)	†	
			708,508	
			100,000	
			720,758	
		Less estimated credits under section 48 of the	120,100	
		Public Revenues Act, 1910	535,000	
	1		,	*
		TOTAL—VOTE No. 14		185,758
	1		1	•
				,
	TOT	${ m CAL}$	£ $206,474$	

<sup>†</sup>Transferred to vote "Mines Department."

## IX.—JUSTICE DEPARTMENT.

		1921-22.	
	Salaries,	Other Charges.	Total.
	£	£ ·	£
Vote No. 15.—Department of Justice—			
Subdivision I.—Justice: Head Office , II.—Patent Office	3,387 2,311	1,305	3,387 3,616
$N_{ij}$ , $III.$ — $Bankruptcy$ $N_{ij}$ , $IV.$ — $Coroners$ $N_{ij}$ , $V.$ — $Justice:$ $Miscellaneous$ $Services$	2,743 	$egin{array}{c c} 1,745 \\ 4,550 \\ 18,471 \\ \hline \end{array}$	$egin{array}{c} 4,488 \ 4,550 \ 18,471 \end{array}$
TOTAL—VOTE No. 15	8,441	26,071	34,512
Vote No. 16.—Supreme and Magistrates' Courts—			
Subdivision I.—Supreme Court ,, II.—Magistrates' and Wardens' Courts	9,500 46,032 	3,500 16,780 14,660	13,000 62,812 14,660
TOTAL—VOTE No. 16	55,532	34,940	90,472
Vote No. 17.—Prisons Department	58,830	33,985	<b>9</b> 2,815
" 18.—Crown Law Office	6,090	460	6,550
Vote No. 19.—Police Department—			
Subdivision I.—Police Department, II.—Police : Miscellaneous Services	331,034	92,087	423,121 12,789
TOTAL-VOTE No. 19	331,034	104,876	435,910
TOTAL	459,927	200,332	660,259

#### ${\bf IX.--JUSTICE\ DEPARTMENT--} continued.$

Number of Persons.	Item.	VOTE No. 15	—DEPARTMENT (	TILOM	ICE	1921	<b>-22.</b>
1921–22.	[- <del></del> ]						
		Subdivision	n No. I.—Justice.—I	Tead Office		£	£
	1	Salaries—					
		AI	OMINISTRATIVE DIVISI	ON.			
1		1 at £800 (a ment, £150,	lso Under-Secretary, and Secretary for Co	Native ok Islands	Depart- s, £100)	800	
		A	CLERICAL DIVISION.				
1		Class III— 1 at £500				500	
		Class V—	•••	•••			
1		1 at £380 Class VII—		•••	£	380	
		1 at £320	•••	•••	320		
		1 at £310	•••	•••	310		
		1 at £290 1 at £215	•••	•••	$   \begin{array}{c c}     290 \\     215   \end{array} $		
6		2 at £135	•••	•••	270	4	
						1,405	
		1 at £140	GENERAL DIVISION.		140	٠	•
		1 at £100	•••	•••	100		
3		1 at £85	•••		85	005	•
12	-	t t				325	
					. [	*3,410	
	-				1	0,110	
	-	Less proj	portion of increases to	salaries	provided		
	-	Less proj for but	portion of increases to not payable for full y	salaries j	provided 	23	• •
	-	Less prop for but	portion of increases to not payable for full y Total—Subdivision	ear	provided		3,387
		Less prop for but	not payable for full y	ear	provided		3,38
	_	Less proj for but	not payable for full y	ear	provided		3,387
	_	Less prop for but	not payable for full y	ear	provided		3,387
	-	Less prop for but	not payable for full y	ear	provided 		3,387
	-	for but	not payable for full y  Total—Subdivision	vear No. I	provided		3,387
	-	for but	not payable for full y	vear No. I	provided 		3,387
	2	for but	not payable for full y  Total—Subdivision	vear No. I	provided 		3,387
	2	for but Subdia Salaries—	not payable for full y  Total—Subdivision	vear No. I	provided 		3,387
	2	for but Subdia Salaries— Class I—	not payable for full y  Total—Subdivision  vision No II.—Patent	vear No. I	provided 	23	3,387
1	2	for but Subdia Salaries—	not payable for full y  Total—Subdivision  vision No II.—Patent	vear No. I	provided		3,38
		Subdia Salaries—  Class I—  1 at £650 Class IV—  1 at £400	not payable for full y  Total—Subdivision  vision No II.—Patent	vear No. I		23	3,387
		Subdia Salaries—  Class I—  1 at £650 Class IV—  1 at £400 Class VII—	not payable for full y  Total—Subdivision  vision No II.—Patent	No. I  t Office.	 	650	3,387
		Subdia Salaries—  Class I—  1 at £650 Class IV—  1 at £400 Class VII—  1 at £290	not payable for full y  Total—Subdivision  vision No II.—Patent	No. I  t Office.	  £ 290	650	3,387
		Subdia  SALARIES—  Class I—  1 at £650  Class IV—  1 at £400  Class VII—  1 at £290  1 at £230  1 at £135	not payable for full y  Total—Subdivision  vision No II.—Patent	No. I  t Office.	  £ 290 230 135	650	3,387
		Subdia SALARIES—  Class I—  1 at £650 Class IV—  1 at £400 Class VII—  1 at £290  1 at £230	not payable for full y  Total—Subdivision  vision No II.—Patent	No. I  t Office.	  £ 290 230	650 400	3,387
		Subdia  SALARIES—  Class I—  1 at £650  Class IV—  1 at £400  Class VII—  1 at £290  1 at £230  1 at £135	not payable for full y  Total—Subdivision  vision No II.—Patent  CLERICAL DIVISION.	No. I  t Office.	  £ 290 230 135	650	3,387
1		Subdia  SALARIES—  Class I—  1 at £650  Class IV—  1 at £400  Class VII—  1 at £290  1 at £230  1 at £135  1 at £115	not payable for full y  Total—Subdivision  vision No II.—Patent	No. I  t Office.	    290 230 135 115	650 400	3,387
1		Subdia  SALARIES—  Class I—  1 at £650  Class IV—  1 at £400  Class VII—  1 at £290  1 at £135  1 at £115  1 at £295  1 at £140	not payable for full y  Total—Subdivision  vision No II.—Patent  CLERICAL DIVISION.	No. I  t Office.	 £ 290 230 135 115 ———————————————————————————————	650 400	3,38
		Subdia  SALARIES—  Class I—  1 at £650  Class IV—  1 at £400  Class VII—  1 at £290  1 at £230  1 at £135  1 at £115	not payable for full y  Total—Subdivision  vision No II.—Patent  CLERICAL DIVISION.	No. I  t Office.	    290 230 135 115	650 400	3,387
1	-	Subdia  SALARIES—  Class I—  1 at £650  Class IV—  1 at £400  Class VII—  1 at £290  1 at £135  1 at £115  1 at £295  1 at £140	not payable for full y  Total—Subdivision  vision No II.—Patent  CLERICAL DIVISION.	No. I  t Office.	 £ 290 230 135 115 ———————————————————————————————	650 400 770	3,387
4	-	Subdia  Salaries—  Class I—  1 at £650  Class IV—  1 at £400  Class VII—  1 at £290  1 at £230  1 at £135  1 at £115  1 at £295  1 at £140  1 at £85	not payable for full y  Total—Subdivision  vision No II.—Patent  CLERICAL DIVISION.   GENERAL DIVISION	vear  No. I  t Office.	 £ 290 230 135 115 	650 400	3,387
4	-	Subdia  SALARIES—  Class I—  1 at £650  Class IV—  1 at £400  Class VII—  1 at £290  1 at £230  1 at £135  1 at £115  1 at £295  1 at £140  1 at £85	rotal—Subdivision  Total—Subdivision  Vision No II.—Patent  CLERICAL DIVISION.   GENERAL DIVISION.   portion of increases to	vear  No. I  t Office.  o salaries	 £ 290 230 135 115 	650 400 770 520 *2,340	3,387
4	-	Subdia  SALARIES—  Class I—  1 at £650  Class IV—  1 at £400  Class VII—  1 at £290  1 at £230  1 at £135  1 at £115  1 at £295  1 at £140  1 at £85	not payable for full y  Total—Subdivision  vision No II.—Patent  CLERICAL DIVISION.   GENERAL DIVISION	vear  No. I  t Office.  o salaries	 £ 290 230 135 115 	650 400 770	3,387

 $<sup>\</sup>mbox{*}$  Includes cost-of-living increase to scale salaries or wages.

#### IX.—JUSTICE DEPARTMENT—continued.

Number of Persons.	Item.		1921-	22.
	_	VOTE No. 15.—DEPARTMENT OF JUSTICE—		
1921-22.	i i	continued.	. 1	
			£	£
		Subdivision No. II.—Patent Office—continued.	į	
	3	OTHER CHARGES FOR AND INCIDENTAL TO-		
	3	Expenses in connection with appeals under Patents,	10	
	4	Designs, and Trade-marks Act, 1911	10	
	5	Fees to Patent Office Agents Fuel, light, power, and water	$\begin{vmatrix} 10 \\ 10 \end{vmatrix}$	
	6	Postage, telegrams, rent of boxes, and telephones	65	
	7	Printing, stationery, office fittings, and requisites	990	
	8	Travelling allowances and expenses	10	
	9	*Temporary clerical assistance	200	
	10	Contingencies, including unforeseen expenditure in-		
	1	cidental to the other items of the vote	10	
			1,305	
		$Total-Subdivision \ No. \ II                                 $		3,61
	1			,
		·		
			ļ	
	1	·		
	1			
		Subdivision No III Danhaunter		
		Subdivision No. III.—Bankruptcy.		
	11	Salaries—		
		CLERICAL DIVISION.	ĺ	
1		Class I— 1 at £600	600	
	1	1 at 2000	000	
	1 1	Class II—	Ì	
<b>2</b>		2 at £550	1,100	
	1 {	Class VII—	:	
		1 at £320 320	l.	
		1 at £290 290		
3		1 at £215 215	825	
	ļ ļ	GENERAL DIVISION.	020	
1		1 at £218	218	
7			*2,743	
	1	·		
		OTHER CHARGES FOR AND INCIDENTAL TO		
	12	Advertising, books, newspapers, and other publica-		
	10	tions	30	
	$egin{array}{ c c c c c c c c c c c c c c c c c c c$	Commission to Deputy Assignees	650	
	14	Fuel, light, power and water, cleaning, cartage, and office equipment and maintenance	25	
	15	Payment to Public Trust officers acting as Deputy	20	
		Official Assignees	500	
	16	Postage, telegrams, and rent of boxes	110	
	17	Printing and stationery	80	
	18	*Temporary assistance	300	
	$\begin{vmatrix} 19 \\ 90 \end{vmatrix}$	Travelling allowances and expenses	30	
	20	Contingencies, including unforeseen expenditure in-	90	
•		cidental to the other items of the vote	20	
	212		1,745	
	1	Total—Subdivision No. III	-,0	4,48

st Includes cost-of-living increase to scale salaries or wages.

#### IX.—JUSTICE DEPARTMENT—continued.

Number of Persons.	Item.	VOTE No. 15.—DEPARTMENT OF JUSTICE— continued.	1921–	22.
1921–22.		Subdivision No. IV.—Coroners.	£	
		Subtrossion 110. 11.—Outomers.	æ	వు
		CHARGES FOR AND INCIDENTAL TO-		
	21	Fees and expenses on inquests	4,000	
	22	Payment of jurors	350	
	23	Witnesses' expenses	200	
		Total—Subdivision No. IV		4,58
		10000 500000000 110. 17		1,00
		Subdivision No. V.—Justice: Miscellaneous Services.		
		CHARGES FOR AND INCIDENTAL TO—		
	24	Allowances to officers temporarily performing special		
		or higher duties	230	
	25	Advertising, photographs, books, newspapers, and		
		other publications	65	
	26	†Commission on money-orders for transmission of		
		maintenance moneys	150	
	27	Compassionate allowance to J. C. Taylor, lately	100	
	00	Coroner at Otane	100	
	28	Compensation under Workers' Compensation Act to		
		H. Scott, Motueka, for injury to his hand whilst on duty at Collingwood	130	
	29	Compilation of new edition Justices' Handbook	450	•
	30	Contribution towards salary of Analyst at Auckland	50	
	31	TO 3 4) T * A.4 1000	2,400	•
	32	Expenses under the Juries Act, 1908 Expenses under the Reformatory Institutions Act,	2,400	
	02	1909	4,000	
	33	Fidelity-guarantee premiums	250	
	34	Fines, refund of	50	
	35	Fuel, light, water, cleaning, freight, cartage, office		
	-	equipment, and maintenance of Court grounds and		
		offices	2,500	~
	1	Grants in lieu of leave of absence on retirement—		
	36	C. B. Jordan, Under-Secretary	400	
	37	B. Harper, Clerk of Court, Dunedin	263	
	38	T. W. Taylor, Clerk of Court, Timaru	225	
	39	S. E. McCarthy, Stipendiary Magistrate	225	
	40	A. Stubbs, Registrar, Supreme Court, Auckland	163	
	41	Law-costs	25	
	42	Postage, telegrams, and rent of boxes	2,180	
	43	Printing and stationery	2,500	
	44	Proportion of cost of administering licensing laws in	ĺ	
		districts where the Counties Act is not in operation	50	
	45	Refund to W. Robinson, Te Araroa, of amount of		
	40	bail forfeited in Rex v. Kay	10	
	46	Telephone services (including installation, extensions,	1 000	
	47	maintenance, rent, and calls) E	1,000	
	#1	1		
		Clerks, Bailiffs, and Messengers 1,450   Interpreters 50		
		interpreteis	*1,500	
	48	Travelling allowances and expenses	120	
	49	Typewriters: Purchase and repairs	135	
	50	Contingencies, including unforeseen expenditure in-		
		cidental to the other items of the vote	50	
	ŀ			
			19,221	
		Less recoveries	750	
		Matal Salbdiniais Ma 7		10 4
		$Total\_Subdivision No. V \cdots  $		18,4
	1	TOTAL—VOTE No. 15		34,5

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages. † Previously charged to "Contingencies."

#### IX.—JUSTICE DEPARTMENT—continued.

Number of Persons.	Item.		•			1921-	-22.
1921-22.		VOTE No 16.—SUE	PREME AND I COURTS.	MAGISTI	RATES'	£	£
		Subdivision .	No. I.—Suprem	e Court.			
	1	Salaries—					
		$\mathrm{C}\mathbf{L}\mathbf{E}$	RICAL DIVISION.				
		Special Class-					
1		1 at £700	• •	•••		700	
		Class I—			£		
		2 at £650			1,300		
3		1 at £600	•••	•••	600	1,900	
		Class V—					
		1 at £400	·	•••	400		
4		3 at £380		•••	1,140	1,540	
		Class VII—					
		1 at £270	•••		270		
		5 at £250	•••	•••	1,250		
		3 at £230	•••	•••	690		
11		1 at £215 1 at £160			215 160	.	
11		1 21 2100	•••	•••		2,585	
		Cana	eral Division.				
		1 at £320	ERAL DIVISION.		320		
4		3 at £295	•••	•••	885		
						1,205	
		U	NCLASSIFIED.				
8	j	8 Clerks to Judges	at £200	•••		1,600	
31		Tipes proportion	n of increases pr	ovided fo	r but not	9,530	
		payable for i	full year			30	
					-	*9,500	
		0 0					
	$\begin{vmatrix} 2 \end{vmatrix}$	OTHER CHARGES FOR Proportion of fees t				250	
	$\begin{vmatrix} 2 \\ 3 \end{vmatrix}$	Travelling allowan	ces and expens	es of Ju	dges and		
		clerks		• • • •	•••	2,750	
	$oxed{4}$	Other expenses of Appeal	: Circuit Courf	ts and (	Court of	500	
					į-	3,500	

 $<sup>\</sup>mbox{*}$  Includes cost-of-living increase to scale salaries or wages.

#### IX.—JUSTICE DEPARTMENT—continued. Number Item. 1921-22. of Persons. 1921-22. VOTE No. 16.—SUPREME AND MAGISTRATES' £ £ COURTS—continued. Subdivision No. II .- Magistrates' and Wardens' Courts. SALARIES-CLERICAL DIVISION. Class II— 3 at £550 1,650 1 at £525 4 5252,175 Class IV-10 at £450 4,500 1 at £425 11 425 4,925 Class V-9 at £400 3,600 11 2 at £380 760 4,360 Class VI-17 at £350 5,950 1 at £330 18 330 6,280 Class VII-11 at £320 3,520 2 at £310 620. . . 3 at £290 870 5 at £270 1,350 . . . 15 at £250 3,750 ... 7 at £230 1,610 9 at £215 1,935 ... ... 15 at £160 2,400 ... 1 at £140 140 . . . 1,215 9 at £135 ... 7 at £130 910... 2 at £115 230 ... ... 90 4 at £100 400 18,950 GENERAL DIVISION.

0 1 0015			0.45	
	.***	•••		
	•••	•••		
	:	5		
	•••	•••		
	•••			
	•••	•••		
1 &6 &140	•••		140	11 756
				11,756
			-	48,446
Less recoveries				2,000
1000 1000 10100	•••		•••	
				46,445
Less proportion of	increases t	to salaries r	provided	- /
			•••	413
			-	*46,039
,				
* Includes cost-of-living	r incresse to s	coale calaries	17 W9.000	
includes cost-or-nving	increase co s	scan salaries	Ji wages.	
	for but not paya	1 at £310 24 at £275 4 at £265 7 at £240 1 at £140  Less recoveries  Less proportion of increases for but not payable for full	1 at £310	1 at £310         310         24 at £275        6,600         4 at £265        1,060         4 at £255        1,020         7 at £240        1,680         1 at £140        140         Less recoveries           Less proportion of increases to salaries provided

### IX.—JUSTICE DEPARTMENT—continued.

Number of Persons.	Item.		1921	-22,
	<u></u>	VOTE No 16—SUPREME AND MAGISTRATES'		
1920–21.		${ m COURTS-} continued.$	£	£
		Subdivision No. II.—Magistrates' and Wardens' Courts—continued		
	6 7	OTHER CHARGES FOR AND INCIDENTAL TO— Allowances to Police Constables acting as Clerks of Courts Allowances to officers acting as Inspectors of	1,820	
	8	Factories— 5 at £25, 1 at £30 Mileage fees to be refunded to Bailiffs	155 7,100	
	9	Office-cleaners	1,560 300	
	11	Travelling allowances and expenses	6,000	
		Less recoveries	16,935 155	
			16,780	
		Total—Subdivision No. II		62,812
		Subdivision No. III—Criminal Prosecutions.		
	12	CHARGES FOR AND INCIDENTAL TO—  Expenses in connection with the defence of prisoners under the Justices of the Peace Amendment Act,		
	13	1912	60 7,500	
	14 15	Fees to Crown Solicitors and Prosecutors Payment of jurors under the Juries Act, 1908	2,350 5,150	. "
		Less recoveries	15,060 400	
		Total—Subdivision No. III		14,660
		TOTALVOTE No. 16		90,472
		PRISONS DEPARTMENT.	ļ	
	1	VOTE No. 17. Salaries—		
		Administrative Division.		
1		1 at £850 (Controller-General of Prisons)	850	
		Professional Division.		
. 1		1 at £850 (Superintendent, Waikeria, also Medical Superintendent, Mental Hospital, Tokanui, £200)	850	
		CLERICAL DIVISION.		
1		Class III— 1 at £475	475	
1		Class IV— 1 at £425	425	
*				

### IX.—JUSTICE DEPARTMENT—continued.

Number of Persons.	Item.	PRISONS DEPARTMENT—continued.				1921–	22.
1921–22.		PRISONS DE	PARTMENT-	coнипиеа.	-		
	1	VOTE No. 17—continued.	ed.			£	£
		CLERICAL	Division—con	tinued.			
	ĺ	Class VI—			£	1	
_		1 at £350		•••	350		
2	ļ	1 at £310		•••	310	000	
	1	Class VII— 2 at £320			640	660	
	l	1 at £290	•••	• • •	290		
		2 at £270	. • • •	•••	540		
6	1	1 at £100	•••	•••	100	}	
•			Division			1,570	
		GEN	ERAL DIVISION.	•			
1		Inspector of Prisons	· · ·	•••		675	
		Superintendents— 1 at £550 (Borsta	I Institution) (	6 months)	275		
		1 at £515	i institution), (	o monuns)	515		
ana n		1 at £500	•••	•••	500	*	
5		2 at £275	•••		550		
		Gaolers—				1,840	
		1 at £460	•••	· · · ·	460		
		1 at £450	•••	•••	450		*
		1 at £380	• • •	• • • •	$\begin{vmatrix} 380 \\ 1,725 \end{vmatrix}$		
10	ļ	5 at £345 2 at £325			650		2
10	ļ	Deputy Superintend	lents—	• •	000	3,665	-
		2 at £405			810	3,000	
3	į	1 at £365 (6 mont	hs)		182	-	
	1	Chief Warders—	,			992	
	}	1 at £365	p *5* *	••	365		
-		2 at £355	.,	•••	710		
5		2 at £345	, , , , , , , , , , , , , , , , , , , ,	•••	690	1,765	
		Principal Warders— 5 at £330	_		1,650	1,100	
		3 at £325		•••	975		
11		3 at £315		•••	945	-	
		Acting Principal Wa	arders—			3,570	
		17 at £310	• • • •	•••	5,270		
18		1 at £290	•••	•••	290	5 560	
	1	Warders— 12 at £305			3,660	5,560	
		12 at £300	•••		3,300		
		3 at £295	•••	•••	885		
		3 at £290	•••	•••	870		
		7 at £285		•••	1,995		
		10 at £280		•••	2,800		
		9 at £275		: · · · · ·	$\frac{2,475}{7,020}$		
		26 at £270 4 at £265	• • •	•••	$7,020 \\ 1,060$	Î	
	<i>!</i> i	6 at £260	***	•••	1,560		
		6 at £255	•••		1,530		
		11 at £250		•••	2,750		
110		2 at £240			480	00.55	
		Warder Instructors			007	30,385	
		1 at £305	•••	•••	305		
		2 at £300 5 at £295	· · · ·	•••	$\begin{array}{c c} 600 \\ 1,475 \end{array}$		
	1.	2 at £290	•••	•••	580		
		7 at £285	••		1,995		
		3 at £280	•••		840		
					275		

### IX.—JUSTICE DEPARTMENT —continued.

Number of Persons.	Item.	DDIGONG DEDA				1921-	22.
1921–22.		PRISONS DEPA		con in uea.	.		
		VOTE No. 17continued	•			£	£
	1	Salaries—continued.					
		General Di	VISION—contr	inued.	İ		
		Warder Instructors— 1 at £270	continued.		£ 270		
		2 at £265	•••	• • • • • • • • • • • • • • • • • • • •	530		
25		1 at £260	•••	•••	260	7 120	
		Assistant Matrons—				7,130	
		1 at £225	•••	•••	225		
		1 at £215	•••		215		
		1 at £205	•••	•••	205		
		1 at £170	•••	•••	170		
		1 at £165	•••		165		
-		1 at £160	• • •		160	•	
7		1 at £155	•••	•••	155		
4						1,295	
1		Office Assistant			•••	230	
1		Shorthand-writer and	typiste	•••	•••	164	
		GENER	AL DIVISION.				
		Salaries—	AL DIVISION.				
	1	Schoolmaster, Waiker	ria		350	·	
	į	Farm-manager, Inver	cargill	•••	395		
	ļ	Farm-manager, Waik	eria	•••	370		
	İ	Farm - manager, Pa	narua (£39				
		months)	, , , , , , , , , , , , , , , , , , , ,	•••	162		
		Quarry Manager, Auc	kland	•••	340		
	-	Institutional Instruc	tor and Pro	obation			
		Officer, Invercargill			360		
		Brickworks Manager	. Wi Tako	(£410).			
		(6 months)	•••	(,,	205		
8	1	Electrician and Eng	gineer. Wai	keria			
		(£325), (6 months)	•••	•••	162		
						2,344	
					- 1	64,445	
		Non-	CLASSIFIED.				
1		Police Gaoler	CLASSIFIED.			270	
		Medical Officers—		• • • • • • • • • • • • • • • • • • • •	£	_, _	
	Ì	3 at £200			600		
		1 at £150	•	•••	150		
		1 at £85			85		
		1 at £75		•••	75		
7		1 at £65	•••	•••	65		
		Honorary Probation (	Officers-			975	
		1 at £100			100		
		3 at £50			150		
8		4 at £25			100		
	-					350	
233	1						
-	-					1,595	
						66,040	
		Less recoveries fo	or use of hous	ses and qu	arters	4,810	
				-			
		Less recoveries	of galarios of	f officers s	mnloved	61,230	
	1	Tiess recoveries (	n sataties Of	omcers 6	mpiosea	0.400	
		on public work	s	•••		2,400	
		on public work	s	•••	•••	*58,830	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

#### ${\tt IX} \, -\! {\tt JUSTICE} \, \, {\tt DEPARTMENT} -\! {\tt continued}.$

Number of Persons.	Item.	PRISONS DEPARTMENT—continued.	1921	-22.
1921 -22.		VOTE No. 17—continued.		
		OTHER CHARGES FOR AND INCIDENTAL TO—	£	£
	2	Advertising, photographs, books, newspapers, and other publications	200	
	3	Allowances to instructing and other officers	500	
	4	Allowances to officers temporarily performing special	ŀ	
	_	or higher duties	50	
	5	Clothing, bedding, furniture, &c	5,500	
	6	Compassionate allowances— Widow of late J. H. Barr	113	
	7	Widow of late Timothy Creedon	83	
	8	Widow of late J. T. Reid	89	
		Crimes Amendment Acts—		
	9	Administration expenses	500	
	10 11	Assistance to discharged prisoners Gratuities to short-sentenced prisoners	100 300	
	12	Payment to prisoners' dependants	5,250	
	13	Prisoners' industry earnings	2,800	
	14	Fuel, light, power, and water	4,000	
	15	Grants to Prisoners' Aid Societies (5)	200	
	16	Invercargill Borstal Institution—	500	
	$\begin{array}{ c c } 16 \\ 17 \end{array}$	Construction of rifle-range, timber and materials  Equipment and instructional work	500	
	18	Estuary lands: Development, draining, and	00	
		roading	800	
	19	Lodging-allowances	2,800	
	00	Medical services—	970	
	$\frac{20}{21}$	Maintenance of prisoners in public hospitals  Medicines and medical comforts	350 650	
	$\frac{21}{22}$	Medicines and medical comforts Offenders Probation Act, administration of and pre-	050	
	~-	ventative work	450	
	23	Office fittings and requisites (including printing and		
		stationery)	500	
	24	Postage, telegrams, and rent of boxes	500	
	25	Prison Industries— Brickmaking	750	
	26	General prison works, buildings, and workshops	1,200	
	27	Tools and materials for prison labour	1,700	
	28	Workshops equipment	50	
	29	Prison camps: Expenses connected with	1,500	
	30	Prison farms: Purchase of stock, plants, seeds, im-	7 200	
	31	$egin{array}{cccccccccccccccccccccccccccccccccccc$	7,300	
	32	Sanitary services, cleaning, and disinfectants	600	
	33	Telephone services (including installation, extensions,		
	0.4	maintenance, rent, and calls)	400	
	34	*Temporary warders and matrons	3,000	
	35	Travelling Allowances and Expenses— Allowances and expenses of Departmental officers	700	
į	36	Transfer of officers and families	500	
	37	Transfer of prisoners	1,050	
	38	Conveyance of prisoners on release	1,750	
	90	Transport Charges—	500	
	39 40	Forage Freight, cartage, &c	500 400	
	41	Vehicles: Purchase and upkeep, petrol supplies, &c.	1,400	
	42	Uniforms and accoutrements for prison officers	800	
	43	Contingencies, including unforeseen expenditure in-		
		cidental to the other items of the vote	100	
			72,985	
		Less estimated credits under section 48 of the	. 2,000	
		Public Revenues Act, 1910	39,000	
			33,985	
1		,		

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

#### IX.—JUSTICE DEPARTMENT—continued.

Number of Persons.	Item.		1921–22.	
1001 00	-	CROWN LAW OFFICE.	1	
1921–22.		VOTE No. 18.	£	£
	1	Salaries—		
1		Solicitor-General	1,500	
		Professional Division.		
		1 Crown Solicitor at £1,050 1,050		
9		1 Crown Solicitor at £900 900		
3		1 Crown Solicitor at £900 900	2,850	
1		1 at £550	550	
		CLERICAL DIVISION.		
4		Class II—	FF0 .	
1		1 at £550 (also Private Secretary, £25) Class VII—	550	
1		1 at £160	160	
		General Division.		
		1 at £250 250		
2		1 at £230	480	
9				
	-		*6,090	
		OTHER CHARGES FOR AND INCIDENTAL TO—		,
	2	Annual certificates under the Law Practitioners Act,	30	
	3	Law-costs	20	
	4	Office fittings and requisites (including printing and	00	
	5	stationery) Postage, telegrams, and rent of boxes	90 50	
	6	Purchase of Law Reports and Treatises and other	100	
	7	publications Telephone services (including installation, extensions,	100	
	(,	maintenances, rent, and calls)	70	
	8 9	Travelling allowances and expenses Contingencies, including unforeseen expenditure in-	20	
		cidental to the other items of the vote	80	
			460	
		TOTAL—VOTE No. 18		6,5
		VOTE N. 10 DOLIGE DEDARMENT		
		VOTE No. 19.—POLICE DEPARTMENT.		
		Subdivision No. I.—Police Department.		
	1	Salaries—		
			,	
		Head Office—		
1		Commissioner	1,000	
		CLERICAL DIVISION.		
		Class II—		
1	1	1 at £525	525	

\* Includes cost-of-living increase to scale salaries or wages.

#### IX.—JUSTICE DEPARTMENT—continued.

Number of Persons.	Item.	NOME W 40 DOLLAR DESCRIPTION		1921-	22.
1921–22.		VOTE No. 19.—POLICE DEPARTMENT—continu	ued.		
	7	Subdivision No. I.—Police Department—continued	ā.	£	£
	1	Salaries—continued.			
			ļ	1	
		CLERICAL DIVISION—continued. Class VI—			
2		2 at £350		700	
		Class VII—	£		
0.			215		
2		1 at £125	125	340	
		GENERAL DIVISION.		010	
1	. * *	1 at £320		320	
$egin{array}{c} 1 \ 2 \end{array}$		Inspector	•••	490	
4.		2 Senior Sergeants at 22s. per day 4 Constables: 3 at 16s. 6d., 1 at 16s. per day		$ \begin{array}{c c} 802 \\ 1,195 \end{array} $	
		1 constants to at 100 out, 1 at 100 per au	•••	2,200	
4		Districts—	550	0.050	
4 14	ŕ	4 Superintendents: 2 at £610, 1 at £600, 1 at £14 Inspectors: 1 at £530, 1 at £520, 2 at £510,		2,370	
		£500, 2 at £490, 4 at £480, 3 at £470		6,880	
3		3 Sub-Inspectors at £430		1,290	
32		32 Senior Sergeants: 15 at 22s., 4 at 21s. 6d., 1	3 at	10 574	*
82		21s. per day 82 Sergeants: 47 at 20s., 18 at 19s. 6d., 17 at	 19s	12,574	
<b>-</b>		per day		29,455	
850		850 Constables: 85 at 17s. 6d., 95 at 17s., 16			
		16s. 6d., 125 at 16s., 55 at 15s. 6d., 325 at 15s.	- 1	047 994	
7		day 7 Senior Detectives: 3 at 23s. 6d., 1 at 22s.,	3 at	247,334	
•	i	21s. 6d. per day		2,866	
14		14 Detective-Sergeants: 5 at 22s, 5 at 20s., 2	at at		
27		19s. 6d., 2 at 19s. per day		5,238	
41		27 Detectives: 5 at 20s. 6d., 4 at 17s., 10 16s. 6d., 8 at 16s. per day	, at	8,459	
5	1	5 Native Constables		350	
7		7 District Constables		750	
$\begin{matrix} 8 \\ 12 \end{matrix}$		8 Matrons: 1 at £192, 2 at £180, 5 at £156	•••	$\begin{bmatrix} 1,332 \\ 680 \end{bmatrix}$	
		12 Surgeons: 4 at £120, 8 at £25 Probationary Constables		4,500	
1,079		Female Searchers		100	
		Allowances to members of Force for detec	tive,	7 000	
		clerical, and special duty	···	1,600	
		Continuation towards saidly of Infaryst, Indentant			
				331,200	
		Less contributions from other Departments	•••	166	
				*331,034	
		OTHER CHARGES FOR AND INCIDENTAL TO-			
	2	Advertising, photographs, books, newspapers,	and	<b>500</b>	
	3	other publications Bicycles: Purchase and upkeep	•••	500 1,500	
	4	Clothing (free issue), including repairs, allowance	e for	1,000	
		making up uniforms, and boot allowance	•••	12,187	
	5	Fidelity-guarantee premiums and insurance	•••	50	
	6 7	Freight, cartage, and transport charges Fuel, light, power, and water	•••	4,500 3,000	
	8	Horse allowances, purchase, forage, bedding, sho	eing,	5,000	
		clipping, and grazing of horses, including			
		pensation for loss of private horses	• • •	6,000	
	9	House allowances to officers and men unprove with quarters	rided	18,900	
	10	Medical, dental, and veterinary services, medic	cines	10,000	
		and medical stores, ambulance instruction	and		
		hire, and hospital charges for police disa			

 $<sup>\ ^{*}</sup>$  Includes cost-of-living increase to scale salaries or wages.

£660,259

### $Appropriations \ for \ Consolidated \ Fund \ Services.$

#### IX.—JUSTICE DEPARTMENT—continued.

		· ·	1023	<u>-22</u> .
1921-22.		VOTE No. 19.—POLICE DEPARTMENT—continued.		
1921-22.		Subdivision No. I.—Police Department—continued.	£	£
	$\begin{array}{c c} 11 \\ 12 \end{array}$	OTHER CHARGES FOR AND INCIDENTAL TO—continued.  Motor vehicles: Purchase and maintenance	2,000	!
		Office fittings and requisites (including printing and stationery	6,500	
	13 14	Police examinations, expenses of  Police prosecutions and inquests, legal and medical advice, interpreting, and payments for special services	150 2,500	 
	15 16 17	Postage, telegrams, and rent of boxes Rations Rent of stations, quarters, and paddocks, and rates	6,200 1,000	
	18	on leasehold and acquired properties Repairing, painting, and improving police premises	$\frac{2,500}{750}$	
	19	Rewards and expenses for the suppression of sly-grog selling and the introduction of liquor into prohibited districts	700	a ala se
	20	Rewards to members of the Force for meritorious conduct	500	NEW MORE
	21 22	Saddlery, horse-covers, &c Scavenging, chimney-sweeping, cleaning stations and	400 100	
	23	windows, sanitary services and washing Stores, supplies, accoutrements, and expenses inci-	500	
	24	dental thereto Telephone services (including installation, extensions,	1,500	
	25	maintenance, rent, and calls)  Travelling - expenses of police and transport of prisoners, transfer expenses of police and their	3,000	
	26	families, and repairs to vehicles damaged by prisoners	20,000	u I
		cidental to the other items of the vote	100	
		Less estimated credits under section 48 of the Public Revenues Act, 1910	94,737	
		Public Revenues Act, 1910	2,650	·
		Total—Subdivision No. I	92,087	423,121
				· ·
		Subdivision No. II.—Police: Miscellaneous Services.		
	27	CHARGES FOR AND INCIDENTAL TO— Compassionate allowance to widow and children of late Constable J. Dorgan, who was shot whilst on		in the second of
	28	duty	250	
	29	penses of administration of the Arms Act, 1920 Grant to J. O'Donovan, Commissioner of Police, in	12,000	
	30	lieu of six months' leave on retirement  Special allowance to ex-Constable Stewart for serious permanent injuries received in the service	500	
		Total—Subdivision No. 11		12,789
		TOTAL—VOTE No. 19		435,910

TOTAL

854 3647

### X.—COOK ISLANDS.

. N. 151 III		A:-OOOK ISLA				
				19	921–22.	
			Salaries.	Othe	r Charges.	Total.
			£		£	£
Vote No.	.—(	Cook Islands	10,505		4,751	15,256
		-				
	TC	OTAL	10,505		4,751	15,256
Number of Persons.	Item.				1921	-2 <b>2.</b>
1921–22.		COOK ISLANDS.				
	1	VOTE No. 20. Salaries—			£	£
		Head Office—				
		Administrative Division	ι.			
	13.	1 at £100 (also Under-Secretary, Just £800, and Native Department, £15	sice Departm	ent,	100	
		Cook Islands—			٠	
		Resident Commissioner Land Court Judge	•••		$\frac{1,000}{650}$	
		Medical Officers: 1 at £700, 1 at £ Collector of Customs	2600		$\frac{1,300}{260}$	l .
		Fruit Inspector	•••		220	
ana serie		Police Officer Postmaster (Rarotonga)	•••	}	250 350	
9		School-teachers	•••		4,400	
•		Niue—				
		Resident Commissioner	•••		500	
		Assistant to Resident Commissione School-teachers: 1 at £365, 1 at £	er		215	
		Medical Officer	240		610 600	
5		Police Officer	•••		50	
14					*10,505	
				-		
		OTHER CHARGES FOR AND INCIDENTAL	то	.	*	
	2	Advertising, photographs, books, n	iewspapers,	and $ $		
	1,3	other publications Cook and other Islands Administra	ation and o	ther	50	
		expenses		•••	600	
	5	Erection of fruit-packing sheds, Raro Extra clerical assistance	nonga	•••	$\begin{array}{c} 25 \\ 100 \end{array}$	
2.2	6	Freight, cartage, and transport charg	es		100	
	7	Grant to C. B. Jordan, Secretary, in	lieu of leave	e of		
, K. J. Mage	8	absence on retirement Installation of wireless telegrap	oh system	at	50	
	1	Rarotonga and Niue	•••	•••	25	

 $<sup>\</sup>boldsymbol{*}_{\!\scriptscriptstyle L} \! \text{Includes cost-of-living increase to scale salaries or wages.}$ 

### X.—COOK ISLANDS—continued.

Number of Persons.	[tem.		1921-	22.
	ĺ	COOK ISLANDS—continued.	•	
1921–22.		,		
		VOTE No. 20.—continued	£	£
ţ		OTHER CHARGES FOR AND INCIDENTAL TO—continued.	İ	
ļ	9	Medical service, Niue	250	
[	10	Office fittings and requisites (including printing and		
1		stationery)	25	
,	11	Postage, telegrams, and rent of boxes	100	
Í	12	Subsidy for service to Niue	1,100	
ĺ	13	Subsidy for erection of additions to Hospital at	i	
		Rarotonga	1,000	
,	14	Telephone services (including installation, extensions,		
` ` ` `		maintenance, rent, and calls)	57	
į	15	Travelling allowances and expenses	25	
.3	16.	Tropical allowances	1,750	
	17	Contingencies, including unforeseen expenditure in-	l.	
# 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		cidental to the other items of the vote	25	
			5,192	
		Less recoveries	441	
			4 751	
-		TOTAL NOTE No. 00	4,751	4E 0E6
ľ		TOTAL—VOTE No. 20		15,256
	ГОТ			

			attives valid out its outer of its			3 - 7	
		XI.—P	PENSIONS DEP	ARTMI	ENT.		
	1		1 2 4 5 5 5 6 5 6 5 6 6 6 6 6 6 6 6 6 6 6 6			001 00	
			die e differi		1	921–22.	• 1
		en en en en en en en en en en en en en e		Salarie	s. Other	or Charges.	Total.
	45		The second of the	1			
		one for the second of the seco	hanger Black G	£		£	£
7ote No. 2	21.—1	Pensions Departme	ent Manager	25,	896	116,570	142,46
	1.			<del></del>			<u> </u>
	ere se	TOTAL	•••	25,	896	116,570	142,46
Number	Item.			,		100	L–22 <b>.</b>
of Persons.		PEN	ISIONS DEPARTME	INT.	.	194.	* 1
1921–22.		VOTE No. 21.				£	£
	1	Salaries					,
•	1	Į.	OMINISTRATIVE DIVISION	ON.		e e	
1			mmissioner)	•••	[	900	
*			•	•••		500	1
	,	Class I—	CLERICAL DIVISION.		ļ		
1		1 at £600	•••	•••	•••	600	
		Class III—					
2		2 at £500	•••	•••	•••	1,000	
		Class IV-			£		
		4 at £450 1 at £425	•••	•••	$\begin{array}{c} 1,800 \\ 425 \end{array}$		
6		1 at £410	•••	•••	410		
Ü						2,635	
	1	Class V—					
2	}	2 at £380	•••	•••	•••	760	
		Class VI—					Į.
		6 at £350	•••		2,100		ļ
,	1	1 at £330		•••	330		
9		2 at £310	••	•••	620	3,050	
		Class VII—				5,000	
		1 at £310	***	•••	310		
		7 at £290	•••	•••	2,030		1
		5 at £270	•••	•••	1,350		
		1 at £240 5 at £230	•••	•••	240 1,150		
		3 at £215	•••	•••	645		
		22 at £160	•••	•••	3,520		
		1 at £140	•••		140		
	1	8 at £115	•••	•••	920		
=0	1	9 at £100	•••	•••	900		
73		11 at £85	• • •	•••	935	12,140	
							145

#### XI.—PENSIONS DEPARTMENT—continued.

Number of Persons.	Item.	PENSIONS DEPARTMENT—continued.	1921	<b>-22.</b>
1921–22.		VOTE No. 21—continued.	£	£
			2	2
	1	Satiaries—continued.	7	
		GENERAL DIVISION.		ist and
		$egin{array}{ c c c c c c c c c c c c c c c c c c c$		
	1	2 at £140 280		
8		1 at £115 115 2 at £100 200		
100			1,075	
		Cadets' lodging-allowances Salaries: Proportion of, High Commissioner's staff Salaries and honoraria of members of War Pensions	$\begin{array}{c c} 450 \\ 1,500 \end{array}$	
		Board	2,600	
,		Salaries and honoraria of members of War Pensions Appeal Board	2,100	
			28,810	
- 2. 2		Less proportion of salaries provided for but not payable for full year	2,114	
			26,696	
		Less estimated credits under Section 48 of the Public Revenues Act, 1910	800	
			*25,896	
	2	OTHER CHARGES FOR AND INCIDENTAL TO— †Advertising, photographs, books, newspapers, and other publications	20	
	$\frac{3}{4}$	†Exchange and commission on money-orders Fees for certificates of age	$\frac{1,600}{20}$	
	5	Fuel, light, power, and water	100	*
	$\begin{array}{ c c c c c c c c c c c c c c c c c c c$	Interpreters' fees Loading on life insurance premiums on account of	10	
	0	impaired health occasioned by war service  Medical fees	150	
	9	†Office-cleaning	10,000	
	10	Office fittings and requisites (including printing and stationery)	3,000	
	11	†Overtime and meal allowances	5,000	
	12	Payment to Post and Telegraph Department for services of officers	13,418	
	13	Pensions to— Epidemic widows and widowers and their de-		
	14	pendants, ; Mr. G. A. Birch, to supplement retiring-allowance	66,830	
	15	(from 1st October, 1921, to 31st March, 1922) Mrs. Mary Young in lieu of Old-age Pension (from	18	
	16	1st April, 1920, to 31st March, 1922) Mrs. Olive K. Phillips on account of death of	72	
		husband while member of crew of transport "Tahiti"	78	
	17	Widow of late Captain J. E. McDonald, of transport "Aparima" (from 1st April, 1920, to 31st March,	110	
	18	1922)	448	
	19	tober, 1921, to 31st March, 1922) Widow and family of Captain Freeland of	26	
		mine-sweeper "Simplon" (from 11th July, 1921, to 31st March, 1922	125	

<sup>\*</sup>Includes cost-of-living increase to scale salaries or wages, ‡Transferred from "Department of Health."

<sup>†</sup> Previously charged to "Contingencies."

#### XI.—PENSIONS DEPARTMENT—continued.

Number Item of Persons.	0.	1921-	22.
1001 00	PENSIONS DEPARTMENT—continued.	· · · · · · · · · · · · · · · · · · ·	
1921–22.	VOTE No. 21—continued.	£	£
	OTHER CHARGES FOR AND INCIDENTAL TO—continued.		
20	Postage, telegrams, and rent of boxes	4,000	
21		400	
22	London	$\frac{400}{20}$	
$\begin{vmatrix} 22\\25\end{vmatrix}$	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	20	
	maintenance, rent, and calls)	125	
24		12,500	
28		3,500	
20	Contingencies, including unforeseen expenditure incidental to the other items of the vote	50	
		116,570	
	TOTAL—VOTE No. 21		142,466

1921–22.

#### XII.—MINES DEPARTMENT.

		-		10	,	
			Salaries.	Othe	er Charges.	Total.
Vote No. 2	32.—M	Iines Department—	£		£	£
Subdivisi	on I.	—Mines Department	14,010			14,010
	II.	.—Geological Survey Branch	4,096		2,450	6,546
		—Miscellaneous Services			37,223	37,223
,,						<del></del>
		TOTAL—VOTE No. 22	18,106		39,673	57,779
	TOTA	AL	18,106		39,673	57,779
Number of Persons.	Item.				192	1–22.
1921–22.		VOTE No. 22.—MINES DEPA	ARTMENT.			· · · · · · · · · · · · · · · · · · ·
1021-22.		Subdivision No. I.—Mines Dep	pa <b>r</b> tment.		£	£
;	1	Salaries — Administrative Division	ON.			
1		1 at £750 (Under-Secretary)	. •••		750	
		Professional Division	N.			
		Class A— 1 at £750		£ 750		
2		1 at £650 ( $\frac{1}{2}$ month)	•••	27		
8		Class $C$ — 8 at £510		•••	777 4,080	
		$\begin{array}{c} Class \ D - \\ 1 \ \text{at } \pounds 450 \end{array} \qquad \dots$	•••	450		
2		1 at £360		360	810	
		Commence Description			010	
		Class IV— Class IV—				
1		$\begin{array}{ccc} 1 \text{ at } \pounds 450 & \dots \\ Class \ VI \longrightarrow \end{array}$	•••	•••	450	
1		1 at £310	•••		3 <b>1</b> 0	
		$Class\ VII$ — 2 at £290		580		
		1 at £250	•••	250		
	i	1 at £215	•••	215		
# · *		1 at £215 (5 months)	•••	90		1
		1 at £160	ontha	160		
1,31		3 at £115 (1 £15 increase for 9 m 1 £15 increase for 7 months,				
		£15 increase for 4 months)		325		
10		1 at £100 ( $2\frac{1}{2}$ months)	•••	21		
, 1					1,641	
	1	Lodging-allowances of cadets	•••	•••	40	

#### XII.—MINES DEPARTMENT—continued.

Number of Persons.	Item.	NOME N. OO MINDS DEDICTION I	1921	-22.
1921–22.	- <b> </b> , 	VOTE No. 22.—MINES DEPARTMENT—continued.		
	Ì	Subdivision No. I.—Mines Department—continued.	£	£
	1	Salaries—continued.	,	
		General Division.		
		1 at £440 440		
		1 at £430 430		
		1 at £420 420 1 at £355 355		
		1 at £355 355 4 at £295 1,180		
		1 at £285 285	ļ	
100		1 at £265 265		
		4 at £255 1,020	olphy is d	
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		14X3 F
		1 at £184 184		15 <b>\</b> 216.
18		1 at £140 (£16 increase for 10 months) 137		
			5,152	44
42		Total—Subdivision No. I	7. 3.4	*14,01
<del></del>				€ t
			~	
, •	. ,	•	Lange wer	
			ava	
		The state of the s	:	
1. 1. 1.			4	n 1.
		Subdivision No. II—Geological Survey Branch.		
*		SALARIES—	·	
		Professional Division.	950	1. 1
1,		Professional Division.  1 at £850 (Director)	850	* 1
		PROFESSIONAL DIVISION.  1 at £850 (Director)  Class B—		· · · · · · · · · · · · · · · · · · ·
1		PROFESSIONAL DIVISION.  1 at £850 (Director)  Class $B$ —  1 at £600  Class $C$ —	600	* 21
		PROFESSIONAL DIVISION.  1 at £850 (Director)  Class B—  1 at £600  Class C—  1 at £510 (£20 increase for 6 months)		* 1 1 **
1.		PROFESSIONAL DIVISION.  1 at £850 (Director)  Class B—  1 at £600  Class C—  1 at £510 (£20 increase for 6 months)  Class D—  £	600	
1		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	600	
1.		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	600 500	
1		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	600	
1		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	600 500 845	
1 2		PROFESSIONAL DIVISION.  1 at £850 (Director)  Class B—  1 at £600  Class C—  1 at £510 (£20 increase for 6 months)  Class D—  1 at £450 450  1 at £395 395  Class E—  1 at £350 (£20 increase for 4 months) 336	600 500	
1 2		PROFESSIONAL DIVISION.  1 at £850 (Director)  Class B—  1 at £600  Class C—  1 at £510 (£20 increase for 6 months)  Class D—  1 at £450 450  1 at £395 395  Class E—  1 at £350 (£20 increase for 4 months)  1 at £285 (£25 increase for 7 months)	600 500 845	
1 2		PROFESSIONAL DIVISION.  1 at £850 (Director)  Class B—  1 at £600  Class C—  1 at £510 (£20 increase for 6 months)  Class D—  1 at £450 450  1 at £395 395  Class E—  1 at £350 (£20 increase for 4 months)  Class E—  1 at £285 (£25 increase for 7 months)  CLERICAL DIVISION.	600 500 845	
1 2		PROFESSIONAL DIVISION.  1 at £850 (Director)  Class B—  1 at £600  Class C—  1 at £510 (£20 increase for 6 months)  Class D—  1 at £450  1 at £395  Class E—  1 at £350 (£20 increase for 4 months)  1 at £285 (£25 increase for 7 months)  Class V—  1 at £380	600 500 845	
1 1 2 2		PROFESSIONAL DIVISION.  1 at £850 (Director)	600 500 845 611	
1 1 2 2		PROFESSIONAL DIVISION.  1 at £850 (Director)  Class B—  1 at £600  Class C—  1 at £510 (£20 increase for 6 months)  Class D—  1 at £450  1 at £395  Class E—  1 at £350 (£20 increase for 4 months)  1 at £285 (£25 increase for 7 months)  Class V—  1 at £380	600 500 845 611	
1 2 2 1		PROFESSIONAL DIVISION.  1 at £850 (Director)	600 500 845 611 380 310	
1 1 2 2		PROFESSIONAL DIVISION.  1 at £850 (Director)	600 500 845 611	
1 2 2 1		PROFESSIONAL DIVISION.  1 at £850 (Director)	600 500 845 611 380 310	
1 2 2 1		PROFESSIONAL DIVISION.  1 at £850 (Director)	600 500 845 611 380 310	
1 2 2 1	9	PROFESSIONAL DIVISION.  1 at £850 (Director)	600 500 845 611 380 310 *4,096	
1 2 2 1	2	PROFESSIONAL DIVISION.  1 at £850 (Director)	600 500 845 611 380 310	
1 2 2 1	2 3	PROFESSIONAL DIVISION.  1 at £850 (Director)	600 500 845 611 380 310 *4,096	
1 2 2 1	3	PROFESSIONAL DIVISION.  1 at £850 (Director)	600 500 845 611 380 310 *4,096	
1 2 2 1	3 4	PROFESSIONAL DIVISION.  1 at £850 (Director)	600 500 845 611 380 310 *4,096	
1 2 2 1	3	PROFESSIONAL DIVISION.  1 at £850 (Director)	600 500 845 611 380 310 *4,096	

### XII. -MINES DEPARTMENT-continued.

Number of Persons.	Item.		1921	-22.
1001 00		VOTE No. 22,—MINES DEPARTMENT—continued.	· · · · · · · · · · · · · · · · · · ·	
1921–22.		Subdivision No II.—Geological Survey Branch—continued.	£	£
		OTHER CHARGES FOR AND INCIDENTAL TO-continued.		
	7	Investigation, water-supplies	50	
	8	Office fittings and requisites (including printing and	50	e.
	9	stationery)  Postage, telegrams, and rent of boxes	50 50	
	10	Petrographical specimens and petrographical and		
		chemical apparatus	20	
	11	Printing bulletins, lithographing, &c	250	
	$\begin{array}{ c c }\hline 12 \\ 13 \end{array}$	Sorting and distributing mineral specimens Telephone services (including installation, extensions,	20	
	19	maintenance, rent. and calls)	25	·
	14	Travelling allowances and expenses	400	
	15	Tools, equipment, and field expenses	400	
	16 17	Wages Contingencies, including unforeseen expenditure in-	800	
	11,	cidental to the other items of the vote	20	1
		and the state of t		
		Total—Subdivision No. II	2,450	6 54
	~ !	Tqtal—Subarvision Ino. 11		6,54
		the second of the transfer of the second		
		the state of the s		
		The second of th		
		Subdivision No. III.—Miscellaneous Services.	/	
3				
	10	CHARGES FOR AND INCIDENTAL TO—		·
	18	Advance to F. J. Gunn by the Government Agent, Sydney, to cover expenses when on a visit to New-		
		castle relative to supplies of coal for New Zealand	6	
	19	Advertising, photographs, books, newspapers, and		
		other periodicals	50	:
* *** *********************************	20	Construction and maintenance of roads and works	1,100	
	21	Prospecting	7,000	
	22	Audit fees for inspection of accounts	20	
	23	Bonus of 4d. per lb. for the production of the first 40,000 lb. of good marketable retorted quicksilver	667	
	24	†Coal Control Branch: Working-expenses (including	001	
	~~	salaries of staff, cost-of-living bonus, and salaries		
		of local secretaries)	2,550	
	25	Diamond and other drills and appliances (working- expenses only)	1,200	
	26	Examinations, Mining and Coal-mines Acts	200	
	27	Expenses, New Zealand Government Representative,		
	20	Imperial Mineral Resources Bureau	50	
	28 29	*Expert and temporary assistance, fees, wages, &c Freight, cartage, and transport charges	800	
	30	Fuel, light, power, and water	60	
	31	†Government Firewood Depot: Working-expenses		
		(including salaries of staff, wages, and cost-of-living	0.660	
		bonus), (recoverable) Grants—	9,660	
	$\mid_{32}\mid$	Bowling-green and tennis-court, Runanga	182	
	33	Erection of dressing-shed, recreation-grounds, Den-		
		niston	100	
	34	Libraries in mining townships Mine-water flooding, Thames	100 1,840	
	35 36	Recreation-ground, Runanga	77	
	37	Sick and accident funds	150	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages, and Commerce."

 $<sup>\</sup>dagger\, Previously \ voted \ under \ vote \ " Industries$ 

### XII.—MINES DEPARTMENT—continued.

Number of Persons.	Item.		1921-	-22.
921–22.	.	VOTE No. 22.—MINES DEPARTMENT—continued.  Subdivision No. III.—Miscellaneous Services—continued.	£	£
		CHARGES FOR AND INCIDENTAL TO—continued.		
	38	Instrument and outfit allowances for Inspectors of	,	
		Mines	260	
	39	Karaka Creek cut improvements	239	
	40	T	150	
		Maintenance of Water-races—		
	41	Weimen Kumana	650	
	$ \stackrel{1}{42} $	Mount Ida	300	
	43	Motor-cars and accessories, maintenance, &c	400	i
	44		25	
	45	Office-cleaning	200	1
	46	Office fittings and requisites	375	1
		Postage, telegrams, and rent of boxes	1.	
	47	Printing and stationery	600	
	48	Purchase price of Tauhara North No. I Block, Tatau	0.100	
		Survey District, for sulphur mining	2,100	
	49	Refunds of rent, Section 154, Mining Act, 1908	30	
	50	Schools of Mines	4,000	
	51	Shortages in deposit accounts, Wardens' Courts	2	
115.3	52	Stone-quarries Act: Administration expenses	20	
	53	Telephone services (including installation, extensions,		
		maintenance, rent, and calls)	180	
	54	Travelling allowances and expenses	1,750	
	55	Work and material supplied by other Departments	50	
	56	Contingencies, including unforeseen expenditure in-		
		cidental to the other items of the vote	50	**
		Total—Subdivision No. III		37,22
		TOTAL—VOTE No. 22		57,77

### XIII.—DEPARTMENT OF INTERNAL AFFAIRS.

	:				19	21–22.	
			Salar	ies.	Othe	er Charges.	Total.
V . N . 00		6.7		£	<del></del>	£	£
		epartment of Internal Affairs—					
Subdivisi		$-Head\ Office\$	. 22	2,769		32,352	55,121
,,		—Clerk of Executive Council		50			50
,,		-Ministers' Secretaries		730			1,730
,,	1V	-Messengers, Office-keepers, and Char	'-   55	5,30 <b>1</b>		20,480	75,781
	. 17	women  Pagintuga Compuel's Office	1/	900		7,810	19 610
,,		Registrar-General's Office	76	0,800		51,187	$18,610 \\ 63,870$
,,		—Census and Statistics —High Commissioner's Office		$8,683 \ [8,870]$		21,068	34,938
"		Margaerm		2,925		$\begin{bmatrix} 21,000 \\ 6,163 \end{bmatrix}$	9,088
		Dominion Laboratom		5,222		4,450	10,672
"		Micaellanaone Samiaca		3,560		131,928	138,488
,,	Δ.,-	—Miscellaneous Services		,,500		101,020	100,900
	:	TOTAL—VOTE No	. 132	910		275,438	408,348
7ote No. 24	l.—Aı	adit Department	. 14	ŀ,775		10,361	25,136
,, 25	.—Pu	ablic Service Commissioner's Office	. 6	3,931		2,745	9,676
,, 26	.—Pr	inting and Stationery	. 12	2,700		11,030	23,730
	· 1	OTAL	. 167	7,316		299,574	466,890
Number of Persons.	Item.	VOTE No. 23.—DEPARTMENT AFFAIRS.	OF INT	ERNA		192	1–22.
1921–22.		Subdivision No. I.—Hea	d Office.			£	£
	-	Salaries—				<b></b>	<b>au</b>
	1	ADMINISTRATIVE DIVI	CTON				
•			PION,				
1		1 at £1,000 (Under-Secretary)	•••		•••	1,000	
	l i	<b>.</b>					
		Professional Divis	ION.				
_		Class A—					
1		1 at £700	• • • •			700	,
		Class C—					
1		1 at £490	• •		•••	490	
-		Class $F$ — 1 at £210				010	
1			•••		•••	210	
	•	Clerical Division	Ν.				
2		$Class\ Special - \ 2 \ { m at}\ { m \pounds 700} \ \ldots$				1 400	1
2		Class I—	•••		${\mathfrak E}$	1,400	
		1 at £650			650		
2		1 at £600	•••		600		
· 🗸	1	I 000 00000			JUU	1 950	1

12—B. 7.

	Item.	770 mm 17 00	DEDITION OF	r NT (III T)	DNAT	1921	<b>-22.</b>
1921–22.	i 	VOTE No. 23	-DEPARTMENT OF AFFAIRS—continued.	INTE	RNAL	£	£
		Subdivision	n No. I.—Head Office—c	ontinue	ed.	~	~
	1	SALARIES—cont	inued.		į		
			RICAL DIVISION—continu	ved.			
3		Class II— 3 at £550				1,650	
<b>.</b>		Class III—	•••	•••	•1•	1,000	
1		1 at £500	•••			500	
		Class IV-					
. 1		1 at £450	•••			450	
	1	Class V—			£ 100		
		6 at £400 1 at £380	•••	•••	2,400 380		
. 8		1 at £365	•••	•••	365		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
O	} [	Class VI—	•••	•••		3,145	
	1	2 at £350	•••	•••	700		
3		1 at £310	•••	•••	310		
		Class VII—			000	1,010	
		3 at £320	•••	• • •	960		1.1
		1 at £310	•••	•••	310   870	_	
		3 at £290 3 at £270	•••	•••	810		
	i i	2 at £250	•••		500		
		1 at £230			230		
	ĺĺ	2 at £215	•••	•••	430		
		5 at £160	•••	•••	800		
		1 at £140	•••		140		
		5 at £115	•••	•••	575		
0.1		4 at £100	•••	•••	400		
31		1 at £85 (1	I months)	•••	78	6,103	
		Allowances to	o officers temporarily per	forming	g special	0,200	*
		or higher d	uties			40	
1			tary to His Excellency	the G	overnor-	***	
		General	•••	•••	•••	550	
			GENERAL DIVISION.		£		
	1 1		GENERAL DIVISION.				
		1 at £470			470		
		1 at £375 •	CENERAL DIVISION.	•••	470 375		
		1 at £375 • 1 at £300	 		470 375 300		
		1 at £375 • 1 at £300 3 at £270			470 375 300 810		
gradia N		1 at £375 • 1 at £300 3 at £270 5 at £230		•••	470 375 300 810 1,150		
A.		1 at £375 • 1 at £300 3 at £270 5 at £230 4 at £206			470 375 300 810 1,150 824		
A.		1 at £375 • 1 at £300 3 at £270 5 at £230 4 at £206 5 at £184			470 375 300 810 1,150 824 920		
A A		1 at £375 • 1 at £300 3 at £270 5 at £230 4 at £206 5 at £184 3 at £176			470 375 300 810 1,150 824 920 528		
A.		1 at £375 • 1 at £300 3 at £270 5 at £230 4 at £206 5 at £184			470 375 300 810 1,150 824 920		
A A		1 at £375 • 1 at £300 3 at £270 5 at £230 4 at £206 5 at £184 3 at £176 3 at £164			470 375 300 810 1,150 824 920 528 492 608 420		
A Comment		1 at £375 • 1 at £300 3 at £270 5 at £230 4 at £206 5 at £184 3 at £176 3 at £164 4 at £152 3 at £140 1 at £124			470 375 300 810 1,150 824 920 528 492 608 420 124		
		1 at £375 • 1 at £300 3 at £270 5 at £230 4 at £206 5 at £184 3 at £176 3 at £164 4 at £152 3 at £140 1 at £124 2 at £115			470 375 300 810 1,150 824 920 528 492 608 420 124 230		
37		1 at £375 • 1 at £300 3 at £270 5 at £230 4 at £206 5 at £184 3 at £176 3 at £164 4 at £152 3 at £140 1 at £124			470 375 300 810 1,150 824 920 528 492 608 420 124	7 351	
37 93		1 at £375 • 1 at £300 3 at £270 5 at £230 4 at £206 5 at £184 3 at £176 3 at £164 4 at £152 3 at £140 1 at £124 2 at £115 1 at £100	vances (cadets)		470 375 300 810 1,150 824 920 528 492 608 420 124 230	7,351 61	
		1 at £375 • 1 at £300 3 at £270 5 at £230 4 at £206 5 at £184 3 at £176 3 at £164 4 at £152 3 at £140 1 at £124 2 at £115 1 at £100	··· ··· ··· ··· ··· ··· ··· ··· ··· ··		470 375 300 810 1,150 824 920 528 492 608 420 124 230 100	61	
		1 at £375 • 1 at £300 3 at £270 5 at £230 4 at £206 5 at £184 3 at £176 3 at £164 4 at £152 3 at £140 1 at £124 2 at £115 1 at £100  Lodging-allov  Less propo	vances (cadets)	    	470 375 300 810 1,150 824 920 528 492 608 420 124 230 100 	25,910	
		1 at £375 • 1 at £300 3 at £270 5 at £230 4 at £206 5 at £184 3 at £176 3 at £164 4 at £152 3 at £140 1 at £124 2 at £115 1 at £100  Lodging-allov  Less propo	        vances (cadets)	     	470 375 300 810 1,150 824 920 528 492 608 420 124 230 100	25,910 541	
		1 at £375 • 1 at £300 3 at £270 5 at £230 4 at £206 5 at £184 3 at £176 3 at £164 4 at £152 3 at £140 1 at £124 2 at £115 1 at £100  Lodging-allov  Less proporpayable of	vances (cadets)  vances provid	•••	470 375 300 810 1,150 824 920 528 492 608 420 124 230 100 	25,910	
		1 at £375 • 1 at £300 3 at £270 5 at £230 4 at £206 5 at £184 3 at £176 3 at £164 4 at £152 3 at £140 1 at £124 2 at £115 1 at £100  Lodging-allov  Less proporpayable of	vances (cadets)	•••	470 375 300 810 1,150 824 920 528 492 608 420 124 230 100 	25,910 541	
		1 at £375 • 1 at £300 3 at £270 5 at £230 4 at £206 5 at £184 3 at £176 3 at £164 4 at £152 3 at £140 1 at £124 2 at £115 1 at £100  Lodging-allov  Less proporpayable of	vances (cadets)  vances (cadets)  rtion of salaries providuring current year	•••	470 375 300 810 1,150 824 920 528 492 608 420 124 230 100 	25,910 541 25,369	

 $<sup>\</sup>boldsymbol{\ast}$  Includes cost-of-living increase to scale salaries or wages.

# ${\tt XIII.--DEPARTMENT~OF~INTERNAL~AFFAIRS--} continued.$

Number of Persons.	Item.		1921-	-22.
	ļ.,	VOTE No. 23.—DEPARTMENT OF INTERNAL		
1921–22.		AFFAIRS—continued.	£	£
		Subdivision No. I.—Head Office—continued.	~	~
		OTHER CHARGES FOR AND INCIDENTAL TO-		
		Department of Internal Affairs—		
	2	Advertising	300	
	3	Audit fees for inspection of accounts	50	
	$egin{array}{c c} 4 & 5 \\ \hline 5 & \end{array}$	Benzine depot at Rotorua (half-cost)	$\begin{array}{c c} 1,034 \\ 280 \end{array}$	
	6	Bird-life, expenses in connection with preservation of Commissions of Inquiry	2,000	
	7	Cost of work to be done by Surveyor-General's	2,000	
		Department	10	
	8	Expenses in connection with the compilation and		
		printing of Maori Dictionary	350	
		Fire Brigades—	ł	
	$\mid 9 \mid$	Railway-pass for Secretary to United Fire Brigades'	88	
	10	Association Grant in aid	. 400	
	$\begin{vmatrix} 10 \\ 11 \end{vmatrix}$	Freight, cartage, and transport charges	400	
	12	Fresh-water fisheries, expenses in connection with, in-	200	
		cluding wages of workmen, purchase of land, and		
***		erection of buildings	1,100	
	13	Fuel for Government offices	2,200	
	14	Grant to Auckland Acclimatization Society (Game	75	
	i	Farm) Hector Observatory—	75	
	15	Cost of clearing ground and planting trees	80	
	16	General expenses (including temporary assistance)	200	
	17	Instruments and equipment	250	
	18	Imperial Institute, N.Z. contribution towards work of	1,000	
	19	Kinematograph-films: Cost of administration and ex-	000	
	00	penses in connection with the censorship of	800	
	20	Land Agents Act, 1912: Payment to Hospital Boards and other expenses incidental to issue of licenses	,	
		under (recoverable)	5,000	•
	21	Law-costs	25	
	22	Light, power, and water for Government buildings	3,500	
	23	Office fittings and requisites (including photographs)	400	
	24	Overtime and meal allowances	20	
	25	Payment to New Zealand Academy of Fine Arts,	:	
		Wellington, for part services of custodian, National Picture Gallery, and other charges in connection	:	
		therewith	170	
	26	Postage, telegrams, and rent of boxes	700	
	_	Printing and Stationery—	, , , , )	
. !	27	Head office	$\frac{1,450}{1,400}$	
	28 29	Ministers' offices (including office equipment) Protection of Tuatara lizards: Special payments to	1,400	
	49	lighthouse-keepers and others, also compensation		
	1 1	for land for sanctuary on Kawera Island	140	
	30	Publications (including newspapers and books)	1,150	
	31	Renovation of historical graves of, and memorials to,		
		soldiers and others who were killed or died in		
		connection with the Maori and Great Wars, includ-		
		ing wives and daughters of officers, and also men of the British and other navies, and expenses in con-		
		nection therewith	1,700	
	32	Salary, allowance, and expenses of Lady £	-,	
		Medical Referee 500		
		Less recoverable from other Departments 400		
			100	
	33	Special allowance to shortband-writers and typistes	330	
	34	employed in Ministers' offices Telephone services (including installation, extensions,	990	
	]	maintenance, rent, and calls)	700	
		· · · · · · · · · · · · · · · · · · ·		

### ${\tt XIII.--DEPARTMENT~OF~INTERNAL~AFFAIRS--} continued.$

Number of Persons.	Item.		1921-	22.
		VOTE No. 23.—DEPARTMENT OF INTERNAL		
1921–22.		${ m AFFAIRS-} continued.$	£	£
-	} }	Subdivision No. I.—Head Office—continued.		~
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.		
		Department of Internal Affairs—continued.		
	35	Temporary Assistance Travelling allowances and expenses of—	*2,300	
	36	Ministers (allowances only as authorized by the		
į	0.77	Civil List Act, 1908)	$\begin{bmatrix} 1,750 \\ 2,100 \end{bmatrix}$	
	37 38	Ministers' expenses Private Secretaries to Ministers	2,000	
	39	Officers of the Department	1,000	
	$\begin{vmatrix} 40 \\ 41 \end{vmatrix}$	Weights and Measures Acts, administration expenses	750	
	41	Contingencies, including unforeseen expenditure incidental to the other items of the vote	50	
į			97 950	
1		Less fees receivable in respect of the Land Act,	37,352	
		1912	5,000	
			32,352	
	1 1	Total—Subdivision No. I		*55,19
		Subdivision No. II.—Clerk of Executive Council.		
	42	Clerk of Executive Council (also Secretary to Cabinet,		
		£250, and Private Secretary to Prime Minister,	50	
		$Total-Subdivision \ No. \ II                                 $		į.
		Subdivision No. III.—Ministers' Secretaries.		
	40			
	43	Salaries— Secretary to Cabinet (also Clerk of Executive Council,		
		£50, and Private Secretary to Prime Minister,	050	
		£600)	250	
		15 Private Secretaries to Ministers at £50 each	750	
		Extra classification allowance	730	
		Total—Subdivision No. III		1,78
		Subdivision No. IV.—Messengers, Office-keepers, and		
*	44	Charwomen. SALARIES—	Ì	
		GENERAL DIVISION.		
		Messengers, &c.—		
		1 at £395 395		
		1 0000		
		1 at £380 380   350		
		1 at £380 380 1 at £350 350 3 at £320 960		
		1 at £350 350 3 at £320 960 1 at £315 315		
		1 at £350 350 3 at £320 960 1 at £315 315 2 at £310 620		
		1 at £350        350         3 at £320        960         1 at £315        315         2 at £310        620         15 at £295       4,425		
		1 at £350 350 3 at £320 960 1 at £315 315 2 at £310 620		
		1 at £350        350         3 at £320        960         1 at £315        315         2 at £310        620         15 at £295       4,425         10 at £290       2,900		

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

### $\label{lem:appropriations} \textit{Appropriations for Consolidated Fund Services}.$

### XIII.—DEPARTMENT OF INTERNAL AFFAIRS—continued.

Number of Persons.	Item.	VOTE No 23.—DI	EPARTMENT O		RNAL	19	<b>921–22.</b>
1921–22.		Subdivision No. IV.			rs, and		£
			vomen—continued		3, 4774	£	as as
		Salaries—continued					
	44	CHNERAT	Division—conti	nued	£	100	
		10 at £250	DIVISION—CONTE		2,500		
		9 at £246	•••	•••	2,214		
		1 at £245	•••	•••	245		
		1 at £240	•••	•••	240		
		3 at £236 3 at £235	•••	•••	708 705		:
		2  at  £230	•••	•••	460		ļ
		26 at £226	•••	•••	5,876		
		2 at £225	•••		450		
	:	4 at £216	•••	•••	864		
	:	1 at £200	•••	•••	200		1
		1 at £140 3 at £110	•••	•••	140 330		
187	:	1 at £80	•••	•••	80		
101		Charwomen—		***		47,93	37
		2 at £150	•••		300		
		3 at £145		•••	435		
		1 at £140 62 at £132	. •••		$ \begin{array}{c c} 140 \\ 8,184 \end{array} $		1734
	1 1 1	76 at £120	•••	•••	9,120		*
145		1 at £85	•••	•••	85	1	
	.]					18,26	<b>34</b>
332			•		1		
	-	Allowances to office	ong tomponanily	naufaumin	a anosial	66,20	)1
		or higher duties	ers temporarny l	periorini	g special	12	RO
		Allowances under	Public Service R	egulation	No. 208		
•							
	i 1	(being long-servi	ice increment to			. 7	70
		(being long-serv	ice increment to				<u></u> i .
				charwom	en)	66,39	<u></u>
			for by other Dep	charwom	en)		<u></u>
		Less provided	for by other Dep	charwom partments	en)	66,39 9,00	01
		Less provided  Less proporti	for by other Dep	charwom partments and incr	en)	66,39	01
		Less provided  Less proporti salaries pro	for by other Depon of salaries wided for but no	charwom partments and incr	en)	66,39 9,00 57,39	01
		Less provided  Less proporti	for by other Depon of salaries wided for but no	charwom partments and incr	en)	66,39 9,00	01
		Less provided  Less proporti salaries pro	for by other Depon of salaries wided for but no	charwom partments and incr	en)	66,39 9,00 57,39 2,09	01 00 00 00 00 00 00 00 00 00 00 00 00 0
		Less provided  Less proporti salaries pro current yea	for by other Depon of salaries wided for but no	charwom  partments  and incr  t payabl	en)	66,39 9,00 57,39	01 00 00 00 00 00 00 00 00 00 00 00 00 0
	45	Less provided  Less proporti salaries pro current yea  Other Charges for	for by other Depon of salaries wided for but no	charwom  partments  and incr  t payabl	en) eases to e during	66,39 9,00 57,39 2,09	01 00 00 00 00 00 00 00 00 00 00 00 00 0
	45	Less provided  Less proporti salaries pro current yea  Other Charges for Contribution towar	for by other Depon of salaries wided for but no	charwom  partments  and incr  t payabl   To—  ninimum	eases to e during	66,39 9,00 57,39 2,09	00 00 01
		Less provided  Less proporti salaries pro current yea  OTHER CHARGES FOR Contribution towar tional retiring-al	for by other Depon of salaries wided for but not  AND INCIDENTAL rds payment of moleowances to mess	charwom  partments  and incr  t payabl   To—  ninimum	eases to e during	66,39 9,00 57,39 2,09 *55,30	00 00 01
	45	Less provided  Less proporti salaries pro current yea  OTHER CHARGES FOR Contribution towal tional retiring-al	for by other Depon of salaries avided for but not  AND INCIDENTAL and payment of management of management of management of management of management of management of management of management of management of management of management of management of management of management	eharwom  partments  and incr  ot payabl   To—  ninimum a  sengers	eases to e during	66,39 9,00 57,39 2,09 *55,30	00 00 01
		Less provided  Less proporti salaries pro current yea  OTHER CHARGES FOR Contribution towal tional retiring-al	for by other Depon of salaries wided for but not  AND INCIDENTAL rds payment of moleowances to mess	eharwom  partments  and incr  ot payabl   To—  ninimum a  sengers	reases to e during and addi £ 11,726	66,39 9,00 57,39 2,09 *55,30	00 00 01
		Less provided  Less proporti salaries pro current yea  OTHER CHARGES FOR Contribution towal tional retiring-al  *Extra charwomer Less provid	for by other Depon of salaries avided for but not  AND INCIDENTAL and payment of management of management of management of management of management of management of management of management of management of management of management of management of management of management	eharwom  partments  and incr  ot payabl   To—  ninimum a  sengers	eases to e during and addi £ 11,726	66,39 9,00 57,39 2,09 *55,30	00 00 00 00 00 00 00 00 00 00 00 00 00
		Less provided  Less proporti salaries pro current yea  OTHER CHARGES FOR Contribution towar tional retiring-al  *Extra charwomer Less provid ments  *Extra messengers	for by other Depoint of salaries wided for but not and incidental rds payment of making lowances to messed to the control of t	charwom  charwom  cartments  and incr  to payabl   ro—  ninimum : sengers   cepart	reases to e during and addi £ 11,726	66,39 9,00 57,39 2,09 *55,30	00 00 00 00 00 00 00 00 00 00 00 00 00
	46	Less provided  Less proporti salaries pro current yea  Other Charges for Contribution towar tional retiring-al *Extra charwomer Less provid ments  *Extra messengers Less provid	for by other Depoint of salaries avided for but not a salaries avided for but not a salaries and includentated payment of messalaries as a sal	charwom charwom cartments and incr ot payabl  TO— ininimum a sengers Cepart r De-	eases to e during and addi 11,726 510 4,779	66,39 9,00 57,39 2,09 *55,30	00 00 00 00 00 00 00 00 00 00 00 00 00
	46	Less provided  Less proporti salaries pro current yea  OTHER CHARGES FOR Contribution towar tional retiring-al  *Extra charwomer Less provid ments  *Extra messengers	for by other Depoint of salaries avided for but not and incidental reds payment of messel and the salaries to messel and the salaries are salaries as a salaries and the salaries are salaries as a salaries are salaries as a salaries are salaries as a salaries are salaries as a salaries are salaries as a salaries are salaries as a salaries are salaries as a salaries are salaries ar	charwom  charwom  cartments  and incr  to payabl   ro—  ninimum : sengers   cepart	eases to e during and addi £ 11,726	66,39 9,00 57,39 2,09 *55,30 1,10	00 00 00 00 00 00 00 00 00 00 00 00 00
	46	Less provided  Less proporti salaries pro current yea  OTHER CHARGES FOR Contribution towar tional retiring-al  *Extra charwomer Less provid ments  *Extra messengers Less provid ments	for by other Depoint of salaries wided for but not remark the salaries and includental rads payment of make the salaries to messalaries and the salaries and th	charwom charwom cartments and incr ot payabl  TO— ininimum a sengers Cepart r De-	eases to e during and addi 11,726 510 4,779 2,100	66,39 9,00 57,39 2,09 *55,30 1,10	00 00 00 00 00 00 00 00 00 00 00 00 00
	46	Less provided  Less proporti salaries procurrent yea  OTHER CHARGES FOR Contribution towar tional retiring-al  *Extra charwomer Less provid ments  *Extra messengers Less provid ments  Fire-drills, attenda Motor cars, cycles	for by other Deport on of salaries wided for but not reconstruction.  AND INCIDENTAL rds payment of male lowances to messed for by other Deport of the contrac	charwom  charwom  cartments  and incr  to payabl   ro—  cengers   cepart  r De	en)  reases to e during  and addi  11,726  510  4,779  2,100	66,39 9,00 57,39 2,09 *55,30 1,10	00 00 00 00 00 00 00 00 00 00 00 00 00
	46 47 48 49 50	Less provided  Less proporti salaries procurrent yea  OTHER CHARGES FOR Contribution towar tional retiring-al  *Extra charwomer Less provid ments  *Extra messengers Less provid ments  Fire-drills, attenda Motor cars, cycles, Office cleaning (inc.)	for by other Deport on of salaries wided for but not reconstruction of many salaries to messel of the contract	charwom charwom cartments and incr ot payabl  To— inimum sengers cepart r De grounds)	en)  reases to e during and addi 11,726  510  4,779  2,100	66,39 9,00 57,39 2,09 *55,30 1,10 11,21 2,67	00 00 00 00 00 00 00 00 00 00 00 00 00
	46 47 48 49	Less provided  Less proporti salaries procurrent yea  Other Charges for Contribution towar tional retiring-al  *Extra charwomer Less provid ments  *Extra messengers Less provid ments  Fire-drills, attenda Motor cars, cycles, Office cleaning (inc Special allowances	for by other Deport on of salaries wided for but not reconstruction of many salaries to messel of the most of the most of the most of the most of the messengers, W	charwom  charwom  cartments  and incr  by payabl   To—  inimum sengers   cepart  grounds)  ellington	en)  reases to e during and addi 11,726  510  4,779  2,100  (includes	66,39 9,00 57,39 2,09 *55,30 1,10 11,21 2,67 1,80 2,25	00 00 01 00 00 00 00 00 00 00 00 00 00 0
	46 47 48 49 50 51	Less provided  Less proporti salaries procurrent yea  Other Charges for Contribution towar tional retiring-al  *Extra charwomer Less provid ments  *Extra messengers Less provid ments  Fire-drills, attenda Motor cars, cycles, Office cleaning (inc Special allowances allowances to M	for by other Deponent of salaries wided for but not reconstructed for but not reconstructed for salaries to messel for by other Deponent of the constructed for by other more at and accessories bluding upkeep of to messengers, Winisterial messengers	charwom charwom cartments and incr ot payabl  To— inimum : sengers cpart r De grounds) ellington gers)	en)  reases to e during and addi 11,726 510 4,779 2,100 (includes	66,39 9,00 57,39 2,09 *55,30 1,10 11,21 2,67 1 80 2,25	00 00 01 00 00 00 00 00 00 00 00 00 00
	46 47 48 49 50 51 52	Less provided  Less proporti salaries procurrent yea  Other Charges for Contribution towar tional retiring-al  *Extra charwomer Less provid ments  *Extra messengers Less provid ments  Fire-drills, attenda Motor cars, cycles, Office cleaning (inc Special allowances allowances to M Travelling allowan	for by other Deposition of salaries wided for but not reconstruction of many salaries to mesself and accessories bluding upkeep of to messengers, Winisterial messenges and expenses	charwom charwom cartments and incr ot payabl  To— inimum : sengers cpart grounds) ellington gers)	en)  reases to e during  and addi  11,726  510  4,779  2,100  (includes	66,39 9,00 57,39 2,09 *55,30 1,10 11,21 2,67 1 80 2,25	00 00 01 00 00 00 00 00 00 00 00 00 00
	46 47 48 49 50 51	Less provided  Less proporti salaries pro current yea  OTHER CHARGES FOR Contribution towal tional retiring-al *Extra charwomer Less provid ments  *Extra messengers Less provid ments  Fire-drills, attenda Motor cars, cycles, Office cleaning (inc Special allowances allowances to M Travelling allowan Uniforms and over	for by other Deposition of salaries and expenses coats for messengers, Winsterial messengers and expenses coats for messengers and expenses co	charwom charwom cartments and incr ot payabl  To— inimum a sengers cpart grounds) ellington gers) gers	en)  reases to e during and addi 11,726  510  4,779  2,100  (includes	66,39 9,00 57,39 2,09 *55,30 1,10 11,21 2,67 1 80 2,25	00 00 01 00 00 00 00 00 00 00 00 00 00
	46 47 48 49 50 51 52 53	Less provided  Less proporti salaries procurrent yea  Other Charges for Contribution towal tional retiring-al  *Extra charwomer Less provid ments  *Extra messengers Less provid ments  Fire-drills, attenda Motor cars, cycles, Office cleaning (inc Special allowances to M Travelling allowan Uniforms and over Contingencies, inc	for by other Deposition of salaries and expenses coats for messengers, Winsterial messengers and expenses coats for messengers and expenses co	r De- grounds) ellington gers gers gers gers	en)  reases to e during and addi 11,726  510  4,779  2,100  (includes	66,39 9,00 57,39 2,09 *55,30 1,10 11,21 2,67 1,0 2,25 70 50 1,20	00 00 01 00 00 00 00 00 00 00 00 00 00 0
	46 47 48 49 50 51 52 53	Less provided  Less proporti salaries procurrent yea  Other Charges for Contribution towal tional retiring-al  *Extra charwomer Less provid ments  *Extra messengers Less provid ments  Fire-drills, attenda Motor cars, cycles, Office cleaning (inc Special allowances to M Travelling allowan Uniforms and over Contingencies, inc	for by other Dep on of salaries avided for but not a consider and incidental and incidental and incidental and incidental and accessories and accessories and expenses coats for messengulating unforeseed and incidental and incidenta	r De- grounds) ellington gers gers gers gers	en)  reases to e during and addi 11,726  510  4,779  2,100  (includes iture in-	66,39 9,00 57,39 2,09 *55,30 1,10 11,21 2,67 1,0 2,25 70 50 1,20	00 00 01 00 01 00 00 00 00 00 00 00 00 0

\* Includes cost-of-living increase to scale salaries or wages.

#### XIII.—DEPARTMENT OF INTERNAL AFFAIRS—continued.

Number f Persons.	Item.	VOTE No. 23.—DEPA	RTMENT (	OF INTE	RNAL	1921-	-22.
921–22.			S – continue			e g	£
		Subdivision No. V.—	Registrar-Ge	eneral's Off	ice.	2	æ
	55	Salaries—		•			
		CLERICA	AL DIVISION	•			
		Class I—	• •			222	
1		1 at £600	•••	•••	• • • ,	600	
4	1	Class 1V— 4 at £450				1,800	
-		Class V—	•••	•••		1,000	
1		1 at £400	•••			400	
<b>.</b>		Class VI—				1 750	
5		5 at £350 Class VII-—	•••	•••	£	1,750	
		3 at £320			960		
		2 at £290	•••	•••	580	Į.	٠
		5 at £270	•••	•••	1,350		
		3 at £250 $3$ at £215	•••	•••	$750 \mid 645 \mid$		
	.	3 at £215 4 at £160	•••	•••	640		
		1 at £115	•••	•••	115		
		1 at £100	•••	,,,	100		
23		1 at £85 (10 months	)	•••	71	F 011	
		Lodging-allowance				$\begin{bmatrix} 5,211 \\ 31 \end{bmatrix}$	
		Allowances to officers	temporarily	performing	special	91	
		or higher duties				30	•
					-		
			AL Division.		£ 104		
		1 at £184 2 at £152	•••	•••	$\frac{184}{304}$		
		3 at £140			420		
		1 at £115	•••		115		
8		1 at £100	•••	•••	100	1 100	
41		Lodging allowance				$egin{array}{c} 1,123 \ 45 \end{array}$	
		Loughig anowance	•••	•••	•••		
	10 m					10,990	
		Less proportion					
		salaries provi	ded for but	not payabi	e auring	190	
		current year	•••	•••	•••	150	
						*10,800	
	"						
		9.4 -			.		
		OTHER CHARGES FOR AN	D INCIDENTA	L TO			
•	56	Audit fees	• • • •	****		25	
	57	Office cleaning, firing,		eight, and	cartage	100	
	58	Office fittings and requ	lisites		•••	100	
	59	Registration of births, Payment to Post Of	neams, and fice for servi	ces of post	$_{ m masters}$	2,000	
	60	Payment to non-per				2,250	
	61	Postage, telegrams, an	nd rent of bo			950	
	62	Printing and stationer	y	11 - 43		1,500	
	63	Telephone services (inc	auding insta		i	1.00	-
	64	maintenance, rent, a Temporary assistance	ina cans)	•••	•••	*500	
	65	Travelling allowances				275	
	66	Contingencies, includi	ng unforese	en expendi		-	
		cidental to the other	r items of th	e vote	•••	10	
						7,810	
	1 : ::	Total_	_Subdivision	, No I		1,010	18,6

\* Includes cost-of-living increase to scale salaries or wages.

Number of Persons.	Item.	VOTE No. 23.—DEPART	MENT OF	ידוארי	ERNAT.	1921-	-22.
1921–22.		AFFAIRS—	-continued.	INT.			
		Subdivision No VI.—C	ensus and S	Statisti	cs.	£	£
	67			* '		- *	
	67	Salaries— Clerical 1	Division.				
		Special Class—	0111510111				
1		1 at £750	•••	• • •		750	
1		Class II— 1 at £550				550	
1		Class III—	•••	•••		550	
1		1 at £475	•••	• • •		475	
		Class V—			£		
		1 at £400 (9 months) 3 at £380		•••	388		
4		Class VI—	•••	•••	1,140	1,528	
		1 at £330			330	_,	
		2 at £290	••• -		580		
6		2 at £290 (10 months) 1 at £290 (8 months)	•••		483   193		
U		Class VII—	•••	•••		1,586	
	1 1	1 at £320			320	_,;;;	
		1 at £250	• • •		250		
		1 at £250 (10 months) 1 at £230 (7 months)	•••		$\frac{208}{224}$		
		2 at £215			430		
		3 at £160	•••	•••	480		
		1 at £130	•••	•••	130	·	
		16 at £115 6 at 100	•••	•••	$\begin{array}{c c} 1,840 \\ 600 \end{array}$	.1	
35		3 at £85 (10 months)	•••	•••	212	*	
		•	<u>.</u>			4,694	
		$egin{array}{c}  ext{General} & 1 \  ext{at $\pounds 270} \end{array}$	Division.		270		
		1 at £250	•••	•••	$\begin{array}{c c} 210 \\ 250 \end{array}$		
		1 at £240	•••	• • •	240		
		1 at £230	• •	• • •	230	ŧ.	
		1 at £206 9 at £164	•••	•••	$\begin{array}{c c} 206 \\ 1,476 \end{array}$	,	
15		1 at £152		•••	152	•	
						2,824	
<b>5</b> 6		Lodging-allowances	•••	•••		450	
	1					12,857	
		Less proportion of sa	alaries prov	ided fo	r but not	12,001	
		payable during cur	rent year	•••		174	
						*12,683	
					· · .	12,005	
	1	OTHER CHARGES FOR AND I		то	1		
	68	Census, 1921: Cost of tak		14		24,000	
	69	Collection of statistics, pastoral	including a	igricuit	urai and	6,520	
	70	Freight, cartage, and tran	sport charg	es	•••	50	
	71	Fuel, light, power, and wa		•••	•••	200	
	72	Office-cleaning	itog (in alu 3:	· · · ·		15	
	73	Office fittings and requisi	wes (includi	ng prii	9	250	
	74	Postage, telegrams, and re	$\operatorname{ent}$ of boxes	···	•••	1,600	
	75	Printing statistical public	ations	•••	•••	8,000	
	76	Registration of Aliens Act		 Danua 1:: -	of	10	
	77	Sorting and tabulating meliminary expenses in					
		and working (including	visit of A.	J. C. V	Woodford	+	
	1 - 1	to New York for instruc	ction in wor	king of	)	7,650	

Number of Persons.	Item.		1921–	<b>22</b> .
1921–22.	- <b> </b> -	VOTE No. 23.—DEPARTMENT OF INTERNAL AFFAIRS—continued.		· · · · · · · · · · · · · · · · · · ·
		Subdivision No. VI.—Census and Statistics—continued.	£	£
	78	OTHER CHARGES FOR AND INCIDENTAL TO—continued. Telephone services (including installation, extensions,		
	-	maintenance, rent, and calls)	35	
	79   80	*Temporary assistance	*2,822	
	81	Travelling allowances and expenses Contingencies, including unforeseen expenditure	25	
		incidental to the other items of the vote	10	
		W + 3 + 0 + 22 + 12 + 12 + 12 + 12 + 12 + 12	51,187	
		Total—Subdivision No. VI	·	63,87
			1	
•		Subdivision No. VII.—High Commissioner's Office.		
	82	Salaries—		
		Secretary	930	
	1 1	Finance Officer	800	
		Assistant Secretary Clerks and Messengers	500	
	1 1	Miscellaneous wages	19,770	
		Emigration and Exhibition Officer	1,820	
	1 1	Veterinarian and Produce Officer	800	3
				**
		Less amount recoverable :—	25,320	
	1 1	TT T3		
		Pensions Department 1,000 Parsions Department 1,500	:	
		Immigration Department 1,300		
		Life Insurance 600		
	:	Public Trustee 900		
		Working Railways 700		
		Public Works          700           Post and Telegraph          700	1	
		10.		
		Defence 1,000	12,100	
	1		13,220	
,		Amount required to adjust overestimate in amounts	0.70	
		recoverable from other Departments	650	
			13,870	
	1	OTHER CHARGES FOR AND INCIDENTAL TO-		
	83	Advertising, photographs, books, newspapers, and		
	84	other publications	2,000	
	04	Amount required to adjust overestimate in amounts recoverable from other Departments in respect		
		of rent, &c.	300	
	85	Contributions due under National Insurance Act.	000	
		1911, in respect of clerks employed in the High		
	00	Commissioner's office	100	
	86 87	Cost-of-living bonus	7,498	
	88	Expenses of official entertainments Freight, cartage, and transport charges	500	
	89	Fuel, light, power, and water	100 500	
	90	Motor vehicles, including upkeep and repairs	300	
	91	Office-cleaning	200	
	92	Office fittings and requisites (including printing and	- 700	
,	00	stationery)	2,250	
	93	Postage, telegrams, and rent of boxes	1,400	
	94	Refund to officers of difference between the amount of income-tax payable in England and New Zealand		

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

Number of Persons.	Item.		1921-	-22.
1921–22.		VOTE No. 23.—DEPARTMENT OF INTERNAL AFFAIRS—continued.		
		Subdivision No. VII.— High Commissioner's Office—continued.	£	£
	95	OTHER CHARGES FOR AND INCIDENTAL TO—continued.  Rent, office-cleaning, fuel, and light £6,300  Less recoverable from other Departments 3,500	2,800	
	96 97 98 99 100	Repairs to offices Subscriptions to various societies and associations Temporary assistance Travelling allowances and expenses Contingencies, including unforeseen expenditure incidental to the other items of the vote	1,450 120 700 500	
			22,068	
		Less shipping-charges on goods for Government	35,938	
		Departments	1,000	34,98
		Subdivision No. VIII.—Museum.		,
	101	SALARIES— PROFESSIONAL DIVISION.		
1		Class A— - 1 at £850 (Director)	850	
1		$egin{array}{cccccccccccccccccccccccccccccccccccc$	490	÷ " "
2		1 at £395 395	825	
		GENERAL DIVISION.  2 at £260 520	•	
3		1 at £250 250	770	
	-	Less proportion of salaries and increases to salaries provided for but not payable during	2,935	
		current year	10	
			*2,925	
	102	OTHER CHARGES FOR AND INCIDENTAL TO— Advertising, and purchase of photographs, books, newspapers, &c	100	
	103	Board of Science and Art, expenses incidental to, including publications Collection and establishment of historical and other	1,000	•
		matter relating to the Maori Race and early history of New Zealand Expenses in connection with war section and with	500	
	105	the British National War Museum including portraits of New Zealanders who won the V.C.	2,700	
	106 107 108	Freight, cartage, and transport charges Fuel, light, power, and water Museum publications, printing of	$\begin{bmatrix} 50 \\ 100 \\ 200 \end{bmatrix}$	
	109	Office fittings and requisites (including printing and stationery)	150	

#### ${\tt XIII.--DEPARTMENT~OF~INTERNAL~AFFAIRS--} continued.$

Number of Persons.	Item.		1921-	-22.
		VOTE No. 23.—DEPARTMENT OF INTERNAL		
1921–22.		${ m AFFAIRS}$ —continued.		
		Subdivision No. VIII.—Museum—continued.	£	£
		Subutivision 140. VIII.—Museum—continued.		
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.		
	110	Photographic and phonographic apparatus	$\frac{200}{70}$	
	112	Postage, telegrams, and rent of boxes Specimen and pictures, purchase and preparation of	200	
	113	Telephone services (including installation, extensions,		
	114	maintenance, rent, and calls) Temporary assistance	$\begin{array}{c} 15 \\ *668 \end{array}$	
	115	Travelling allowances and expenses	200	
	116	Contingencies, including unforeseen expenditure in-	10	
		cidental to the other items of the vote	10	
			6,163	
		Total—Subdivision No. VIII	1	9,08
			:	
		• **	4.	
		Subdivision No. IX.—Dominion Laboratory.	•	
	117	Salaries-		,
		Professional Division.		
. 1		1 at 6050 (Deminion Analyst)	050	
1		1 at £950 (Dominion Analyst) $\mathcal{L}$	950	
		1 at £625 625		
3		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	1,725	•
1		1 at £450	450	
		Class E—		
2		1 at £350 350 1 at £285 285		
_		Class F—	635	
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
3		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		· · · · · · · · · · · · · · · · · · ·	545	
		Clerical Division.	.4	
1		1 at £350	350	
		Class VII—		
2		1 at £250 250 1 at £100 (7 months) 59		
_		<del></del>	309	
		General Division. 1 at £350 350		
		1 at £330 330		
		1 at £270 270		
4		1 at £206 206	1,156	
16		Allowances (special and equipment)	152	
			${6,272}$	
		Less proportion of salaries provided for but not	0,212	
		payable during current vear	50	
		en en en en en en en en en en en en en e	*6,222	
	110	OTHER CHARGES FOR AND INCIDENTAL TO—		
	118	Advertising, photographs, books, newspapers, and other periodicals	125	
	119	Chemicals, apparatus, and repairs to apparatus	950	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

# ${\tt XIII.--DEPARTMENT\ OF\ INTERNAL\ AFFAIRS--} continued.$

Number f Persons.	Item.					1921–	22.
000 01	-	VOTE No. 23.—DEPAR			RNAL		
920–21.		AFFAIRS	-continued	•		e	e
		Subdivision No. IX.—Dom	inion Labor	atoma zor	atingod	£	£
	1	Subdivision IVO. IA.—Dom	mion Daoore	<i>u.ory</i> -coi	Initiaea.	1	
		OTHER CHARGES FOR AND	INCIDENTAL	To—con	tinued.		
		Explosives Act, expense	es under				
	120	Apparatus, books, and	d periodicals	s, purchas	e of	160	
	$\frac{121}{122}$	Expenses in connection	on with mag	azīnes	•••	250	
	123	General expenses Postage, telegrams, a	nd telephone	eervices	•••	$\begin{bmatrix} 50 \\ 100 \end{bmatrix}$	
	124	Printing and statione				200	
	125	Salaries: Magazine-k				560	
	126	Travelling allowances	and expens	es		700	
	127	Fees of officers of Don		-	tending	50	
	128	science lectures, Victor Freight, cartage, and tra				100	
	129	Fuel, light, power, and		800		250	
	130	Office fittings and requ		ding print			
	101	stationery)				150	
	$\frac{131}{132}$	Postage, telegrams, and	rent of boxe		•••	50 300	
	$132 \\ 133$	Scientific research Subscriptions to Techni	cal Societies	•••	•••	10	
	134	Telephone services (incl				20	
	-	maintenance, rent, ar				25	
	135	Temporary assistance	•••	•••	•••	*345	
	$136 \\ 137$	Travelling allowances as			turo in	50	
	191	Contingencies, includin cidental to the other			···	25	
•			2001115 01 0115				
		<u>.</u> .				4,450	
	-	Total	Subdivision	No. IX	-		10,6
		•				}	
		-					
		Subdivision No. X—.	${\it Miscellaneous}$	s Services.		1	•
	138	SALARIES (Relieving Staff)	<del></del>				
			L Division.				
		Class II—					
1		1 at £575	•••	•••	•••	575	
-		Class III—				=00	
1	-	1 at £500 Class V—	••		•••	500	
2		2 at £400				800	
_		Class VII—					
		1 at £320			320	į	
		1 at £270		*** *	270		
		2 at £250 3 at £160		• • •	500   480		
		1 at £115	***		115	Í	
9		1 at £100	•••	•••	100	ì	
		_				1,785	
	1		Division.		200	ĺ	
	i	1 at £320	•••	•••	$egin{array}{c} 320 \ 270 \end{array}  $	ĺ	
	ļ			•••	750	į	
		1 at £270	•••				
					690		
		1 at £270 3 at £250 3 at £230 1 at £230 (7 months)			690 135		
		1 at £270 3 at £250 3 at £230 1 at £230 (7 months) 3 at £206			$egin{array}{c} 690 \\ 135 \\ 618 \\ \end{array}$		
		1 at £270 3 at £250 3 at £230 1 at £230 (7 months) 3 at £206 2 at £184		•••	690 135 618 368		
		1 at £270 3 at £250 3 at £230 1 at £230 (7 months) 3 at £206 2 at £184 3 at £152			$egin{array}{c} 690 \\ 135 \\ 618 \\ \end{array}$		
		1 at £270 3 at £250 3 at £230 1 at £230 (7 months) 3 at £206 2 at £184			690 135 618 368 456 124 230		
22		1 at £270 3 at £250 3 at £230 1 at £230 (7 months) 3 at £206 2 at £184 3 at £152 1 at £124			690 135 618 368 456 124		
		1 at £270 3 at £250 3 at £230 1 at £230 (7 months) 3 at £206 2 at £184 3 at £152 1 at £124 2 at £115			690 135 618 368 456 124 230	4,161	

Number of Persons.	Item.	VOTE No. 23.—DEPARTMENT OF INTERNAL	1921	<b>-22.</b>
1921–22.		AFFAIRS—continued.	£	£
		Subdivision No. X.—Miscellaneous Services—continued.		
	138	Salaries (Relieving Staff)—continued		
		Allowances (to clerks in Ministers' offices) Allowance to officers temporarily performing special	40	
		or higher duties Lodging-allowances (cadets)	$\begin{array}{c} 100 \\ 65 \end{array}$	
			8,026	
		Less proportion of salaries provided for but not payable during current year	246	
		Less recoveries	7,780 1,220	
		Charges for and incidental to	*6,560	
	139	Patriotic Societies, &c.— Audit of Patriotic Accounts	250	•
	140	Expenses in connection with the various relief funds, including postage and freight on gift goods	1,000	,
	141	General— Actuarial work done by the Government Life Insurance Department in connection with the valuation of Public Service, Railways, and Teachers' Super-	100	•
•	142	annuation Funds Advance on account of accommodation provided for boys of the Public Service (recoverable by annual	100	*.
	143	instalments) Advertising New Zealand: Special publicity work in	1	
		connection with Allowances to—	250	
	$\begin{vmatrix} 144 \\ 145 \end{vmatrix}$	LieutColonel J. G. Hughes, C.M.G., D.S.O Officer of the Tourist Department for extra duties as Permit and Passport Officer	$egin{array}{c} 142 \ 15 \end{array}$	
	146	Amount required to recoup Imprest Accounts for vouchers lost in transit after payment	44	
	147	Annuity to— Lady Steward for services rendered by her late	150	
	148	husband, Sir William Jukes Steward Mrs. Sarah Lawry, widow of the late F. Lawry, formerly M.P	$\begin{array}{c} 150 \\ 100 \end{array}$	
	149	Mrs. Hornsby, widow of the late J. T. M. Hornsby, formerly M.P.	100	
	150	Anzac Memorial Service, London: New Zealand's share	12	
	151 152	Art pictures, expenses in connection with loaning of Cinematograph-films taken in France and elsewhere for patriotic and other purposes, expenses in con-	5	
	153	nection with Compassionate allowances to— Mrs. Mary A. Carnell, widow of the late Samuel	20	a e
	154	Carnell, formerly M.P Mrs. Hogg, widow of the late A. W. Hogg, for-	100	
	155	merly M.P	150	
	156	merly of Defence Department Mrs. Rathbone, widow of the late J. J. Rathbone,	250 300	
	157 158	clerk, High Commissioner's office A. L. Stewart J. E. Read	66 78	
	159	Widow of late LieutCol. D. Cossgrove, at £52	52	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

### ${\tt XIII-DEPARTMENT\ OF\ INTERNAL\ AFFAIRS--} continued.$

Number of Persons.	Item.	WORL N DED DE VENEZUE OF THE PROPERTY.	1921-	-22.
921–22.	J' 	VOTE No. 23.—DEPARTMENT OF INTERNAL AFFAIRS—continued.	£	£
		Subdivision No. X.—Miscellaneous Services—continued.	æ	æ.
		Charges for and incidental to—continued.  General—continued.		
		Cost of—		
	160 161	Annotating statutes for Government Departments Entertaining visitors to the Dominion and of	250	
	162	official functions Cost-of-living bonus to annuitants under the Public	250	
		Service, Railways, and Teachers' Superannuation Funds and Civil Service Act, 1908	75,000	
	163	Disarmament Conference at Washington, 1921 (including allowances and travelling-expenses of New Zoolon 2's delegate Private Secretary and Official		
		Zealand's delegate, Private Secretary, and Official Secretary)	2,100	
	164	Expenses of Public Service Stores Tender Board	50	
	165	Fire Hose: Purchased on account of Fire Brigades (to be recovered)	. 5	
		Grants-		
	166	New Zealand Institute for research-work	250	
	167	In settlement of petitions	250	
	168	A. E. Glover	120	
	169	C. H. Mills	120	
	170	H. G. Ell	120	
	171	Imperial Conference, London— & 1,750 To cover expenses of Prime Minister 1,750 Private Secretary 550		
			2,300	
	172	League of Nations: Expenses of New Zealand Delegate and Private Secretary attending Assembly at Geneva— Sir James Allen 221 Private Secretary 113		
		invale becrevary in	334	**
	173	To cover travelling-expenses of Government Publicity Officer visiting England to report on Publicity work in the United Kingdom as affecting New Zeeland	150	•
•	174	ing New Zealand To cover travelling-expenses of Official visit to Samoa, other South Sea Islands and Sydney— Hon. Minister of External Affairs £60 Private Secretary 70 Under-Secretary, External Affairs 60		
	175	To Sir James Allen towards expenses in securing and furnishing housing accommodation	1 000	
	176	Young Citizens' League	$\begin{array}{c c} 1,000 \\ 75 \end{array}$	
	177	History of New Zealand Wars: Cost of printing Volume I	275	
	178	Imperial Conference, London: Expenses incidental thereto (including clerical assistance)	250	
	179	Investiture at Government House: Transport expenses of persons attending to receive decorations	200	
	180	Loan to Mangawara River Board to enable them to proceed with initial work	1	
	181	Moose: Expenses of visit to Fiordland to discover whether the animals had established themselves		
	100	there (2100 000)	235	
	182 183	National War Memorial (on account), (£100,000) Naturalization of animals and plants in New Zealand: Amount guaranteed towards cost of pub-	100	
	184	$egin{array}{cccccccccccccccccccccccccccccccccccc$	400	
		Cost of printing          12,000           Less recoveries          570		
			11,430	

### ${\tt XIII.--DEPARTMENT~OF~INTERNAL~AFFAIRS--} continued.$

Number of Persons.		VOTE No. 23.—DEPARTMENT OF INTERNAL AFFAIRS—continued.	1921-	<b>1921–22.</b>		
1921–22.		Subdivision No. X.—Misce/laneous Services—continued.	£	£		
	185	CHARGES FOR AND INCIDENTAL TO—continued.  General—continued.  Opossums—  Expenses under Animals Protection Act Less estimated recoveries 249				
	186	Parliaments of the Empire: Contribution towards cost of producing journal (London publication)	200			
	187	Payment to—  F. J. Gunn for period 1st April to 31st May, 1922  (granted leave of absence on retirement)	84			
	188	Miss G. Craig for period 1st April to 17th April, 1922 (granted leave of absence on retirement)	12			
	189	Southland Hospital Board on account of William Clark, temporary nightwatchman, Invercargill,				
	190	injured whilst on duty Peace celebrations Pensions—	100			
	191 192	Mrs. M. K. Dickinson Mrs. Mary Lee for services rendered during Maori	40			
	193	War Preservation of aboriginal rock paintings	25 30			
	194	Racing Commission under provisions of the Gaming Amendment Act (No. 2), 1920: Expenses incidental to, including travelling-expenses of members	2,000	÷		
	195 196	Refund to officer of Department, value of contents of a registered letter lost in transit Returned Soldiers' Association, railway fares of dele-	3	•		
	197	gates to annual conference Reuter's Telegram Company: Payment for special	200			
	198	telegrams Stephen's Island, protection of bush on	250 50			
	199	Stranded New-Zealanders: Assistance to return to New Zealand Subsidies towards—	50			
	200 201	Cost of renovating Maori War-time Historical Church at Russell (£1 for £1) Hostels situated in Wellington for providing suitable board and lodging for employees of the	200			
	202	Public Service, as approved by the Public Service Commissioner Memorial to the late J. Bollard, M.P. (£1 for £1),	50			
	203	(on account) Memorial to the late Sir Arthur Guinness (£1 for	10			
	204	£1 up to £200)	200			
	205	(£1 for every £2 up to £100) Re-erecting memorial to the late Sir John Mac- kenzie (£1 for £1), (on account)	100 50			
	206 207	Subsidy to Boy Scouts' Association Telegrams beyond the Dominion £10,500 Less amount recoverable 2,000	1,000			
	$   \begin{array}{c c}     208 \\     209 \\     210   \end{array} $	Temporary assistance Totalizators, expenses incidental to inspection of Travelling allowance and expenses of members of	8,500 *1,678 1,250			
•		Public Buildings Board Turnbull Library—	25			
	211	Expenses in connection with Grant to Charles Wilson, Advisory Director (also £725, Chief Librarian, General Assembly Library)	50			
	$ _{213}$	Refund of stamp-duty on the Turnbull bequest	6,000			

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

Number of Persons.	Item.		192	1-22.
1921–22.		VOTE No. 23.—DEPARTMENT OF INTERNAL AFFAIRS—continued.		<u> </u>
		Subdivision No. X.—Miscellaneous Services—continued.	£	£
	214	CHARGES FOR AND INCIDENTAL TO—continued.  General—continued.  Visit of H.R.H. the Prince of Wales—  General expenses, including cost of £ accommodation, transport, &c 6,700		
		Maori camp, Rotorua (including transport and accommodation of Natives) 1,220 Subsidies to local bodies 200	8,120	
	215	War trophies: Shipping, freight, railage, and incidental expenses	1,500	
		m + 1 0 - 1 7 2 2 2 2	131,928	100.40
		Total—Subdivision No. X		138,48
		TOTAL—VOTE No. 23		408,34
		AUDIT DEPARTMENT.		
		VOTE No. 24.		* *
	1	SALABIES— PART DESCRIPTION OF THE PROPERTY OF THE PARTY O		
1		Deputy Controller and Auditor (also Chief Clerk, £650, and Secretary P.D.S.F., £50) Audit Officer, London	100 600	
1		CLASSIFICATION UNDER ACT.	. 000	
		CLERICAL DIVISION.		
10	1	9 at £650 5,850 1 at £600 600 C/ass II—	6 450	
	* .	2 at £550 1,100 2 at £525 (5 months), £550 (7 months) 1,080	6,450	
5		1 at £500 (5 months), £550 (7 months)  Class III—  3 at £500 1,500	2,707	
4		1 at £475 (5 months), £500 (7 months) 490  Class IV— 490	1,990	
1		1 at £450 $Class\ V$ —	450	
		9 at £400 3,600 2 at £380 760 1 at £380 (6 months) 190		
14		1 at £400 (6 months) 200 1 at £365 365	E 11F	
er allaha ha		Class VI—  3 at £350 1,050 2 at £330 660	5,115	
		1 at £330 (6 months), £350 (6 months) 340 9 at £310 (6 months), £330 (6 months) 2,880		
18		1 at £340 (6 months), £350 (6 months) 1 at £290 (6 months), £310 (6 months) 1 at £310 (6 months), £350 (6 months) 330		
		×*************************************	5,905	

#### ${\tt XIII.--DEPARTMENT~OF~INTERNAL~AFFAIRS} - {\it continued}.$

Number of Persons.	Item.		1921-	-22.
921–22.	<u> </u>	AUDIT DEPARTMENT—continued.		
		VOTE No. 24—continued.	£	£
	1	Salaries - continued.		
		Cryptair Depressor continued		
		CLERICAL DIVISION—continued.  Class VII—		
		1 at £320 320		
		1 at £310 310		
		3 at £230 690		
		4 at £215 860		
		19 at £160 3,040		
		6 at £115 690 5 at £100 500		
58		10 at £85 850		
			9,650	
		Lodging-allowance	500	
		GENERAL DIVISION.		
		1 at £250 250	-	
3		1 at £190 (5 months), £206 (7 months) 198		
5		1 at £230 230	678	
		TEMPORARY CADETS.		
4		4 at £65	260	
118		-		
A			*34,405	
		OTHER CHARGES FOR AND INCIDENTAL TO—		
	2	Advertising, photographs, books, newspapers, and		
		other publications	10	
	3	Allowance to Audit Officers, London, to cover cost of	900	
	4	living Allowances to officers temporarily performing special	200	
		or higher duties	100	
	5	Grant equivalent to six months' salary (as granted to		
		officers of the Public Service on retirement under		
		the Public Service Regulation 65B) to Colonel R. J. Collins, C.M.G., I.S.O., on his resigning the		
		position of Controller and Auditor-General as from		
		31st December, 1921	650	
	6	Law-costs	150	
	7	Office fittings and requisites (including printing and stationery)	400	
	8	Postage, telegrams, and rent of boxes	200	
	9	Rent	151	
	10	Telephone services (including installation, extensions,	150	
	11	maintenance, rent, and calls)	$\begin{bmatrix} 150 \\ 5,000 \end{bmatrix}$	
	12	* Temporary assistance Travelling allowances and expenses	3,300	
	13	Contingencies, including unforeseen expenditure in-		
	ĺ	cidental to other items of the vote	50	
			10,361	
•			44,766	
		Less estimated credits under section 48 of the		
		Public Revenues Act, 1910 (Audit Office fees, &c.)	15,630	
			29,136	
		War expenses Audit refund	4,000	

 $<sup>\</sup>boldsymbol{*}$  Includes cost-of-living increase to scale salaries or wages.

f Persons.	Item.					<b>1</b> 921–	22.
921–22.		PUBLIC SERVICE	COMMISSIO	NER'S OF	FICE.		
		VOTE No. 25.			ļ	£	£
	1	Salaries—					
		CLE	RICAL DIVISION	·.	i	`	
		Special Class—			£ 750		
2		1 at £750 1 at £700	,		$\frac{750}{700}$		
		Class I—		•••		1,450	
1		1 at £600		•••		600	
1		Class V - 1 at £400				400	
•	.] 1	Class VI—	•••	•••			
		1 at £350	•••	•••	350	ļ	
4		2 at £330 1 at £290		•••	$\frac{660}{290}$		
4		Class VII—	•••	•••	490	1,300	
		1 at £270	•••		270		
		1 at £250		•••	250	**	
		1 at £230 3 at £160		•••	$\frac{230}{480}$		
		1 at £115		•••	115	Ì	
8		1 at £100	•••		100	1 442	
		G.E.	NERAL DIVISION	NT.		1,445	
		1 at £310	NERALI DIVISIO		310		
		3 at £270	•••	•••	810		
0		2 at £230	•••	•••	460	ĺ	
9		3 at £152	•••	•••	456	2,036	
25	, ,						
	1.		A CC 1	. 1		*7,231	
			f officers absen salaries prov				
			ng the current			300	
		1 0	•	,	-	2 001	
						6,931	
	1 1						
	9	OTHER CHARGES FOR				400	
	2 3	Advertising vacanci	es in the Public	Service	special	400	
		Advertising vacanci Allowances to office or higher duties	es in the Public	Service	special	400	
	3	Advertising vacanci Allowances to office or higher duties Appeal Board—	es in the Public ers temporarily 	Service performing 	special		
		Advertising vacanci Allowances to office or higher duties Appeal Board— Allowance to Val	es in the Public ers temporarily  uer-General for	e Service performing services of	special	20	
	3	Advertising vacanci Allowances to office or higher duties Appeal Board— Allowance to Val at the rate of £ Expenses: Heari	es in the Public ers temporarily uer-General for 3100 per annum ing of appeals	e Service performing services on	special n Board	20 100 500	
	3 4 5 6	Advertising vacanci Allowances to office or higher duties Appeal Board— Allowance to Val at the rate of £ Expenses: Heari Examinations: Pub	es in the Public ers temporarily uer-General for 2100 per annum ing of appeals blic Service Sen	e Service performing services of ior and En	special a Board trance	20	
	3 4 5	Advertising vacanci Allowances to office or higher duties Appeal Board— Allowance to Val at the rate of £ Expenses: Heari Examinations: Pub Medical examinatio	es in the Public ers temporarily uer-General for 2100 per annum ing of appeals blic Service Sen on of candidate	e Service performing services of ior and En	special a Board trance	100 500 1,800	
	3 4 5 6	Advertising vacanci Allowances to office or higher duties Appeal Board— Allowance to Val at the rate of £ Expenses: Heari Examinations: Pub Medical examinatio to Public Service	es in the Public ers temporarily  uer-General for 2100 per annuming of appeals olic Service Sen on of candidate	service performing services of ior and En s for appoint	special n Board trance intment	20 100 500	
	3 4 5 6 7 8	Advertising vacanci Allowances to office or higher duties Appeal Board— Allowance to Val at the rate of £ Expenses: Heari Examinations: Put Medical examinatio to Public Service Office fittings and stationery)	es in the Public ers temporarily uer-General for 2100 per annuming of appeals olic Service Sen on of candidate requisites (inclusive sen on	service performing services of ior and En s for appoint	special n Board trance intment	100 500 1,800 100 400	
	3 4 5 6 7 8	Advertising vacanci Allowances to office or higher duties Appeal Board— Allowance to Val at the rate of £ Expenses: Heari Examinations: Pub Medical examinatio to Public Service Office fittings and stationery) Postage and telegra	es in the Public ers temporarily uer-General for 2100 per annuming of appeals olic Service Sen on of candidate requisites (inclums	service performing services or ior and En s for appoing iding print	special n Board trance intment ing and	20 100 500 1,800 100	
	3 4 5 6 7 8	Advertising vacanci Allowances to office or higher duties Appeal Board— Allowance to Val at the rate of £ Expenses: Heari Examinations: Pul Medical examinatio to Public Service Office fittings and stationery) Postage and telegra Telephone services (	es in the Public ers temporarily uer-General for 2100 per annuming of appeals olic Service Sen on of candidate requisites (including instal (including instal)	service performing services on ior and En s for appoint ding print	special n Board trance intment ing and ensions,	100 500 1,800 100 400 300	
	3 4 5 6 7 8	Advertising vacanci Allowances to office or higher duties Appeal Board— Allowance to Val at the rate of £ Expenses: Heari Examinations: Pub Medical examinatio to Public Service Office fittings and stationery) Postage and telegra	es in the Public ors temporarily uer-General for 2100 per annuming of appeals olic Service Sen on of candidate requisites (including install t, and calls)	service performing services or ior and En s for appoing iding print	special n Board trance intment ing and	100 500 1,800 100 400 300 75	
	3 4 5 6 7 8 9 10	Advertising vacanci Allowances to office or higher duties Appeal Board— Allowance to Val at the rate of £ Expenses: Heari Examinations: Pub Medical examinatio to Public Service Office fittings and stationery) Postage and telegra Telephone services ( maintenance, ren *Temporary assista Travelling allowance	es in the Public ers temporarily  uer-General for 2100 per annuming of appeals olic Service Senon of candidate requisites (including install t, and calls) nce es and expenses	service performing services on ior and En ior appoint iding print illation, extension	special n Board trance intment ing and ensions,	100 500 1,800 100 400 300	
	3 4 5 6 7 8 9 10	Advertising vacanci Allowances to office or higher duties Appeal Board— Allowance to Val at the rate of £ Expenses: Heari Examinations: Pub Medical examinatio to Public Service Office fittings and stationery) Postage and telegra Telephone services ( maintenance, ren *Temporary assista Travelling allowance Contingencies, incl	es in the Public ers temporarily  uer-General for 2100 per annuming of appeals olic Service Senon of candidate requisites (including installat, and calls) nce es and expenses uding unforesed	service performing services on ior and En ior appoint iding print illation, externion expendit	special n Board trance intment ing and ensions,	20 100 500 1,800 100 400 300 75 100 400	
	3 4 5 6 7 8 9 10	Advertising vacanci Allowances to office or higher duties Appeal Board— Allowance to Val at the rate of £ Expenses: Heari Examinations: Pub Medical examinatio to Public Service Office fittings and stationery) Postage and telegra Telephone services ( maintenance, ren *Temporary assista Travelling allowance	es in the Public ers temporarily  uer-General for 2100 per annuming of appeals olic Service Senon of candidate requisites (including installat, and calls) nce es and expenses uding unforesed	service performing services on ior and En ior appoint iding print illation, externion expendit	special n Board trance intment ing and ensions,	100 500 1,800 100 400 300 75	
	3 4 5 6 7 8 9 10	Advertising vacanci Allowances to office or higher duties Appeal Board— Allowance to Val at the rate of £ Expenses: Heari Examinations: Pub Medical examinatio to Public Service Office fittings and stationery) Postage and telegra Telephone services ( maintenance, ren *Temporary assista Travelling allowanc Contingencies, incl cidental to the ot	es in the Public ers temporarily uer-General for 2100 per annuming of appeals olic Service Sen on of candidate requisites (inclusion in the context of the context	service performing services on ior and En ior appoint iding print illation, externion expendit	special n Board trance intment ing and ensions,	20 100 500 1,800 100 400 300 75 100 400 50 4,245	
	3 4 5 6 7 8 9 10	Advertising vacanci Allowances to office or higher duties Appeal Board— Allowance to Val at the rate of £ Expenses: Heari Examinations: Pub Medical examinatio to Public Service Office fittings and stationery) Postage and telegra Telephone services ( maintenance, ren *Temporary assista Travelling allowance Contingencies, incl	es in the Public ers temporarily uer-General for 2100 per annuming of appeals olic Service Sen on of candidate requisites (inclusion in the context of the context	service performing services on ior and En ior appoint iding print illation, externion expendit	special n Board trance intment ing and ensions,	20 100 500 1,800 100 400 300 75 100 400 50	
	3 4 5 6 7 8 9 10	Advertising vacanci Allowances to office or higher duties Appeal Board— Allowance to Val at the rate of £ Expenses: Heari Examinations: Pub Medical examinatio to Public Service Office fittings and stationery) Postage and telegra Telephone services ( maintenance, ren *Temporary assista Travelling allowanc Contingencies, incl cidental to the ot	es in the Public ers temporarily uer-General for 2100 per annuming of appeals olic Service Sen on of candidate requisites (inclusion in the context of the context	service performing services on ior and En ior appoint iding print illation, externion expendit	special n Board trance intment ing and ensions,	20 100 500 1,800 100 400 300 75 100 400 50 4,245	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

Number of Persons.	Item.	PRINTING AND STATIONERY.					1921	<b>-22.</b>
$\frac{1921-22.}{1921-22.}$	-							
		Classifica	ition and Increa	ises under R	egulation.	•	£	£
		VOTE No. 26.						
	1	Salaries-						
		A:	DMINISTRATI	VE Divisio	ON.			1.
1		1 at £900 (Go	overnment P	rinter)	•••	`	900	
		. 1	Professional	L Division	N.			
. 1		1 at £415 (Er	gineer)			•	415	
			CLERICAL	Derraras				
		Class I—	OLERICAL .	DIVISION.				
1		1 at £650		•••	. • •, •		650	
-		Class II—					·, ##0	
1		1 at £550			•••	•••	550	
1		Class III— 1 at £500					500	
*		Class IV—	-					,
2		2 at £450	•	***			900	2
		Class V—				£	*,*	
		1 at £400			***	400		
4		3 at £380		.4	•••	1,140	1,540	
		Class VII— 5 at £320				1,600	ļ	
		2 at £290				580		
10		2 at £230 1 at £125		• • •	•••	$\begin{array}{c} 460 \\ 125 \end{array}$		
							2,765	
		1 at £500	GENERAL I	Division.		500		
		6 at £415		•••		2,490		
		2 at £405		• • •	• • •	810	]	
		1 at £400		• • •	•••	400		
		1 at £395 4 at £370		* * *	• • •	$395 \\ 1,480$	}	
		1 at £350 (8 r	months)			234	į	
	1	3 at £345		• • •	•••	1,035	ļ	
		1 at £335				335	. [	
		7 at £330			••••	2,310	ļ	
		1 at £325 20 at £320			•••	$\begin{array}{c} 325 \\ 6,400 \end{array}$		
		1 at £315				315		
		10 at £310		•••	•••	3,100		
		38 at £305 (1	for 1 month	)· ·		11,565	-	
	!	1 at £300			manth)	300	: '	
	1	78 at £295 (1 24 at £290	for 4 month	s, rior I.	montnj	$22,543 \\ 6,960$		
	į	10 at £285 (1	for 2 month	s)	• • •	2,612		
	i	1 at £280	•	• • • •	***	280		
		11 at £275				3,025	İ	
	1	2 at £270		• • •	•••	540 530		
		2 at £265 1 at £264		• • • .	• • •	$\begin{array}{c} 530 \\ 264 \end{array}$		
	i	1 at £260				260		
		1 at £258				258		
	1	2 at £255		* * * *		1		

Number of Persons.	Item.					1921-	22.
1921–22.	- ! 	PRINTING AND STAT	IONERY	continu	ed.		
		VOTE No. 26—continued.				£	£
		10.10.10	•				
	1	Salaries—continued.	•			. ]	
		GENERAL DIVISIO	Nconting	ued	£		
	175.1	4 at £250			1,000		
	-	1 at £245	•••	•••	245		
	C	1 at £230 3 at £220		•••	$\frac{230}{660}$		
		5 at £215	•••	•••	1,075		
		1 at £210	***		210	-	
		6 at £186 ···	• • • • • • • • • • • • • • • • • • • •		1,116		
		1 at £184 8 at £176			$184 \\ 1,408$		
		7 at £169			1,183		
!	* **	5 at £166	• • •		830		
		1 at £165 15 at £156 (1 for 4 months)	•••	•••	$\begin{array}{c} 165 \\ 2,236 \end{array}$	:	
		1 at £152	,	•••	$\frac{2,250}{152}$	* .	
		13 at £146	•••		1,898		
		1 at £133	•••	*::	133	124	
		4 at £130 1 at £124	•••	• •	$\begin{array}{c} 520 \\ 124 \end{array}$		
		1 at £107			107		
		2 at £104	•••	•••	208		
		4 at £91 1 at £85	•••	• • •	$\begin{array}{c} 364 \\ 85 \end{array}$		
		3 at £78			234		
321		1 at £72	•••		72		
240	-				<del></del>	84,215	
342		•				92,435	
		Folders, Sewers, and Machi	ine-worker	s (female	s)	3,700	
		Apprentices, Machine Boy		Boys, I	Errand	0.050	
		Boys, Perforators, and G Extra hands	ummers	•••	•••	$\begin{bmatrix} 2,050 \\ 18,400 \end{bmatrix}$	
			•••	•••	•••		
						*116,585	
		•					
		Omeron Contraga and the	0.T.T. T. 2.T.M. 1. T.				
	2	OTHER CHARGES FOR AND INC Cost-of-living bonus	OIDENTAL	10		2,500	
	3	Freight, cartage, packing, in	i <mark>suranc</mark> e, a	nd wharf	labour	10,000	
	4	Fuel, power, gas, and lighting	ing	 D		2,500	
	5	High Commissioner's Offi	ice, Lond	on: Pro	portion	150	
		Machinery	•••			8,000	
	6	Medical services				175	
	$\begin{bmatrix} 7 \\ 8 \end{bmatrix}$	Monotype machines, extras Monotype metal		d with		$\begin{bmatrix} 250 \\ 100 \end{bmatrix}$	
	9	Motor vehicles: Purchase a	 and mainte	enance		75	
	10	Office equipment and adver		•••		100	
	11	Overtime and meal allowan	ces	•••		3,000	
	12 13	Postage, telegrams, and exc Refund of amounts overpaid	enange Lfor public	 cations &		$\frac{3,000}{20}$	
	14	Services of charwomen, mes				3,000	
	15	Stationery, paper, &c., and	office requ	isites		83,000	
	1 10	Stores, bookbinding-materia	I. and pri	nting-ink		7,000	
	16	() 1 3'	11	4: a = 1	maia a	I	
	17 18	Telephone services (includir maintenance, rents, and	ng installa	tion, exte	nsions,	60	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

Item.		1921-	22.
<u> </u>	PRINTING AND STATIONERY—continued.		
	VOTE No. 26—continued.	£	£
20 21	OTHER CHARGES FOR AND INCIDENTAL TO—continued.  Water-supply  Window cleaning and rubbish-removal  Continued including unforced available in	100 100	
22	cidental to the other items of the vote	100	
	Logo estimated avadita under section 48 of the	240,215	
	Public Revenues Act, 1910:— Printing publications recoverable from other Departments 26,000		
	Stamp Department 10,070 Miscellaneous credits 180,415	216,485	
	TOTAL—VOTE No. 26		23,73
-	20	PRINTING AND STATIONERY—continued.  VOTE No. 26—continued.  OTHER CHARGES FOR AND INCIDENTAL TO—continued.  Water-supply  Window-cleaning and rubbish-removal  Contingencies, including unforeseen expenditure incidental to the other items of the vote  Less estimated credits under section 48 of the Public Revenues Act, 1910:—  Printing publications recoverable £ from other Departments 26,000  Printing stamps recoverable from Stamp Department 10,070  Miscellaneous credits 180,415	PRINTING AND STATIONERY—continued.  VOTE No. 26—continued.  OTHER CHARGES FOR AND INCIDENTAL TO—continued. Water-supply

## XIV.—MENTAL HOSPITALS AND HEALTH DEPARTMENTS.

					19	921–22.	
			Salari	es.	Othe	or Charges.	Total.
		Iental Hospitals Department of Health	209	£ ,025 ,215		£ 92,805 118,990	£ 301,830 214,208
		TOTAL	304	,240		211,795	516,035
Number of Persons.	Item.					1921	-22.
1921–22.	 	MENTAL HOSPI	TALS.				
		VOTE No. 27.				£	£
	1	Salaries—					
		Administrative Di	VISION.				
1		Inspector-General	•••		•••	1,150	-
		Professional Div	ISION.				
	,	2 Medical Superintendents at £				2,100	
		1 Medical Superintendent a	t £200 (also	o Suj	er-		
		intendent, Waikeria Prison, a 1 Medical Superintendent at £1		ıtlıs,	and	200	
		£950 2 months) 1 Medical Superintendent at £	 1,000 (3 moi	aths,	and	992	
		£950 9 months)	·		• • •	963	
8		1 Deputy Inspector-General 2 Medical Superintendents at £	800		•••	900 1,600	
U		Class A—			€	1,000	
		3 Medical Officers at £750		2,	$2\overline{5}0$		
		1 Chief Engineer at £475 (	also £200,				
5		Public Health Department  1 Medical Officer	···		475		
		Class B—	• • •		650	3,375	
3		3 Medical Officers at £550			•••	1,650	
		Class E—			0		
		1 Medical Officer at £450 1 Medical Officer at £425 (10	montha)		450 - 354		
3		1 Medical Officer at £310	months)		310		
						1,114	
	1					74.044	
		CLERICAL DIVIS	ON			14,044	
		Class II—			Ì		
2		2 at £525	•••			1,050	
		Class IV—			050		
4		$3 \text{ at } \pounds 450 \qquad \dots \\ 1 \text{ at } \pounds 425 \qquad \dots$	• • •		350 $425$		
#	!	Class VI—	•••	-	±4U	1,775	
2		2 at £350	•••			700	

# ${\tt XIV.--MENTAL~HOSPITALS~AND~HEALTH~DEPARTMENTS}-continued.$

Number of Persons.	Item.	MENTAL	HOSPITALS-	-continued.		192	1–22.
1921–22.	1	VOTE No. 27—continue	inued.			£	£
	-				100	. Y	1 500
		CLERICA Class VII—	L Division—co	ntinued.	£		
		4 at £320			$1,\tilde{2}80$		
		1 at £310	•••		310		
8		3 at £290			870		
11 - 11		and a second				2,460	
			4			7:005	
		G	ENERAL DIVISION	1. <i>.</i>	ļ	5,985	
r r		1 Assistant Inspe	ector at £450		450	5831 P	1 1 1 1 m 1
		5 Storekeepers at	£260	•••	1,300		
		1 Office Assistan	t at £215		215	er i Arton e neve	
	1	1 Office Assistan	t at £206		206		
	i	1 Office Assistan		•••	156		
. 11		2 Shorthand-writ	ers and typists	at £156	312	0.000	
		Head Attendants	·			2,639	
	1	Class A—	_		1		
<b>4</b>		4 at £435	•••			1,740	154 f 17 4 f 17
ŕ	1	Class B				*	
		7 at £395	•••	•••	2,765		11.14
8		1 at £375	***	• • •	375	0.440	
						3,140	
		Matrons—				4,880	-
		Class A-					ing.
		3 at £320		•••	960		
4		1 at £300	···		300		
_	ļ	Class B—				1,260	:
1		1 at £280	***	•••.	•••	280	
7		Class C— 7 at £260			,	1,820	
•		1 40 3200	•••		•••	1,020	
			:			3,360	~·
		Engineers—				<del></del>	
		1 at £470	***	•••	470		
		1 at £450	***		450		
		1 at £415 1 at £345	* * *	****	$\begin{array}{c c}415\\345\end{array}$		
	1	5 at £335			1,675	1.	
10		1 at £110	•••	•••	110		
			7			3,465	
		Estate Managers-	<u> </u>	* * *			
1	Ì	1 at £390	***		•••	390	
4		Farm Managers— 4 at £350	<del></del>			1,400	:
4		Farm Overseers—	• • •	•••	•••	1,400	
		1 at £310	•••	: •••	310		, •
3	1	2 at £275	•••		550		
		Stockman-			,	860	
1	Š	1 at £245	• • • •	···	•••	245	
1		Dairyman—	•		ļ	245	
1		1 at £245	***	•••			
					ļ	3,140	
		Engine-drivers—			070		
12	1	1 at £270 11 at £265	***	•••	$\begin{bmatrix} 270 \\ 2,915 \end{bmatrix}$		
14	İ	11 au 200	•••	•••		3,185	
	1			f			
						3,185	
		Electricians—			00*		,
2	1.	1 at £285	•••	•••	285		
2		1 at £277	•••	•••	277	562	
	1	l				JU4	I

Number of Persons.	Item.	MENTAL HOSPIT	$\mathrm{ALS}$ — $c$	ontinued.		1921–	22.
1921–22.	1	VOTE No. 27—continued. SALARIES—continued.				£	£
		General Divisio	n—cont	inued.			
_		Fitter—				202	
1		1 at £285	• • • •	•••	•••	285	
1		Labourer - 1 at £250				250	
1		Attendants—	•••		•••	250	
		8 at £305			2,440		
		46 at £295			13,570		
		5 at £290		• • •	1,450		
		1 at £285	•••	•••	285		
		4 at £280	•••	•••	$   \begin{array}{c c}     1,120 \\     9,075   \end{array} $		
		33 at £275 8 at £270	•••	•••	$\frac{9,079}{2,160}$		
		45 at £265	:	•••	11,925		
		14 at £260			3,640		
		10 at £255		•••	2,550		
		30 at £250		•••	7,500	5	
	1	32 at £245		•••	7,840		
		35 at £245 (unclassified)	• • •	•••	8,575		
		6 at £240 5 at £235		•••	$egin{array}{c c} 1,440 \\ 1,175 \end{array}$		
		30 at £230			6,900		
		26 at £225			5,850		
371		33 at £225 (unclassified)			7,425		
		Carpenters—				94,920	
		1 at £292	•••	•••	292		
		6 at £285	• • •	•••	$\begin{array}{c c} 1,710 \\ 282 \end{array}$		
		1 at £282 1 at £269		•••	269		
		1 at £266	•••	• • •	266		
		1 at £253		•••	253		
13		2 at £120			240		,
		Works Overseers—				3,312	•
0		2 at £305	• • •		610		
3		1 at £285	•••	• • •	285	905	
		Bricklayers— 1 at £285			285	895	
3		2 at £277	•••	•••	554		
		Blacksmiths—		***		839	
		1 at £277			277		
$^2$		1 at £269		•••	269		
		Painters—				546	
		1 at £282	• • •	•••	$\begin{array}{c c}282\\270\end{array}$		
		1 at £270 2 at £269	• • •	•••	538		
		1 at £261		•••	261		
. 6		1 at £110	•••		110		
		Bootmakers—				1,461	
		1 at £259	• • •		259	Į.	
0		1 at £245	• • • •	• • •	245		
3		1 at £234	• • • •	•••	234	738	
		Bakers-1 at £280			280	(90	
		1 at £275			$\frac{275}{275}$		•
		$1 \text{ at } \pounds 245$			245		
4		1 at £234			234		
		Butchers-				1,034	
9		2 at £246	•••		492		
3		1 at £188	• • •	***	188	600	
2		Poultrymen— 2 at £240			. ———	680 480	
2		Plumbers—	• • •	•••		±00	
		4 at £277			1,108		
5		1 at £261		•••	261		
	]					1,369	

Number of Persons.	Item.	MENIO AT TICOPTO	1150	aontina - I		1921	<b>-22.</b>
1921–22.		MENTAL HOSPIT VOTE No 27—continued.	:ALIS-	continuea.		£	£
	1	Salaries—continued.					æ.
	_			4:		•	
		GENERAL DIVISION Gardeners—	JN—con	umuea.	£		
		2 at £260	•••	•••	520		
4		2 at £188 Fisherman—	•••	•••	376	896	
1.		1 at £230	•••			230	
		Farm Hands—			. 000		
		1 at £260 1 at £206	•••	•••	$\begin{array}{c} 260 \\ 206 \end{array}$		
		1 at £195	•••	•••	195		
		8 at £188	•••	•••	1,504		
19		1 at £156 7 at £188 (unclassified)	•••	•••	$\substack{156\\1,316}$		
10		Messenger—`		***		3,637	
1		1 at £130 Nurses—	•••	•••		130	
		5 at £230			1,150		
		1 at £225	•••	•••	225		
	ĺ	3 at £220 28 at £215	•••	***	660		,
		4 at £210		•••,	$6,020 \\ 840$		
		2 at £170		• • • • • • • • • • • • • • • • • • • •	340		
		6 at £165		•••	990		
		4 at £160 2 at £155	• • •	•••	$640 \mid 310 \mid$		
		1 at £150		•••	150		
		30 at £145	•••	•••	4,350		
		79 at £140 69 at £135		•••	$11,060 \\ 9,315$		
351		117 at £135 (unclassified			15,795		
		Cooks— 2 Males at £260			500	51,845	
		1 Male at £245		•••	$\begin{bmatrix} 520 \\ 245 \end{bmatrix}$		
		2 Males at £234	•••	•••	<b>46</b> 8		
		1 Male at £197 1 Female at £210		•••	$\begin{array}{c} 197 \\ 210 \end{array}$	ļ	
		3 Females at £160		•••	480	ľ	
12		2 Females at £140		•••	280		
		$Laundresses \ 1$ at £205			205	2,400	
		2 at £150	•••	•••	300		
8		5 at £145		•••	725	1 000	
4		$Ward ext{-}maids - \ 4  ext{ at } \pounds 95$				$\frac{1,230}{380}$	
4		Official Visitors—	•••	•••	•••	500	•
0		7 at £26		•••	182		
9		2 at £13	•••	•••	26	208	
931							
	.   					*209,025	-
		OTHER CHARGES FOR AND INC					
	2	Advertising, photographs, other publications	books,	newspape	ers, and	300	
	3	Amount required to reco	up Im		unts for	500	
		vouchers lost in transit			•••	5	
	$\begin{bmatrix} 4 \\ 5 \end{bmatrix}$	† Audit fees †Bacteriological research	•••	•••		50 150	

 $<sup>\</sup>sp{*}$  Includes cost-of-living increase to scale salaries and wages.

<sup>†</sup> Previously charged to "Contingencies."

Number of Persons.	Item.		1921-	22.
1921–22.	 	MENTAL HOSPITALS—continued.		
		VOTE No. 27—continued.	£	£
		,		
	6	OTHER CHARGES FOR AND INCIDENTAL TO—continued.	20,000	
	7	Bedding and clothing Buildings, including additions, improvements, repairs,	30,000	
		and replacements	5,000	
	8	†Caretaker, Hornby, wages of	220	
	9	Compassionate allowance to widow of late John	005	
	10	Kavanagh Dental services	$\begin{array}{c c} 295 \\ 150 \end{array}$	
	11	Developmental work in connection with bringing	100	
		land into cultivation, purchase of implements,		
	7.0	stock, &c	2,000	
	12 13	Farms, maintenance of  Fencing, draining, and roading	16,000 350	
	14	Freight, cartage, and transport charges	5,000	
	15	Fuel, light, power, and water	20,000	
	16	Funerals, expenses of	250	
	17	Furniture and fittings	1,000	
	18	Gardens and shrubberies, expenses of Grant to Seacliff Staff Club	$\frac{250}{10}$	
	20	† Inquiries under Public Service and Mental	10	
		Defectives Acts	50	
	21	Law-costs	20	
	22 23	Laundry	3,500	
	$\frac{25}{24}$	Machinery, repairs, and stores † Maintenance fees overpaid, refund of	2,500	
	$\frac{25}{25}$	Medical fees for certificates and consultations	1,900	
	26	Motor-vehicles: Purchase and maintenance of motor-		
		lorries	5,280	
•	27	Nursing staff— + Engagement of	25	
	28	Uniforms, purchase of	4,000	
	1	Patients, expenses connected with—	_,;;	-
	29	Gratuities	300	
	30 31	"Patients' Friends'" Recreation	200	
	32	Transfer	$\frac{5,000}{100}$	
	33	Postage, telegrams, and rent of boxes	700	
	34	Printing and stationery	1,000	
	35	Rations	75,000	
	36	Rents and rates Stores	2,620	
	01	Stores Surgery and dispensary—	5,000	
	38	Drugs and instruments	2,000	
	39	Wine, spirits, ale, and porter	80	
	40	Telephone services (including installation, extensions,	****	
	41	maintenance, rent, and calls) Travelling allowances and expenses	500	
	3.1	Travelling allowances and expenses Treatment and maintenance in general hospitals—	1,400	
	42	Patients	100	
	43	† Staff	200	
	44	Contingencies, including unforeseen expenditure incidental to the other items of the vote	100	
		Less estimated credits under section 48 of the	192,805	
		Public Revenues Act, 1910	100,000	
			00.00*	
		TOTAL—VOTE No. 27	92,805	301,

XIV.—MENTAL HOSPITALS AND HEALTH DEPARTMENTS—continu	XIV.—MENTA	HOSPITALS	AND HE	CALTH	DEPARTMENTS—	continued.
--	------------	-----------	--------	-------	--------------	------------

Number of Persons.	Item.					1921	<b>–22.</b>
1921- 22.		DEPARTMENT (	OF HEAL	TH.	-		
1921-22.		VOTE No. 28.				£	£
	1	Salaries-					
		Administrati	ve Divisio	N.			
1		1 at £1,150 (Director-Gene	eral of Hea	lth)		1,150	
		Professional	Division.		£	ļ	
		3 at £1,050			3,150		
		2 at £950			1,900		
		3 at £900	•••		2,700		
		1 at £850	:	• • •	850		
		6 at £800	•••		4,800	· [	
16	1	1 at £750	•••	• • • •	750	14 150	
		Class A—			5 050	14,150	
i		7 at £750	100 +2 0 24	the	5,250	i	
		2 at £750 (increase at £		ыпе	184	1	
40	1.	above for 11 months) 1 at £700	•••	• • •	700	i	
10		Class B—		•••	700	6,134	
		9 at £625			5,625	U, 1UI	
		1 at £625 (7 months)			365		
		1 at £625 (2 months)	•••		105		*
		1 at £600 (10 months)	•••		500		
		1 at £600			600		ż
14		1 at £550			550	*	,
		Class C-				7,745	•
		1 at £530			530		
		6 at £510			3,060	- 1	
8		1 at £510 (4 months)		• • •	170	0 = 00	
		Class D_			000	3,760	
		2 at £450	• • •	• • •	900	-	
		1 at £430		• • •	$\frac{430}{415}$	į	
		1 at £415 1 at £395	•••	•••	395	İ	
c		1 at £375	• • •	•••	375		
6		Class E—	• • •	• •	010	2,515	
		1 at £350			350	2,010	
		2 at £350 (7 months)		• • •	409		
. 5		2 at £330 (5 months)	•••		275		
		Class F				1,034	
		1 at £120 (3 months)			30		
		2 at £100 (9 months)			150	1	
5		2 at £100 `			200		
		,				380	
		CLERICAL I	DIVISION.				
		Class I—				600	
1	1	1 at £600				600	
		Class III—			17E		
^		1 at £475 1 at £475 (9 months)	• • •		$\begin{array}{c c} 475 \\ 356 \end{array}$		
2	1	Class IV—	•••	• • •	500	831	
		1 at £450				450	
1		Class V—	***		• • •	100	
		1 at £400			400	į	
		1 at £400 (2 months)			67		
3		1 at £380 (10 months)			316		
5		Class VI—				783	
		4 at £350			1,400		
		1 at £350 (9 months)			262		
		1 at £350 (7 months)			204		
	-	1 at £330 (8 months)	•••		220		
		1 at £330 (3 months)			83		
9		1 at £310 (5 months)			129	0.000	
	İ	·			<del></del> -;	2,298	

Number of Persons.	Item.					1921	-22.
		DEPARTMENT OF H	EALT	$\mathrm{H}$ — $continuec$	d.		
1921–22.		VOTE No. 28—continued.				£	£
	1	Salaries—continued.					
		CLERICAL DIVISION	on-con	tinued			
		Class VII—	31. 00.		£		
		3 at £320	• • •	•••	960		
		1 at £290 (8 months)	• • •	• • •	194		
		1 at £290 (2 months) 1 at £270 (10 months)		•••	$\begin{bmatrix} 48 \\ 225 \end{bmatrix}$		
		1 at £270 (4 months)		•••	90		
		2 at £270 (2 months)		***	90		
		1 at £250		• •••	250		
		2 at £250 (10 months)		•••	417		
		1 at £250 (2 months) 4 at £230	• • •	•••	$\begin{vmatrix} 41 \\ 920 \end{vmatrix}$	į	
		1 at £230 (10 months)		•••	192		
		1 at £215	•••	•••	215	٠.	
		1 at £215 (10 months)			180		
		3 at £160		•••	480		
		1 at £140	• • •		$\begin{bmatrix} 140 \\ 22 \end{bmatrix}$		
		1 at £140 (2 months) 1 at £115	•••	•••	115		
		1 at £115 (11 months)	•••	•••	106		*
	1	1 at £115 (10 months)			95		
		1 at £115 (7 months)			67		
		2 at £115 (6 months)	• • • •	•••	115		
		1 at £115 (2 months) 2 at £100		•••	$\frac{20}{200}$		
		4 at £100 (10 months)			333		
		2 at £100 (6 months)		•••	100		
		1 at £100 (5 months)		•••	42		
		1 at £100 (3 months)		•••	25		
		2 at £100 (1 month)	• • •	•••	$\begin{array}{c c} 16 \\ 170 \end{array}$		•
	١.	2 at £85 1 at £85 (11 months)	• • • •	•••	78		
	ļ ·	1 at £85 (9 months)		•••	$\overset{\cdot}{64}$		
	j	1 at £85 (8 months)	·		57		
		1 at £85 (5 months)	•••	•••	35		
53		3 at £85 (2 months)	• • •	•••	43	6 1/6	
		Cadets' lodging-allowance	•••	•••		$6,145 \\ 210$	
		GENERAL I	Oivision	٧.			
	İ	1 at £425	•••	•••	425		
		1 at £390	• • •	•••	390		
		1 at £390 (9 months) 1 at £390 (6 months)	•••	•••	293 195		
	l	1 at £390 (5 months)		•••	163	1	
	İ	2 at £390 (4 months)		•••	260		
		2 at £380 (9 months)		•••	570		
		2 at £380 (8 months)	•••	•••	506		
	ļ	1 at £380 (7 months) 1 at £370	•••	•••	$\begin{array}{c c} 221 \\ 370 \end{array}$		
		1 at £370 (6 months)	• • • •		185		
		1 at £370 (3 months)	•••	•••	93		
		5 at £350 `	•••		1,750		
		3 at £350 (9 months)		•••	788		
		2 at £340 (9 months) 1 at £335	• • •	•••	510 335		
		3 at £330 (9 months)	•••	•••	743		
		1 at £330 (7 months)		•••	193		
		2 at £330 (4 months)		• •••	220		
		1 at £330 (3 months)	• • •	****	83		
	Į.	2 at £330	• • •	• •••	660		

Number of Persons.	Item.	DEPARTMENT OF	HEALTE	Hcontinu	ued.	1921	-22.
1921–22.		VOTE No. 28—continued.			_	£	£
	1	Salaries—continued.				~	~
		GENERAL DIVIS	sion-cont	inued.	£	!	
		1 at £325 1 at £320		•••	$\begin{bmatrix} 325 \\ 320 \end{bmatrix}$		
		1 at £320 (11 months)	•••	•••	294	i	
		1 at £320 (10 months)	•••		267		
		3 at £320 (9 months)			720		
		3 at £320 (8 months)	• • •	•••	641		
		1 at £320 (6 months)	•••		160		
		1 at £320 (5 months)	• • •		133		
		2 at £320 (2 months)	• • •		107		
		1 at £310	•••	•••	310		
		4 at £310 (9 months) 5 at £300	• • •	•••	930		
		2 at £300 (10 months)	•••	•••	$\frac{1,500}{500}$		
		2 at £300 (10 months)	• • • •		450		
		1 at £300 (6 months)			150		
		5 at £300 (4 months)	.,		500		
		3 at £300 (3 months)			225		
		5 at £300 (2 months)			250		
		2 at £300 (1 month)			50		
		4 at £290	• • •	• • •	1,160	!	
		4 at £290 (10 months)	• • •	,	967		2
	İ	5 at £290 (9 months) 3 at £290 (8 months)	•••	•••	1,088		•
		2 at £290 (7 months)	•••		338		•
	,	1 at £290 (6 months)	***		145		
		2 at £290 (4 months)			194		
		3 at £280		•••	840		
		2 at £280 (9 months)			420		
		1 at £280 (8 months)	•••	• • •	187		
		2 at £280 (7 months) 1 at £280 (6 months)	• • •	•••	$\begin{bmatrix} 327 \\ 140 \end{bmatrix}$		
		1 at £280 (5 months)			117		
		2 at £280 (4 months)			187	•	
		1 at £280 (3 months)			70		i
		6 at £270 `			1,620		
		1 at £270 (5 months)			112		
		3 at £260	•••	•••	780		
		2 at £260 (11 months)	•••	•••	476		
		1 at £260 (10 months)		•••	216		
		1 at £260 (7 months) 1 at £260 (5 months)	•		$\begin{bmatrix} 151 \\ 109 \end{bmatrix}$	·	
	1	1 at £260 (3 months)	•••	•••	65		
		6 at £250			1,500		
		1 at £250 (10 months)		•••	208		
		1 at £250 (9 months)		•••	188		
		3 at £250 (8 months)	•••	•••	500		4
		2 at £250 (6 months)	•••	• • •	250		
		3 at £250 (1 month) 13 at £240		• • •	9 190		
		1 at £240 (11 months)	•••	•••	$\begin{bmatrix} 3,120 \\ 220 \end{bmatrix}$		
		2 at £240 (10 months)	•••	•••	400		
		1 at £240 (7 months)			140		· 
		3 at £240 (6 months)			360		
		2 at £240 (4 months)	• • •	•••	160		
		4 at £240 (2 months)	•••	•••	160		
		1 at £238	• • •	• • • •	238		
		10 at £230	•••	•••	2,300		
	-	1 at £230 (11 months) 3 at £230 (10 months)	• • •	•••	$\begin{array}{c c} 210 \\ 576 \end{array}$		
		3 at £230 (8 months)	'	• • •	460		
		2 at £230 (7 months)	•••	•••	268		
	i	(,)	•••	•••	_55		•

Number of Persons.	Item.					1921-	22.
921–22.	 	DEPARTMENT OF	HEALT	'H—continu	ed.		
		VOTE No. 28—continued.		•		£	£
	1	Salaries—continued.					
		General Divis	ION—cor	ntinued	£		
		2 at £230 (6 months)			230		
		1 at £230 (5 months)	•••	•••	96		
		2 at £230 (3 months) 3 at £230 (2 months)		•••	$\begin{array}{c c} 115 \\ 114 \end{array}$		
		2 at £230 (1 month)		•••	38		
		10 at £220			2,200		
		$\begin{array}{c} 2 \text{ at } £220 \text{ (11 months)} \\ 2 \text{ at } £220 \text{ (10 months)} \end{array}$	•••	•••	$\frac{402}{368}$		
		3 at £220 (9 months)		•••	495		
		1 at £220 (7 months)	•••		129		
		3 at £220 (6 months)	• • •	•••	330		
		2 at £220 (5 months) 3 at £220 (4 months)	•••	•••	$\begin{array}{c c} 184 \\ 220 \end{array}$		
		1 at £220 (2 months)			36		
		1 at £220 (1 month)			19		
		1 at £218		•••	218		
		1 at £215 1 at £210	• • • •	•••	$\begin{array}{c} 215 \\ 210 \end{array}$		
		8 at £206			1,648		
		3 at £200	•••	•••	600		
		1 at £200 (2 months)	•••		33		
		1 at £200 (1 month) 2 at £184	• • •	•••	$\frac{17}{368}$		
		4 at £164			656	*	
	ľ	1 at £160	•••	•••	160		
		1 at £152 (9 months)	•••	•••	114		
		1 at £152 (5 months) 5 at £140	•••	. • • •	63   700		
		3 at £140 (11 months)			385		
		1 at £140 (10 months)		• • • •	117		•
		1 at £140 (7 months) 2 at £140 (6 months)	• • •	•••	$\frac{82}{140}$		
		2 at £140 (3 months)		• • • • • • • • • • • • • • • • • • • •	70		
	İ	2 at £130 (9 months)			196		
		1 at £130 (6 months)			65		
		1 at £130 (3 months) 1 at £130 (2 months)	•••	•••	33		
		1 at £124 (10 months)	•••	•••	$\begin{array}{c c} 22 \\ 103 \end{array}$		
		2 at £124 (6 months)	•••		124		
		1 at £124 (2 months)	•••		21		
		3 at £124 (1 month)	•••	•••	31		
		2 at £120 $1$ at £120 (10 months)	•••	•••	$\begin{array}{c c} 240 \\ 100 \end{array}$		
		1 at £120 (9 months)		•••	90		
		1 at £120 (8 months)		•••	80		
		1 at £120 (3 months) 1 at £115 (2 months)		•••	$\frac{30}{18}$		
		1 at £110 (2 months)		•••	100		
		1 at £100 (10 months)	•	•••	83		
		1 at £100 (8 months)			67		
		1 at £100 (6 months) 1 at £100 (4 months)	•••		$\begin{vmatrix} 50 \\ 34 \end{vmatrix}$		
		35 at £90	•••		3,150		
		5 at £85	•••	•••	425		
		1 at £85 (8 months)	• • •	•••	56		
221		1 at £85 (4 months) 1 at £85 (2 months)	•••	•••	28		
221	1	1 at 200 (4 monuts)	• • •	•••	15	54,326	

Number of Persons.	Item.	DEPARTMENT OF H	EALTH-	—continuea	<i>l.</i>	1921-	-22.
1921–22.		VOTE No. 28—continued.			-	£	
	1.	Salaries—continued.				æ	£
		Unclassi	FIED.				
		4 Inspectors of Health—			£		
		1 at £380 2 at £330	• • •	•••	380 660		
		1 at £320		•••	320		
		4 D 4 H 141 000			-	1,360	
		4 Port Health Officers— 1 at £300			300		
*		1 at £125	• • • • • • • • • • • • • • • • • • • •		125		
		1 at £115			115		
		1 at £75			75	015	
		1 Medical Officer at £175				$egin{array}{c c} 615 &   \\ 175 &   \end{array}$	
		3 Medical Officers at £150	•••	•••		$\frac{173}{450}$	
		2 Medical Officers at £100		•••		200	
		1 Analyst at £250	•••	•••		250	
		1 Analyst at £200	•••	•••		200 200	
		1 Pathologist at £200 1 Pathologist at £100		•••		100	
		1 Bacteriologist at £100				100	
		50 Medical Officers (Native	-)			į	*
		4 at £100	•••	•••	400		2
		1 at £100 (6 months) 1 at £75	• • •	••	$\frac{50}{75}$	-	•
		3 at £75 (6 months)	•••	•••	113		•
		2 at £60			120		
	1	1 at £60 (6 months)			30		
		1 at £52 (6 months) 7 at £50	• • •		$\begin{array}{c c} 26 \\ 350 \end{array}$		
		12 at £50 (6 months)			300		
	ĺ	3 at £40	• • •	•••	120	İ	
		1 at £40 (6 months)	•••	•••	20		· ·
		2 at £35 (6 months)	• • •	•••	35		
		1 at £30 (6 months) 2 at £25	• • •	•••	15   50		
		8 at £25 (6 months)			100		
71		1 at £20 (6 months)	•••		10		
400	! 					1,814	
426						5,464	
		T	1	. 40	D 11'	109,215	
		Less estimated credits Revenues Act, 1910			Public	14,000	
				•	[-	95,215	
		OTHER CHARGES FOR AND INC	IDENTAL	то			
	2	*Advertising, photographs,	books,	newspaper	s, and		
		other publications				300	
	3	Allowances to officers	tempora	rily perf	orming	100	
	4	higher duties Analysts paid by fees	•••	• • •		100   150	
	5	†Freight, cartage, and tran	sport cha	arges		50	
		Grant in respect of midv	vifery (p	upil nurse			
	6	St. Helens Hospital, Aug	ekland			117	
	7	St. Helens Hospital, Gis	$_{ m borne}$	•••		37	
	8	St. Helens Hospital, We	llington			194	
	$\begin{vmatrix} 9 \\ 10 \end{vmatrix}$	St. Helens Hospital, Chr St. Helens Hospital, Du			•••	$\begin{array}{c c} 97 \\ 105 \end{array}$	•
	11	St. Helens Hospital, Inv		•••	•••	65	

<sup>\*</sup> Also appears under other items.

<sup>†</sup> Also appears under "Hospitals and Charitable Institutions."

Number f Persons.	Item.		1921-	-22.
921–22.	ļ	DEPARTMENT OF HEALTH—continued.		
<i>3</i> 41-44.		VOTE No. 28—continued.	£	£
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.		
	12	Journal of Health	350	
	13	*Law costs	25	
	14	Maternity homes, refund of fees	50	
	15	†Office expenses (including rent, cleaning, fittings,		
		fuel, light, water, telephones, typewriters, printing		
	1	and stationery, postage and telegrams, and other		
		requisites)	2,000	
	16	Overtime and meal allowances	50	
	17	Quackery Prevention Act	25	
	18	Retiring - allowance to G. A. Birch (1st April to		
		30th September)	18	
	19	§Temporary assistance	12,780	
	20	1111	1,500	
	21	Uniforms, allowance to nurses for	180	
	22	Contingencies	100	
		<u> </u>	· · · · · · · · · · · · · · · · · · ·	
			18,293	
		Health Act—		
	23	Board of Health, travelling-expenses	75	
	24	Board of Health, other expenses (including fee to		
		members)	25	
	25	Compensation payable under Health Act	100	
	26	¶Disinfectants, purchase of	600	
	27	Expenses of Dr. Ritchie whilst travelling in con-		
		nection with the hookworm campaign	85	
	28	Infectious diseases Influenza epidemic expenses	840	
	29		150	
	30	Inspection of vessels	1,500	
	31	Motor-cars, motor-cycles, &c.: Purchase, repairs, and		
	20	running-expenses	4,500	
	32	Notification of infectious diseases	2,000	
	33	†Office expenses (including rent, cleaning, fittings, fuel, light, water, telephones, typewriters, and		
		other requisites)	2,000	
	34	Quarantine expenses	1,000	
	35	Sera, purchase of and expenses incidental thereto	2,500	
	36	Travelling allowances and expenses	2,600	
	37	Uniforms, allowances to nurses for	300	
	38	Vaccination and registration fees	400	
	39	Other expenses	100	
	i		18,775	
		Hospitals and Charitable Institutions Act—	10,110	
	40	Purchase of stores and equipment for Hospital Boards	5,000	
	41	Treatment of civilian patients in military hospitals	2,000	
	42	**Freight, cartage, and transport charges	50	
	43	†Office expenses	600	
	44	†Travelling expenses and allowances	700	
	45	Free treatment of soldiers' wives and dependents	25	
		Hospitals and Charitable Institutions Act—		
	46	Hospitals Commission, expenses of	1,500	
	47	Expenses of Mr. C. G. Collins whilst arranging	·	
		allocation of assets of old Bay of Islands Hos-		
	.	pital Board	25	
ļ	48	Expenses of South Otago Hospital Board Com-		
	İ	mission	75	
	49	Purchase of radium for Otago Hospital Board (re-		
		covered)	3,103	
			13,078	

<sup>\*</sup>Also appears on "Food and Drugs Act." † Also appears under other items. ‡ Transferred to Vote Pensions. § Includes cost-of-living increase. || Also appears under "School Hygiene. ¶ Formerly included in "Infectious Diseases." \*\*Also appears under "General Administration."

Number of Persons.	Item.		1921-	22.
921-22.	-  <u> </u>	DEPARTMENT OF HEALTH—continued.		
		VOTE No. 28—continued.	£	£
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.  Medical Practitioners Act—	-	
	50 51	Office and other expenses Travelling-expenses	150 50	
			200	
	50	Midwives Act—		
	52 53 54	*Office expenses *Travelling expenses and allowances Other expenses (including examination and incidental	25 50	
1		expenses of district midwives)	50	
			125	
	55	Nurses Registration Act—	50	
	56	*Office and other expenses *Travelling-expenses	50 50	
	57	Other expenses (including examination expenses)	200	
		 	300	
	58	Plumbers Registration Act—	190	
	59	*Office expenses *Travelling expenses and allowances	$\frac{130}{100}$	
	60	Other expenses (including examination expenses)	920	4
			1,150	
	0.1	Social Hygiene Act—		
	61 62 63	*Office expenses	150 50	
		supplies of drugs, cost of treatment of indigent patients, &c	4,800	
		- parietis, ec		
		· <u> </u>	5,000	
	64	Sale of Food and Drugs Act— Contribution to Wellington City Council's Milk		
	65	Inspector's salary	150	
	66	$\dagger$ Law-costs $\ast$ Office expenses	50 150	
	67	*Travelling allowances and expenses	100	
	68	Other expenses (including purchase of samples)	660	
			1,110	
	69	Masseurs Registration Act—		
	70	Office expenses Travelling expenses and allowances	50 50	
	71	Other expenses (including examination expenses)	250	
			350	
	į	Bacteriological Laboratories—		
	72	Laboratory expenses	1,504	
	73	*Office expenses	500	
			1	
	74	*Travelling allowances and expenses	100	

<sup>\*</sup> Also appears under other items.

<sup>†</sup> Also appears under "General Administration."

Number of Persons.	Item.		1921-	-22.
1921–22.	-	DEPARTMENT OF HEALTH—continued.		-
1321-22.		VOTE No. 28—continued.	£	£
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.  Child Welfare Administration—		
	75	*Advertising	100	
	76	Printing of "Baby's First Month"	300	
	77	*Office expenses	500	
	79	*Travelling expenses and allowances Other expenses (including hire of halls, advertising, &c.	200	
	.	other expenses (meruumg mre of mans, advertising, &c.	500	
			1,600	
	80	School Hygiene Adminstration— *Advertising	-	
	81	*Office expenses	100	
	82	Other expenses (including equipment)	800	
	83	*Travelling allowances and expenses	2,935 3,000	
	84	†Uniforms, allowances to nurses for	350	
		-	7,185	
		Donatal Having Alexander	1,100	
	85	Dental Hygiene Administration— Dental clinics and travelling ambulances, expenses of	9,000	•
	86	*Office expenses	3,000 170	
	87	*Travelling allowances and expenses	100	
			3,270	
		Maori Hygiene Administration—		
	88	Influenza epidemic relief	1,200	
	89	*Office expenses	200	
İ	90	Other expenses (including establishment of temporary		
	91	camp hospitals, &c.) Sanitation of Maori Settlement expenses	2,000	
	92	Supply of medicines	50	
	93	*Travelling allowances and expenses	1,000	
			4,750	
	94	Grants in Aid— Caretaker at Leper Hospital	100	
	95	Christchurch District Nursing Associations	100	
	96	Compassionate allowance to widow and family of	625	
	97	Denis Phelan (1st April to 30th September)	26	
	98	Coromandel Hospital Board (validating item)	300	
		Inangahua Hospital Board: Grant by way of subsidy on account of the Waiuta Medical Association	200	
	99	Knox Home for Incurables	360	
-	100	Maintenance of delirium tremens patients in general	500	
	101	hospitals	450	
-	101	Medical and nursing services in country districts		
]1	102	(including Medical Associations) Medical research work	350	
	103	Mercury Bay Hospital Trustees (validating item)	50	
	04	New Zealand Nurses' Memorial Fund	$\frac{200}{500}$	
1	.05	New Zealand Sanitary Inspectors' Association	500	
1	.06	Otago University—		
	.07	Analytical laboratory Bacteriological laboratory	50	
	.08	Dental bursaries	500	
1	.09	Medical bursaries	1,300	
1	10	Pathological laboratory	100	

<sup>\*</sup> Also appears under other items. vote "Pensions."

<sup>†</sup> Also appears under "General Administration."

<sup>‡</sup> Transferred to

## ${\tt XIV.--MENTAL~HOSPITALS~AND~HEALTH~DEPARTMENTS---} continued.$

Number f Persons.	Item.		1921	-22.
921-22.	<u> </u>	DEPARTMENT OF HEALTH—continued.	····	
.921-22.		VOTE No. 28—continued.	£	£
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.		
		Grants in Aid—continued.		
	111	Refuge and charitable institutions	2,700	
	112	Relief of indigent persons	100	
		Royal N.Z. Society for Heaith of Women and Children—		
	113	Karitane-Harris Hospital, Dunedin	4,300	
	114	Karitane-Stewart Hospital, Wanganui	1,000	
	115	Karitane-Wolfe Hospital, Christchurch	790	
	116	Plunket nurses	7,000	
	117	Secretary: Grant towards salary	200	
	118	Director: Grant towards salary	280	
	119	Incidental grants (railway passes, &c)	400	
	$\begin{vmatrix} 120 \\ 121 \end{vmatrix}$	St. John Ambulance Association Salvation Army Prison Brigade work	400 450	
	121	Salvation Army Prison Brigade work	450	
			23,881	
	ŀ	Institutions under control of Department—		
		Wages—		
	122	St. Helens Hospital, Auckland	617	*
	123	St. Helens Hospital, Gisborne	273	
	$\begin{array}{c} 124 \\ 125 \end{array}$	St. Helens Hospital, Wanganui	104	ż
	$\frac{126}{126}$	St. Helens Hospital, Wellington St. Helens Hospital, Christehurch	$540 \mid 374 \mid$	•
	127	Ct Holong Hagnital Dunadin	333	
	128	St. Helens Hospital, Invercargill	309	
	129	King George V and Infectious Diseases Hospitals,	300	
		Rotorua	12,102	
	1 <b>3</b> 0	Otaki Sanatorium	3,055	
	131	Te Waikato Sanatorium	1,500	
	132	Leper Hospital	400	
	133	Hanmer Hospital (3 months)	2,700	
	134	Pukeora Sanatorium (7 months) Maintenance—	10,585	
	135	St. Helens Hospital, Auckland	2,000	
	136	St. Helens Hospital, Gisborne	800	
	137	St. Helens Hospital, Wanganui	1,000	
	138	St. Helens Hospital, Wellington	2,000	
	139	St. Helens Hospital, Christchurch	2,000	
	$\frac{140}{141}$	St. Helens Hospital, Dunedin	1,800	
	142	St. Helens Hospital, Invercargill King George V and Infectious Diseases Hospitals,	1,200	
	1 1 2	Rotorua	15,100	
	143	Otaki Hospital	700	
	144	Otaki Sanatorium	2,500	
	145	Te Waikato Sanatorium	1,500	
	146	Leper Hospital	600	
	147	Hanmer Hospital (3 months)	4,050	
	148	Purchase of applies for Department's Institutions	10,800	
	149	Purchase of supplies for Department's Institutions	100	
		·	*79,042	
		Less—	275,428	
		Estimated credits under section 48 £	210, 120	
		of the Public Revenues Act, 1910 61,223		
			61,223	
	}		214,205	
		TOTAL—VOTE No. 28		214,2

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

# XV.—DEFENCE DEPARTMENTS.

Vote No. 29.—NAVAL DEFENCE	• • • • •	• • •	£ 342,587
Vote No. 30.—N.Z. MILITARY FORCES AND CADS Subdivision No. 1.—General Headquarters	• • • • •	•	
Subdivision No. 1.—General Headquarters	• • • • •		
Subdivision No. 1.—General Headquarters	• • • • •		
II Northan Command			16,468
			57,694
,, III.—Central Command			59,614
IV.—Southern Command			65,415
,, $V$ .—Administrative Departments	•		46,996
,, VI.—Maintenance Account			190,580
,, VII.—School of Instruction and Militar		-	31,880
undergoing Instruction abroad		•••	7,794
,, VIII.—Miscellaneous Charges		***	
Less reduction by Public Account	's Committee		476,441 $100,000$
·	o communice	***	
Total-Vote No. 30	• • • • • • • • • • • • • • • • • • • •	•••	376,441
VOTE NO. 31.—AVIATION			8,426
,, 32.—NON-EFFECTIVE SERVICES			12,427
,, 33.—RIFLE CLUBS	• • • • • • • • • • • • • • • • • • • •		21,490
TOTAL		•••	761,371
VOTE No. 29.—NAVAL DEF.  1921-22.  1 Salaries— Full Pay, Wages, Allowances, E Administrative staff (excluding Na New entries under training and di Officers and ships' companie "Chatham" and "Philomel"	XTRA PAY, &c aval Secretary rafted to sea	) 2, hips 7	£ .845 ,040 ,302
Charges for and incidental to—			
VICTUALLING, CLOTHING, IMPLEME TRAPS—	ents, and M	[ESS	
Clothing Accounts—  Clothing purchases, for issue as entries (including losses, less re Kit-upkeep allowance, and clothin Rebate to officers on account uniforms  Implement and Mess Trap Accoun Supply and replacement of mements, &c.  Victualling Accounts—  Victualling of personnel: Purch and payment of victualling are are to officers and man	payment issued gratuities of duty paid ts— less traps, im less of provision messing all	es) 8 12 on lple 1 ions low-	,684 ,525 50 ,500
ances to officers and men Leave allowance and compens	ation in lier	22 1 of	,800
provisions			,246

## XV.—DEFENCE DEPARTMENTS—continued.

Number of Persons.	Item.	•	1921-	22.
		VOTE No. 29.—NAVAL DEFENCE—continued.	-	
921–22.	1	Charges for and incidental to—continued.		
		Charges for and increasing to—considued.	£	£
		Medical Services—	_	
	8	Stores, provisions, sick-bay washing, &c	450	
	9	Dental treatment ashore	1,000	
	11	Medical treatment ashore	350	
	1.0			
	12	REPAIRS, ALTERATIONS, DOCKING, &c.— £ H.M.S. "Chatham" 2,500		
		H.M.S. "Chatnam" 2,500 H.M.S. "Philomel" 1,000		
			3,500	
	13	COAL AND OIL FUEL (including freight)—		
		H.M.S. "Chatham" 30,000   H.M.S. "Philomel" 2,500		
		11.14.5. 1 HIOMEI 2,000	32,500	
	14	Coal stocked at Auckland and Suva, including	,	
		freight involved in maintaining stocks, custody of	10 750	
		stocks, and supply of coaling gear	10,750	
	15	Stores—		
		Naval, engineers, shipwrights, ordnance, torpedo		
		and electrical	14,784	
		Works-		
i	16	Army huts (2) for use of "Philomel," purchase,		
		dismantling, and re-erecting	560	
	17	Building pattern VII target Partitioning of Auckland Harbour Board shed	$\begin{bmatrix} 350 \\ 17 \end{bmatrix}$	
	18	Partitioning of Auckland Harbour Board shed	11	
	19	Reserve—		
		Expenses connected with training of, officers and	0.000	
		men	2,000	
١		MISCELLANEOUS EFFECTIVE SERVICES—		
	20	Advertising, books, newspapers, and other publica-	1.50	
	21	tions Allowances in lieu of quarters (lodging-allowance)	$\begin{array}{c c} 150 \\ 386 \end{array}$	
	$\begin{vmatrix} 21\\22\end{vmatrix}$	Bonuses to recruiters, &c	186	
	23	Cleaning Navy Office	45	
	24	Compensation for injuries and accidental death on		
	25	duty Freight on free gift spare outfit of ammunition for	75	
	_⊿0	H.M.S. "Chatham"	2,174	
	26	Freight, landing, and transport charges (excluding		
	017	freight, &c., on coal)	2,000	
	$\begin{vmatrix} 27 \\ 28 \end{vmatrix}$	Fuel and light, Navy Office Gunnery and torpedo efficiency funds, good-shoot-	20	
		ing prizes	65	
1	29	Interments	100	
	30	Office fittings and requisites, including printing and	550	
	31	stationery Passages, travelling allowances and expenses	$\begin{bmatrix} 550 \\ 3,725 \end{bmatrix}$	
	32	Postage, telegrams, &c., and rent of boxes	270	
	33	Rent of Navy office, storerooms, magazine (over-	~~~	
	34	head charges), &c Telephone services (including installation, exten-	550	
	) ±	sions, maintenance, rent, and calls)	100	
	35	Training-service Fund	300	
	36	Typewriters (repairs)	10	
		Non-effective Services—	.   '	
610	37	Deferred pay to officers and men	12,500	
123	38	National Health Insurance to Admiralty	137	
150	39	Pension contributions to Admiralty	7,938	

## XV.—DEFENCE DEPARTMENTS—continued.

VOTE No. 29.—NAVAL DEFENCE—continued.		1921 <b>–22.</b>	
Charges for and incidental to—continued.  EXPENDITURE DURING PREVIOUS FINANCIAL YEARS NOT YET BROUGHT TO ACCOUNT— Alterations to "Chatham's" furnaces 2,465 Coal and oil supplied to "Chatham" 31,000 Deferred pay to 31st December, 1920, to officers and men			
incidental to other items of vote  TOTAL—VOTE No. 29  VOTE No. 30.—N.Z. MILITARY FORCES AND CADETS.  Subdivision No. I.—General Headquarters.  SALARIES—  GENERAL HEADQUARTERS STAFF—  1 Military Personnel— 1 1 Major-General 1 Brigadier-General, in Charge Administration 4 LieutColonels: 3 at £665, 1 at £765 (3 months only) 2 Majors at £525	£ 91,103	3	
only) 2 Majors at £525	1,200 1,000	342,58	
2   2 Majors at £525			
2 R.N.Z.A. attached to General Headquarters— 1 LieutColonel 1 Captain	2,187 1,050 830 715 415		
11 3 Civilian Personnel—			
Class V—  4 at £400 1,600  1 at £365 365  Cla s VI—	1,965		

#### ${\bf XV.--DEFENCE\ DEPARTMENTS}--continued.$

of Persons.	Item.	VOTE No. 30,—N.Z. MILITARY FORCES A	ND	1921-	22.
1001 00	ļ	${\tt CADETS-} continued.$			
1921–22.		Subdivision No. I.—General Headquarters—conti	nued.	£	£
		Salaries—continued.	*.		-
		GENERAL HEADQUARTERS STAFF-continued.			
	3	Civilian Personnel—continued.  Class VII—	£	[	
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	310		
		$2 \text{ at } £270 \qquad \dots \qquad \dots$	540		
		2 at £230	460	}	
		4 at £130 (1 from 19th April, 1921, 1 from 12th October, 1921, 1 from 29th			
		October, 1921, and 1 from 8th No-			
		vember, 1921)	513		
		2 at £125 (1 from 11th April, 1921, and 1 from 23rd May, 1921)	234	1	
12		1 at £115	115		
				2,172	
		GENERAL DIVISION.  1 at £310 (from 1st September, 1921)	302		
		1 at £260	260		
		1 at £250	250		
		1 at £206 6 at £184 (2 from 1st July, 1921) 1	$\frac{206}{.094}$	}	
		5 at £164 (3 from 1st July, 1921, and 1	,031		
		from 1st September, 1921)	306		
		2 at £152 2 at £124 (1 from 1st May, 1921, and 1	304	ļ	
		from 23rd May, 1921)	220	ļ	
17		1 at £100 (from 12th November, 1921)	92		
36*	•	Temporary clerical assistance		$\begin{bmatrix} 3,534 \\ 700 \end{bmatrix}$	
		Total—Subdivision No. I	•••	100	
		10tti — 5400tivision 110. 1	•••	†16,468	
		Subdivision No. II.—Northern Command.			
		Salaries		-	
	1	Command Headquarters Staff—		Į.	
	4	Military Personnel—			
1		1 Colonel, O.C. Command		800	
1	1	1 LieutColonel, Chief Staff Officer		665	
$egin{array}{c} 1 \ 2 \end{array}$		1 LieutColonel, Artillery Staff Officer 2 Staff Majors: 1 at £575, 1 at £525	• • • •	1,100	
		1 Staff Captain at £415		415	
1		•			
1	5	Civilian Personnel.			
	5	Civilian Personnel—			
1	5	CLERICAL DIVISION.			
6	5	<u> </u>		350	
1	5	CLERICAL DIVISION.  Class $VI$ —  1 at £350  Class $VII$ —	 £	350	
6	5	CLERICAL DIVISION.  Class $VI$ —  1 at £350  Class $VII$ —  1 at £320	£ 320	350	
6	5	CLERICAL DIVISION.  Class VI—  1 at £350  Class VII—  1 at £320  1 at £310	£ 320 310	350	
6	5	CLERICAL DIVISION.  Class $VI$ —  1 at £350  Class $VII$ —  1 at £320	£ 320		
6	5	CLERICAL DIVISION.  Class VI—  1 at £350  Class VII—  1 at £320  1 at £310  2 at £130	£ 320 310 230	350	
6	5	CLERICAL DIVISION.  Class VI—  1 at £350  Class VII—  1 at £320  1 at £310  1 at £230	£ 320 310 230 260		
1 6	5	CLERICAL DIVISION.  Class VI—  1 at £350  Class VII—  1 at £320  1 at £310  1 at £230  2 at £130  General Division.  1 at £285  1 at £164	£ 320 310 230 260 285 164		
1 5	5	CLERICAL DIVISION.  Class VI—  1 at £350  Class VII—  1 at £320  1 at £310  1 at £230  2 at £130  General Division.  1 at £285  1 at £164  1 at £152	£ 320 310 230 260 285 164 152		
1 6	5	CLERICAL DIVISION.  Class VI—  1 at £350  Class VII—  1 at £320  1 at £310  1 at £230  2 at £130  General Division.  1 at £285  1 at £164	£ 320 310 230 260 285 164		

<sup>\*</sup> Increase due to number of Cadets and Cadettes appointed during the year. increase to scale salaries or wages.

<sup>†</sup> Includes cost-of-living

		XV.—DEFENCE DEPARTMENTS—continued.		
Number of Persons.	Item.	VOTE No. 30.—N.Z. MILITARY FORCES AND CADETS—continued.	1921	-22.
1921–22.		Subdivision No. II.—Northern Command—continued.	£	£
		Salaries—continued.		
		REGIMENTAL AND AREA ADMINISTRATIVE AND INSTRUC- TIONAL STAFF—		
	6	Military Personnel— Staff Officers in Charge Regimental Districts—		,
4		1 Major 3 Captains: 1 at £485, 2 at £445 Adjutants of Mounted Rifle Regiments and Infantry	525 $1,375$	
7		Battalions— 2 Captains at £415 5 Lieutenants at £315	$830 \\ 1,575$	
·		Area Officers— 6 Lieutenants: 1 at £385, 2 at £345, 3 at £315	•	
11	7	5 Hon. Lieutenants at £375 Warrant and N.C.O.s: Permanent Staff—	$\frac{2,020}{1,875}$	
		17 Warrant Officers, Class I, at £375 8 Warrant Officers, Class II, at £350	6,375	
. 47	*	6 Staff Sergtmajors at £325	2,800 1,950 4,680	
69	_	Civilian Personnel—	4,000	
	-	CLERICAL DIVISION.		
		Class VII— £ 2 at £310 620		
4		1 at £250 250		
4		1 at £130 130  General Division.	1,000	
2		2 Clerks: 1 at £250, 1 at £200	450	
6	_	Permanent Forces—	400	
·	9	Military Personnel—		
		R.N.Z.A.: GARRISON ARTILLERY—— 1 Major	605	
		1 Captain	$\begin{array}{c} 625 \\ 415 \end{array}$	
		1 2nd-class Master-Gunner at 20s. 11d. per diem	382	
		2 Sergeant-major Artificers at 20s. 11d. per diem 2 Regimental Sergeants-major at 20s. 11d. per diem	763 - 763	
		1 Quartermaster-sergeant Artificer at 20s. 5d. per	100	
		diem 1 Company Sergeant-major Artificer at 19s. 11d.	373	
		per diem	363	
		1 Company Sergeant-major at 19s. 6d. per diem 1 Quartermaster-sergeant at 19s. 4d. per diem	356 353	
		5 Sergeants: 1 at 18s. 6d., 1 at 18s. 2d., 1 at 18s.	300	
		7d., 1 at 18s. 5d., 1 at 18s. 11d. per diem 7 Corporals: 4 at 17s. 10d., 1 at 17s. 5d., 2 at 16s.	1,689	
		9d. per diem 4 Bombardiers: 1 at 17s. 4d., 1 at 15s. 3d., 1 at	2,231	
		17s. 2d., 1 at 16s. 3d. per diem 7 Gunners: 1 at 15s. 2d., 3 at 13s. 4d., 2 at 15s.	1,205	
		5d., 1 at 15s. 6d. per diem R.N.Z.A : FIELD ARTILLERY—	1,852	
		1 Captain at £415 1 Battery Sergeant-major at 19s. 6d. per diem	$\begin{array}{c} 415 \\ 356 \end{array}$	
		1 Staff Sergeant Saddler at 18s. 11d. per diem	$\begin{array}{c} 350 \\ 345 \end{array}$	
		1 Sergeant at 17s. 9d per diem	324	
		2 Corporals at 17s. 8d. per diem 1 Corporal Artificer at 18s. per diem	$\begin{array}{c} 645 \\ 329 \end{array}$	
		4 Bombardiers: 1 at 16s. 5d., 2 at 16s. 2d., 1 at	<i>549</i>	
	-	16s. 1d. per diem	1,182	J
56		11 Gunners and drivers at 15s. per diem	3 ,006	

<sup>\*</sup>Increase due to transfer of Quartermaster-sergeants from Ordnance Department to Permanent Staff.

#### 

		AV.—DEFENCE DEPARTMENTS—continuea.		
Number of Persons.	Item.	VOTE No. 30.—N.Z. MILITARY FORCES AND CADETS—continued.	1921	-22.
1921–2 <b>2</b> .		Subdivision No. II.—Northern Command—continued.	£	6
		Salaries—continued.	æ	£
		PERMANENT FORCES—continued.		
	10	Military Personnel—continued.		
	10	ARMY PAY CORPS—  1 Captain	485	
		1 Staff Quartermaster-sergeant at 19s. 1d. per diem	348	
4	-	1 Sergeant at 17s. 3d. per diem 1 Corporal at 14s. 4d. per diem	315	
4	11	Army Ordnance Corps—	262	
		1 Captain	415	
		Armament Artificers— 1 Quartermaster-sergeant at 20s. 5d. per diem	373	
		1 Sergeant at 16s. 11d. per diem	309	
		Armourers—	0.45	
		1 Quartermaster-sergeant at 18s. 11d. per diem 1 Sergeant at 17s. 8d. per diem	$egin{array}{c} 345 \ 322 \end{array}$	
		1 Cadet at 8s. 3d. per diem	151	
		Storeholders and Storemen—	907	
		1 Sergeant-major at 17s. 11d per diem 1 Sergeant at 16s. 11d. per diem	$\frac{327}{309}$	
		1 Corporal at 16s. 4d. per diem	298	
		2 Lance-Corporals: 1 at 15s. 4d., 1 at 15s. per	554	
		diem 2 Privates: 1 at 14s. 9d., 1 at 13s. 7d. per diem Testing Staff—	554 517	
		1 Captain	445	
		1 Sergeant at 16s. 11d. per diem	309	
16	12	1 Corporal at 16s. 4d. per diem ARMY SERVICE CORPS—	298	
	12	1 Hon. Lieutenant	375	
		1 Sergeant-major at 18s. per diem	329	
5		1 Corporal at 16s. 3d. per diem 2 Drivers: 1 at 14s. 6d., 1 at 14s. 5d. per diem	297 528	
		Total—Subdivision No II	*57,694	
		Subdivision No. III.—Central Command.		
		Salaries-		
		Command Headquarters Staff—		
		Military Personnel—		
1	13	1 Colonel, O.C. Command	800	
$\frac{1}{2}$		2 Lieut -Colonels: 1 Chief Staff Officer and 1 Artillery	500	
4		Staff Officer, at £665 each	1,330	
$rac{1}{2}$		1 Staff Major 2 Staff Captains: 1 at £445, 1 at £415	$\begin{array}{c c} 525 \\ 860 \end{array}$	
6	14	Civilian Personnel—		
-		CLERICAL DIVISION.		
•		Class VI—	0.50	
1		$egin{array}{cccccccccccccccccccccccccccccccccccc$	350	
		1 at £320 320		
3		2 at £215 430	750	
	.	GENERAL DIVISION.	750	
5		2 Clerks—1 at £320, 1 at £293 8s. 9d.; 2 Typistes—		
*		1 at £206, 1 at £91 5s. 10d.; 1 Messenger at £90	1,002	
9	-	Temporary clerical assistance	310	
	ı İ	* Includes cost of living increase to seele salaries or wages	i	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

		XV.—DEFENCE DEPARTMENTS—continued.	<del></del>	
Number f Persons.	Item.	VOTE No. 30.—N.Z. MILITARY FORCES AND CADETS—continued.	1921–22.	
921–22.		Subdivision No. III.—Central Command—continued.	£	£
				<b>~</b>
		Salaries—continued.		
		REGIMENTAL AND AREA ADMINISTRATIVE AND INSTRUC- TIONAL STAFF—		
	15	Military Personnel—		
		Staff Officers in Charge Regimental Districts—	525	
		1 Major 3 Captains: 1 at £445, 2 at £415	1,275	
		2 Lieutenants at £385 Adjutants and Area Officers—	770	
		i Captain	415	
		9 Lieutenants: 1 at £385, 4 at £345, 4 at £315 5 Hon. Lieutenants: 4 at £375, 1 at £345	$\begin{bmatrix} 3,025 \\ 1,845 \end{bmatrix}$	
	16	Warrant and N.C.O. Instructors' Permanent Staff—		
		11 Warrant Officers, Class II, at £375 6 Warrant Officers, Class II: 5 at £350, 1 at £320	$egin{array}{c c} 4,125 \ 2,070 \end{array}$	
		5 Staff Sergeants-major: 4 at £325, 1 at £300	1,600	
61		18 Staff Sergeants: 1 at £347, 1 at £330, 1 at £322, 1 at £305, 7 at £300, 1 at £290, 1 at £280,		
		5 at £270	5,324	
	17	Civilian Personnel—		
		CLERICAL DIVISION.		
		Class VII—		
		3 at £310 930 1 at £270 (£20, from 15th November,		
		1921) 279		
		$egin{array}{cccccccccccccccccccccccccccccccccccc$	·	
			1,729	
		GENERAL DIVISION.		
14		1 Clerk at £270, 1 at £228 4s. 7d.; 6 Typistes—1 at £130 8s. 4d., 2 at £104 6s. 8d., 1 at £95, 1 at £85, 1 at £78 5s	1,096	
	18	Permanent Forces—		
		Military Personnel—		
		R.N.Z.A.: GARRISON ARTILLERY—		
		3 Captains at £415	1,245	
		1 Lieutenant	382	
		1 Master-gunner at 21s. 11d. per diem 2 Regimental Quartermasters-sergeant: 1 at 21s.	382	
		11d., 1 at 20s. 2d. per diem 3 Sergeants-major Artificers at 21s. 11d. per diem	$\begin{array}{c c} 750 \\ 1,145 \end{array}$	i
		1 Regimental Sergeant-major at 20s. 9d. per diem	379	
		2 Company Sergeants-major: 1 at 19s. 11d., 1 at 19s. 6d. per diem	719	
		2 Quartermasters-sergeant: 1 at 20s. 4d., 1 at 19s.		÷
		4d. per diem 1 Staff Sergeant at 19s. 5d. per diem	$\begin{array}{c c} 724 \\ 354 \end{array}$	
		6 Sergeants: 1 at 18s. 10d., 1 at 18s. 6d., 1 at 18s.		
		3d., 1 at 18s. 2d., 1 at 18s. 1d., 1 at 17s. 5d. per diem	1,994	
		3 Corporals: 1 at 17s. 7d., 1 at 17s. 4d., 1 at 16s.		
		10d. per diem 5 Bombardiers: 1 at 16s. 11d., 1 at 16s. 7d., 1 at	944	
		16s. 3d., 1 at 15s. 11d., 1 at 15s. 6d. per diem 21 Gunners: 1 at 16s. 6d., 1 at 16s. 5d., 1 at 16s.,	1,485	
		1 at 15s. 10d., 2 at 15s. 7d., 1 at 15s. 6d., 1 at		
		15s. 5d., 2 at 15s. 4d., 1 at 15s., 1 at 14s. 11d., 1 at 13s. 6d., 4 at 13s. 4d., 3 at 13s. 3d., 1 at		
		12s. 10d. per diem	5,600	

		XV.—DEFENCE DEPARTMENTS—continued.		
Number of Persons.	Item.	VOTE No. 30.—N.Z. MILITARY FORCES AND CADETS—continued.	1921-	-22.
1921–22.		Subdivision No. III.—Central Command—continued.	£	£
		Salaries—continued.	æ	<b>&amp;</b>
		PERMANENT FORCES—continued.		
	10	Military Personnel—continued.		
	18	R.N.Z.A.: Garrison Artillery—continued.		
•	l	S.s. "Janie Seddon"—		
		1 Sergeant-major Coxswain at 20s. 9d. per diem 1 Sergeant at 18s. 9d. per diem	$\begin{vmatrix} 379 \\ 342 \end{vmatrix}$	
		4 Gunners: 1 at 16s. 6d., 1 at 16s. 1d., 1 at		
	ļ	15s. 4d., 1 at 15s. 1d. per diem R.N.Z.A.: FIELD ARTILLERY—	1,150	
		1 Captain	415	
		1 Lieutenant 1 Hon. Lieutenant	385 375	
		2 Battery Sergeants-major: 1 at 19s. 1d., 1 at 17s.		
		11d. per diem 4 Sergeants: 1 at 17s. 8d., 1 at 17s. 7d., 1 at 17s.	675	
		6d., 1 at 15s. 10d. per diem 2 Corporals: 1 at 15s. 2d., 1 at 15s. per diem	$egin{array}{c c} 1,252 & & \\ 551 & & \end{array}$	
		10 Bombardiers: 2 at 16s, 4d., 1 at 16s, 3d., 1 at	331	
	1	16s. 2d., 1 at 15s. 9d., 1 at 15s. 8d., 1 at 15s. 7d., 1 at 15s. 6d., 1 at 14s. 8d., 1 at 14s. 3d. per diem	2,856	
89		11 Drivers: 1 at 15s. 1d., 1 at 13s. 6d., 1 at 13s.		
	-   19	5d., 2 at 12s. 10d., 6 at 12s. 9d. per diem Army Pay Corps—	2,631	
	19	1 Captain	445	
		2 Staff Sergeants: 1 at 15s. 11d., 1 at 15s. 10d. per diem	579	
4		1 Lance-Corporal at 14s. 7d. per diem	266	
	20	ARMY SERVICE CORPS 1 Hon. Lieutenant	375	
		1 Sergeant-major Warrant Officer, Class II, at £350	350	
5	-	1 Corporal at 13s. 7d. per diem 2 Drivers: 1 at 14s. 6d., 1 at 13s. 6d. per diem	$   \begin{array}{c c}     248 \\     511   \end{array} $	
	-	Total—Subdivision No. III		*59,61
				,
	i			
		Subdivision No. IV.—Southern Command.		
		SALARIES		* *
		Command Headquarters Staff—		
	21	Military Personnel—		
1		1 Colonel, O.C. Command 1 LieutColonel, Chief Staff Officer	800 665	
$1 \\ 1$		1 LieutColonel, Artillery Staff Officer	665	
1		1 Staff Major	525	
1		1 Staff Captain	435	
1		1 Staff Captain 1 Lieutenant, for Supplies and Transport	$egin{array}{c} 415 \ 375 \end{array}$	
1 1		1 Lieutenant, Musketry Instructor	385	
8	22	Civilian Personnel—		
		CLERICAL DIVISION.		
		Class VI—		
		1 at £350	350	
		Class VII— £ 320 320	ľ	
		$egin{array}{cccccccccccccccccccccccccccccccccccc$		
		1 at £215 215		
		1 at £160 160		
			1,005	

\* Includes cost-of-living increase to scale salaries or wages.

## XV.—DEFENCE DEPARTMENTS—continued.

Number of Persons.	Item.	VOTE No. 30.—N.Z. MILITARY FORCES AND	1921–22.	
1921–22.		CADETS—continued.		
		Subdivision No. IV.—Southern Command—continued.	£	£
		Salaries—continued.		
		COMMAND HEADQUARTERS STAFF—continued.		
	22	Civilian Personnel—continued.		
		General Division.		
		1 at £295 295 1 at £140 140	į	
		$egin{array}{cccccccccccccccccccccccccccccccccccc$	-	
9	1	1 at £124 124		
	-	Temporary clerical assistance	$\begin{array}{c c} 637 \\ 620 \end{array}$	
		REGIMENTAL AND AREA ADMINISTRATIVE AND INSTRUC- TIONAL STAFF—		
	23	Military Personnel—	*	
	20	Staff Officers in Charge Regimental Districts—		
		4 Majors at £525	2,100	
	1	Adjutants and Area Officers—	2,925	
	į	7 Captains: 1 at £435, 6 at £415 12 Lieutenants: 5 at £385, 3 at £345, 4 at £315	$\frac{2,320}{4,220}$	
		5 Hon. Lieutenants at £375	1,875	
	24	Warrant and N.C.O.s Permanent Staff— 32 Warrant Officers, Class I: 30 at £375, 2 at £345	11,940	
		1 Warrant Officer, Class II	350	
	-	12 Staff Sergeants-major: 9 at £325, 3 at £295	3,810	
93	-	20 Staff Sergeants: 17 at £300, 3 at £270	5,910	
	25	Civilian Personnel—		
		CLERICAL DIVISION.		
	}	$Class\ VII-$ £ $2  at £310$ 620		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	}	
		1 Cadet at £85 85	955	
		General Division.	900	
10		6 Typistes—1 at £206, 1 at £184, 2 at £152, 2 at		
	-	£115	924	
		PERMANENT FORCES—		
	26	Military Personnel—		
		R.N.Z.A.: Garrison Artillery—		
		1 Lieutenant	375	
		1 Warrant Officer Artificer Staff Sergeant-major at	382	
	1	£1 0s. 11d. per diem 2 3rd-class Master Gunners at 19s. 11d. per diem	727	
		1 Quartermaster-sergeant at 19s. 5d. per diem	354	
		6 Sergeants: 1 at 19s. 4d., 1 at 19s., 2 at 18s. 11d., 1 at 18s. 4d., 1 at 18s. per diem	2,053	
		5 Corporals: 1 at 18s., 1 at 17s. 9d., 1 at 17s. 1d.,	,	
		1 at 16s. 10d., 1 at 16s. 1d. per diem 4 Bombardiers: 1 at 16s. 11d., 2 at 16s. 4d., 1 at	1,565	
		14s. 8d. per diem	1,173	
		4 Gunners: 1 at 16s. 1d., 1 at 15s. 1d., 1 at 13s. 11d., 1 at 13s. 4d. per diem	1,066	
		R.N.Z.A.: FIELD ARTILLERY—		
		2 Lieutenants at £385	770	
		1 Sergeant-major at £1 0s. 8d. per diem	377	
		2 Staff Sergeants: 1 at 19s., 1 at 18s. 8d. per diem	687	

	l i			
Number of Persons.	Item.	VOTE No. 30.—N.Z. MILITARY FORCES AND CADETS—continued.	1921	-22.
1921–22.	-	Subdivision No. IV.—Southern Command—continued.	£	£
٠		Salaries—continued.		
	26	Permanent Forces—continued.		
		Military Personnel—continued.		
		R.N.Z.A.: FIELD ARTILLERY—continued. 4 Sergeants: 2 at 18s. 5d., 2 at 17s. 8d. per diem	1,317	
		6 Corporals: 1 at 17s. 4d., 1 at 16s. 11d., 2 at	1 051	
		16s. 10d., 2 at 16s. 9d. per diem 7 Bombardiers: 1 at 16s. 10d., 1 at 16s. 5d., 3 at	1,851	
53		16s. 4d., 1 at 14s. 10d., 1 at 14s. 8d. per diem 7 Drivers: 1 at 15s. 7d., 2 at 15s. 1d., 4 at	2,039	-m=
		12s. 10d. per diem	1,772	
	27	Army Pay Corps— 1 Captain	485	
		1 Staff Sergeant-major Warrant Officer, Class I, at	377	
		£1 0s. 8d. per diem 1 Staff Quartermaster-sergeant at 19s. per diem	347	
4		1 Staff Sergeant at 17s. 9d. per diem	324	
	28	ARMY SERVICE CORPS		
		1 Hon. Lieutenant	375	
		1 Sergeant-major at 18s. per diem	329	
5	1 .	1 Corporal at 15s. 3d. per diem 2 Drivers at 13s. 7d. per diem	$\begin{bmatrix} 278 \\ 496 \end{bmatrix}$	
		2 Dilvers at 108. fd. per diem	100	
	29	ARMY ORDNANCE CORPS—	407	
		1 Captain	485	
		1 Quartermaster-sergeant at 20s. 2d. per diem 1 Sergeant at 17s. 7d. per diem	368 321	
		Armourers—	329	
		1 Quartermaster-sergeant at 18s. per diem 1 Sergeant at 17s. 8d. per diem	$\frac{329}{322}$	
		1 Cadet at 11s. per diem	201	
		Storeholders and Storemen—	907	
		1 Sergeant-major at 17s. 11d. per diem 1 Sergeant at 16s. 11d. per diem	327 309	
		1 Corporal at 15s. 5d. per diem	281	
	}	2 Lance-Corporals: 1 at 15s., 1 at 13s. 3d.	516	
13		per diem 2 Privates: 1 at 16s. 5d., 1 at 13s. 9d. per	510	
		diem	551	
	1	Total—Subdivision No. IV		*65,4]
		10000-200000000000000000000000000000000		00,1
		Subdivision No. V.—Administrative Departments.		
		Salaries—		
		Administrative Departments-		
	30	Military Personnel—		
		ARMY PAY CORPS—		
		1 LieutColonel	665	
		1 Captain	425	
		3 Warrant Officers, Class I: 1 at 19s. 11d., 1 at 19s. 7d., 1 at 18s. 1d. per diem	1,011	
	.	1 Staff Quartermaster-sergeant at 17s. 3d. per diem	315	
8		2 Staff Šergeants: 1 at 17s. 6d., 1 at 16s. 1d. per		

\* Includes cost-of-living increase to scale salaries or wages.

Number of Persons.		· · · · · · · · · · · · · · · · · · ·		
	Item.	VOTE No. 30.—N.Z. MILITARY FORCES AND CADETS—continued.	1921-	-2 <b>2.</b>
1921–22.		Subdivision No. V.—Administrative Departments—contd.	£	£
•		Salaries—continued.	~	<b></b>
		ADMINISTRATIVE DEPARTMENTS—continued.		
		Military Personnel—continued.	1	
	31	Army Ordnance Corps—		
		1 LieutColonel	765	
		2 Captains: 1 at £485, 1 at £415	900	
		1 Lieutenant 1 Hon. Lieutenant	$egin{array}{c} 385 \ 375 \end{array}  $	
		Armament Artificers—		
		1 Sergeant-major at 19s. 5d. per diem 1 Staff Sergeant at 19s. 5d. per diem	$\begin{vmatrix} 354 \\ 354 \end{vmatrix}$	
		1 Artificer at 15s. 4d. per diem	280	
		Armourers—	905	
		1 Sergeant-major at 20s. per diem 1 Quartermaster-sergeant at 19s. 2d. per diem	$\frac{365}{350}$	
		2 Sergeants: 1 at 17s. 7d., 1 at 16s. 8d. per diem	625	
		2 Corporals: 1 at 18s. 2d., 1 at 18s. per diem Storeholders and Storemen—	660	
		1 Conductor Warrant Officer at £325	325	
		1 Sub-Conductor at £300	300	
		1 Sergeant-major at 18s. 3d. per diem 4 Staff Sergeants: 1 at 19s. 5d., 1 at 19s. 3d.,	333	
		1 at 18s. 11d., 1 at 17s. 9d. per diem	1,375	
		8 Sergeants: 3 at 17s. 7d., 1 at 16s. 8d., 1 at 16s. 3d., 1 at 16s. 1d., 1 at 15s. 11d., 1 at		
		14s. 5d. per diem	2,411	
		16 Corporals: 4 at 18s. 2d., 1 at 18s., 1 at		
		17s. 6d., 1 at 16s. 10d., 1 at 16s. 8d., 1 at 15s. 8d., 3 at 15s. 5d., 3 at 13s. 9d., 1 at		
		13s. 8d. per diem	4,718	
		30 Lance-Corporals: 2 at 16s. 8d., 1 at 16s.		
		7d., 1 at 15s. 11d., 1 at 15s. 6d., 1 at 15s. 3d., 2 at 15s. 2d., 1 at 15s. 1d., 1 at 15s., 13 at		
		14s. 11d., 4 at 14s. 10d., 1 at 13s. 3d., 2 at		
		13s. 2d. per diem 35 Artificers and Privates : 2 at 16s. 5d., 1 at	8,209	
		16s. 4d., 1 at 14s. 9d., 1 at 14s., 1 at 13s.		
		10d., 1 at 13s. 9d., 8 at 13s. 8d., 9 at 13s. 7d.,		
110		1 at 13s. 6d., 1 at 13s. 1d., 3 at 12s., 4 at 11s. 11d., 1 at 11s. 10d., 1 at 8s. 2d. per diem	8,529	
		· · · · · · · · · · · · · · · · · · ·	34,642	
	32	Army Service Corps—	105	
		1 Captain 1 Sergeant-major at 17s. per diem	$\frac{485}{310}$	
		1 Sergeant Mechanic at 16s. 2d. per diem	295	
		1 Corporal Mechanic at 13s. 7d. per diem 2 Sergeants at 16s. 2d. per diem	248 590	
		4 Corporals at 15s. 5d. per diem	1,125	
18		8 Drivers at 13s. Sd. per diem	1,996	
			5,049	
	33	Works Branch, N.Z.E.		
		1 Assistant Director of Works Inspector of Works—	525	
		1 Staff Sergeant-major Warrant Officer, Class I,		
		at 18s. 1d. per diem Foreman of Works—	330	
		1 Staff Sergeant-major Warrant Officer, Class I,		
		at 18s. 1d. per diem	330	
		Artificers— 1 Staff Sergeant at 16s. 7d. per diem	303	
		4 Sergeants at 16s. 1d. per diem	1,174	
		2 Corporals at 15s. 4d. per diem	560	
14	34	4 Privates at 14s. 10d. per diem Military Supplies Purchase Office—	1,083	
14	34	4 Privates at 14s. 10d. per diem  Military Supplies Purchase Office— Salaries and office expenses	3,000	

\* Includes cost-of-living increase to scale salaries or wages.

		XV.—DEFENCE DEPARTMENTS—continued.	· · · · · · · · · · · · · · · · · · ·	
Number of Persons.	Item.	VOTE No. 30.—N.Z. MILITARY FORCES AND CADETS—continued.	1921–22.	
1921–22.		Subdivision No. VI.—Maintenance Account.	£	£
		OTHER CHARGES FOR AND INCIDENTAL TO-		
		Ammunition—		
	35	S.A.A., £100,000, less £400 charged under Sub-		
		division VII and £18,000 under Vote Rifle Clubs	81,600	
		Field and heavy guns and other explosives	5,000	
	36	Advertising, photographs, books, newspapers, and		
		other publications	2,000	
	37	Clothing	20,000	
	38	Compensation in respect to accidents and sickness	1,000	
	39	Disinfectants, scavenging, cleaning, and washing Drill-halls—	200	
	40	Maintenance, including building material and	]	
		stores		
	41	Pay of caretakers	} 5,500	
	42	Rent and insurance		
	43	Hire of buildings for drills, also parade-grounds	1	
	44	Efficiency fees and badges	100	
	45	Examinations, expenses in connection with	75	
	46	Forage and straw for bedding	50	
	47	Fuel	2,000	
	48	Horse hire	100	
	49	Horses, permanent, maintenance of, £3,000, less £300	0.700	
	50	charged under Subdivision VII	2,700	
	50	Launch, hire, maintenance of, including cost of fuel,	100	
	51	stores, and other charges Libraries	175	
	52		3,500	
	53	Lighting	8,000	
	54	Miscellaneous stores	500	
	55	Medical fees for examination of officers and trainees	800	
	56	Medicine, medical stores, and attendance	250	
	57	Medals, purchase and engraving of	250	
	58	Offices and buildings (other than drill-halls), mainten-		
		ance (including building material and stores),		
		cleaning of offices, and rent of	3,800	
	59	Ordnance Stores: Accoutrements, Camp Equipment—	1	
		Harness and saddlery: Tools, materials	]	
		Signalling and electric-light stores, barrack and	10.000	
		hospital stores, Field and Garrison Artillery	> 18,000	
		material		
	eo	Armament, vehicles, small-arms	]	
	60	Pay and allowances, £7,000, less £1,500 charged under Subdivision VII, General Headquarters		
			5,500	
	61	Postages	2,500	
	62	Telegraph charges	1,500	
	63	Printing and stationery	6,000	
	64	Prizes for rifle shooting	1,500	
	65	Rations and allowance in lieu, £4,000, less £2,000	-,500	
		charged under Subdivision VII, School of In-		
		struction	2,000	
	66	Rifle ranges and targets: Maintenance of and		
	,	construction of miniature ranges	2,000	
	67	Telephone services	1,800	
		Transport—		
	68	Motor vehicles (I), hire of	150	
	69	Motor vehicles (II), repairs, spare parts, stores,		
	1	and maintenance of, including garages and work-	1 500	
		shop	1,500	
	70	Petrol and lubricating oil	1,000	
	71	Rail fares and freights, £15,000, less £3,400		
		charged under subdivision VII, General Head-	11 600	
	70	quarters School	11,600	
	72	Shipping charges, freights, cartage, &c	4,000	
	73	Steamer fares	4,000	

<del></del>		XV.—DEFENCE DEPARTMENTS—continued.		
Number of Persons.	Item.		1921-	-22.
1001 00		VOTE No. 30.—N.Z. MILITARY FORCES AND		
1921–22.		${\tt CADETS} continued.$	£	£
		Subdivision No. VI.—Maintenance Account—continued.		
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.		
,	74	Tram, coach and ferry fares, £300, less £100 charged	200	*
	75	under Subdivision VII, General Headquarters School Travelling-allowance, £11,000, less £1,500 charged	200	
		under Subdivision VII, General Headquarters	0 700	
	76	School Veterinary medicines and veterinary stores	$9,500 \\ 100$	
	77	Water	30	
			210,580	
		Less estimated credits	20,000	
		Total-Suddivision No. $VI$		190,58
		10th Stantoston 140. VI		100,00
	l			
		Collinia N. DIT Color of Instruction and Military		
		Subdivision No. VII.—School of Instruction and Military Education of Officers undergoing Instruction abroad.		
		Salaries—		
		GENERAL HEADQUARTERS SCHOOL, TRENTHAM—		
	78			
	10	Military Personnel— Instructional Staff—		
		1 LieutColonel	665	
		1 Major	526	
		2 Captains: 1 at £600, 1 at £435 1 Lieutenant	1,035 385	
		3 Warrant Officers at £375	1,125	
	79	5 Staff Sergeants-major: 4 at £325, 1 at £295 Temporary Military Personnel—	1,595	
	10	1 Staff Quartermaster-sergeant at £288 19s. 2d	289	
		1 Staff Sergeant at £270 14s. 2d 1 Quartermaster-sergeant at £301 2s. 6d	271 301	
		3 Sergeants: 1 at £292, 1 at £263, 1 at £252	807	
		3 Corporals: 1 at £287 8s. 9d., 1 at £279 16s. 8d.,	070	
		1 at £249 8s. 3d 5 Lance-Corporals: 3 at £270 14s. 2d., 1 at	818	
		£217 9s. 7d., 1 at £270 14s. 2d	1,302	
39		12 Privates: 1 at £247 17s. 10d., 2 at £246 7s. 6d., 9 at £217 9s. 7d	2,704	
<del></del>		0 000 000000000000000000000000000000000		
		Maintenance Charges—	*11,823	
	80	Ammunition for practice, S.A.A	400	
	81	Buildings, maintenance of	250	
	82 83	Clothing Equipment and ordnance stores	200 400	
	84	Forage and straw	50	
	85	Fuel	190	
	86	Horse hire	50	
	87	Horses, permanent maintenance of	300	
	88	Library	10	
	89	Lighting Pay of students while undergoing instruction	100   1,500	
	91	Postage	75	
	92	Telegrams	25	
	93	Printing and stationery	200	
*	94	Railway fares and freights	2,000	-
	95	Rations and allowances, in lieu of	2,000	
	96	Rifle ranges, part maintenance of	900	
	1 97 (	Shipping charges	200	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

## ${\tt XV.--DEFENCE\ DEPARTMENTS}--continued.$

-2 <b>2</b> .	1921-		Number Persons. Item.
		VOTE No. 30.—N.Z. MILITARY FORCES AND	207 00
£	£	${ m CADETS-}{continued}.$	921–22.
		Subdivision No. VII.—School of Instruction and Military Education of Officers undergoing Instruction abroad— continued.	
	**	MAINTENANCE CHARGES—continued.	
	50 100	Training manuals and publications	99
	1,500	Tram, coach, and ferry fares Travelling-allowance	$\begin{array}{c} 100 \\ 101 \end{array}$
	9,764		
		Education of Officers and Cadets abroad—	
	1,161	1 LieutColonel, student at Staff College 6 Lieutenants, undergoing instruction in India, at	102
	2,250	£375 each 13 Cadets at the Royal Military College, Duntroon,	19 103
	5,382	pay and maintenance, at £414 each	
	1,500	Rail, steamer, and other charges	104
31,88	10,293	Total—Subdivision No. VII	
01,00			
		Subdivision No. VIII.—Miscellaneous Charges.	
		CHARGES FOR AND INCIDENTAL TO-	
	300	Allowances to Officers performing special or higher duties	105
		Contribution towards liability of Imperial Govern-	106
		ment for pensions of Officers and N.C.O.s while serving under agreement with the New Zealand	
	663 100	Government, &c Courts of Inquiry, expenses in connection with	107
	100	Extra duty pay	108
	10	Fidelity-guarantee premiums for Officers who are	109
	$\begin{vmatrix} 13 \\ 10 \end{vmatrix}$	imprestees Guards of honour and escorts	110
	100	Law costs	$\begin{array}{c} 110 \\ 111 \end{array}$
	500	Proficiency pay for Gunners and Drivers	112
		Refund to Lieutenant H. A. Wilson of travelling allowance and expenses while on relieving duty at	113
	25	Palmerston North	
	300	Refund Customs duty	114
		Rewards payable to Police for securing convictions for certain breaches of the provisions of the Defence	115
	50	Act	
	650	Two Staff Sergeants-major, acting as Government House Orderlies	116
	75	Contingencies, including unforeseen expenditure incidental to the other items of the vote	117
		Medical examination of South African War veterans,	118
	50 100	also medicine Overtime and meal-allowances	119
		Proportion of salaries of High Commissioner's staff	120
	500	payable on account of clerical work performed on behalf of Defence Department	
	200	Proportion of rent of High Commissioner's Office, London	121
	4,058	Purchase of coal from the Admiralty and expenses incidental thereto	122
7,79	·	m . l . C . l l N. TITT	
1,10		Total—Subarvision No. VIII	

## XV.—DEFENCE DEPARTMENTS—continued.

Number of Persons.	Item.		1921-	-22.
1921–22.	_	VOTE No. 31.—AVIATION.		
		Salaries—	£	£
	1	MILITARY PERSONNEL—		
		Secretary to Air Board and Inspector of Civil	:	
•		Aviation Officer in charge Government Machines and In-	435	
		spection Civil Aviation	500	
		Clerk to Secretary Air Board Ledger-keeper	$egin{array}{c c} 280 \ 255 \end{array}$	
		Storeman	232	
	2	50 Pilots, pay during Refresher Course	700	
		Charges for and incidental to— Stores and Supplies—		
	3	Petrol, 60,000 gallons	2,900	
	4	• Caxtrol R, 3,000 gallons	800	
	5 6	Castor, 3,000 gallons	400	
	0	Spares Refresher Course—	50	
	7.	30 Pilots, aeroplane	3,000	
	8	20 Pilots, seaplane	2,160	
	$\begin{vmatrix} 9 \\ 10 \end{vmatrix}$	Rations	250	
		of students	400	
	11	Ammunition, &c	220	
	12	Miscellaneous Works, Buildings, and Land—	80	
	13	2 Hangars, Sockburn	1,290	
	14	Works, buildings and land	2,060	
	15	Miscellaneous Services— Freights	1 500	
	16	Transport	$\begin{array}{c c} 1,500 \\ 300 \end{array}$	
	17	Travelling-expenses	200	
	18	Subsidy to aviation companies	3,600	
		Less estimated credits	$21,612 \\ 13,186$	
		TOTAL—VOTE No. 31		8,42
		VOTE No. 32.—NON-EFFECTIVE SERVICES.		
	1	Charges for and incidental to— Amount paid to Public Trustee as compassionate		
	1	allowance to R. J. Glen, late 6th Contingent	19	
	2	Amount required to pay compensation under Workers'		
		Compensation Act to Gunner J. F. Gibson on	202	
	3	retirement from R.N.Z.A. as medically unfit Amount required to recoup Imprest Accounts for	223	
		vouchers lost in transit after payment	118	
	4	Compassionate allowance to John Andrew on account		
		of sickness contracted as a result of active service with 6th New Zealand Contingent	52	
	5	Compassionate allowance to ex-Torpedoman Corn-	04	
		wall for injuries received at Shelly Bay explosion	00	
	1 (	at 15s. per week	39	
	6	Compaggionate allowance to Farrier Sergeant major		
	6	Compassionate allowance to Farrier Sergeant-major W. S. McIntosh (late 5th and 8th New Zealand		
		W. S. McIntosh (late 5th and 8th New Zealand Contingents)	52	
	6 7	W. S. McIntosh (late 5th and 8th New Zealand	52	

## XV.—DEFENCE DEPARTMENTS—continued.

Number of Persons.	Item.		1921-	22.
		VOTE No. 32.—NON-EFFECTIVE SERVICES—		
1921–22.	1	continued.		
			£	£
		CHARGES FOR AND INCIDENTAL TO—continued.		
	8	Compassionate allowance at £1 per week to widow of		
		late W. A. Richardson, on account of military		
		services rendered by husband	52	
	9	Compassionate allowance to widow of the late		
	1,0	Gunner J. McD. Dales, R.N.Z.A	68	
	10	Compassionate allowance to E. R. Wooller, late 6th		
		New Zealand Contingent	26	
	11	Compensation to Officers of the Department in lieu of	0.000	
	10	superannuation	9,938	
	12	Funeral expenses	100	
	13	Grants to recipients of New Zealand Cross	80	
	14	Pay of Officers on leave with reduced pay pending	151	
	15	retirement on superannuation	454	
	15	Pay of Officers and N.C.O.s on leave pending re-	1 060	
	16	tirement on compensation	. 1,069	
	$\begin{vmatrix} 10 \\ 17 \end{vmatrix}$	Pension, F. G. Rawson Special allowance to ex-Constable Packer for serious	45	
	11		40	
	1 1	permanent injuries received in the service	10	
		TOTAL—VOTE No. 32	· · · · · · · · · · · · · · · · · · ·	12,42
	1.			
		4	1	
		VOTE No. 33.—RIFLE CLUBS.		
	1: 1			
		CHARGES FOR AND INCIDENTAL TO-		
		Dominion Rifle Association Meeting—	1 100	
	$\begin{vmatrix} 1 \\ 0 \end{vmatrix}$	Railway and steamer fares	1,100	
	$\begin{vmatrix} 2 \end{vmatrix}$	Free issue of S.A. ammunition	2,000	
	3	Part maintenance of ranges and upkeep of targets	200	
	4	Miscellaneous charges	150	
	5	Pay, travelling expenses and allowances of military		
		staff and temporary employees engaged for the	240	
	6	Contribution towards cost of sending winner of	240	
	0	N.Z. Rifle Championship to compete at Bisley	200	
		Rifle Clubs—	200	
	7	Issue of S.A. ammunition on payment at reduced	İ	
	7	rates payment at reduced	16,000	
	8	Railway warrants	500	
	9	Maintenance of rifle ranges and upkeep of targets	700	
	10	Miscellaneous charges	400	
				<b>.</b>
	1	TOTAL—VOTE No. 33 [-		21,490

TOTAL .... £761,371

# XVI.—CUSTOMS, MARINE AND HARBOURS, AND INSPECTION OF MACHINERY DEPARTMENTS.

	_				19	<b>21</b> –22.	
		<del></del> ,		Salaries.	Othe	er Charges.	Total.
Vote No. 34	4.—C	ustoms Department—		£		£	£
Subdivisi	on I. II.	—Customs Offices and Services —Customs: Miscellaneous Services		91,578 		24,750 24,900	$116,328 \ 24,900$
		Тотац		91,578		49,650	141,228
Vote No. 38	ŏ.—М	farine Department—					
Subdivisi	Con $I$ .	—Marine, Harbours, and Inspectio Machinery	on of	65,450		39,901	105,351
"		—Government Steamers —Marine: Miscellaneous Services		2,125 		27,500 15,197	$29,625 \\ 15,197$
		Total—Vote No. 35		67,575	-	82,598	150,173
	ТО	TAL		159,153		132,248	291,401
Number of Persons.  1921–22.	Item.	VOTE No. 34.—CUSTOMS Subdivision No. I.—Customs				£	1−2 <b>2.</b>
1	1	Salaries—  Administrative D  1 at £1,250 (Comptroller) 1 at £900 (Assistant-Comptrol  CLERICAL DIVIS  Special Class— 2 at £800	ler)	1	£,250 900 	2,150	
4		$\begin{array}{cccc} 2 \text{ at } \pounds 750 & \dots \\ Class I & \dots \\ 1 \text{ at } \pounds 650 & \dots \end{array}$	•		650	3,100	
7		6 at £600  Class II—  1 at £550 1 at £550 (also Private	Secre		550	4,250	
5		sessional allowance, £50) 3 at £525 Class III 9 at £500		_	550 ,575 ,500	2,675	
13		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		$ \begin{array}{ccc}  & 1 \\  & - \\  & 4 \end{array} $	,900	6,400	
15		5 at £425		2	,125	6,625	

# XVI.—CUSTOMS, MARINE AND HARBOURS, AND INSPECTION OF MACHINERY DEPARTMENTS—continued.

Number of Persons.	Item.					<b>19</b> 21-	-22.
921–22.	_   	VOTE No. 34.—(	CUSTOMS DEF continued.	PARTME	NT-	·	
. <i>041-44</i> .		0.77 ~ ~		. ~		£	£
		Subdivision No. I	$-Customs \ Offices \ { m continued}.$	and Ser	vices—		
	$\begin{vmatrix} & & 1 \\ & 1 \end{vmatrix}$	Salaries—continued.	Jon Milliand.				
	1						
		CLERICAL Class V—	Division—contr	inued.	£		
	-	21 at £400			8,400		
		5 at £380	•••	•••	1,900		
36		10 at £365	•••		3,650		
		Class VI— 29 at £350			10 150	13,950	
		29 at £330	•••	•••	$ \begin{array}{c c} 10,150 \\ 660 \end{array} $		
		5 at £310	•••	•••	1,550		
39		3 at £290	•••	•••	870	j	
		Class VII—				13,230	
		2 at £320	•••	•••	640		
		3 at £290 9 at £270	•••	•••	$\begin{bmatrix} 870 \\ 2,430 \end{bmatrix}$		
		12 at £250	•••	•••	3,000		
		11 at £230	•••		2,530	į	
		12 at £215	•••		2,580		
•		14 at £160	•••	•••	2,240		
	1	3 at £140 11 at £115	•••	•••	$\begin{bmatrix} 420 \\ 1,265 \end{bmatrix}$		
		31 at £100			3,100		
117		9 at £85	***		765		
		0-141.7				19,840	
		Cadets' lodging-all 5 at £40	iowances—		200		
		19 at £30	•••	•••	570		
		8 at £20	•••	•••	160		
						930	
		1 at £325	NERAL DIVISION.		325		
		1 at £315	•••	•••	315		
		2 at £305			610		
		12 at £295	•••	• • •	3,540		*
	1	2 at £285	***	• • •	570		
		32 at £275 2 at £270	•••	• • •	8,800		
		2 at £270 2 at £265	***	•••	540   530		
		7 at £260	•••		1,820		
		1 at £255	• • • • • • • • • • • • • • • • • • • •	•••	255		
		6 at £250		• • •	1,500		
		1 at £245 (11 mon			225		
		1 at £240 (9 mont) 1 at £206	па)		$\frac{180}{206}$		
		1 at £152	* * * * * * * * * * * * * * * * * * * *	• • • •	152		
	1	1 at £140			140		
		1 at £124	•••	•••	124		
E O		1 at £115 (9 mont)	hs)		86		
76		1 at £100	•••	•••	100	20,018	
314		Coastwaiters at		being	classified		
	-	Customs officers			•••	260	
	ļ					*93,428	
			ed credits under	section	48 of the	00,120	
		Public Reve	enues Act, 1910	•••	•••	600	
						92,828	
		Less salaries	provided for and	not requ	ired	1,250	
			_	1	-		
	1	T. Control of the Con			I	91,578	

\* Includes cost-of-living increase to scale salaries or wages.

# ${\tt XVI.-CUSTOMS,\ MARINE\ AND\ HARBOURS,\ AND\ INSPECTION\ OF\ MACHINERY\ DEPARTMENTS—continued.}$

Number of Persons.	Item.		1921-	-22.
		VOTE No. 34.—CUSTOMS DEPARTMENT—		
1921–22.	1 1	continued.		
			£	£
		Subdivision No. I.— Customs Offices and Services—		
	1	continued.		
		OMITTE CITARGES FOR AND INCIDENTAL TO		
	2	OTHER CHARGES FOR AND INCIDENTAL TO— Advertising, photographs, books, newspapers, and		
	2	other publications	100	
	3	Allowances to officers temporarily performing special	100	
		or higher duties	400	
*	4	Audit fees	600	
	5	Cost of instruments and uniform trimmings	25	
	6	Expenses connected with prosecutions and seizures		
		under the Customs Acts, and legal expenses	75	
	7	Expenses of Head Office and local offices	1,400	
		Expenses of Inquiry Agent and Commercial Expert—		
	8	Special allowance while stationed away from New		
		Zealand (including arrears from 1st April, 1919)	550	
	9	Travelling and general expenses	300	
	10	Office-cleaning	175	
	11	Office fittings and requisites (including printing and	0.700	
	$ _{12} $	stationery)	2,700	
	12	Overtime and meal allowances Payment to other Departments for services of	1,500	
•		officers—		
	13	Marine	260	
	14	Police	20	
	15	Post and Telegraph	10,800	
	16	Tourist	100	
	17	Working Railways	20	
	18	Postage, telegrams, and rent of boxes	1,100	
	19	Rewards in connection with the protection of the		
		revenue and detection of offences under the		
	1 1	Customs Acts	1,000	
	20	Telephone services (including installation, extensions,		
		maintenance, rent, and calls)	600	
	21	*Temporary assistance	900	
	22	Travelling allowances and expenses	2,000	
	$\begin{vmatrix} 23 \\ 24 \end{vmatrix}$	Typewriters: Purchase and repairs	75	
	24	Contingencies, including unforeseen expenditure incidental to the other items of the vote	50	
4	1	cidental to the other items of the vote	30	
			24,750	
		$Total-Subdivision No. \ I \dots$	21,100	116,32
				120,02
	ļ ļ		į.	
		Subdivision No. II.—Customs: Miscellaneous Services		
		Swody vision 110. 11. Owstones. Interest and Cor viols		
		CHARGES FOR AND INCIDENTAL TO-	!	
		Additional allowances to retired officers—	:	
	25	H. A. Day, late Watchman, Customs Department	63	
	26	M. Huggett, late Locker, Customs Department	48	
	$\begin{vmatrix} 27 \\ 00 \end{vmatrix}$	G. Rowe, late Watchman, Customs Department	8 !	
	28	Contribution to International Customs Bureau, Brussels	051	
	29	Contributions to other Votes—	251	
	29	Marine Department: Contribution towards cost of		
		launch at Russell	100	
	30	Expenses under the Immigration Restriction Act, 1908	50	
	31	Expenses of Customs Buildings, Wellington	400	
	$\begin{vmatrix} 31\\32 \end{vmatrix}$	Grant to Cook and Niue Islands Governments of an amount	100	
		equivalent to the Customs duties collected in New		
	1	Zealand on goods afterwards shipped to those Islands	2,873	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

# ${\tt XVI.-CUSTOMS,\ MARINE\ AND\ HARBOURS,\ AND\ INSPECTION\ OF\ MACHINERY\ DEPARTMENTS-continued.}$

Number of Persons.	ī tem.	VOTE No. 34.—CUSTOMS DEPARTMENT—	1921–22.	
1921–22.		Subdivision No. II.—Customs: Miscellaneous Services—continued.	£	£
	33	CHARGES FOR AND INCIDENTAL TO—continued.  Grant to H. B. Peers, an officer of Customs, as compensation for injuries received by him in the performance of his official duties (including cost of medical and dental expenses incurred by him in		
	34	connection therewith)	50	•
	95	factured in and imported from Australia  Refund of duty on—	100	
	35	Admiralty stores landed from transports and sold in New Zealand Aeroplanes and engines therefor, and instruments	5,207	
	37	and spares peculiar thereto Bacon, hams, pork, and lard imported from Australia	1,000	
	38	up to such date as may be decided by the Minister of Customs Badges for members of New Zealand Expeditionary Force Masonic Association, which, owing to	432	
	39	delay in delivery, were not received by members prior to return to the Dominion Baggage not fully complying with the terms of the exemption under the tariff, but being baggage and effects not for sale; also on bona fide heirlooms not exceeding in value £100, when the Collector	14	
٠	40	is satisfied as to the facts Band instruments specially imported for Territorial or	1,000	
	41	Cadet bands	100	
	42	prescribed by the Board of Trade Chairs for invalids, and clothing, apparatus, and other articles for persons in poor circumstances and who	5,237	
	43	cannot pay the duty Difference between value of goods at time of placing	50	
	44	orders and at time of exportation Fittings, badges, and replacements for uniforms of	600	
	45	the Scottish Society and Pipe Band of Wellington  Flags presented to schools in New Zealand and to Boy Scout Corps and Patriotic Societies by schools,	38	•
	46	corps, societies, &c., abroad Flanders poppies to be sold for the benefit of	2	
	47	wounded soldiers in New Zealand Garden-seats bequeathed to the City of Wellington	376	
	48	and surrounding boroughs by the late John Newton German field-gun presented as a war trophy to	123	
	49	the Napier Borough Council Gifts sent by soldiers, sailors, or members of military,	1	
		medical, or nursing staffs on active service abroad, also effects of such persons	25	
	50	Glycerine on which duty was paid under the old Tariff, but which was subsequently warehoused in a handed tobacco factory for use therein	28	
	51	in a bonded tobacco-factory for use therein  Goods invoiced as gluten meal and delivered to customers free of duty in pursuance of existing contracts, but found on examination not to	20	
	52	comply with the Tariff item "Gluten flour" Goods taken out of the Dominion by a New Zealand resident and sent back upon the decease of	50	
	53	that resident Laundry machinery imported by the Mount Mag-	27	
	35	dala Charitable Institution, Christchurch	210	

# XVI.—CUSTOMS, MARINE AND HARBOURS, AND INSPECTION OF MACHINERY DEPARTMENTS—continued.

Number of Persons.	Item.		1922-	-23.
1921–22.		VOTE No. 34.—CUSTOMS DEPARTMENT— continued.		
		Subdivision No. II.— Customs; Miscellaneous Services— continued.	£	£
,		CHARGES FOR AND INCIDENTAL TO—continued.		
	54	Methylated and rectified spirits to be used for pre- serving specimens at the marine fish-hatchery and biological-station at Portobello	10	
	55	Miniature rifles and ammunition for same for the use of Territorials, Cadets, or Rifle Clubs	10	
,	56	Nine invalid chairs imported by the Victoria  League at Auckland as gifts to disabled New  Zealand soldiers	50	
	57	Official supplies imported for use of H.M. Trade		
		Commissioner and Canadian Government Trade Commissioner	20	
	58	Plant for installation and equipment of electric smelting-furnace	175	
	59	Printed matter for the use of Boy Scouts, as may be approved by the Minister	10	
	60	Printed matter of Navy League and similar patriotic societies, as may be approved by the Minister	20	
	61	Replica of battleship imported by the Wellington Branch of the Navy League	1	
	62	Road-rollers and road-graders imported by local bodies on and after 1st January, 1914	3,198	
	63 64	Sera and vaccines and anti-toxins Specimens of steel sent out by the Department of Scientific Industrial Research, London, for ex-	1,000	
	65	perimental purposes Statue for a war memorial purchased by the Puke- kohe War Memorial Committee after duty had	1	
	66	been paid Stump socks for wear with artificial limbs	12 20	
	67	Telephones: Paid under section 3 of the Customs Duties Act, 1908	1,000	
	68	Trophies, as may be approved by the Minister, won abroad by New Zealand residents or presented for competition (including cups for agricultural shows	·	
	69	and trophies for rifle shooting matches) Uniforms for Western District Pipe Band, which	100	
	70	could not be made in New Zealand Wireless equipment for ships	136 50	
	71	Refund of extra duty on— Wheat which arrived in New Zealand on 31st October, 1921, but was not entered under the old Tariff owing to delays in accepting delivery		
	72	through peculiar and unfortunate circumstances Whisky on which increased duty at the rate of 18s. per proof gallon was charged owing to entry	140	
	<b>50</b>	having been refused in error by a Customs officer before the change of Tariff	305	
	73	Refund of extra duty paid on steam-engines, afterwards sold for dairying, &c	50	
	74	Refund of license fees legally due by Customs agents for years during which the licenses were not used	5	
	75	Refund of license fees for stills to be used in public hospitals, and for stills not in use sealed up to the satisfaction of the Collector of Customs	24	
	76	Refund of supervision fees for breweries paid in excess through being overestimated	100	
		Total—Subdivision No. II		24,90
		TOTALVOTE No. 34		141 ,22

 ${\tt XVI.--CUSTOMS,\ MARINE}$  AND HARBOURS, AND INSPECTION OF MACHINERY DEPARTMENTS—continued.

Number Persons.	Item.	·			192 <b>1–</b> 2 <b>2.</b>		
921-22.	<del> </del>	VOTE No. 35	-MARINE DEF	PARTME	NT.		
/21ZZ.		Subdivision No. I.—I	Marine, Harbours Machinery.	, and Ins	pection of	£	£
	1	Head Office— Salaries—					,
		Admin	istrative Divisi	ON.			
1		1 at £900 (Secretary and Chief Inspector of Machinery)				900	
1		Professional Division.  1 at £100 (also Engineer-in-Chief, Public				100	2
		Works, £1,100) Class A—	•••	•••	•••	100	
1		1 at £700	•••	•••		700	
		Стл	ERICAL DIVISION.				
		Class II—	MICAL DIVISION.				
1		1 at £600		•••		600	
		Class V— 1 at £400			£		
$_2$		1 at £365	•••		400   365		
2		Class VI—	• • •	•••		765	
		4 at £350	•••	•••	1,400		
6		2 at £330	•••	• • • •	660		
		Class VII— 1 at £250			250	2,060	
		1 at £230	***	•••	230		
		$\overset{\circ}{1}$ at £215	,	•••	215		
		3 at £160			480		
7		1 at £85	• • •	•••	85		
		Cra	NERAL DIVISION.			1,260	
		1 at £230	TERAL DIVISION.		230		
		1 at £218	•••		218		
		1 at £206			206		
4		1 at £100	•••	•••	100	E .	
						754	
		•				*7,139	
	2	Harbours-					
		SALARIES—PROFE	ssional Division	N.			
		Class B— Greymouth—					
		1 at £625	•••	•••		625	
		Class D—					
ĺ	'	$egin{arral}{l} \it{Kaipara} \ \it{1} \  m{at} \ \it{\pounds}450 \end{array}$				450	
		Picton—		•••	•••	450	
I		1 at £395	•••	•••	•••	395	
3	ſ		D				
3			CHIDAT INTICITANT				
3			NERAL DIVISION.				
3		$Hokianga-\!\!\!\!-$			316		
3		Hokianga— 1 at £320 (5 mor			316 258		
3		Hokianga— 1 at £320 (5 mor 1 at £258 Kaipara—		•••		574	
3		Hokianga— 1 at £320 (5 mor 1 at £258 Kaipara— 1 at £258				574 258	
3		Hokianga— 1 at £320 (5 mor 1 at £258 Kaipara— 1 at £258 Wellington—	nths at £310)		258		
3		Hokianga—  1 at £320 (5 mor  1 at £258  Kaipara—  1 at £258  Wellington—  1 at £315	nths at £310)		258		
		Hokianga—  1 at £320 (5 mor  1 at £258  Kaipara—  1 at £258  Wellington—  1 at £315  1 at £275	nths at £310)		258  315 275		
6		Hokianga—  1 at £320 (5 mor  1 at £258  Kaipara—  1 at £258  Wellington—  1 at £315	nths at £310)		258		

\* Includes cost-of-living increase to scale salaries or wages.

Number of Persons.	Item.	VOTE No. 35.—MARINE DEPARTMENT—continued.	1921-	<b>22.</b>
1921–22.	<b></b> -	Subdivision No. I.—Marine, Harbours, and Inspection of	6	
		${\it Machinery}$ —continued.	£	£
	2	Harbours—continued. Salaries—continued.		
		Unclassified.		
		Ngunguru—		
		$egin{array}{cccccccccccccccccccccccccccccccccccc$	20	
		Light-attendant	30	
		Awakino—	0.5	
		Light-attendant	25	
		Light-attendant	12	
,		Mokau— Signalman	90	
		Napier Bluff Lighthouse—		
		Lightkeeper	20	
		Harbourmaster	30	
	1	Collingwood—	70	
		Harbourmaster and Lightkeeper   Karamea—	70	
		Harbourmaster, Signalman, and Wharfinger	165	
		Hokitika— Lightkeeper	25	
		Okarito—	20	
		Signalman	140	
		Okuru— Signalman	70	
		Waikawa—	1	
		Harbourmaster	12	
		Light-attendant	60	
15		Port Waikato— Beacon-attendant	40	
19		Deacon-attendant		
		Laws contributions from Customs and Public	3,906	
		Less contributions from Customs and Public Works votes, and Wellington and Greymouth		
		Harbour Boards	1,140	
			*2,766	
		Other Charges for and incidental to—		
	3 4	Acetone acetylene light for Helensville River Advertising, photographs, books, newspapers, and	100	
	1	other publications	10	
	5	Boats and buildings and repairs	150	
	6	Buoy-chain, stores, and oil	500	
	8	Buoys and beacons, and gas for lights	$\begin{array}{c c} 300 & \\ 150 & \end{array}$	
	9	Iron buoys Office expenses	20	
	10	Removal of snags and erection of beacons, Little	20	
		Wanganui	25	
	11	Repairs to Kaipara beacons	1,150	
	12	Snagging navigable rivers	20	
	13	Telephone services (including installation, extensions,	40	
	14	maintenance, rent, and calls)	$\begin{array}{c c} 40 \\ 150 \end{array}$	
	15	Travelling allowances and expenses Wages	350	
	16	Contingencies, including unforeseen expenditure in-		
	1	cidental to the other items of the vote	50	
	1	!		
			3,015	
			3,015 5,781	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

Number of Persons.	Item.					1921-	<b>22.</b>
1921–22.	.  	VOTE No. 35.—M	IARINE DEPART	MENT—a	continued.	· · · · · · · · · · · · · · · · · · ·	
			I.—Marine, Harbou Machinery—conting		spection	£	£
	17	Lighthouses— Salaries—		*			
		saturies—	GENERAL DIVISION		£		
		1 at £420		•	$4\overline{20}$		
		11 at £275		•••	3,025		
		2 at £270	•••	•••	540		
		1 at £265	•••	· · · ·	265		
	, v	1 at £260	***	•••	260		
		6 at £255 1 at £250	•••	•••	$egin{array}{c} 1,530 \ 250 \end{array}$		
		7 at £245	•••	••	1,715		
	1 1	3 at £240		•••	720		
		34 at £235	•••		7,990		
		2 at £210	•••	•••	420	1.	
	ļ.	2 at £205	•••	•••	410		
74		2 at £200	• • • •	•••	400		
14		1 at £100	***	•••	100	18,045	
	' '		Unclassified.			10,010	
1		1 at £50	•••			50	
						*18,095	
	10	Other Charges	for and incidental	to—		100	
	18 19	Boats for light	houses, including re	epairs	•••	100	
	20	Carriage of ma	nes, and newspaper	s	•••	$\begin{array}{c c} 150 \\ 600 \end{array}$	
	$\begin{vmatrix} 20 \\ 21 \end{vmatrix}$	Fencing		•••		50	
	$ \overline{22} $		for automatic light			350	
	23		ing light in Tiri Tir			100	
	24		automatic lights at		leads	100	
	25		n and travelling-all		•••	850	
	$\begin{array}{ c c } 26 \\ 27 \end{array}$		nations and expense			50	
	28	Oil and stores	at lighthouses	•••	•••	2,800 5,800	
	29		shoeing of horses ar	id forage fo	or same	575	
	30		ht-keeper's house a			1,500	
	31	Repairs to ligh	thouses, dwellings,			700	
	32	Sun valves for	automatic lights		•••	300	
	33		rices (including insta		tensions,		
	34	maintenance	, rent, and calls) wances and expense	•••	•••	40	
	35	*Wages of temp		es	••••	$ \begin{array}{c c} 400 \\ 2,000 \end{array} $	
	36		including unforese		liture in-	2,000	
		cidental to t	he other items of th	e vote		50	
	10						
		* *				16,515	
		$\rho = 0, \dots, p$	B ~			04 010	
		44.4	and the second s	4 * *		34,610	
		WEATHER-REPOR	ring and Meteoro	TOGICAL (	DEFICE-		
	37	Salaries—				- 5	
			ROFESSIONAL DIVISI	ON.		, 1	
		Class B					
1		1 at £650	5 C S S S S S S S S S S S S S S S S S S	•••		650	
1		Class D			,	470	
1	The second	1 at £470	****	. •••	• • • • • • • • • • • • • • • • • • • •	470	
	1	** \$ \$	CLERICAL DIVISION	₹.			
	1	Class VII—					
1	1	1 at £320	•••	• • • •		320	
	i	Class VIII—					
1	1 : .:	1 at £135	•••			135	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages,

Number f Persons.	Item.	VOTE No. 35MA	מדמגמשת שמום	MENT /	antimu ad	1921-	<b>22</b> .
921–22.		VOIE NO. 55MA	MINE DEFART	MENI- C	onunuea.	1	
	į	Subdivision No. I.— of Mo	-Marine, Harbours achinery—continue	s, and Ins	pection	£	£
		WEATHER-REPORTING	and Meteorole	ogical O	FFICE—		
	37	Salaries—continued					
	ļ		ENERAL DIVISION.				
1		1 at £184	•••	•••	••	184	
			Unclassified.				
6		6 Local Reporter	· · · · · · · · · · · · · · · · · · ·	•••		73	
						*1 000	
						*1,832	
		Other Charges for a	nd incidental 10-			1	
	38	Establishment of	district weather-re	eporting s	tations	50	
	39 40	Inspection of sta Office-cleaning	tions	•••		75 30	
	41		ns, and rent of box	es	•••	1,500	
	42	Printing and stat	ionery	•••		150	
	43	Purchase of instr	uments and repair	s to same	•••	250	
	44	Rent, office equip	ment, and books			200	
	45	Telephone servic	es (including instal	lation, ex		50	
	46	maintenance, r *Temporary assis	ent, and cans)	•••		100	
	47	Upper air investi		•••		20	
	48	Contingencies, in	acluding unforesee		iture in-		
		cidental to the	other items of the	vote	• • •	50	
						2,475	
					-	4,307	
		Superintendents (	DE MERCANMITE M	ADINE EV			
		OF MASTERS AND	Mates, and Surve	EYORS OF S	HIPS—		
			,				
	49	Salaries—					
		Class B—	FESSIONAL DIVISION	N.	£		
		3 at £600			1,800		
					575		
4		1 at £575	***		010		
4		$Class \ C$ —	•••	•••		2,375	
		Class C— 4 at £530 (2 fo	r 9 months)	•••	1,870	2,375	
<b>4</b> <b>5</b>		Class C— 4 at £530 (2 fo 1 at £490	r 9 months)	•••			
		Class C— 4 at £530 (2 fo	r 9 months) 		1,870	2,375	
		Class C— 4 at £530 (2 fo 1 at £490 Class D—	 r 9 months) 		1,870		
5		Class C— 4 at £530 (2 fo 1 at £490 Class D— 3 at £450 1 at £430 5 at £415	 r 9 months)  		1,870 490 1,350 430 2,075		
		Class C— 4 at £530 (2 fo 1 at £490 Class D— 3 at £450 1 at £430	r 9 months)		1,870 490 1,350 430	2,360	
5		Class C— 4 at £530 (2 fo 1 at £490 Class D— 3 at £450 1 at £430 5 at £415 1 at £395		•••	1,870 490 1,350 430 2,075		
5		Class C— 4 at £530 (2 fo 1 at £490 Class D— 3 at £450 1 at £430 5 at £415 1 at £395	r 9 months)	•••	1,870 490 1,350 430 2,075	2,360	
5		Class C— 4 at £530 (2 fo 1 at £490 Class D— 3 at £450 1 at £430 5 at £415 1 at £395  Class VI— 1 at £350		•••	1,870 490 1,350 430 2,075	2,360	
<b>5</b>		Class C— 4 at £530 (2 fo 1 at £490 Class D— 3 at £450 1 at £430 5 at £415 1 at £395  Class VI— 1 at £350 Class VII—		•••	1,870 490 1,350 430 2,075 395	2,360 4,250	
<b>5</b>		Class C— 4 at £530 (2 fo 1 at £490 Class D— 3 at £450 1 at £430 5 at £415 1 at £395  Class VI— 1 at £350 Class VII— 1 at £310		•••	1,870 490 1,350 430 2,075 395	2,360 4,250	
<b>5</b>		Class C— 4 at £530 (2 fo 1 at £490 Class D— 3 at £450 1 at £430 5 at £415 1 at £395  Class VI— 1 at £350 Class VII— 1 at £310 1 at £290		•••	1,870 490 1,350 430 2,075 395  310 290	2,360 4,250	
<b>5</b>		Class C— 4 at £530 (2 fo 1 at £490 Class D— 3 at £450 1 at £430 5 at £415 1 at £395  Class VI— 1 at £350 Class VII— 1 at £310 1 at £290 1 at £270		•••	1,870 490 1,350 430 2,075 395  310 290 270	2,360 4,250	
10, 1		Class C— 4 at £530 (2 fo 1 at £490 Class D— 3 at £450 1 at £430 5 at £415 1 at £395  Class VI— 1 at £350 Class VII— 1 at £310 1 at £290		•••	1,870 490 1,350 430 2,075 395  310 290	2,360 4,250 350	
10, 1		Class C— 4 at £530 (2 for 1 at £490) Class D— 3 at £450 1 at £430 5 at £415 1 at £395  Class VI— 1 at £350 Class VII— 1 at £310 1 at £290 1 at £270 1 at £135		•••	1,870 490 1,350 430 2,075 395  310 290 270 135	2,360 4,250	
10 1		Class C— 4 at £530 (2 fo 1 at £490 Class D— 3 at £450 1 at £430 5 at £415 1 at £395  Class VI— 1 at £350 Class VII— 1 at £310 1 at £290 1 at £270 1 at £135	LERICAL DIVISION	•••	1,870 490 1,350 430 2,075 395  310 290 270	2,360 4,250 350	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

# $\begin{array}{c} {\rm XVI.--CUSTOMS,\ MARINE\ AND\ HARBOURS,\ AND\ INSPECTION\ OF} \\ {\rm MACHINERY\ DEPARTMENTS--} continued. \end{array}$

Number of Persons.	Item.	VOTE No. 35MAR	1921-	22.			
921–22.	!	Subdivision No. I.—M of Mach	arine, Harbours inery—continue		spection	£	£
		Superintendents of	MERCANTILE Nontinued.	MARINE, 1	ETC.—		
	49	Salaries—continued.				!	
		GENERAL	Division—contin	ued.	£		
		1 at £280	• • • • • • • • • • • • • • • • • • • •		280	·	
7		1 at £152 1 at £140	•••	•••	$\begin{array}{c} 152 \\ 140 \end{array}$		
•			TT	•••		2,072	
			Unclassified.			:	,
		Shipping officer, On	ehunga	•••		50	
5		Shipping Officer, W 3 Load-line Inspect	nakatane org : 1 at £20 -9	 ! at £10	•••	$\begin{bmatrix} 25 \\ 40 \end{bmatrix}$	
o o		Contribution to Pos	st and Telegrap	h Depart	ment for	40	
		services performe	d by Postmaster	at Taur	anga	25	
						*12,552	
	50	Other Charges for and			ting and		
	ŲŪ	Office fittings and stationery)	redamence (menn	ուսե հեյր	ลแน	250	
	51	Rent	•••	•••		184	
	52	Telephone services (		lation, ex	tensions,		
	53	maintenance, ren		•••	. • •	125	
	54	*Temporary assista Travelling allowance		•••	•••	$\frac{100}{250}$	
	55	Contingencies, inclu			iture in-	200	
		cidental to the ot				25	
						934	
						13,486	
		Inspection of Machi	NERY AND SURV	EY OF S	HIPS		
	56	Salaries—					
	1		SIONAL DIVISION	N.			
1		Class A— 1 at £700				700	
		Class B—	•••	•••	€	100	
	1	3 at £625	•••	•••	1,875		
10	1	7 at £575	•••	•••	4,025	£ 000	
		Class C— 6 at £530		• • •	3,180	5,900	
		5 at £510	•••	•••	2,550		
14		3 at £490		•••	1,470		
		Class D— 9 at £450			4 050	7,200	
12		3 at £430	•••	•••	$\frac{4,050}{1,290}$		
			_			5,340	
		Class VII—	ical Division.				
		2 at £320			640		
		1 at £215	•••	•••	215	ĺ	
4		1 at £160	•••	•••	160	1 015	
			ERAL DIVISION.			1,015	
1		1 at £152	•••	•••	•	152	
					-	*20,307	
	E17	Other Charges for and			oma - 50 3		
	57	Advertising, photogother publications	grapus, books,	$\begin{array}{c} \text{newspap} \\ \dots \end{array}$	ers, and	105	
	58	Collection of inspect		•••		150	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

umber Perso <b>ns.</b>	Item.	VOTE No. 35MARINE DEPARTMENT-continued.	1921-	-22.
21–22.	   	Subdivision No. I—Marine, Harbours, and Inspection of Machinery—continued.	£	£
		Inspection of Machinery and Survey of Ships—continued.		
		Other Charges for and incidental to—continued.		
	59 60	Fuel, light, power, and water	$\frac{20}{20}$	
	61	Office-cleaning Office fittings and requisites (including printing and	20	
		stationery)	460	
	62 63	Rent Telephone services (including installation, extensions,	100	
	00	maintenance, rent, and calls)	160	
	64	Travelling allowances and expenses	5,000	
	65	Contingencies, including unforeseen expenditure incidental to the other items of the vote	50	
			6,065	
			26,372	
		PROTECTION OF FISH AND OYSTERS-		
	66	Salaries—		
		Professional Division.  Class B—		
1		1 at £550	550	
		GENERAL DIVISION.		
		1 at £345 345		
		1 at £335 335		
		1 at £300 300 1 at £295 295		
		1 at £265 265		
6		1 at £258 258	1,798	
		Unceassified.	2,,00	
30		30 Inspectors: 2 at £40, 1 at £35, 4 at £25, 6 at £12, 7 at £10, 3 at £7 10/, 6 at £6, 1 at £5	421	
			*2,769	
		Other Charges for and incidental to—		
	67 68	Benzine, oil, stores, &c	500 175	
	69	Collection and distribution of brown-trout ova	25	
	70	Grant for costs and maintenance of Fish-hatcheries—	LEO	
	71	Salmon-hatchery at Hakataramea Grant for maintenance of Portobello Fish-hatchery	150 750	
	72	Importation of edible crabs and lobsters	50	
	73	Launch for Bay of Islands	$\begin{bmatrix} 1,500 \\ 4,500 \end{bmatrix}$	
	75	Picking and sale of oysters Planting oysters	500	
	76	Purchase of nets and gear for sale to fishermen	532	
	77 78	Repairs to oyster ketch "Te Waipounamu"	$\frac{1,205}{750}$	
	79	Stocking rivers with salmon	500	
	80	Contingencies, including unforeseen expenditure incidental to the other items of the vote	50	
			11,187	
			13,956	
		1 P	,	
			105.651	
		Less estimated credits under section 48 of the Public Revenues Act, 1910	105,651	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

Number of Persons.	Item.		1921-	22.
1921–22.	 	VOTE No. 35.—MARINE DEPARTMENT— continued.		
		Subdivision No. II.—Government Steamers.	£	£
	81	Salaries—		
		Professional Division.		
2		2 at £750	1,500	
a		Class B—		
1		1 at £625 $\dots$ $\dots$ $\dots$	625	
			*2,125	
	82	CHARGES FOR AND INCIDENTAL TO— Expenses connected with training-ship "Amokura" Working-expenses of Government steamers, including wages, maintenance, repairs, replacements, and other expenses incidental to their upkeep within or outside the Dominion—	5,250	
:	83 84	Working-expenses and Repairs— S.s. "Hinemoa" S.s. "Tutanekai"	11,250 12,000	
			28,500	
		Less estimated credits under section 48 of the Public Revenues Act, 1910	1,000	
		-	97 500	
		Total—Subdivision No. II	27,500	29,625
		Subdivision No. III.—Miscellaneous Services.		
		CHARGES FOR AND INCIDENTAL TO—		
	85	Administration of the Shipping and Seamen Act, and		
		inquiries into shipping casualties	350	
	86	Allowances to officers performing special or higher duties	100	
	87	Amount required to recoup Imprest Accounts for vouchers lost in transit after payment	34	
	88	Amount required to meet deficiency in Imprest Account of L. E. Judd (dismissed)	1	
	89 90	Audit fees Beacons, buoys, and lights at—	75	
	91	Waitapu, leading-lights Boatman's cottage, Rawene : Removal and re-erection	265	
	00	at Heads	500 200	
	$\begin{vmatrix} 92 \\ 93 \end{vmatrix}$	Charts, books, periodicals, and advertising Checking overcrowding of steamers	500	
	94	Contribution towards New Zealand's Sailors' Room,		
	95	England	25	
	30	Harbour Board	90	
·	96	Cost of trip of s.s. "Tutanekai" to Macquarie Island, irrecoverable owing to failure of debtor company's	00	
		irrecoverable owing to failure of debtor company's operations and subsequent liquidation	60 550	
	96 97 98	irrecoverable owing to failure of debtor company's operations and subsequent liquidation  Expenses connected with examinations	60 550 1,900	
	97	irrecoverable owing to failure of debtor company's operations and subsequent liquidation  Expenses connected with examinations	550	

 $<sup>\</sup>boldsymbol{*}$  Includes cost-of-living increase to scale salaries or wages.

Number of Persons	Item.		1921	<b>-22.</b>
1921–22.		VOTE No. 35.—MARINE DEPARTMENT— continued.		
.3∆1⊸44.			£	£
		Subdivision No. III.—Miscellaneous Services—continued.	·.	
		Charges for and incidental to—continued. Grants—	÷	
	102	For assistance to Mokau Harbour Board	150	
	103	For clearing willows from Mongonui and Wairua Rivers, Kaipara	420	
	104	Towards cost of repairing Takapuna Wharf	150	
	105 106	Improvement of Manawatu River	750	
9	100	Income-tax paid to Commonwealth Government by Chief Inspector of Fisheries while in Australia	2	
4.1	107	Maintenance of leading-lights, Piako River	75	
1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 -	108	Nautical tables, preparation of	330	. 1 1
	110	Office fittings and requisites (including printing and	250	
		stationery)	1,750	
ere variable	$\begin{array}{c} 111 \\ 112 \end{array}$	Postage, telegrams, and rent of boxes Prosecutions under the Shipping and Seamen, Har-	1,000	
	112	bours, and Fisheries Acts	50	
( )	113	Purchase of foreshore, Kawau Island	1,250	
.63	$\begin{array}{c} 114 \\ 115 \end{array}$	Relief of distressed seamen Relief of distressed New Zealand seamen and others	100	and the second
		in the United Kingdom	75	[ -4]
**	116	Removing willows from Waiotu Stream (subsidy, £2	10 W 00	
	117	for £1) $\dots$ Renewal of wharves	$\begin{array}{c c} 35 \\ 250 \end{array}$	
	118	Rent, High Commissioner's Office, London, pro-	200	
	119	portion of Repairs to Beacon, Jackson's Head	100	f.
	120	Repairing and improving Kenepuru Canal Subsidies for—	400 40	
	$\begin{array}{c} 121 \\ 122 \end{array}$	Motueka Harbour (improvements) Repair of Ti Point Wharf, Whangateau Harbour	500	
	123	(£1 for £1) Repairing and extending French Pass Wharf	80 400	
	124	Repairs to Clutha River Board's dredge damaged	400	
	125	by explosion (£1 for £1) Repairs to Waikawa Bay, French Pass, wharf (£1	430	1
		for £1)	20	
	126	Superannuation of R. C. Hunter, injured on	3	* * * * * * * * * * * * * * * * * * * *
	127	Tutanekai" Survey of unseaworthy ships	90	•
	128	Telephone services (including installation, extensions,		ů.
	129	maintenance, rent, and calls)	150	
	130	*Temporary assistance Tide-tables, preparation of	$\begin{array}{c c} 1,125 \\ 550 \end{array}$	
	131	Travelling allowances and expenses	150	. (%
	132 133	Typewriters: Purchase and repairs War medals and ribands for crews of mercantile	50	
		marine vessels	500	
	134	Contingencies, including unforeseen expenditure in-	) }	
		cidental to the other items of the vote	50	1
			16,407	•
		Less estimated credits under section 48 of the Public Revenues Act, 1910		
			1,210	: 72
		Total—Subdivision No. III	·	15,19
		TOTAL—VOTE No. 35	· ;	150,17
	]			100,17

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

# XVII.—DEPARTMENT OF LABOUR.

						19	21–22.	
					Salaries.	Othe	er Charges.	Total.
					£		£	£
ote No. 36	.—I	Department of La	bour		23,506		15,626	39,132
	TC	PŤAL	***		23,506		15,626	39,132
Number of Persons.	tem.				,		1921	1–22.
${1921-22.}$		DE	PARTMENT O	F LAB	OUR.			ı
	1	VOTE No. 36. Salaries—					£	£
			Administrative	Divisio	N.			
1		1 at £800 c Chief Ins	(Secretary, Regi pector and Hous	strar In ing Supe	dustrial Un rintendent	ions,	800	
		_	Professional 3	Division	•			
1		Class D— 1 at £395			•••	•••	395	
			CLERICAL DI	vision.				
1		Class II— 1 at £550					550	
		Class III—			•••			
1		l at £475 Class IV—		• • •	•••	£	475	
4		2 at £450 2 at £425		•••		900		•
*		Class V—		•••		850 	1,750	
$_{2}$		1 at £400 1 at £380		•••		400 380		<u> </u>
1		Class VI—		•••			780	
2		2 at £350 Class VII—		•••	•••	•••	700	
		3 at £270				810		
		1 at £260 5 at £250		•••		260 , 250	,	  -
		3 at £230				690		
		2 at £215			•••	430		
		4 at £160		•••		640		
		2 at £115		•••	`***	230		
27		5 at £100 2 at £85		• • • •	•••	$\frac{500}{170}$		
			us of Officers of	Tuetie -	_		4,980	
		rart satarie	es of Officers of as Clerks of Awa	rds—-	Departmen	ιť		
		4 at £55	O.O.I.B OI II WA	***	•••	220		
5		1 at £10		•••	•••	10	<u></u>	
l					-		230	ſ

Number of Persons.							-22.
1921–22.	1	VOTE No. 36—continued.   SALARIES—continued.			-	£	£
			_				
		GENERAL ]		•	£		
		1 at £405 1 at £395	•••	•••	$\frac{405}{395}$		
		5 at £380	•••	•••	1,900		
		2 at £360	•••	•••	720	ŀ	
		4 at £355			1,420		
		3 at £350	•••	•••	1,050	Į.	
		1 at £345		•••	345		
		5 at £335		•••	1,675	Ì	
		2 at £325	•••	• • • •	650		
		1 at £310 2 at £300	•••	••	310		
	1	1 at £290		•••	600 290		
		1 at £280	•••	•••	280		
		3 at £270	•••	•••	810		
		1 at £250	•••	•••	250		,
		2 at £245			490		
		4 at £230	•••	***	920		
		3 at £184	•••	•••	552		
		1 at £164 3 at £152	•••		164		
		3 at £140	•••	•••	456 $420$	-	
		1 at £115	• • •	•••	115		
53		3 at £100	•••	•••	300		
						14,517	
		Unclass	IFIED.	3	:		
		3 Commissioners of Conci			1,950	(	
		1 Registrar, Arbitration C at £450, 7 months at £5		months	480	,	
		Temporary Clerks—	,00)	•••	400		
		1 at £319	•••	•••	319		
		1 at £241	•••		241	]	
		1 at £241 (10 months)	•••	•••	200		
		1 at £241 (3 months)	•••		60		
		1 at £228	•••	•••	228		
		1 at £156 1 at £156 (3 months)	•••	•••	$\begin{array}{c c} 156 \\ 39 \end{array}$		
		2 at £117	•••	•••	234	į	
		1 at £78	•••	•••	78	İ	
18	1	4 at £65	•••	•••	260	)	
115	-	Lodging-allowance to Cad	ets and	Typists		$\begin{bmatrix} 4,245\\260 \end{bmatrix}$	
	-				-	29,682	
	-	Less proportion of sa payable for the full		rovided for	but not	1,120	
		pagasio for title full	Jour	•••			
		Less proportion of engaged in Housin that vote—	28,562				
		1919–20	•••	•••	824		
		1920–21 1921–22	•••		$\begin{bmatrix} 2,116 \\ 2,116 \end{bmatrix}$		
						5,056	
		O C				*23,506	
	2	OTHER CHARGES FOR AND I			ove or j		
	Z	Advertising, photographs, other publications	books,	пемврар		400	
	3	Allowance to police and	$\frac{\dots}{\text{other}}$	officers a	cting as	±00	
	1	departmental agents		0	0 ~~	900	

 $<sup>\</sup>boldsymbol{*}$  Includes cost-of-living increase to scale salaries or wages.

XVII.—DEPARTMENT	$\mathbf{OF}$	LABOUR—continued.
------------------	---------------	-------------------

Number of Persons.	Item.		1921-9	<b>22.</b>
1001 00	<u> </u>	DEPARTMENT OF LABOUR—continued.		
1921–22.		VOTE No. 36—continued.	£	£
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.		2
	4	Allowance to officers temporarily performing special	·	
	_	or higher duties	240	
	5	Amount required to make good a sum misappro-		
	1	priated in the District Office, Wellington	116	
	6	Audit fees	100 {	
	7	Bicycles: Purchase and upkeep	400	
	8	Cost of special typewritten reports under the Indus-		
		trial Conciliation and Arbitration Act	200	
	9	Donation to the funds of the North Canterbury	10	
	10	Unemployment Committee	10	
	10	Expenses, Medical Referees, under the Workers'	. 5	
	11	Compensation Act, 1908 Fares, board and lodging, and supplies advanced to	9	
	11	persons proceeding to employment	500	
		Fees—	000	
	12	For medical examination of officers	5	
	13	Payable to acting members of the Court of		
		Arbitration	350	
	14	Payable to assessors of Industrial Councils	2,650	
	15	To chairmen of Labour Disputes Investigation	·	
		Committees	50	
	16	Freight, cartage, and transport charges	30	
	17	Fuel, light, power, and water	150	
	18	Law-costs	200	
	19	Office fittings and requisites	150	
	20	Overtime and meal allowances	30	
	$\begin{vmatrix} 21 \\ 22 \end{vmatrix}$	Postage, telegrams, and rent of boxes	1,600	
	23	Printing and stationery Purchase of boots and shoes under section 5 (3) of	2,775	
	20	the Footwear Regulation Act, 1913	5	
	24	Purchase of dwelling-house for official use (including	0	
		insurance, rates, and repairs of same)	30	
	25	Refund to Department of Industries and Commerce	30	
		of salary of P. Hally, acting as Conciliation Com-		
		missioner	700	
	26	Rent restriction: Valuations under War Legislation		
		Act, 1917	100	
	27	Telephone services (including installation, extensions,	600	
	00	maintenance, rent, and calls)	320	
	28	*Temporary assistance	20	
	29	Travelling allowances and expenses	5,000	
	$\begin{vmatrix} 30 \\ 31 \end{vmatrix}$	Typewriters: Purchase and repairs Contingencies, including unforeseen expenditure in-	100	
	91	cidental to the other items of the vote	50	
		Cidential to the other fields of the vote		
			17,186	
		Less estimated credits under section 48 of the	_,,	
		Public Revenues Act, 1910	1,560	
		-	15 696	
		TOTAL—VOTE No. 36	15,626	39,1
		TOTAL—VOLE No. 50		05,1

<sup>\*</sup> Includes cost-of-living increase to scate salaries or wages.

# XVIII.—DEPARTMENT OF LANDS AND SURVEY.

						19	21–22.	
		***************************************		į	Salarie	s. Oth	er Charges.	Total.
Vote No. 37	.—D	epartment of Lan	ds and Survey—		£		£	£
Subdivisio	on I	—Department of	Lands and Surv	e.11	. 191,	162	6,982	198,144
		•		•				
"	11.	—Miscellaneous	Services	•••			56,226	56,226
		ŢOTAL	•••	•••	191,	162	63,208	254,370
Number of Persons.	Item.						192	1-22.
		VOTE No. 8	37.—DEPARTM	ENT	OF LA	NDS		
1921–22.			AND SURV	EY.			£	£
		Subdivision No.	I.—Department	of L	ands and	Survey.		20
	1	Salaries—					ļ	
			Administrative	Divisi	on.			
1		1 at £1,100 (	Under-Secretary	.)	•••		1,100	
			Professional D	ivisio	J			
		Class A-	I HOLESSIONAL D	1 1 1510		£		
		1 at £800		•	•••	800	-	
		6 at £750	••	•	• • •	4,500	L	
10		2 at £700 1 at £650	••	• .	•••	$\frac{1,400}{650}$		
10		Class B—	••	•	•••		7,350	
		1 at £625	•.•			625	.,,,,,	
		1 at £575			•••	575		
4		2 at £550	••		•••	1,100		ļ
		Class C—				0 100	2,300	
		4 at £530 10 at £510	••	•	•••	2,120 $5,100$	1	
		7 at £490	••	•	• . •	3,430		
23		2 at £470				940	1	
	i	Class D-					11,590	}
		18 at £450	••		•••	8,100	1	Ì
		9 at £430	••		•••	3,870		
		6 at £415	••	•	•••	2,490	1	
44		10 at £395	••	•	•••	$3,950 \\ 375$		
44		1 at £375 Class E—	••	•	•••		18,785	
		9 at £350		_		3,150	10,100	
		6 at £330			•••	1,980		
19		4 at £310			•••	1,240		
		Class $F$ —					6,370	
		1 at £230	••	•	•••	230		
		1 at £215	••		•••	215		
		1 at £210	••	•		210		
14		6 at £160 5 at £140	••	•	•••	960 700		
1.2		o au æi±o	••	•	•••		2,315	
			CLERICAL DIV	ISION.			,010	
		Class I—						
_	; l	1 at £650			• • •	650		
2		1 at £600	•••	•	•••	600	4 050	
		Class II—				EEO	1,250	
2	·	1 at £550 1 at £525		•	•••	550 525		
4		1 400 \$5040	•••	•	• • •	UZU	1.075	

Number of Persons.	Item.	VOTE No. 37.—DEPA	ARTMENT O	F LANI	DS AND	1921-9	22.
1921–22.			EY—continued				
		Subdivision No. I.—De	wartment of Lo	ands and	Survey—	£	£
	1.	SALARIES—continued.					
		CLEDICAL.	Division—cont	inned			
		Class III—	DIVISION CONT	070 t00 cc.	£		
		4 at £500	• • • •		2,000		
5		1 at £475 Class IV—		•••	475	2,475	
	1	14 at £450			6,300	4,410	
21		7 at £425	•••	•••	2,975		
		Class V—				9,275	
		1 at £405 21 at £400	•••	•••	8 400		
		10 at £380	•••	•••	8,400 3,800		
39		7 at £365		•••	2,555	•	
		Class VI—				15,160	
		42 at £350 3 at £330	•••	• • •	14,700		
48		3 at £310	•••	•••	990 930		
10		Class VII—	•••	•••		16,620	
		49 at £320	•••		15,680	,	
		6 at £310 2 at £300		•••	1,860		
		10 at £290	•••		$\frac{600}{2,900}$		
		18 at £270	•••		4,860		
		13 at £250	•••		3,250		
		2 at £240	* •	•••	480		
		21 at £230 28 at £215	•••	•••	4,830 6,020		
		1 at £210	•••		210		
		43 at £160			6,880		
		1 at £141	· • •		141		
		9 at £140 54 at £115	•••	•••	$\frac{1,260}{6,210}$		
		36 at £100	•••	•••	3,600		
312		19 at £85	•••		1,615		
		Conve	RAL DIVISION.			60,396	
		4 at £450		•••	1,800		
		8 at £430	•••	•••	3,440		
		9 at £415	•••	•••	3,735		
		2 at £410 1 at £400	•••	•••	820 400		
		1 at £395	•••	•••	395		
		1 at £385	•••	•••	385		
		3 at £380	•••	•••	1,140		
		7 at £350 2 at £345	•••	•••	$\begin{array}{c c} 2,450 \\ 690 \end{array}$		
		1 at £340	•••	•••	340		
		5 at £330			1,650		
		3 at £325	•••		975		
		3 at £320 4 at £315	•••	•••	960 1,260		
		1 at £305	•••		305		
		3 at £300	•••	•••	900		
		4 at £290	•••	•••	1,160		
		1 at £280 1 at £275	•••		$\begin{array}{c} 280 \\ 275 \end{array}$		
			•••	•••	265		
		1 20 1 25 20 0					
		1 at £265 5 at £250	•••		1,250	ļ	
			•••				

XVIII.	-DEPARTMENT	OF	LANDS	AND	SURVEY	-continued

Number f Persons.	Item.	VOTE No. 37—DEPARTMI			AND	1921–	22.
921–22.		$ ext{SURVEY}{-c}$	ontinued.				
	-	Subdivision No. 1.—Departme		nds and S	urvey—	£	£
	1	Salaries—continued.					
		General Divisio	Nconti	med.	£		
		1 at £206			206		
		1 at £200			200	i	
		2 at £184			368		
		5 at £180			900	1	
		8 at £164		•••	1,312		
		3 at £160	• • •		480		
		1 at £156	•••	•••	156		
		18 at £152 8 at £140	•••	•••	$\substack{2,736\\1,120}$		
		1 at £130	•••	•••	130		
		5 at £124	•••		620		
		6 at £115			690		
		9 at £100			900		
152		2 at £85			170		
						37,533	
696		Cadets' lodging-allowance	•••	•••	•••	2,080	
	-	1				105 654	
		Less estimated amou	nt of gol	ariae not	hariman	195,674	
		for the year	ii oi sai	ai165 1100	required	4,512	
		Tor allo your	•••	•••	•••		
						*191,162	
		OTHER CHARGES FOR AND INC	DENTAL	то			
	2	Account, record, and other			cost of		
		material, printing, and b	inding)	•••		1,250	
	3	Advertising, photographs,	books,	newspape	rs, and	2 222	
	1	other publications	 11	···		3,000	
	4	Allowances to officers temp	porariiy j	periorming	g special	150	
	5	or higher duties Grant to officers on retire	ment in	lien of	leave of	150	
	٥	absence—	MICHU III	iiou oi	£		
		H. J. Callender, Draugh	tsman, A	uckland	$\widetilde{123}$		
		F. Carrington, Chief	Draught	sman,			
		New Plymouth		•••	88		
		J. G. Clare, Draughtsma	n, Gisbo	rne	123		
		A. McIntosh			80		
		A. B. Harding, Land Tran	isier Dra	ugnts-	110		
		man, New Plymouth	rhtamer	Blen-	113	İ	
		H. Maitland, Chief Draugheim	511 norman,	יינפון.	123		
			•••	•••		650	
	6	Classification and valuation	n of lan	ds and spe	ecial re-		
		ports			•••	500	
	7	Commission on money-ord		•••	•••	3,000	
	8	Contract and schedule surv	eys			7,000	
	9	Draughting work by con		cluding p	lans on	700	
	10	titles, Court orders, &c.			·	700	
	$  \begin{array}{c c} 10 \\ 11 \end{array}$	Education Reserves: Expe Equipment and wages of s				250	
	$\frac{11}{12}$	Freight, cartage, and trans				35,000 200	
	13	Fuel, light, power, and wa	ter			300	
	14	Inspection, management, &	c., exper	nses of set		300	
		forest, and flax lands-			£		
		Extra Rangers			*3,000	ļ	•
		Travelling-expenses, &c.	•••	•••	10,000		
			, ,			13,000	
	15	Instruments, machinery, a	nd plant	•••		3,500	
	16	Insurances	010	•••	•••	50	
	17	Kauri-gum Industry Act, 1 Rangers' salaries, travell		ther over	nges	100	
	41	. Trangers saratres, craven	யத் வாய் டி	TOTTOL GYDE	TT000	100 ,	

Number of Persons.	Item.		<b>1</b> 921-	-22.
1921–22.		VOTE No. 37.—DEPARTMENT OF LANDS AND SURVEY—continued.	£	£
•		Subdivision No. I.—Department of Lands and Survey—continued.		
	18 19 20	OTHER CHARGES FOR AND INCIDENTAL TO—continued.  Law-costs  Motor vehicles: Purchase and maintenance  Office-cleaning	200 2,200 100	
	21	Office fittings and requisites (including printing and stationery)  Overtime and meal allowances	8,000	
	23 24	Postage, telegrams, and rent of boxes Premiums to teaching-surveyors (teaching survey	6,000	
	25 26	cadets)  Rent  Telephone services (including installation, extensions,	200 850	
	27	maintenance, rent, and calls)	750	
	28	Extra typists	8,000*	
		Extra surveyors Extra surveyors assistants \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \		
	29 30 31	Travelling allowances and expenses Trigs and standards, establishment and maintenance of Contingencies, including unforeseen expenditure incidental to the other items of the vote	4,000* 9,000 200	
		Less estimated credits under section 48 of the	108,650	
		Public Revenues Act, 1910	61,668	
		Less amount to be recovered from Discharged Soldiers Settlement Account for management	46,982	
		and other departmental expenses	6,982	400 44
		$Total-Subdivision\ No.\ I\ \dots \qquad \dots$		198,14
	-	Subdivision No. II.—Miscellaneous Services.		
	32	CHARGES FOR AND INCIDENTAL TO— Aka Aka Drainage Board (subsidy 10s. in £1, on account of £2,500)	500	
	33 34	Audit fees for inspection of accounts  Aukopae Block, Taranaki—  To complete formation in and continuation of	800	·
	35 36	Wanganui River Road  Awaiti Canal and Road  Board of Examiners of Surveyors, grant to	750 1,200 350	
	37	Carriage of dairy-produce, Mahoenui Settlement to Poipoi (subsidy) Cemeteries—	50	
	39	Fencing, forming, and improving cemeteries Clearing willows, Mangapu-Mangaokewa Streams (subsidy, 10s. for £1)	50 250	

st Includes cost-of-living increase to scale salaries or wages.

Number of Persons.	Item.	VOTE No. 37.—DEPARTMENT OF LANDS AND SURVEY—continued.	1921-	22.
921–22.		Subdivision No. II—Miscellaneous Services—continued.		
	40	Charges for and incidental to—continued.  Commission under Section 33, Land Laws Amendment Act, 1920: Expenses of Commission, wit-	£	£
		nesses and interpreters Compassionate allowances to—	180	
	41	C. R. Rule on account of injuries received	200	
	42	Mrs. H. J. Maling on account of special services rendered by her late husband, Captain C. Maling, N.Z. Militia	100	
	43	E. Atkinson for injuries received whilst on duty	100	
	44	Compensation for injuries to employees while in dis- charge of their duties, medical and other attendance during illness, and contingent expenses in connection		
	45	with same	250	
	10	1908, for scenery and other public purposes	100	
	46	Crown lands draining, &c. (general)	50	
	47	Digest of Land Laws of New Zealand: Purchase of copyright, printing, and publishing Drainage—	35	
	48 49	Kapua Swamp and Drain, clearing La Fontaine Creek, Westland District (subsidy,	50	
	50	£1 for £1)	500 350	
	51	Raparapahoe Stream (clearing stream), (subsidy, £1 for £1)	500	
	52	Roto Road Drain (subsidy, £1 for £2)	50	
	53	Te Mapara Drainage Area (subsidy, 10s. in £1)	200	
	54	Tumu-Kaituna Drainage Board: Grant for flood damage Tumu-Kaituna Drainage Board (subsidy, £1 for £1)	350 350	
	56	Erection of river-protective works to protect adjoining lands (including supply of wire to settlers)	50	
	57	Exchange Crown lands for private lands, equality of	25	
	58   59	Expenses of inquiries Expenses of removal of temporary officers	$\begin{bmatrix} 20 \\ 25 \end{bmatrix}$	
	60	Extinguishing fires: Charleston Coalfields (subsidy,	23	
	61	Extinguishing fires on Crown lands, Charleston Coal- field	25	
	62 63	Fees to examiners, draughtsmen's examinations Fencing Section 501, Whangamarino (contribution	25	
	64	towards half the cost) Flax, planting of, on face diggings, Waiharara	104	
	65	Grant: Winton Borough Reserve, Southland	100 75	
	66	Grass-seed for Crown lands	1,000	
	67	Gratuity to Mrs. Winifred Leckie, widow of R. Leckie, Chief Clerk and Receiver of Land Revenue, Christ- church, under Section XL, Civil Service Act, 1866,		
	68	and Section 30, Civil Service Act, 1908 Hauraki Drainage Board (subsidy, 10s. for £1 up to	500	
	60	£2,500, on account)	1,500	
	69 70	Hauraki Plains, metalling roads in Hauraki Plains: Maintenance of completed works, drains, &c. (£5,000, less estimated recovery from	100	
	71	rates, £4,750) Kapiti Island— Expenses of supervision and maintenance of oil-	100	
	'-	launch	200	
	72 73	Fencing and improvements  Kauri-gum Royal Commission: Expenses of Commissioners	100	
	74	Kawa Drainage Board: Construction of and deepening drains (subsidy, 15s. for £1, on account of	1,750	
	n=	£1,500)	200	
	75	Kea suppression, contribution to Department of Agriculture towards cost of	700	

Number F Persons.	Item.	VOTE No. 37.—DEPARTMENT OF LANDS AND SURVEY—continued.	1921-	22.
921–22.				
		Subdivision No. II.—Miscellaneous Services—continued.	£	£
		CHARGES FOR AND INCIDENTAL TO—continued.		
	76	Land Boards: Fees to members, and including ex-	4 000	
	77	penses in lieu of fees	4,000	
	77	Lake Takapuna Board, expenses of	200	
	78   79	Lake Wanaka mail-service (subsidy) Maintenance and construction of roads before handing	25	
	19	over to local bodies	7,500	
	80	Mackenzie County Plantation Reserves: Cost of	7,000	
		planting trees	844	
	81	Mangateka Road, Block I, Tangitu Survey District	50	
	82	Matanui Hall Reserve: Grant for improvements to		
		land	30	
	83	Matata-Whakatane Road: Bridges across Rangitaiki		
		and Tarawera Rivers (on account of £2,000)	1,360	
	84	Matata water-supply	250	
	85	Meal allowances (in addition to overtime), being re-		
		fund of expenditure incurred by members of staff		
		in Auckland and North Auckland Districts while		
		engaged upon work during division of district, payment of	70	
	86	Malan Dinon Mail Couries (ambaides)	25	
	87	Noxious weeds on Crown land, eradication of	1,500	
	88	Oraka Creek Outfall: Cost of improving, clearing, and	1,000	
		snagging	100	
	89	Payment of capital value of land to be acquired in		
		lieu of post-office site (Wainui Domain)	50	
	90	Payment of capital value, Section 13, Waipara Town-		
		ship, set aside at as a hall-site (Waipara Peace		
		Memorial)	20	
	91	Payment of compensation in connection with adjust-	70	
	00	ment of boundaries, Section 68, Waikumete Parish	50	
	92	Payment to Kaitieke County Council on account of	90	
	93	exemption from rates granted to soldier settlers Pongakawa: Boring for water	200	
	94	Preventing encroachment of rivers on Crown reserves	50	
	"	Protective Works—	90	
	95	Clarence River stock reserve	730	
	96	Small Grazing-run 102c	150	
	97	Pukahu Road formation	62	
	98	Purchase of seed wheat for soldiers	55	
	99	Rabbiting unlet Crown lands	200	
	100	Rangitaiki Drainage District, general road-construc-		
		tion in	50	
	101	Rangitaiki Drainage: Bank-protection, Tarawera	220	
	100	River at Te Teko	250	
	102	Rangitaiki Land Drainage—		
		Grant on account towards construction of main Arterial Road through Rangitaiki Plains	1 000	
	103	Rates on unoccupied Crown Lands: Rangitaiki Land	1,200	
	103	Drainage Account (Section 6, Rangitaiki Land		
		Drainage Act, 1910)	450	
	104	Reclamation of sand-dunes and dune areas, and pur-		
		chase of marram-grass	1,500	
		Recreation-grounds and Domains—	,	
	105	Allotment 89, Onewhero: Payment to Education		
	1	Endowment Deposit Account, equalizing ex-	1	
		change	340	
	106	Blackball Domain, Westland	50	
	107	Brightwater Domain, Nelson	150	
	108	Cave Domain, Canterbury	$\frac{25}{50}$	
	109	Cobden Domain (subsidy, £1 for £1)	50	
	110	Edendale Domain	100	
	111	Fencing and improvement of recreation-grounds	50	

Number of Persors.	Item.		1921-	22.
1921–22.	<u>-</u>	VOTE No. 37.—DEPARTMENT OF LANDS AND SURVEY—continued.		
		Subdivision No. II.—Miscellaneous Services—continued.	£	£
		Charges for and incidental to—continued.		
		Recreation-grounds and Domains—continued.		
	112	Hetama Hamlet: Purchase sections 1 and 2,	145	
	113	Block XI, for recreation Reserve Johnson's Park, Feilding (subsidy)	$\begin{bmatrix} 145 \\ 200 \end{bmatrix}$	
	114	Little Shoal Bay Reserve: Northcote Borough		
		Council (subsidy, £1 for £1, towards improve-		
	115	ments)	64	
	$\begin{vmatrix} 115 \\ 116 \end{vmatrix}$	Maungakaramea Recreation-ground Mt. Maunganui Domain improvements (subsidy, £1	80	
	110	for £1) stockey, £1	127	
	117	Northcote Point Domain (subsidy, £2 for £1)	26	
	118	Onerahi Domain (subsidy, £1 for £1)	60	
	119	Papakura Domain (subsidy, £1 for £1)	500	
	120	Pukemiro Recreation Reserve (subsidy, £1 for £1)	20	
	121	Raglan Domain (subsidy, £1 for £1)	50	
	$\begin{array}{c c} 122 \\ 123 \end{array}$	Rimu Domain (subsidy, £1 for £1)	25	
	125	Snowden Bush Domain, adjusting amount paid out of Scenery Preservation Account for purchase of	500	
	124	Taupo Domain Board	50	
	125	Te Araroa Domain: Compensation for difference in		
		values between Sections 33 and 20, Te Araroa		
	1	Township	350	
	126	Te Aroha Bridge Domain	50	
	127	Tuatapere Domain (subsidy, 10s. for £1)	50	
	$\frac{128}{129}$	Uretara Domain Board (subsidy, £1 for £1) Waiuku Domain: Purchase of Land	50 750	
	130	Waiuta Domain (subsidy, £1 for £1)	50	
	131	Whangateau Domain (subsidy, £1 for £1)	100	
	132	Refund of second-class railway fares to discharged		
	1	soldiers applying for land	100	
	133	Refunds for improvements effected Remission of Rates—	50	
	134	Allotment 30c, 2B, Nos. 3 and 4, Rangitaiki Parish	1	
	135	Lot 2 of Part Section 148, Matata Parish	2	
	136	Lot 3, Section 6, Block I, Waitoa	3	
	137	Remission of rent to members of Expeditionary Forces under section 23, Land Laws Amendment Act, 1915	730	
	138	Removal of sunken and derelict logs, Northern	100	
		Wairoa River	300	
	139	Removing sunken logs from Kaihu River	300	
	140	Removing sunken logs from Mangawhara Stream	100	
	141	Repairs and alterations to buildings on Crown lands	50	
	142	River Protective Works— Sections 2 and 7, Blocks XIII and XIV, Culverden	20	
	143	Education Reserve, Section 1, Okato Town Belt, Kaihihi Stream (subsidy, £1 for £1)	10	
	1	Road Access—	10	
	144	Access to No. 3 Block: Formation of Rukehanganui		
		Road (subsidy, £1 for £1)	300	
	145	To Crown lands: Purchase of land for severance		
	140	areas, and fencing	1,500	
	146	Clarence Valley, Marlborough	$\begin{array}{c c} 998 \\ 5,000 \end{array}$	
	147 148	To Double Hill runs (on account £12,000) Herekino-Whangape Road	300	
	149	To Section 17, Block VI, Hokianga S.D.	100	
	150	Huirua Block Road	1,500	
	151	Sections 9 and 10, Block XIII, Inangahua Survey		
		District	500	
	152	Small Grazing-run 102B, Kaitarau S.D.	200	
	153	Kaniwhaniwha Loan Block	640	

Number of Persons.	Item.		1921-	22.
		VOTE No. 37.—DEPARTMENT OF LANDS AND		
1921-22.		SURVEY—continued.		
			£	£
		Subdivision No. II.—Miscellaneous Services—continued.		
		CHARGES FOR AND INCIDENTAL TO —continued.		
		Road Access—continued.		
	154	Kurapete Road: Clearing slips, &c	430	
	155	Blocks III and IV, Kaihu S.D.: Access from		
1		Awakino to Railway-station	70	
	156	To Lochinvar Run, Canterbury	800	
	157	Kumara-Kapitea Road: Payment of compensation	004	
ļ	158	and erection of fencing	$rac{224}{172}$	
1	159	Mackenzie County Runs	400	
	160	Moerangi Block	1,400	
	161	Motatau Extension Block	350	
	162	Ngatapa Block, access to	400	
	163	Omahu Block, Ohinemuri Survey District	1,000	
	164	Section 38, Block XV, Oparara S.D	200	
	165	Oparau Block	650	
	166	Pakuratahi Block	535	
1	167	Paraheka Valley Road	200	
	168	Purahotangahia Block: Completion of road forma-		
	100	tion	2,200	
	169	Access to Pastoral Run 173, Canterbury: Bridge	050	
j	170	over Broken River	250	
	170	Through Poukawa drainage area (subsidy, £1 for	425	
	171	£1) Ruatoki to Whakatane River Valley (subsidy,	420	
	111	£1 for £1) (subsidy,	25	
ļ	172	Through Section 79, Block II, Rangiriri S.D. (sub-	20	
		sidy, £1 for £1)	400	
	173	Run 149A, Leatham Survey District	600	
	174	Run 107, Marlborough	150	
	175	Run 124, Marlborough (subsidy, £1 for £1)	100	
	176	Small Grazing-run 189 and Lease in Perpetuity 279,	į	
		Marlborough	100	
	177	Takahue-Whangape Block (on account of £2,000)	930	
	178	Block VIII, Tutamoe	250	
	179	Henderson Block, Swanson: Grant, £500 (subsidy,	000	
	180	£3 to £1—£400) Section 9, Block XV, Waioeka	900   180	
	181	Section 4, Block XI, Upper Waitara: Erection of	100	
	101	bridge	300	
	182	Township of Waimarino	144	
	183	Through Section 271, Waiawa Survey District,	,	
İ		being purchase of 5 acres for road and fencing		
		same	350	
	184	Wharepunga Extension No. 3 Loan Block	500	
		Roading—	[	
	185	Sections 24 and 71, Tokatoka	150	
	186	Waitakaruru-Morrinsville Road	850	
	187	Ship Cove and other reserves and expenses		
		in connection with preservation of scenery (including electing of a firehelt)	10	
	188	ing clearing of a firebelt) Social hall at Mokowhai Settlement (subsidy, £1	10	
	100	f 01)	200	
	189	South Westland mail-steamer subsidy	600	
	190	South Island Landless Natives—	500	
		Monetary grants in lieu of land	2,215	
	191	Special rates to local authorities	100	
I	192	Stewart Island: Interest on £2,000, part purchase-		
		money; annual payment, £160	160	
	193	Tarawera Bridge and river-bank protection	65	
	194	Te Akau to Raglan ferry service (subsidy)	30	
]:	195	Telephone extension, Murumuru-Waipapa (cost of		
j		material)	24	

£254,370

# $Appropriations \ for \ Consolidated \cite{Services}.$

### XVIII.—DEPARTMENT OF LANDS AND SURVEY—continued.

Number of Persons.	Item.		1921-	22.
		VOTE No. 37.—DEPARTMENT OF LANDS AND		
<b>1921–2</b> 2.		${f SURVEY-} continued.$		o
		Subdivision No. 11.—Miscellaneous Services—continued.	£	£
		CHARGES FOR AND INCIDENTAL TO—continued.		
	196	Telephone extension, Otamakapaua Block, cost of construction	101	
	197	Tokanui–Haldane Road, Southland Tokatoka Block—	300	
	198	Drain through Section 62, Block XVI, Tokatoka: Cost of acquisition, severance, &c	20	
	199	To Kowhai outlet-drain through Section 1, Block XVI, Tokatoka (subsidy)	250	
		Tokatoka, Nos. 1, 2, and 3 Blocks—	200	
	200	Formation of roads and widening drains under control of Otamatea County Council	2,018	
	201	Widening and improving drains under control of Raupo Drainage Board	1,200	
	202	Tokatoka Swamp: Stopbank and drainage	750	
	203	Tokatoka Swamp drainage (subsidy, £1 for £1 up to £300, with grant £700)	550	
	204	Upper Waioeka District: Improvement to roads and tracks	100	
	205	Value of improvements on pastoral and small grazing- runs on expiry of license, payment of, to outgoing		
		lessees	500	
	206	Waikato River Board— Clearing willows, Whangape Stream (subsidy, 10s.		
	207	for £1)	150	
	208	for £1)	203 400	
	208	Waitakaruru-Pokeno Road Waitakaruru Stream Canal Bridge	850	
	210	Waitoa River: Snagging (above junction with Piako River)	100	
	211	Waitoa River: Snagging south of railway line (sub-	100	
	212	sidy, 10s. for £1) Wanganui River (improvement)	2,500	
	213	Wanganui River mail service	1,913	
	$\begin{array}{c} 214 \\ 215 \end{array}$	Water-supply (experimental tests) Water-supply for settlers, Tematai Road, Te Puke	50	
	410	(subsidy, £1 for £1)	750	
	216	Water-supply: Otawhao Settlement	150	
	217	Westport-Karamea mail service, subsidy towards	300	
•	218	Waihi-Katikati main arterial road (grant)	50	
	219	Westport-Greymouth (coast) Road, Charleston to Brighton section (subsidy)	500	
		- Digition soonen (substay)		
		Less commitments which will not be expended	84,558	
		during the year	20,000	
		Less credits in reduction of expenditure	64,558 4,000	
			60,558	
		Less estimated credits under Section 48 of the Public Revenues Act, 1910	4,332	
		W + 1 0 1 1' ' N T T	x,002	56,220
		TOTAL—VOTE No. 37		254,370

 ${\bf TOTAL}$ 

# XIX.—VALUATION DEPARTMENT.

						1	921–22.		
			<b>i</b> ; ::		Salarie	os. O	ther Charges.	Total.	
Vote No. 38.—Valuation						,114	£ 22,058	£ 62,172	
		TOTAL			40 ,	,114	22,058	62,172	
Number of Persons.	ltem.		· · · · · · · · · · · · · · · · · · ·	er e eretatu <del>zui</del> n	- , <del></del>	<del></del>	1921	L <b>–22.</b>	
1921–22.	- <b>-</b> -	VOTE No. 38.	VALUA	TION.					
1921-22.	1	Salaries—	oministrati	ve Division	٧.		£	£	
1		1 at £950 (Va	luar Canara	l also £100	Dublia	Samuia			
J.		Board of Ap	ppeal)			Dervio	. 950		
			Unct	ASSIFIED.					
	,								
1		1 at £800 (Pre	esident of A	ssessment (	Court)	• •	. 800		
	i		CLERICAL	Division.					
1	1	Class I— 1 at £600		•			. 600		
1		Class II—		•••	•••	••	.   000		
2		2 at £550		• • •	•••	• •	. 1,100		
2		Class III— 2 at £500					1,000		
		Class IV—						1	
1		1 at £450 Class V—		•••	•••	£	. 450		
	}	5 at £400		•••	•••	2,000			
0		2 at £380		•••	•••	760			
9		2 at £365 Class VI—		•••	•••	730	3,490	i i	
		13 at £350				4,550	)		
15		2 at £330 Class VII—		•••	•••	660			
		15 at £320				4,800	$\begin{bmatrix} -5,210 \end{bmatrix}$		
		2 at £310		•••		620	)		
		2 at £290		•••	•••	580			
		2 at £270 1 at £230		•••	•••	540 230			
		2 at £215		•••	•••	430			
		2 at £160			• • •	320			
	1 1	3 at £120			• • •	360		1	
		1 at £100			• • •	100			
31		1 at £85		• • •	•••	88			
		Lodging-all	owances	•••			8,065 . 70		
			GENERAL	Division					
		5 at £575	CHERRII	DIVISION.		2,87	5  -		
		7 at £550		•••	•••	3,850			
		5 at £525		•••	•	2,628	5		
		2 at £500		•••	•••	1,000			
	111	7 at £475		•••	•••	3,32			
	1 '''	3 at £450 1 at £250		•••	•••	$\frac{1,350}{250}$			
		1 at £230		•••	•••	230			
	1	T (ME MONO)				40	, .	1	

XIX	VALITATION	DEPARTMENT-	-continued
** T **	MALCALLON		-001606166666

Persons.	Item.		1921-	-22.
921–22.	 	VALUATION—continued.		
1921-22.		VOTE No. 38—continued.	£	£
	1	SALARIES—continued.		-
	1			
	1	GENERAL DIVISION—continued.		
	i	6 at £206 1,236 2 at £164 328		
		$3 \text{ at } \pounds 152$ $326$		
		1 at £150 150		
	İ	1 at £124 124	ì	
		$2 \text{ at } \pounds 115$ $230$		
53	l	7 at £100 700	10.500	
116		Tallia Name	18,729	
116		Lodging-allowance	30	
			40,494	
		Less proportion of increases to salaries provided	20,101	
		for but not payable during current year	380	
	i			
	ĺ		*40,114	
	İ			
		OTHER CHARGES FOR AND INCIDENTAL TO-		
	2	Advertising, books, newspapers, and other publi-		
		cations	100	
	3	Assessment Court expenses	250	
	4	Audit fees for inspection of accounts	40	
	5	Fees to valuers	14,000	
	$\frac{6}{7}$	Freight, cartage, and transport charges	50	
	$\begin{bmatrix} 7 \\ 8 \end{bmatrix}$	Fuel, light, power, and water Law-costs	$\begin{array}{c c} 20 \\ 100 \end{array}$	
	9	Maps, tracings, schedules of land transactions, &c	800	
	10	Office-cleaning	30	
	11	Office fittings and requisites (including printing and		
		stationery)	2,200	
	12	Payment to Post and Telegraph Department for		
	10	services of officers	50	
	13	Postage, telegrams, and rent of boxes	1,400	
	15	Rent Revision of districts	$\frac{50}{6,500}$	
	16	Telephone services (including installation, extensions,	0,000	
	1.	maintenance, rent, and calls)	300	
	17	*Temporary assistance	5,500	
	18	Travelling allowances and expenses	8,000	
	19	Typewriters: Purchase and repairs	100	
	20	Contingencies, including unforeseen expenditure in-	50	
		cidental to the other items of the vote	50	
			39,540	
		Less contribution from—	,	
	1	Land-tax Department 15,875	-	
		New Zealand State Advances		
		Office 1,000		
		Recoveries from District Valuers in respect of motor-cars purchased 607		
		respect of motor-cars purchased 607	17,482	
			11,102	
			22,058	
		TOTAL—VOTE No. 38		62,

\* Includes cost-of-living increase to scale salaries or wages.

#### XX.—ELECTORAL DEPARTMENT.

						192	1–1922.	
				,	Salaries.	Othe	r Charges.	Total.
Vote No. 3	9.—]	Electoral	•••	•••	£ 3,017	,	£ 2,933	£ 5,950
		TOTAL	•••		3,017		2,933	5,950
Number of Persons.	Item.			. The transfer of the second	8.2 ( ) 2.2 ( ) 112 <u></u>		192	1–22.
1921–22.	1	VOTE No. 39. Salaries—	ELECTO				£	£
1		Class II— 1 at £550	OZZMICKE Z	•••		•••	550	
1		Class V 1 at £400		•••			400	
3		1 at £206 For payments	GENERAL I	•••	•••	••• ··	206 1,872	-
			portion of sal e during curr		vided for bu 	t not	3,028	
		4					*3,017	-
	2	OTHER CHARGE Advertising, other publi	photographs,	books,		and 	5	
	$\begin{bmatrix} 3\\4\\5 \end{bmatrix}$	Audit fees Expenses of the Fees payable	to J. Strauch			oer of	1,050	
	6 7	Freight, carts Fuel, light, p	ower, and wa	sport char	mission ges	•••	43 50 10	
	8 9 10	General Elec Expenses of Preparation Law-costs		g of rolls	•••		10 10 5	
	11 12 13	Licensing pol Licensing Co Office fittings Payment to	mmittee elect and requisit	ion es	•••		5 5 10	
	14 15 16	retireme A. C. W. I R. W. Perc		April to 2 to 4th Ma	5th May, 19 y, 1922		4 2 4	
•	17 18	Postage, tele	grams, and re			•••	200	

Includes cost-of-living increase to scale salaries or wages.

# XX.—ELECTORAL DEPARTMENT—continued.

Number of Persons.	Item.		1921-2	22.
1001 00	<u> </u>	${\bf ELECTORAL-} continued.$		
1921–22.		VOTE No. 39.—continued.	£	£
	19 20 21 22 23 24	OTHER CHARGES FOR AND INCIDENTAL TO—continued.  Rent  Representation Commission, expenses of  Special licensing poll, expenses of taking  Travelling allowances and expenses  Typewriters: Purchase and repairs  Contingencies, including unforeseen expenditure incidental to the other items of the vote	200 1,200 5 50 5	
		TOTAL—VOTE No. 39	2,933	<b>5,9</b> 5

# XXI.—DEPARTMENT OF AGRICULTURE.

						1	1	921–22.	•
						Salarie	es. Ot	her Charges.	Total.
	•				1	£		£	£
Vote No. 4	10.—A	griculture	•			172,	599	159,369	331,968
		TOTAL				172,	599	159,369	331,968
Number of Persons.	Item.		AGRICU	ULTURE				1921	-22.
1921–22.	<del> </del>	VOTE No. 40.							
		HEAD OFFICE Salaries—						£	£
	1	Summes—	Administrat	rive Divi	SIO	N.	£		
2		1 at £1,200 1 at £800 (	(Director-Ge Assistant Dir	eneral) rector-Gei	nera	 al)	1,200 800		    -
	1		Profession	al Divisi	ON.			2,000	
1		Class A— 1 at £750 Class B—	0			•••		750	
3		2 at £600 1 at £550					$1,200 \\ 550$		
2		Class C— 2 at £470 Class D—	0	•••				1,750 940	
		4 at £450		•••		•••	1,800 430		
8		1 at £41 2 at £36		••		•••	$\frac{415}{720}$		
2		Class E— 1 at £35 1 at £33					350 330		
		Class F— 4 at £210 1 at £16				•••	840 160		
6		1 at £120	0	•••			120		,
		Class II—	CLERICAL	Division	N.				
1		1 at £55 Class III—	-	•••		•••	•••	550	
•2		1 at £500 1 at £470 Class IV—	5 (3 months)	•••		•••	500 119		
		1 at £5	20 (also Prival allowance						
		classif	ication allowa				520		
ခ်		2 at £450 Class V—		•••			900	- 1,420	
7		6 at £40 1 at £38 Class VI—	0	•••			$ \begin{array}{r} 2,400 \\ 380 \\ \end{array} $	2,780	
10		8 at £35 2 at £33	0	•••		•••	2,800 660		İ
		Class VII- 10 at £3 3 at £31	20	•••			3,200 930		
	1	1 at £29		•••		•••	295		į į

#### XXI.—DEPARTMENT OF AGRICULTURE—continued.

Number of Persons.	Item.				İ	1921-9	22.
1921–22.		AGRICULTU	RE—contin	ued.	-		
1921-22.		VOTE No. 40—continued.				£	£
	.1	HEAD OFFICE—continued. Salaries—continued.					
		CLERICAL DIVIS	sion—contin	ued.			
		Class VII—continued.			£		
		2 at £290	•••	•••	580		
		4 at £270 10 at £250	•••	•••	1,080 2,500		
		3 at £230	•••		690	)	
		6 at £160		•••	960	}	
		4 at £130	•••	•••	520		
	ļ	4 at £115	•••	•••	460		
49	ļ	2 at £100	•••	•••	200	11 /15	
		GHNERAT.	Division.			11,415	
		1 at £500			500		
		1 at £495	•••		495		
		1 at £450	•••	•••	450		
		1 at £450 (5 months)	•••	•••	188		
		3 at £395 3 at £390	•••	•••	$\begin{bmatrix} 1,185 \\ 1,170 \end{bmatrix}$		
		1 at £385	•••		385		
		1 at £380	•••	•••	380		
		4 at £370	•••		1,480		
		1 at £365		•••	365		
		1 at £360	•••	•••	360		
		2 at £350	•••	•••	700	ľ	
		1 at £325	•••	••	325		
	}	1 at £320 1 at £310	•••	•••	320 310	1	
	1	4 at £295	•••	•••	1,180		
•	ĺ	3 at £285	•••		855		•
		2 at £270	•••	•••	540		
		1 at £265	•••		265		
	Ì	1 at £250	• • •	•••	250		
		1 at £246	•••	•••	$egin{array}{c} 246 \ 230 \end{array}$		
		1 at £230 1 at £206	•••	•••	206		
		2 at £184	•••	•••	368		
	ļ	2 at £164	•••	•••	328	ļ	
		1 at £155	•••		155		
		2 at £152	•••		304		
		2 at £140	•••	•••	280		
		1 at £140 (3 months) 1 at £105	•••	•••	35 105		
	1	1 at £100	•••	•••	100		
50		1 at £85			85		
	-					14,145	
146		; [			-	*44,994	
		Other Charges for and incid		_	_		
	2	Advertising, printing, sta	ationery, an	d photog	graphs	5,500	
		Agricultural Instruction				men.	
	3 4	Agricultural instructio Co-operative Field Cro			Provision	750	
	<b>T</b>	for Visitors—	r rporime	, wild .	£		
		Wages	•••		500		
		Other expenses	•••	•••	1,000	1 700	
	F .	Departmental Exhibit	te at A ar	d P A	sociation	1,500	
	5	Shows—	וא ייני חיים פו	u I. At	£		
		Wages •	•••		600		
	1	Other expenses			1,150	t t	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages

# ${\tt XXI.--DEPARTMENT~OF~AGRICULTURE--} continued.$

Number of Persons.	Item.	AGRICULTURE—continued.	1921-	22.
1921–22.	<u> </u>	VOTE No. 40—continued.		<del></del>
		HEAD OFFICE—continued.	£	£
		Other Charges for and incidental to—continued.		
	6	Agricultural Investigations—	50	
	_	Montane tussock lands  Regrassing Denuded Lands— £	50	
	7	Regrassing Denuded Lands— & & Wages 40		
		Other expenses 60		
			100	
	8	Storage agricultural seeds	200	
	9	Utilization of Pakihi and Bush Terrace lands	50 50	
	10	Utilization of pumice lands Special entomological investigations	50	
	12	Allowances to officers temporarily performing special	00	
	12	or higher duties	120	
	13	Amount required to recoup Imprest Accounts for		
		vouchers lost in transit after payment	24	
	14	Audit fees for inspection of accounts	75	
	15	Bicycles, motors, and repairs	750 450	
	16	Board of Agriculture Contributions, Subsidies, and Grants—	±00	
	17	Bonus for improvements in phormium-dressing ma-		
	- '	chinery	200	
	18	Contribution to Imperial Bureau of Mycology	100	
	19	Contribution to Imperial Bureau of Entomology	400	
	20	Contribution towards printing report of New Zea-	50	
	21	land Council of Agriculture Grant for travelling-expenses of Dr. R. J. Tillyard	50	
	21	attending entomological conferences in London		
		and Honolulu	340	
	22	Grant to A. E. Mabin to cover expenses of visit		
		to Australia to confer with the British and Aus-	1	
		tralian Wool Realization Association regarding	142	
	23	New Zealand wool Grant in connection with repairs to Levin water-	142	
	25	race	100	
	24	Grant towards expenses Canterbury Seedgrowers'		
		Association	100	
	25	International Institute of Agriculture, contribution	200	
	00	to and cost of representation at	200	
	26	Model dairy farm and experimental area, Stratford Model dairy farm, Stratford: Grant towards cost	400	
	27	of manager's house	500	
	28	Model dairy farm, Manaia	300	
	29	Steamer service, Westport-Karamea	100	
	30	Lincoln Agricultural College in connection with		
		plant breeding and selection (seed wheat and	1 000	
	31	oats) Distribution of pure seed wheat	1,000	
	32	Expenses of Standing Produce Committee	700	
	33	Expenses of New Zealand Wool Committee	150	
		Experimental and Instructional Farms: General	}	
		Working, Rent of Land, Buildings, Purchase of		
		Stock, Provision for Visitors, and Salaries of		
	}	Student Assistants, Learners, Special Instructors, and Domestic Assistants,—		
	34	Moumahaki— £		
	"	Wages 1,700		
	ļ	Other expenses 3,300		
	35	Ruakura—	5,000	
	1	Wages 5,000		
		Other expenses 6,500 Training of discharged soldiers 2,860		
		Farmers' farm school 476		
		New honey-house 500		
		Electric installation 712		
	1		16,048	

# XXI.—DEPARTMENT OF AGRICULTURE—continued.

Number of Persons.	Item.	${\bf AGRICULTURE} continued.$		1921-	22.
1921-22.	-   !	VOTE No. 40—continued.			
1001 20.		HEAD OFFICE—continued		£	£
		Other Charges for and incidental to—continued.			
		Experimental and Instructional Farms, &c.—c.	ontd.		
	36	Ŵeraroa—	£		
		Wages	5,000		
		Other expenses	6,500		
		Buildings and equipment taken over	coo		
	1	from Repatriation Department	600	10 100	
	37	Ashburton—		12,100	
	31	Wassa	300		
		Other expenses	800		
		Other expenses		1,100	
	38	Waimaunga (West Coast, S.I.)	į	2,200	
		Wages	500		
		Other expenses	1,300		
			·	1,800	
	39	Experimental Areas—			
	'	Galloway—			
		Wages	200		
	1	Other expenses	<b>35</b> 0		
				550	
	40	North Auckland Gum Lands—			
		Wages	100		
	1	Other expenses	100	222	
				200	
	41	Winton—	000		
		Wages	300		
		Other expenses	654	054	
	40	A 11		954	
	42	Albany—	150		
		Wages	350		
	-	Other expenses	300	500	
	43	Puwera—		000	
	1 20	Wages	500		
		Other expenses	700		
		Other onponess		1,200	
	44	Marton—	Ì	_,	
		Wages	200		
	1	Other expenses	300		
				500	
	45	Gore	1	\	
	1	Wages	100		
		Other expenses	200		
				300	
	46	Lucerne Areas—		}	
		Wages	30		
		Other expenses	70	100	
	1			100	
	47	Experimental seeds and plants for distribution	•••	25	
	48	Freight, cartage, and transport charges	•••	100	
	49	Grading grain	•••	50	
		Laboratories—		900	
	50	Biological Laboratory and Seed-testing static	i	800	
	51	Chemical Laboratory	•••	300	
	52	Law-costs	•••	25	
	F0	Lime production—		900	
	53	Development of lime production	lied to	200	
	54	Subsidy Buller County Council on lime supp	neu 10	50	
	E E	Pakihi lands	Lima	90	
	55	Subsidy West Coast Farmers' Co-operative		225	
	EG	Company Subsidy Silverstream Lime Works, Bainham	•••	75	
	56	Subsidy Motueka Lime Co	• • • •	100	

### ${\tt XXI.--DEPARTMENT~OF~AGRICULTURE--} continued.$

Number of Persons.	Item.			1921-	<b>22.</b>
1001 00	·	${\bf AGRICULTURE} continued.$			
.921–22.		VOTE No. 40—continued.		£	£
		HEAD OFFICE—continued.			
		Other Charges for and incidental to—conting	ued.		
		New Zealand Hemp Industry—			
	58 59	Grading New Zealand hemp		50	
	99	Investigations respecting yellow-leaf di ing flax	sease aneci-	150	
	60	Postage, telegrams, and rent of boxes		6,500	
	61	Preparation and distribution of publication	ns	6,100	
	62	Promotion of sale of New Zealand produc markets	e in outside	400	
	63	Purchase of books, newspapers, and other	publications	500	
	64	Purchase of stud stock, including expense			
		ation		567	
	65 66	Removal expenses Rents of Offices in New Zealand and a	hroad Fuel	400	
	00	Light, Water, Furniture, Office Re-			
		surance, Cleaning Offices, Outbuildi			
	}	and Approaches—	£ 100	ļ	
		Wages Other expenses	. 400 . 1,300		
		····		1,700	
	67	Seed wheat and manure supplied under g		50	
	68	Telephone services (including installation	, extensions,	450	
	69	maintenance, rent, and calls) Temporary assistance		2,700	
	70	Travelling allowances and expenses		7,700	
	71	Travelling-expenses of Dr. C. J. Reakes,	in connec-	100	
	72	tion with visit to Australia	and Fances	120	
	12	Upkeep and Improvement of Buildings on Departmental Reserves and Grou			
		Wages	. 80		
		Other expenses	. 120	200	
	73	Visit of Australian potato expert to New	Zeeland	200 135	
	74	Contingencies, including unforeseen exp		200	
		cidental to the Head Office items of the	vote	50	
				*86,375	
		LIVE-STOCK DIVISION—			
	75	Salaries—			
		Professional Division.			
1	}	1 at £800 (Director)		800	
		Class B—	£		
=		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	2,500 600		
5		Class C—		3,100	
		4 at £530	2,120	3,200	
9		5 at £510	2,550	4 250	
		$egin{array}{cccc} Class D \ 3  ext{ at } \pounds 470 & \dots & \dots \end{array}$	1,410	4,670	
		5 at £450	$\begin{bmatrix} 1,410 \\ 2,250 \end{bmatrix}$	1	
		1 at £430	430		
		2 at £415 (6 months)	415		
10		1 at £415 (8 months) 1 at £375	. 276   375	1	
13		T 00 2010	010	5,156	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

#### XXI.—DEPARTMENT OF AGRICULTURE -continued.

Number Persons.	Item.					<b>1</b> 921–	22.
921–22.	.   	AGRICU	LTURE—conti	nued.	-		
		VOTE No. 40-continu	ued.			£	£
	75	Live-stock Division— Salaries—continued.	–continued.				
			RICAL DIVISION.				
1		Class V— 1 at £450				450	
		Class VI—	•••	•••	•••	100	
1	ļ	1 at £350	•••	•••		350	
		Class VII— 3 at £320			960		
		1 at £270	•••	•••	270		
		1 at £250	•••	•••	250		
_		1 at £215	•••	•••	215		
7		1 at £160	•••	•••	160	1,855	
		Gen	ERAL DIVISION.			1,000	
		4 at £500	•••	•••	2,000		
		20 at £450	•••	•••	9,000		
		9 at £400 1 at £390	•••	•••	3,600	į	
		1 at £387	•••	•••	387		
		8 at £380	•••	•••	3,040		
		1 at £375	•••	•••	375		
		6 at £370 1 at £360	•••	•••	2,220 360	!	
		1 at £358	•••	•••	358		
		35 at £350	•••	•••	12,250		
		3 at £345	•••	•••	1,035		
		1 at £340	•••	•••	340		
		2 at £335 14 at £330	•••	•••	$\begin{array}{c c} 670 \\ 4,620 \end{array}$		
		20 at £325	•••	•••	6,500		
		7 at £320	•••	•••	2,240		
		1 at £310	•••	•••	310		
		3 at £305 9 at £300	•••	•••	$ \begin{array}{c c} 915 \\ 2,700 \end{array} $		
		18 at £295	•••	•••	5,310		
		3 at £290	•••	•••	870		
		2 at £285	•••		570		
		5 at £280 1 at £275	•••	•••	1,400		
		6 at £270		•••	$\begin{array}{c c} 275 \\ 1,620 \end{array}$		
		2 at £260	• • •	•••	520		
		2 at £255	•••	•••	510		
		1 at £250	•••	•••	250		
		12 at £246 1 at £240	•••	•••	$egin{array}{c c} 2,952 &   \\ 240 &   \end{array}$		
		1 at £238	•••	•••	238		
	ļ	1 at £235		•••	235		
		1 at £225	•••	• • •	225		
905		1 at £184	•••	•••	184		
205	_	1 at £164	•••	•••	164	68,873	
239		1 Inspector of Man	ure-sterilizing	•••	550	,-,-	
-	-	1 Assistant to I	nspector of M	Ianure-	2.5		
		sterilizing at Syd	lney	•••	247	Ī	
		1 part-time Veterin	INTINII NO	•••	150	947	
					-		
						*86,201	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

### ${\bf XXI.-\!DEPARTMENT\ OF\ AGRICULTURE-} {\it continued}.$

Number of Persons.	Item.		1921-	2 <b>2.</b>
	-	AGRICULTURE-continued.	1	
		VOTE No. 40—continued.	2	£
		LIVE-STOCK DIVISION—continued.		
	76	Other Charges for and incidental to— Allowances to officers temporarily performing special or higher duties	100	
	77	Bicycles, motors, and repairs	2,400	
	78	Destruction of Noxious Weeds— Destruction of Noxious Weeds on Native Lands—£ Wages 200		
		Other expenses 50	050	
	79	Wages and Expenses in connection with Destruction of Noxious Weeds—	250	
		Wages           300           Other expenses           50		
		-	350	
	80	Destruction of Rabbits— Destruction of Rabbits, General Working-expenses, Poison-mixing Depots, Purchase of Material, &c.—		
		Wages          2,500           Other expenses          8,000		
			10,500	
	81	Destruction of Rabbits on Crown Lands—		
		Wages          5,000           Other expenses          5,000		
	82	Destruction of Rabbits on Native Lands— Wages 4,000	10,000	
		Other expenses 3,500	E 200	
	83	Diseases of Livestock— Applying tuberculin test to cattle and disposing of diseased stock	7,500	•
	84	Experiments in connection with bush-sickness and allied troubles	100	
	85	Inoculation of Calves for "Black-leg"— £ Wages 100	100	
		Other expenses 200	300	
	86 87 88	Subsidies to cost of erection of cattle-dips  Destruction of the kea  Experimental Farm, Mamaku: General Working,	4,000 2,200	
		Buildings, Purchase of Stock, and Provision for Visitors—  Wages 500		
		Other expenses 1,500	2,000	
	89	Grant to H. L. Worthington to cover expenses in connection with rabbit destruction experiments	143	
	90	Inspection of Manure-sterilizing (Australia and India): Labour, Travelling, Office, and other Expenses—		
		Wages 300 Other expenses 3,294	3,594	
		Inspection of meat	600	
	91		000	
	91 92 93	Law-costs	200	
	92	Milton Poultry Farm: General Working, Buildings,	200	

#### XXI.—DEPARTMENT OF AGRICULTURE—continued.

Number of Persons.	Item.		1921-	22.
1001 00	<u> </u>	AGRICULTURE—continued.		
L921–22.		VOTE No. 40—continued.	£	£
		LIVE-STOCK DIVISION—continued.	-	
		Other Charges for and incidental to—continued.		
	94	Poultry Industry: Grants to— Cost of printing report of New Zealand Poultry	l	
	95	Conference  New Zealand Poultry Association's Egg-laying	10	
	96	Competition: Papanui and Southland Preparation of wool specimens for instructional pur-	127	
		poses	100	
	97	Quarantine Stations, Auckland, Wellington, and Lyttelton—		
		Wages          1,000           Other expenses          1,750		
		<u> </u>	2,750	
	98 99	Removal expenses Telephone services (including extensions, main-	1,300	
	100	tenance, rent, and calls) Temporary assistance	800 5,000	
	101	Transit expenses of 1 veterinarian from England and	·	
	102	2 veterinarians from Australia Travelling allowances and expenses	175 21,000	
	103	Veterinary Laboratory: General Working, Land and Buildings, and Investigation of Diseases— £		
		Wages · 150		
		Other expenses 500	650	
	104	Contingencies, including unforeseen expenditure incidental to the Live-stock Division items of the		
		vote	100	
			*78,099	
		Horticulture Division—		
	105	Salaries—		
		Professional Division. ${\it Class~A}$		
2		1 at £700 (9 months) 525 1 at £620 620		
4		Class C—	1,145	
1		1 at £530	530	
		CLERICAL DIVISION.		
1		Class V— 1 at £400	400	
		Class VI—	•	
1		1 at £350	350	
		1 at £310 310		
		1 at £140 140 1 at £130 130		
4		1 at £100 100		
		GENERAL DIVISION.	680	
		1 at £440 440		
		1 at £435 435   2 at £395 790		
		2 at £395 790   6 at £385 2,310		
		1 at £375 375		
		1 at £370 370		
		1 at £360 360		
		4 at £355 1,420		
	1	5 at £335 1,675		
	1	2 at £325 650	I	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

#### XXI.—DEPARTMENT OF AGRICULTURE—continued.

Number of Persons.	Item.	AGRICULTURE-	–contin	ued.		1921-	<b>22.</b>
1921–22.		VOTE No. 40—continued.		-			
	105	Horticulture Division—continuation and Continuation and Continued.	nued.			£	£
		GENERAL DIVISION-	conti	nued.	£		
		0 -4 0915		•••	630	i	
		1 at £310 .		•••	310		
		6 at £300 (2 at £335, 9 mont	hs)		1,852		
		1 at £285	••	•••	285		
		3 at £280 .	••	•••	840		
		2 at £270 .	••	•••	540		
		2 at £265 .	••		530		
		$egin{array}{lll} 1 &  ext{ at } \pounds 246 & & & \ 2 &  ext{ at } \pounds 238 & & & \ \end{array}$	••	•••	246 476		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	••	•••	235		
		1 at £222	••	•••	222		
		1 at £184		•••	184		
		2 at £140		•••	280		
50		1 at £115 .	••	•••	115		
50	.					15,570	
59	-	) (All 1 1 Al 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	7.4.		-	*18,675	
		Other Charges for and incidented Apiary Industry—	u to—				
	106	Establishment of queen-re	earing	aniary. T	a.11ra.nga		
	100	TT 11 1 2 C C C		wpiwij, i		130	
	107	Fostering the bee industry		•••		150	
	108	Grant towards cost of print		ort of Beel	keepers'		
		Conference		···.		20	
	109	Subsidy, National Beekeep	•		of New	100	
	110		· • •	•••	•••	100	
	110 111	Bicycles, motors, and repair Experimental seeds and plan		 diatributio	···	2,500	
	1111	Fruit Industry—	105 101 (	aisutibutio	11	25	
	112	Compensation to nurseryn	en for	loss in cor	nection		
		with fire-blight quaranti		•••		2,108	
	113	Control of fireblight diseas	e			2,900	
	114	Co-operative fruit-testing		•••		120	
	115	Experimental orchard, Pa	panui			550	
	116	Experiments in connection		ool storage	of fruit	50	
	117	Fostering the fruit industr	' <b>y</b>			200	
	118	Fumigation and destructifruit	OH OI 1	шрогtea (	itseased	950	
	119	Grant towards printing	renort	of confer	ence of	350	
	110	New Zealand Fruit-grov			once or	25	
	120	Guarantee on shipments o			:	50	
	121	Importation and breeding	of na	tural ene	mies to		
		insect pests .	••		•••	25	
	122	Tests with new spraying c	ompou	nds	:	10	
	123	Horticultural Stations: Ren					
		ing, Buildings, Purchase Visitors, and Salaries o	of Loon	ock, Provi	sion for		
		structors, and Domestic			Cian In-		
		Arataki—	11001000	, iii	£		
		Wages			650		
		Other expenses		•••	600		
	1.					1,250	
	124	Tauranga—					
		Wages	• • •	•••	700		
		Other expenses	•••	•••	500	1 000	
	125	Te Kauwhata—				1,200	
	120	Wages			2,000		
		Other expenses	• • •	•••	4,700		
		<u> </u>				6,700	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages

### ${\tt XXI.--DEPARTMENT~OF~AGRICULTURE--} continued.$

Number f Persons	Item.				1921–22.			
921–22.	-	AGRICULTURE—continued.						
		VOTE No. 40—continued	d.			£	£	
		HORTICULTURE DIVISION	n—continued.		•			
		Other Charges for and i	incidental to-	continued				
	$\begin{array}{c} 126 \\ 127 \end{array}$	Law-costs Removal expenses	•••	•••		30 500		
	128	Telephone services (i		llation, ex	tensions,			
	129	maintenance, rent		•••		120		
	130	Temporary assistance Travelling allowance	e es and expense	s	•••	$\frac{1,200}{7,800}$		
	131	Travelling-expenses	of G. H. S	Stratford,	Orchard			
		Instructor, in En	150					
	132	Contingencies, inclu						
		cidental to the He	30					
		7000	•••	•••	•••			
						*28,293		
		DAIRY DIVISION-						
	133	Salaries—	*5					
		Class A—	SIONAL DIVISIO	N.				
1		1 at £750 (Directo	or)	•••		750		
1		Class B 1 at £625				625		
•		1 20 2020	•••	•••		020		
		Class V—	ICAL DIVISION.					
1		1 at £400	•••	•••		400		
		Class VII—			£			
		2 at £320 1 at £290	•••	•••	640 290	}		
		2 at £270		•••	540	1		
		1 at £250 1 at £215	•••	•••	$egin{array}{c} 250 \ 215 \end{array}$			
9		2 at £100	•••	•••	200			
		GENE	RAL DIVISION.			2,135		
		17 at £500	•••	•••	8,500			
		7 at £450		•••	3,150 800			
		2 at £400 3 at £380	•••	•••	1,140			
		1 at £365	•••	•••	365			
		2 at £320 6 at £315	•••	•••	640 1,890			
		6 at £305	•••	•••	1,830			
48		2 at £152 2 at £100	•••	•••	304 200			
	-	2 00 0000	•••	•••		18,819		
60	_					*22,729		
		Other Charges for and						
	134	Bicycles, motors, an	6,200					
	135	Contribution towards of National Dairy	20					
	136	Cow-testing Associate	tions	•••	•••	725		
	137 138	Fumigation of cheese Grading of dairy-pro		•••	£	10		
	100	Wages		•••	200			
		Other expenses			250	450		

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

# XXI.—DEPARTMENT OF AGRICULTURE—continued.

Number of Persons.	Item.		1921–22.		
		${\bf AGRICULTURE} continued.$			
1921–22.		VOTE No. 40—continued.	£	£	
		DAIRY DIVISION—continued.			
		Other Charges for and incidental to—continued.			
	139 140	Law-costs Purchase of dairy requisites and produce for experi-	50		
		ments	250		
	141	Removal expenses	250		
	142	Removal expenses of Dairy Produce Officer from New			
		Zealand to London	500		
	143	Semi-official testing of pure-bred dairy cows	250		
	144	Telephone services (including installation, exten-	1		
	1	sions, maintenance, rent, and calls)	200		
	145	*Temporary assistance	7,432		
	146	Travelling allowances and expenses	10,250		
	147	Contingencies, including unforeseen expenditure inci-	[		
		dental to the Dairy Division items of the vote	15		
			26,602		
			391,968		
		Less estimated credits under section 48 of the			
	1	Public Revenues Act, 1910—			
	1	Head Office 23,000	İ		
	1	Live-stock Division 13,000 Horticulture Division 9,000	1		
		Dairy Division 15,000	60,000		
		TOTALVOTE No. 40		331,96	
	ТО	TAL	£331,968		

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

# XXII.—TOURIST DEPARTMENT.

							19	21–22.		
					S	alaries.	Othe	er Charges.	Total.	
Vote No. 41.—Tourists					£ 41,121	£ 55,283		£ 96,404		
		TOTAL				41,121		55,283	96,404	
Number of Persens.	Item.					· <del></del>	<u>'</u>	192	1 -22.	
		VOTE N. 41		RISTS.				102	. 44.	
1921–22.	1	VOTE No. 41. SALARIES—						£	£	
	•		Administra	TIVE DIVIS	sion.			, æ		
1		1 at £800 (	General Mai	nager)				800		
				NAL DIVISI	on.				]	
1		1 at £1,000	0 (Balneolog	ist)*		. 1	£ ,000			
1		Class C-	0 (3 months)	·			118			
1		Class D 1 at £55					550			
-		2 40 200						1,668		
		Class I—	CLERICA	L Division.	•					
1			0 (also Dep					400		
		Class III-	nd Commerc	e, ±300)	• •	•	•••	400		
		2 at £50					,000			
3	ŀ		50 (also Dess and Com							
			ns, £50)				350			
_		Class V—				_		1,350		
7		7 at £400		•••	• •		•••	2,800		
2		2 at £35			• •			700		
		Class VII-				-				
		6 at £32		•••	• •	. 1	920			
		1 at £270 1 at £250		•••	• •	•	$\begin{array}{c} 270 \\ 250 \end{array}$			
		2 at £230		•••	• •	••	460			
	Ì	4 at £21.					860			
		2 at £16					320			
19		3 at £10		•••		•	300			
		Cadets' lod	ging-allowar	ices	•		···	4,380 66		
				ERAL DIVIS	SION.					
		1 at £420					420			
		1 at £400 (	(9 months)	•••			300			
		1 at £355	-		-		355			
	1	2 at £350		•••	•		700			
	I	2 at £340					680	l	1	

<sup>\*</sup> Free house.

#### XXII.—TOURIST DEPARTMENT—continued.

Number f Persons.	Item.					1921–22.			
921–22.	 		RISTS—continu	ed.					
	1	VOTE No. 41—contin	ued.			£	£		
	1	SALARIES—continued	<i>!</i> .						
		GENERAL	Division—cont	inued.	£				
		1 at £335			335				
		1 at £310 1 at £305	•••	• • • •	310 305				
		1 at £300	•••		300				
		3 at £295	• • •	• • •	885				
		2 at £290 1 at £285	•••		580 285				
		1 at £280	•••		280				
		6 at £277		•••	1,662				
		1 at £275	•••		275				
		2 at £270 2 at £265	•••		540 530				
*		1 at £260	•••		260				
		2 at £255	•••		510				
		6 at £254 2 at £250	•••	•••	1,524 500				
		12 at £245	•••		2,940	h			
		1 at £240	•••	•••	240				
		12 at £238 12 at £235	•••	•••	2,856				
		4 at £230	•••	•••	2,820 920				
		1 at £225	•••		225				
		3 at £222	•••	•••	666				
		5 at £220 2 at £215	* • • •	•••	1,100 430				
		2 at £210	•••	•••	420	:			
		1 at £200	•••		200				
		1 at £195 2 at £175	• • •	•••	195 350				
		2 at £170	•••	•••	340				
		1 at £155	•••	• • • •	155				
	1	2 at £152 4 at £150	•••	•••	304				
		1 at £145	•••	•••	600 145				
		6 at £140	•••	•••	840				
	1	3 at £135	•••	•••	405				
		4 at £130 1 at £125	•••	•••	520   125				
		3 at £120	•••	•••	360				
	1	1 at £115	•••	•••	115				
	1	1 at £110 2 at £100	•••	•••	$\frac{110}{200}$				
		3 at £85	•••	•••	255				
134		2 at £80	•••	•••	160	00 #00			
						29,532			
		Uno	LASSIFIED STAF	F.					
		1 at £50 (also D	enartment of In-	Ingtriog					
		and Commerc			50				
2		1 at £25	•••	•••	25				
172	-					75			
	-					41,771			
		Less amounts de	educted for board	, &c.	500	,			
	1	Less proportion	of increases to	salaries	150				
		իւօչյանն որը	not payable for f	ii year	150	650			
	1								
	1					*41,121			

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

## XXII.—TOURIST DEPARTMENT—continued.

Number of Persons.			1921–22.		
1001 00		TOURISTS—continued.		<del></del>	
1921–22.		VOTE No. 41continued.	£	£	
Ì		70113 110. 11—00////////	~	20	
		OTHER CHARGES FOR AND INCIDENTAL TO-			
	<b>2</b>	Advertising, photographs, books, newspapers, and	0.000		
	9	other publications Allowances to officers temporarily performing special	2,300		
	3	or higher duties	80		
	4	Amount required to recoup imprest accounts for			
		vouchers lost in transit after payment	17		
	5	Audit fees	25		
	$\frac{6}{7}$	Bonuses and commissions to Honorary Agents Claims in connection with passenger booking	10 5		
	8.	Compensation under Workers' Compensation for	<b>5</b>		
	-	Accidents Act to dependents of employees killed in			
		discharge of duty	494		
	9	Consulting Balneologist, England, services of	50		
	$\begin{array}{c} 10 \\ 11 \end{array}$	Entertaining-allowances for oversea agents (2) Fox and Franz Josef Glaciers: Tracks and huts	140 75		
	$\frac{11}{12}$	Freight, cartage, and transport charges	50		
	13	Fuel, light, power, and water	100		
İ	14	Glade House and Te Anau-Wakatipu-Milford Track-			
		Maintenance, including furniture and repairs	3,000		
	15	Hanner Sanatorium, Baths, Gardens, and Water-			
		supply to Township—  Maintenance of sanatorium, baths, water-supply,			
		tea-kiosk, gardens, furniture, repairs, rents, and			
		wines, spirits, &c	2,700		
	16	Lakes Te Anau and Manapouri—	*		
1		Maintenance of steamers and jetties, including	1 050		
	17	repairs	1,350		
	11	Barrier Island, Waiotapu, Te Puia, Tokaanu,			
		Morere, Tarawera, Pukaki, and Te Anau, and			
		reserves vested in Department	741		
	18	Mount Cook Hermitage Hostel, Tracks, and Huts-			
		Maintenance, including guiding, equipment, furniture, and repairs	7,500		
	19	Office-cleaning	200		
	$\tilde{20}$	Office fittings and requisites (including printing and			
		stationery)	750		
	21	Overtime and meal allowances	30		
	$\frac{22}{23}$	Postage, telegrams, and rent of boxes Purchase of material, &c., in Australia for Govern-	650		
	20	ment Departments, to establish a credit for (re-			
		coverable)	50		
	24	Queenstown Reserves—			
1	٠ م	Maintenance, improvements, music, &c	200		
1	25 26	Rents of overseas offices Rotorua Acclimatization District—	946		
	20	Maintenance, including bonuses to honorary			
		rangers	1,000		
	27	Rotorua Baths—	_,		
	•	Maintenance, including furniture and repairs	6,000		
	28	Rotorua Sanatorium—	ļ		
		Maintenance, including wines, spirits, furniture,	5,500		
		supplies, and repairs Rotorua Works, including Whakarewarewa—	5,500		
		Maintenance of—			
	29	Electric light and power system	3,000		
· · · · · · · · · · · · · · · · · · ·	30	Reserves, gardens, parks, and bands or orchestra	1,200		
	$\frac{31}{32}$	Water-supply and sewerage Wharves and beacons	5,000		
	UΔ	Subsidies—	25		
	<b>3</b> 3	Accommodation-house, Waimarino	100		
	34	Bluff - Stewart Island - Milford Sound Service	150		

TOURISTS—continued.	Number of Persons.	Item.	1921-		22.
Other Charges for and incidental to—continued. Subsidies—continued.   Coach, motor, and steamer services—	<b>1921</b> –22.		TOURISTS—continued.		
Subsidies—continued.   Coach, motor, and steamer services—			VOTE No. 41—continued.	£	£
Subsidies—continued.   Coach, motor, and steamer services—			OTHER CHARGES FOR AND INCIDENTAL TO—continued.		
Coach, motor, and steamer services—					
Fairlie-Pukaki-Hermitage-Queenstown		35	Coach, motor, and steamer services—		
Lumsden-Te Anau   150     Raetihi-Pipiriki   60     Waimarino-Tokaanu   200     Wairoa-Waikaremoana   200     Ross-Waiho Gorge-Weheka   250     Ross-Waiho Gor					
Raetihi-Pipiriki					
Waimarino-Tokaanu		1		İ	
Wairoa—Waikaremoana					
Ross-Waiho Gorge-Weheka					
1,680   50   50   37   New Plymouth Tourist and Expansion League		İ			
So			Ross-Waiho Gorge-Weheka 250		
New Plymouth Tourist and Expansion League   150   1,000   1,000   250		0.0			
Park and Domain Board: Egmont, £1,000   1,000     Port Hills - Akaroa Summit Road and Scenic Reserves					
Port Hills - Akaroa Summit Road and Scenic Reserves		1			
Reserves				1,000	
Te Aroha Hot Springs—  Maintenance of baths, gardens, tea-kiosk, subsidy to doctor, music, furniture, and repairs 1,500  Telephone services (including installation, extensions, maintenance, rent, and calls) 370  *Temporary assistance 370  Tongariro National Park: Maintenance, &c. 250  Training uncertificated masseurs: University fees 20  Travelling allowances and expenses 25  Typewriters: Purchase and repairs 25  Waikarenoana: Maintenance of Lake House 2,000  Waimangu Round-trips and Hostel—  Maintenance and repairs, hostel, furniture, boatshed, boats, and tracks 850  Waitomo Caves and Hostel—  Maintenance, including furniture and repairs 4,000  Contingencies, including unforeseen expenditure incidental to the other items of the vote 50  Less estimated credits under section 48 of the		39		050	
Maintenance of baths, gardens, tea-kiosk, subsidy to doctor, music, furniture, and repairs 1,500  Telephone services (including installation, extensions, maintenance, rent, and calls) 300  *Temporary assistance 370  Tongariro National Park: Maintenance, &c 250  Training uncertificated masseurs: University fees 20  Travelling allowances and expenses 550  Typewriters: Purchase and repairs 25  Waikarenoana: Maintenance of Lake House 2,000  Waimangu Round-trips and Hostel—  Maintenance and repairs, hostel, furniture, boatshed, boats, and tracks 850  Waitomo Caves and Hostel—  Maintenance, including furniture and repairs 4,000  Contingencies, including unforeseen expenditure incidental to the other items of the vote 50  Less estimated credits under section 48 of the				250	
to doctor, music, furniture, and repairs 1,500  Telephone services (including installation, extensions, maintenance, rent, and calls) 300  *Temporary assistance 250  Tongariro National Park : Maintenance, &c. 250  Travelling uncertificated masseurs : University fees 20  Travelling allowances and expenses 25  Typewriters : Purchase and repairs 25  Waikarenoana : Maintenance of Lake House 2,000  Waimangu Round-trips and Hostel—  Maintenance and repairs, hostel, furniture, boatshed, boats, and tracks 850  Waitomo Caves and Hostel—  Maintenance, including furniture and repairs 4,000  Contingencies, including unforeseen expenditure incidental to the other items of the vote 50  Total contingencies and require incidental to the other items of the vote 50  Total contingencies and require under section 48 of the latest and repairs 50  Total contingencies and require under section 48 of the latest and repairs 50  Total contingencies and require under section 48 of the latest and repairs 50  Total contingencies and require under section 48 of the latest and repairs 50  Total contingencies and require under section 48 of the latest and repairs 50  Total contingencies and repairs 50  Total contingencies and repairs 50  Total contingencies 50  Total		10			
Telephone services (including installation, extensions, maintenance, rent, and calls)		40		1 500	
Maintenance, rent, and calls		149		1,500	
*Temporary assistance		41		900	
Tongariro National Park: Maintenance, &c		40		-	
Training uncertificated masseurs: University fees 20 Travelling allowances and expenses 25 Typewriters: Purchase and repairs 25 Waikarenoana: Maintenance of Lake House 2,000 Waimangu Round-trips and Hostel— Maintenance and repairs, hostel, furniture, boatshed, boats, and tracks 850 Waitomo Caves and Hostel— Maintenance, including furniture and repairs 4,000 Contingencies, including unforeseen expenditure incidental to the other items of the vote 50  Less estimated credits under section 48 of the		1			
Travelling allowances and expenses					
Typewriters: Purchase and repairs 25 Waikarenoana: Maintenance of Lake House 2,000 Waimangu Round-trips and Hostel— Maintenance and repairs, hostel, furniture, boatshed, boats, and tracks 850 Waitomo Caves and Hostel— Maintenance, including furniture and repairs 4,000 Contingencies, including unforeseen expenditure incidental to the other items of the vote 50  Less estimated credits under section 48 of the					
Waikarenoana: Maintenance of Lake House 2,000 Waimangu Round-trips and Hostel— Maintenance and repairs, hostel, furniture, boatshed, boats, and tracks 850 Waitomo Caves and Hostel— Maintenance, including furniture and repairs 4,000 Contingencies, including unforeseen expenditure incidental to the other items of the vote 50  Less estimated credits under section 48 of the				1 1 1	
Waimangu Round-trips and Hostel—  Maintenance and repairs, hostel, furniture, boatshed, boats, and tracks  Waitomo Caves and Hostel—  Maintenance, including furniture and repairs  Contingencies, including unforeseen expenditure incidental to the other items of the vote  Less estimated credits under section 48 of the					
Maintenance and repairs, hostel, furniture, boatshed, boats, and tracks		47		2,000	
shed, boats, and tracks 850 Waitomo Caves and Hostel— Maintenance, including furniture and repairs 4,000 Contingencies, including unforeseen expenditure incidental to the other items of the vote 50  50 Less estimated credits under section 48 of the		10			
Waitomo Caves and Hostel— Maintenance, including furniture and repairs  Contingencies, including unforeseen expenditure incidental to the other items of the vote  50  56,483  97,604  Less estimated credits under section 48 of the		40		บรก	
Maintenance, including furniture and repairs 4,000 Contingencies, including unforeseen expenditure incidental to the other items of the vote 50  56,483  P7,604  Less estimated credits under section 48 of the		40		000	
Contingencies, including unforeseen expenditure incidental to the other items of the vote 50  56,483  P7,604  Less estimated credits under section 48 of the		49		4 000	
cidental to the other items of the vote 50  56,483  P7,604  Less estimated credits under section 48 of the		50		4,000	
Less estimated credits under section 48 of the		50		50	
Less estimated credits under section 48 of the			eldental to the other items of the vote		
Less estimated credits under section 48 of the				<b>56,4</b> 83	
Less estimated credits under section 48 of the				97,604	
Public Revenues Act, 1910 1,200			Less estimated credits under section 48 of the	-	
			I	1,200	
			TOTAL—VOTE No. 41  -		96

\* Includes cost-of-living increase to scale salaries or wages.

£96,404

TOTAL

#### XXIII.—DEPARTMENT OF EDUCATION.

		1921–22.		
· <del></del>		Salaries.	Other Charges.	Total.
Vote No. 42.—Education Department—		£	£	£
Subdivision I.—Head Office		27,245	4,450	<i>31</i> , <i>695</i>
EDUCATIONAL AGENCIES.  Subdivision II.—Elementary Education  " III.—Secondary and Higher Education  " IV.—Technical Instruction  " V.—Training of Teachers  " VI.—Native Schools  " VII.—School buildings, furniture, and s		32,019 1,450 2,100  59,325	1,696,032 212,635 125,396 142,810 7,695 170,770	1,728,051 214,085 127,496 142,810 67,020 170,770
		94,894	2,355,338	2,450,232
PHYSICAL AGENCIES. Subdivision VIII.—Physical Instruction		5,150	4,540	9,690
SOCIAL AGENCIES.  Special Schools— Subdivision IX.—Education of the Blind  "X.—School for the Deaf  "XI.—Schools for the Feeble-minded  "XII.—Child Welfare		 7,425 9,467 29,758	80 Cr. 495 3,210 84,215	80 6,930 12,677 113,973
		46,650	87,010	133,660
" XIII.—Material and Stores " XIV.—Miscellaneous Services		•••	15,300 18,621	15,300 18,621
	-	•••	33,921	33,921
TOTAL—VOTE No. 42		173,939	2,485,259	2,659,198
TOTAL		173,939	2,485,259	2,659,198
Number of Persons.			192	1–22.
VOTE No. 42.—EDUCATION	DE	PARTMENT	£	£
Subdivision No. I.—He  SALARIES— ADMINISTRATIVE DI		-		-
1 1 at £1,250 (Director of Educat		•••	1,250	1
PROFESSIONAL DIV	ISION			
Class A— 1 at £800 (Chief Inspector of	f Sch	ools)	800	

		XXIII.—DEPARTME	NT OF E	DUCATION	N—continu	ed.	
Number of Persons.	Itom.		VOTE No. 42.—EDUCATION DEPARTMENT—		1921-	22.	
1921–22.		Subdivision No. 1.	ontinued —Head Off	ice—conting	ieđ.	£	£
	1	SALARIES—continued.	II caa Ojj	oo con unit	lea.	~	~
		Professional	Deverage				
			Division—	conunuea.			
		Class B— 1 at £700 (Genera	ıl Professio	nal officer	and In-		
		spector)		••		700	
2		1 at £650 (Architec Class $D$ —	11)	•••	•••	650	
1		1 at £365 (Editor	r, School J	Tournal). (	See Sub-		
		division II)	•••	•••		•••	
		O	D.			2,150	
		Class Special—	DIVISIO	N.	}-		
1		1 at £750	•••	•••		750	
1		Class I— 1 at £650				650	
		Class II—		y <del></del>			
2		2 at £525 Class III—	•••		••	1,050	
1		1 at £475	•••			475	
		Class IV— 1 at £450			£ 450		
2		1 at £425	•••	•••	425	0==	
		Class V— 2 at £400			800	875	
		3 at £380	•••	•••	1,140		
6		1 at £365 Class VI—	•••	•••	365	2,305	
		3 at £350	•••	•••	1,050	2,000	
		4 at £330 3 at £310	•••	•••	1,320		
13		3 at £290		•••	870		
		Class VII— 1 at £340			340	4,170	
		5 at £320	•••		1,600		
		1 at £310 1 at £290	•••	•••	310 290		
		5 at £270	•••	•••	1,350		
		2 at £250 1 at £230	•••		500 230		
		4 at £215	•••	•••	860		
		9 at £160 3 at £115	•••	•••	$\begin{array}{c c} 1,440 \\ 345 \end{array}$		
40		8 at £100	•••	•••	800		
		Lodging-allowances	•••	•••	280	8,345	
		CENE	RAL DIVISIO	)N		18,620	
		1 at £330	DIVIDIC		330		
		1 at £320 1 at £295	•••	•••	320 295		
		2 at £270	•••	•••	540		
		3 at £250 2 at £230	•••	•••	750		
		1 at £206	•••	•••	460 <b>20</b> 6		
		2 at £184 1 at £170	•••	•••	368		
		2 at £164	•••	•••	$egin{array}{c} 170 \ 328 \ \end{array}$		
		1 at £140	•••	• • •	140		
	. [	2 at £124 2 at £115	•••		$\begin{array}{c c} 248 \\ 230 \end{array}$		
23		2 at £100	•••	•••	200		
		Lodging-allowances	•••	•••	40	4,625	

	Item.		1921-9	22.
1921–22.	-	VOTE No. 42.—EDUCATION DEPARTMENT— continued.	£	£
		Subdivision No I.—Head Office—continued.		
	1	Salaries—continued.		
		Unclassified.		
		1 at £600 (Private Secretary to the Prime Minister)	600	
94	-		600	
	-		*27,245	
	2	OTHER CHARGES FOR AND INCIDENTAL TO— Advertising, photographs, books, newspapers, and other publications	100	
	3	Office requisites	300 150	
	$\begin{vmatrix} 4 \\ 5 \end{vmatrix}$	Overtime and meal allowance Telephone services (including installation, extensions, maintenance, rent, and calls)	150	
	6 7	*Temporary assistance Travelling allowances and expenses	3,000 750	
	8	Contingencies, including unforeseen expenditure incidental to the other items of the vote	10	
			4,460	
		Less estimated credits under section 48 of the Public Revenues Act, 1910	10	
		Total—Subdivision No. I	4,450	31,69
			•	
	9	Subdivision No. II.—Elementary Education.  SALARIES— PROFESSIONAL DIVISION.		
	9	Salaries— Professional Division.  Class B— 8 at £700 5,600		
	9	Salaries—  Professional Division.  Class B—  8 at £700 5,600  1 at £700 (7 months) 408		
	9	SALARIES—         PROFESSIONAL DIVISION.         Class B—       £         8 at £700         5,600         1 at £700 (7 months)        408         1 at £700 (8 months)        467         28 at £650        18,200		
	9	SALARIES—         PROFESSIONAL DIVISION.         Class B—       £         8 at £700         5,600         1 at £700 (7 months)        408         1 at £700 (8 months)        467         28 at £650         18,200         2 at £650 (5 months)        544		
	9	SALARIES—         PROFESSIONAL DIVISION.         £         8 at £700        5,600         1 at £700 (7 months)        408         1 at £700 (8 months)        467         28 at £650        18,200         2 at £650 (5 months)        544         2 at £650 (9 months)        975         4 at £600        2,400		
47	9	SALARIES—         PROFESSIONAL DIVISION.         £         8 at £700        5,600         1 at £700 (7 months)        408         1 at £700 (8 months)        467         28 at £650        18,200         2 at £650 (5 months)        544         2 at £650 (9 months)        975         4 at £600        2,400         1 at £575	29,169	
47	9	SALARIES—         PROFESSIONAL DIVISION.         £         8 at £700        5,600         1 at £700 (7 months)        408         1 at £700 (8 months)        467         28 at £650        18,200         2 at £650 (5 months)        544         2 at £650 (9 months)        975         4 at £600        2,400		
	9	SALARIES—         PROFESSIONAL DIVISION.         £         8 at £700        5,600         1 at £700 (7 months)        408         1 at £700 (8 months)        18,200         2 at £650 (5 months)        544         2 at £650 (9 months)        975         4 at £600        2,400         1 at £575        575         Class D—         2 at £450 (Women Inspectors)        900	29,169 1,350 1,500	

Number of Persons.	Item.		1921	-22.
1921–22.	.   	VOTE No. 42.—EDUCATION DEPARTMENT— continued.		
		Subdivision No. II.—Elementary Education—continued.	£	£
	10	Charges for and incidental to— Conveyance of school-children, instructors, and teachers, and allowances for board of children	24 750	
	11	who have to live away from home to attend school Correspondence Teacher (4 months)	34,750 100	
	12	Education Gazette Grants to Education Boards for the following pur-	125	
	13	poses:— General Administrative Purposes: Capitation on average attendance, &c., including £250 to each		
	14	Board under section 22, Appropriation Act, 1919 Incidental expenses of School Committees (clean-	39,250	•
	1.5	ing, disinfecting, &c.)	96,000 2,250	
	15 16	School and class libraries: Capitation, &c Teachers' Salaries: Including pupil-teachers' and probationers' allowances, and salaries of super-		
		numary teachers	1,560,000	
	17 18	Inspection: Extra clerical assistance, typing, &c Manual instruction: Capitation, salaries, and material	235 64,000	]
	19	Office requisites, telephones, cleaning, firing, advertising, &c	100	
	20   21	Organizing teachers: Salaries and travelling allow- ances and expenses Removal of teachers	14,000 600	
	22	School Journal: Printing, material, apparatus, contributors' fees, postages, &c	9,500	
	23.	Travelling expenses and allowances of Inspectors, &c., including transfers	11,500	
	24	Contingencies, including unforeseen expenditure incidental to the other items of the vote	10	
			1,832,420	
		Less credits under sections 263 and 264 of the Land Act, 1908 (£45,688), and the Education Reserves Amendment Act, 1914 (£90,000)	135,688	
			1,696,732	
		Less estimated credits under section 48 of the Public Revenues Act, 1910	700	
			1,696,032	
		Total—Subdivision No. II	<del></del>	1,728,051
		Subdivision No. III. — Secondary and Higher Education.		
	25	Salaries—		
		PROFESSIONAL DIVISION.		
		Class B—		
2		1 at £800 800 1 at £650 650		
	-		*1,450	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

Number of Persons.	Item.		1921-	22.
1921–22.		VOTE No. 42.—EDUCATION DEPARTMENT— continued.	£ ·	£
		Subdivision No. III.—Secondary and Higher Education—continued.		
	26	OTHER CHARGES FOR AND INCIDENTAL TO— Conveyance and board of pupils	7,000	
	27	District High Schools: Salaries of secondary teachers Manual Instruction: Capitation, salaries, and material	33,000 4,700	
	29	Secondary Schools and Colleges: Salaries and incidental expenses	169,500	
	30	"Sir George Grey" Scholarships: One to each University College (science) Travelling expenses and allowances of Inspectors,	200	
	31	&c., including transfers University Colleges—	400	
	32 33	Agricultural bursaries: Allowances and tuition fees Educational bursaries	900	
	34	Otago University: Grant for addition to salaries of Medical Professors (£300 per annum), (1 month) Special bursaries for returned soldiers and assistance	25	
	36	to deserving students in cases of hardship Workers' Educational Association: Grants for organ-	1 000	
	37	izing purposes, 2 years Contingencies, including unforeseen expenditure incidental to the other items of the vote	1,000	
			217,735	
		Less credits under sections 263 and 264 of the Land Act, 1908	5,100	
		Total—Subdivision No. III	212,635	214,0
		Subdivision No. IV.—Technical Instruction.		
	38	Salaries— Professional Division.		
1		Class A—  1 at £800 (Superintendent, Technical Education)  Class B—	800	
2		2 at £650	*0.100	
	-	OTHER CHARGES FOR AND INCIDENTAL TO-	*2,100	
	39	Capitation and salaries, &c., technical and continuation	113,000	
	40	Conveyance of instructors and students attending registered classes Conveyance and board of pupils	750 4,000	
	42 43	Examination expenses Grant to Auckland Education Board to meet liabilities of Elam School of Art (now taken	200	
	44 45	over by the Education Board)  Material  Scholarships and bursaries	5,000	

Number of Persons.	Item.		1921-	-2 <b>2.</b>
1921-22.	<u>  </u>	VOTE No. 42.—EDUCATION DEPARTMENT—  continued.		<del> </del>
		Subdivision No. IV.—Technical Instruction—continued.	£	£
	46 47	OTHER CHARGES FOR AND INCIDENTAL To—continued. Travelling allowances and expenses	500	
		cidental to the other items of the vote		
		Less credits under sections 263 and 264 of the Land Act, 1908	128,096 2,550	
			125,546	
		Less estimated credits under section 48 of the Public Revenues Act, 1910	150	
		Total—Subdivision No. IV	125,396	127,496
		Subdivision No. V.—Training of Teachers.		
		CHARGES FOR AND INCIDENTAL TO-		
	48 49	Training Colleges— Allowances to students, and fees Salaries of staffs of training colleges (three-fifths,	114,000	
	-	the other two-fifths is charged to "Elementary Education"), including associated teachers	24,800	
	50 51	Special instruction, libraries, clerical assistance, and incidental expenses Science apparatus and material	2,000 200	
	52	Training of Teachers (other than Students of Training Colleges)—  Fares of instructors and teachers attending training		
	53 54	classes	3,000 2,000 10	
			146,010	
		Less credits under sections 263 and 264 of the Land Act, 1908	3,200	
		Total—Subdivision No. V		142,810
		Subdivision No. VI.—Native Schools.		
	55	Salaries of teachers of village schools	58,000	
		Professional Division.		
2		$ \begin{array}{cccccccccccccccccccccccccccccccccccc$	1 90%	
			1,325	
	56	OTHER CHARGES FOR AND INCIDENTAL TO— Advertising, forwarding charges, fuel, planting, sani-	*59,325	
	57	tation, water, &c Books, apparatus, and other school requisites	$_{2,000}^{30}$	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

## ${\tt XXIII.--DEPARTMENT~OF~EDUCATION--} continued.$

Number of Persons.	Item.	VOME No. 49 EDITOAMION DEDADMMENT	1921-	-22.
1921–22.	 	VOTE No. 42.—EDUCATION DEPARTMENT— continued.		
		Subdivision No. VI.—Native Schools—continued.	£	£
	58 59 60	OTHER CHARGES FOR AND INCIDENTAL TO—continued Conveyance, ferrying, and board of children Higher Education, Scholarships, and Apprenticeship Manual instruction (including equipment and material,	1,200 4,500	
	61 62 63	instructors, and scholarships) Special allowances to teachers in isolated places Travelling allowances and removal expenses Contingencies, including medical examination of teachers and unforeseen expenditure incidental to	350 250 1,000	
		the other items of the vote	20	
		Tage and its and an action 200 and 200 at the	9,350	
		Less credits under sections 263 and 264 of the Land Act, 1908	1,650	
		Less estimated credits under section 48 of the	7,700	
		Public Revenues Act, 1910	5	
		Total—Subdivision No. VI	7,695	67,020
		Total—Subarvision No. VI		01,020
		Subdivision No. VII.—School Buildings, Furniture, and Sites.		
		CHARGES FOR AND INCIDENTAL TO— General maintenance of school buildings under control of Education Department, including small additions to buildings, alterations, rebuilding, furniture, fittings, fencing, rents, additions and improvements of sites, and incidental expenses—		
	64	Native schools	3,600	
	65 66	Industrial schools Schools for the Feeble-minded	2,000 1,500	
	67 68	Schools for the Peeble-minded School for the Deaf Public Schools—	500	
		Maintenance and repair of school buildings and residences (including alterations and small additions); repair and renewal of outbuildings, furniture, and fences; rents of buildings and sites Grants to Education Boards—	104,000	
	69 70	For house allowances to teachers For rebuilding and furnishing of schools destroyed	40,000	
		by fire, and for rent of temporary premises during rebuilding Grants for—	32,000	
	71 72	Maintenance of Secondary School buildings  Maintenance of Technical School buildings	200 350	
	73 74	Rents for Manual and Technical Schools and class purposes School-sites: Payment to Land for Settlements Ac-	1,000	
		count for	300	
	75	Contingencies, including unforeseen expenditure incidental to the other items of the vote	10	
			185,460	
		Less estimated credits under section 48 of the Public Revenues Act, 1910	14,690	
		Total—Subdivision No. VII		170,770

#### XXIII.—DEPARTMENT OF EDUCATION—continued.

Number of Persons.	Item.		1921–	22.
1921–22.	<u> </u>	VOTE No. 42.—EDUCATION DEPARTMENT— continued.		
		Subdivision No. VIII.—Physical Instruction.	£	£
	76	Salaries—		
		GENERAL DIVISION.		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		3 at £345 1,035   3 at £320 960		
		2 at £315 630		
		1 at £310 310   4 at £305 1,220		
		1 at £300 300		
<u>16</u>	_	1 at £260	5,150	
16		-	*5,150	•
		-		
		O	*	
	77	OTHER CHARGES FOR AND INCIDENTAL TO— Courses of instruction for teachers (including railway		
	78	fares)	150	
		advertising, printing, forwarding charges, books, &c.	1,400	
	79 80	Travelling allowances and expenses Contingencies, including unforeseen expenditure in-	3,700	
		cidental to the other items of the vote	10	
		T 20 1 000 1 000 1	5,260	
		Less credits under sections 263 and 264 of the Land Act, 1908	700	
		-	4,560	
		Less estimated credits under section 48 of the Public Revenues Act, 1910	20	
		Fublic Revenues Act, 1910		
		$Total-Subdivision \  extbf{No. VIII}                                 $	4,540	9,69
		Subdivision No. IX.—Education of the Blind.		
		_		
	81	Grant to trustees for maintenance of Government	850	
	82	pupils Special instruction (woodwork, &c.), and secondary	750	
	83	education of pupils Contingencies, including unforeseen expenditure in-	50	
		cidental to the other items of the vote	10	
		ļ	810	
		Less estimated credits under section 48 of the Public Revenues Act, 1910	730	
	1 1		,50	

Includes cost-of-living increase to scale salaries or wages,

## ${\bf XXIII.--DEPARTMENT\ OF\ EDUCATION---} continued.$

Number of Persons.	Item.	VOTE No. 42.—EI	ייינים	1921-	22.		
1921–22.		VOIE NO. 42.—EI	continued.	TANIMI	anı—	2	
		Subdivision No	. X.—School for	the Deag	f.		_
	84	Salaries—					
		Professional	AND EDUCATION	Divisions	s.		
		Teachers—		21710111	£		
		1 at £650			650		
		1 at £450	•••		450		
		3 at £380	•••	•••	1,140		
		1 at £340	***	• • •	340		
		1 at £310	•••	•••	310 500		
		2 at £250 5 at £240	•••	•••	1,200		
		2 at £220	• •••	•••	440		
18		2 at £200	•••	•••	400		
						5,430	
		Gen	ERAL DIVISION.				
		Maintenance Staff-	_				
		2 at £250	•••	•••	500		
		2 at £230 2 at £210	•••	•••	460 420		
		2 at £160	•••	•••	320		
14		6 at £135	•••	•••	810		
32	-	••===				2,510	
	-	Less deduction	ns for board			*7,940 515	
		2000 doddollor	101 NOW1 W	•••		7,425	
						-,120	
		OTHER CHARGES FOR					
	85 86	Additional salary p	graphs, books,	newspape	ers, and	150	
	87	other publication House allowance		•••		10 20	
	88	Maintenance of i			ovisions,	2,000	
	89	Travelling allowand of children)	es and expenses	(includin	g transit	250	
	90	Contingencies, incl	uding unforeseen ther items of the	n expendi vote	ture in-	25	
			-			2,455	
		Less credits und	er sections 263	and 264	l of the	4,400	
		Land Act, 1908	3	•••	•••	200	
				40	of the	2,255	
		Less estimated	credits under s	ection 48	or end	1	
		Less estimated Public Revenu		section 48		2,750	

	Item.	VOTE No. 42.—EDUCAT	TION DE	PARTM	ENT_	1921–2	22.
1921–22.	Ì	contin	ued.		-	£	£
		Subdivision No. XI.—Scho	ols for th	ie Feeble-	minded.	2	æ.
	91	Salaries—			ļ		
		Education and Gi	eneral D	IVISIONS.			
		Special School for Girls, Ric	chmond -	_			
		Teachers—	,	_	£		
		1 at £250			250		
2		1 at £250 (10 months)			208		
4		z w wzo (10 months)	•••	•••			
		Maintenance Staff—			458		
		1 at £350			350		
	'	1 at £250 (6 months)		•••	125		
		1 at £200	•••	•••	200		
		2 at £160	•••	•••	320		
		3 at £150	•••	•••	450		
9		1 at £140	•••		140		
					2,043		
1		Medical officer (part tin	ne non-re	egident)	85		
_		Wages temporary empl			100		
	i ·				2,228		
		Less deductions for	r board		392	İ	
						1,836	
		Special School for Boys, Ote	kaike.—				
		Maintenance Staff—	···,				
	1	1 at £525	•••		525		
	1	1 at £290	•••	•••	290		
	i	1 at £275	•••		275	l	
	İ	6 at £250	• • •		1,500	1	
		5 at £230			1,150		
		2 at £210		•••	420		
		5 at £160		•••	800		
25		4 at £135	•••	•••	540		
					5,500		
*		Less deductions for	r board		945		
						4,555	
		Special Schools for Boys, Ne	elson—				
		I III a a a la assa					
		Teachers—			000		
		1 at £350 (9 months)		•••	263		
4		1 at £350 (9 months) 3 at £250 (9 months)		•••	263 563		
4		1 at £350 (9 months) 3 at £250 (9 months) Maintenance Staff—			563		
4		1 at £350 (9 months) 3 at £250 (9 months) Maintenance Staff— 1 at £325 (9 months)			563 244		
4		1 at £350 (9 months) 3 at £250 (9 months) Maintenance Staff—			563 244 203		
4		1 at £350 (9 months) 3 at £250 (9 months) Maintenance Staff— 1 at £325 (9 months)	•••		563 244		
4		1 at £350 (9 months) 3 at £250 (9 months)  Maintenance Staff— 1 at £325 (9 months) 1 at £270 (9 months)	•••		563 244 203		
4		1 at £350 (9 months) 3 at £250 (9 months)  Maintenance Staff— 1 at £325 (9 months) 1 at £270 (9 months) 5 at £250 (9 months)			563 244 203 938		
4		1 at £350 (9 months) 3 at £250 (9 months)  Maintenance Staff— 1 at £325 (9 months) 1 at £270 (9 months) 5 at £250 (9 months) 3 at £230 (9 months) 3 at £210 (9 months)			563 244 203 938 518		
4		1 at £350 (9 months) 3 at £250 (9 months)  Maintenance Staff—  1 at £325 (9 months) 1 at £270 (9 months) 5 at £250 (9 months) 3 at £230 (9 months) 3 at £210 (9 months) 1 at £160 (9 months)			563 244 203 938 518 473 120		
4		1 at £350 (9 months) 3 at £250 (9 months)  Maintenance Staff—  1 at £325 (9 months) 1 at £270 (9 months) 5 at £250 (9 months) 3 at £230 (9 months) 3 at £210 (9 months) 1 at £160 (9 months) 1 at £160 (9 months)			563 244 203 938 518 473 120 116		
4		1 at £350 (9 months) 3 at £250 (9 months)  Maintenance Staff—  1 at £325 (9 months) 1 at £270 (9 months) 5 at £250 (9 months) 3 at £230 (9 months) 3 at £210 (9 months) 1 at £160 (9 months) 1 at £155 (9 months) 1 at £150 (9 months)			563 244 203 938 518 473 120 116 113		
·		1 at £350 (9 months) 3 at £250 (9 months)  Maintenance Staff—  1 at £325 (9 months) 1 at £270 (9 months) 5 at £250 (9 months) 3 at £230 (9 months) 3 at £210 (9 months) 1 at £160 (9 months) 1 at £155 (9 months) 1 at £150 (9 months) 2 at £130 (9 months)			563 244 203 938 518 473 120 116 113 195		
4		1 at £350 (9 months) 3 at £250 (9 months)  Maintenance Staff—  1 at £325 (9 months) 1 at £270 (9 months) 5 at £250 (9 months) 3 at £230 (9 months) 3 at £210 (9 months) 1 at £160 (9 months) 1 at £155 (9 months) 1 at £150 (9 months)			563 244 203 938 518 473 120 116 113		
·		1 at £350 (9 months) 3 at £250 (9 months)  Maintenance Staff—  1 at £325 (9 months) 1 at £270 (9 months) 5 at £250 (9 months) 3 at £230 (9 months) 3 at £210 (9 months) 1 at £160 (9 months) 1 at £155 (9 months) 1 at £150 (9 months) 2 at £130 (9 months)			563 244 203 938 518 473 120 116 113 195 90		
·		1 at £350 (9 months) 3 at £250 (9 months)  Maintenance Staff—  1 at £325 (9 months) 1 at £270 (9 months) 5 at £250 (9 months) 3 at £230 (9 months) 3 at £210 (9 months) 1 at £160 (9 months) 1 at £155 (9 months) 1 at £150 (9 months) 2 at £130 (9 months)			563 244 203 938 518 473 120 116 113 195		

Number of Persons.	Item.	VOTE No. 42.—EDUCATION DEPARTMENT—	1921–	22.
1921–22.		continued.  Subdivision No. XI.—Schools for the Feeble-minded—	£	£
	91	continued. Salaries—continued.		
	<u>,</u>	Education and General Divisions—continued.		
		Special Schools for Boys, Christchurch—		
5		Teachers—       £         1 at £350 (3 months)         88         4 at £250 (3 months)         250		
		Maintenance Staff—       1 at £230 (9 months)        173         2 at £230 (3 months)         115		
	i i	2 at £230 (3 months)        115         1 at £250 (3 months)        63         1 at £210 (3 months)        53         2 at £160 (3 months)        80		
11		1 at £150 (3 months) 38 3 at £130 (3 months) 98		
		Less deductions for board 58	900	
		Reduction in salaries as recommended by the Economies Commission	*10,717	
		200 TOTAL COMMISSION	9,467	
		Other Charges for and incidental to—		
	92 93	Advertising, photographs, books, newspapers, and other publications House allowance	20 40	
	94	Maintenance of institutions, including provisions, cloth ing, equipment, stock, farm expenses, legal expenses, &c	8,000	
	95	Travelling allowances and expenses, including transit of children  Contingencies, including unforeseen expenditure in-	1,000	
	96	cidental to the other items of the vote	50	
		Less credits under sections 263 and 264 of the Land Act, 1908	9,110	
		Taga actionated anodita under acction 40 of the	8,710	
		Less estimated credits under section 48 of the Public Revenues Act, 1910	5,500	
		Total—Subdivision No. XI	3,210	12,677

 $<sup>\</sup>boldsymbol{\ast}$  Includes cost-of-living increase to scale salaries or wages.

<u> </u>			HI OF BOO	OATION	·conunu	oou.	_
Number of Persons.	Item.	HOMB N. 40 FFF	almron s			1921–	22.
1921–22.	 	VOTE No. 42.—EDU co	CATION DEF $ntinued$ .	PARTME	INT—		
		Subdivision No.	XIIChald	Waltana		£	£
Ì	07			rreigare.			
	97	SALARIES AND WAGES—					
		Education and	GENERAL DIV	visions.			
1 1		Assistant Lady Inspersions, Visiting, Visiting and Probation	and Probation	ial Schoo Officer	ls £	450 400	
		2 at £390	•••		780		
	Į	1 at £370	•••	,	370		
		2 at £360 6 at £350	•••	•••	720		
		4 at £330	•••	•••	$\begin{bmatrix} 2,100 \\ 1,320 \end{bmatrix}$		
16		1 at £320	•••		320		
	ì						
	ł	Less deducti	ons for board		5,610 60		
				•••		5,550	
j		Industrial Schools—				, -	
		Auckland Receiving 1 at £310	д ноте—		310		
		2 at £250		•••	500		
- 1		1 at £240	•••		240		
	Į	2 at £230			460		
		2 at £220	•••	•••	440		
		1 at £210	4.1.		210		
		1 at £165			165		
12		1 at £155 1 at £140	•••	• • •	155 140		
12	}	1 60 50110	•••	•••		ļ	
		<b>.</b>			2,620		
		Less deducti	ons for board	•••	90	2,530	
	1	Hamilton Receiving	Home-			2,000	
		1 at £250	•••	•••	250		
		1 at £230	•••	•••	230		
5	ł	1 at £210 2 at £150	•••		210		
"		Wanganui Receiving	Home-	•••	300		
	i	1 at £260			260		
		1 at £230		•••	230		
	}	1 at £210	• . •		210	-	
ہ		1 at £160	. • • •	•••	160		
5		1 at £150 Palmerston North C	hild Waltana O	ontus	150		
		1 at £250		entre—	250	ĺ	
$_2$		1 at £150	•••	•••	150	1	
• •		Whangarei Child We	elfare Centre—	•••	100	ĺ	
_	Ì	1 at £250	•••	•••	250	· .	
2		1 at £150	16 6	•••	150		
		Greymouth Child W 1 at £250		-	050		
$_2$	-	1 at £150	•••		250	.	
4		Timaru Child Welfa	re Centre—	•••	150		
		1 at £260	***	•••	260		
2		1 at £124 (9 month	s)	•••	93		
		Invercargill Child W	elfare Centre—	-			
2		1 at £250	. • • •	••	250	•	
z		1 at £130	•••	•••	130		
.A 1		,			3,933		
	İ	Less deductions for	board .		160	1	
}	ł			•••		3,773	
						_ , , , _	

Number of Persons.	Item.	VOTE No 40 DIST	CAMION INDI	) A 10/11/M TA	NID	1921-	<b>22.</b>
1921–22.		VOTE No. 42.—EDU	ntinued.	ARTME.	N1—  -		
		Subdivision No. XII	-Child Welfare	e—contin	ıed.	£	£
	97	SALARIES AND WAGES—	-continued.			,	
		Education and Gen		s—contin	ued		
				5 0070070	wew.		
		Industrial Schools—c			£		
	,	Weraroa Boys' Tra 1 at £550	ming ram		550	İ	
	1	1 at £330	•••	•••	330		
	1	1 at £300	•••	•••	300		
		1 at £295	•••	•••	295		
		1 at £270 $\cdot$	•••		270		
		1 at £260	•••	•••	260		
	i	4 at £250	•••	•••	1,000		
		3 at £230	•••		690		
		2 at £220	•••	•••	440		
		4 at £210	•••	•••	840	•	
		1 at £200	•••		200		
	į.	2 at £150	•••	• • • •	300		
23		1 at £140	•••		140		
20	1	1 40 2110	•••				
	1 ,				5,615	1	
	1	Less deducti	ons for board		515		
	!					5,100	
	1						
		Wellington Receivi	ng Home—				
	1	1 at £320	•••	• • •	320	İ	
	1 !	$2  ext{ at } \pounds 270$	•••	• • •	540	:	
	1 -	1 at £250	• • •	•••	250		
	1	1 at £240	•••		240		
		4 at £220			880		
	1	1 at £210	• • •		210	:	
		1 at £200		• • •	200		
		1 at £155	•••		155		
		1 at £150	•••		150		
		1 at £145	•••		145		
15		1 at £135	•••	•••	135	i	
	1	Medical Officer (	part time, non-	resident)	55	ì	
					2 000		
		Logg doducti	ions for board		3,280 140		
	1 1	Lless deducti	ions for board	•••	140	3,140	
						0,110	
		Christchurch Recei	ving Home-				
		1 at £320	• •••	•••	320		
		1 at £290		•••	290	1	
		1 at £240			240		
	1 .	1 at £230			230		
		1 at £210		•••	210		
		1 at £155			155		
	1	3 at £150	•••	•••	450		
10	1	1 at £130	•••		130		
		Medical Officer (	part time, non-	resident)	55		
		T 11.			2,080		
		Less deduct	ions for board	•••	170	1 010	
	1					1,910	
		Burnham					
	:	Burnham 1 at £250 (5 mor	nthe)		105		
2		Burnham— 1 at £250 (5 mor 1 at £220 (2 mor			105 37		

# ${\tt XXIII.--DEPARTMENT\ OF\ EDUCATION---} continued.$

Number of Persons.	Item.	NOME N. 10	TICAMICS.			1921-	22.
1921–22.	-'   	VOTE No. 42.—ED	OUCATION DEF continued.	PARTME	ENT—		
,		Subdivision No. XI.	I.—Child Welfar	econti	nued.	£	£
	97	SALARIES AND WAGES	•				
		EDUCATION AND G		e aontin	round		
		EDUCATION AND GR	ENERAL DIVISION	sconun	iaeu.		
		Industrial Schools-		-+	0		
		Caversham (inclu 1 at £320	aing Clothing Fa	ctory)—	£ 320		
		1 at £270		•••	270		
	ĺ	2 at £260			520	i	
	l i	2 at £240			480		
		2 at £230	444		460		
		1 at £206	•••		206		
		1 at £170	•••	•••	170		
	1 1	4 at £160		•••	640		
		2 at £150	•••		300		
17		1 at £140	•••	•••	140		
		Medical Officer	(part time, non-	resident)	100		
					3,606		
		Less deduc	ctions for board	•••	330	0.050	
		Nelson Receiving	Home-			3,276	
		1 at £250			250		
		1 at £220			220		
		1 at £170			170		
		1 at £160			160		
5		1 at £140	•••	•••	140		
	İ	Less deduc	ctions for board		$\begin{array}{c c} 940 \\ 80 \end{array}$		
	İ					860	
		Napier Receiving	Home—		260		
		1 at £260	•••	•••			
		1 at £230	• • •	• • •	230		
5		1 at £210 2 at £150	• • •	• • • •	$\begin{array}{c c} 210 \\ 300 \end{array}$		
J		2 80 2100	.•••	•••	- 300		
		<b>V</b>			1,000		
		Less deduc	ctions for board	•••	140	000	
						860	
		PROBATION HOM	nes.—General 1	Division.			
		Auckland—					
		1 at £250	• • •		250		
		1 at £220	•••		220		
	]	2 at £150	•••	•••	300		
5	. 1	1 at £148		•••	148	j	
		Т 3.3	fan baand		918		
		Liess deduc	etions for board	***	230	688	
		Wellington—					
		2 at £240			480		
		1 at £175	•••		175		
4		1 at £150			150		
_							
-					QAK		
•		Less deduc	tions for board	•••	805 120		

Number of Persons.	Item.	VOTE No. 42EDU	IICATION DE	EPARTIME	NT_	1921-9	22.
1921–22.			continued.	AI AIVI MIA	111—	£	£
		Subdivision No. XII	.—Child Welfa	are—contin	ued.		
	97	SALARIES AND WAGES	-continued.				
		PROBATION HOMES.—	General Divi	sion—cont	inued.		
		Christchurch—			£	-  -	
		1 at £250	***	•••	250	ļ	
		1 at £210	•••	•••	210		
	1	1 at £160	•••	•••	160		
4		1 at £150	•••	•••	150		
		• •			770	1	
	1.	Logg doduc	tions for board		$\begin{array}{c c} 770 \\ 120 \end{array}$		
	1	Less deduc	chous for board	• • • •	120	650	
	1	Dunedin—				000	
		1 at £240			240	į	
		1 at £160	•••	•••	160		
. 3		1 at £150	•••		150		
•	}	- 333 W-33					
					550		
		Less deductions	s for board	• • •	40		
		•				510	
		Сніь	DREN'S HOME.				
		Miramar (Wellingto	on)—		0.10		
		1 at £230	***	• • • •	230		
<b>2</b>		1 at £104	•••	•••	104	004	
1.45		XX				334	
145	i	Wages of temporary	employees	•••	•••	300	
	-				-	*91 150	
	1	Reduction in sal	lamian na maaa	mmondod	her the	*31,158	
	!	Economies Con		mmenaea	by the	1 400	
		Economies Con	11111881011	•••	•••	1,400	
					-	29,758	
						29,100	
	; 1						
		OTHER CHARGES FOR	AND INCIDENTA	AL TO—	1		
	98	Boarding-out of chi	ildren, mainter	nance of in	fants in		
		foster homes and					
		have died from inf			·	84,000	
	99	Law-costs	•••	•••		50	
	100	Libraries at Govern	ment schools, p	oictures, an	d publi-		
		cations	•••	•••	•••	50	
	101	Maintenance of in					
	1 1	and of probatione					
		attendance of inf				01 000	
	100	institutions, includ				21,000	
	102	Maintenance of inma				0.000	
	100	Capitation, refund				2,860	
	103	Maintenance of inma				100	
	104	Payment to Post					
		services of officer		on with pa	yments	630	
						rysel i	
	105	for children board		•••			
	105 106	Refund of inmates' e Refund of maintenan	arnings	•••		250 500	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

Number of Persons.	Item.		1921-	-22.
1921–22.	-   	VOTE No. 42.—EDUCATION DEPARTMENT—	I	
1021 22.		Subdivision No. XII.—Child Welfare—continued.	£	£
	107 108 109	OTHER CHARGES FOR AND INCIDENTAL TO—continued. Rent, office requisites, telephones, lighting, &c Rent, Te Oranga Home (Christchurch), (land) Special Instruction, including fees of instructors,	1,000	
	110 111 112	cost of equipment and material  Travelling allowances and expenses  Wages of inmates employed on farm work, &c	100 8,500 250	
	112	Contingencies, including unforeseen expenditure incidental to the other items of the vote	10	
		Less credits under sections 263 and 264 of the	119,315	
		Land Act, 1908	2,100	•
		Less estimated credits under section 48 of the	117,215	
		Public Revenues Act, 1910	33,000	
		Total—Subdivision No. XII	84,215	113,973
				,
		Subdivision No. XIII.—Material and Stores.		
	113	CHARGES FOR AND INCIDENTAL TO—  Material and stores—  Special schools 10,000  Manual and technical 10,000		
	114	Store (lighting, cleaning, &c.), cartage, &c.	20,000	
		Tons estimated audits under mation 40 of the	20,300	
	ļ	Less estimated credits under section 48 of the Public Revenues Act, 1910	5,000	
		Total—Subdivision No. XIII		15,300
		Subdivision No. XIV.—Miscellaneous Services.		
	115	Charges for and incidental to— Audit fees for inspection of accounts	20	
	116	Compassionate allowance to Mrs. Miller, late Cookery Teacher, at £50 per annum	50	
	117	Compassionate allowance to the widow of the late H. A. Smithson, formerly teacher at the Welling-		
	118	ton College	104	
	119	cases Conference of Education Authorities	230 250	
	120 121	Cost-of-living bonus to officers of the Department, and teachers: 1st January to 31st March, 1920 Council of Education, including District Advisory	10	
		Committees: Allowances and travelling-expenses of members, clerical assistance, advertising, incidental expenses, &c	200	

## XXIII.—DEPARTMENT OF EDUCATION—continued.

Number of Persons.	Item.	•	1921	-22.
1021 00		VOTE No. 42.—EDUCATION DEPARTMENT—		
1921–22.		continued.	0	£
		G. 1.71.1.1.1.1.1.1.1.1.1.1.1.1.1.1.1.1.1	£	æ
		Subdivision No. XIV.—Miscellaneous Services—continued.		
		CHARGES FOR AND INCIDENTAL TO—continued.		
	122	Entertainment of New South Wales Teachers: Grant	25	
	100	towards expenses	25	
	123	Examinations: Teachers', Public Service, Scholar-	8,000	
	124	ships, &c Expenses connected with visits of Department's	0,000	
	124	officers and representatives to other countries	220	
	125	Grading of teachers: Advertising, travelling-ex-	220	
	120	penses, legal expenses, Courts of Appeal, &c	500	
	126	Grant in aid of free kindergartens for infants under	.000	•
* 1	120	school age, Montessori equipment, cinematograph	`	**
* *		apparatus, pictures, &c	2,050	
	127	Grant to Wellington Education Board for expenses in	_,;;;	
		connection with the case "Delaney versus Welling-		
	i	ton Technical School Board"	402	
	128	Kitchener Memorial Scholarships: Subsidies on con-		
		tributions	10	
	129	N.Z. Ensigns for schools	70	
	130	Office fittings and requisites (including printing and		
-		stationery)	6,000	
	131	Postage, telegrams, and rent of boxes	3,500	100
	132	Subsidies to public libraries, &c	50	
	133	Training-classes for returned soldiers: Capitation, &c.	720	
	134	War bursaries	700	
	135	Contingencies, including unforeseen expenditure incidental to all other items of the vote	10	
		-	23,121	
		Less estimated credits under section 48 of the	20,121	
		Public Revenues Act, 1910	4,500	
		Total—Subdivision No. XIV	18,621	i
		TOTAL—VOTE No. 42		2,659,198

TOTAL .... £2,659,198

## Appropriations for State Forests Account.

## NEW ZEALAND STATE FORESTS ACCOUNT.

					199	21–22.	
		<del></del>	-	Salaries.	Othe	r Charges.	Total.
Vote No. 6	9.—S	State Forest Service—		_			
Subdivisi	on 1	Salaries	i	£ 33,787		£	£ 33,787
"	II	General Development			1	22,210	22,210
"	III	I.—Forest Fire Prevention I.—Education: National Fo				3,425 4,540	3,428 4,540
"	1 7	School, &c.	restry	•••		2,020	æ,0æ
"		Forest Research		•••		1,410	1,410
"		.—General Afforestation .—Acquisition of Indigenous For	este Ac	•••		56,370 7,173	56,376 7,176
<i>tt</i> "		I.—Grants, and Subsidies to Bodies for Tree-planting cellaneous	Local	•••		2,332	2,33
		TOTAL		33,787		. 97 ,460	131,24
Number	Item.				-	100	1–22.
of Persons.		STATE FOREST	SERVIC	CE.		192	1-22.
192122.		Subdivision No.	I.—Saları	ies.		£	£
	1	VOTE No. 69. Salaries—					
		Administrative	Division	N.	£		
2		1 at £1,000 (Director) 1 at £650 (Secretary)		1,	650		
		Professional	Division			1,650	,
1		Class A— 1 at £650 (9 months)		***	•••	490	
		Class B— 1 at £625			625		
2		1 at £550		•••	550		
		Class C-		_		1,175	
1		$egin{array}{ccccc} 1 &  ext{at $\pounds470} \ Class & D & & & & \end{array}$	•••	•••	•••	470	
1		1 at £375	•••			375	
1		Class E— 1 at £350	•••			350	
		]					
		Clerical D	IVISION.				
1		1 at £475	•••	•••		475	1
1		Class IV— 1 at £425				425	
		Class V—	•••		•••		
1		1 at £380 Class VI—	•••	•••	•••	380	
		2 at £350			700		
10		5 at £330			,650		
10		3 at £310 Class VII—	• • •		930	3,280	
		1 at £250			250	. ,	
		1 at £160 1 at £115	•••	•••	$\frac{160}{115}$		
		2 at £85	•••	•••	170		
		1 at £85 (5 months)			35		
5		1 at £85 (6 months)	•••		43	773	
	1	1		_		110	1

# Appropriations for State Forests Account.

NEW	ZEALAND	STATE	FORESTS	ACCOUNT-	-continued

Number of Persons.	Item.	STATE FOREST SERVICE—continued.	1921-	<b>-22.</b>
1921–22.	]	Subdivision No. I.—Salaries—continued.	£	£
	1	VOTE No. 69—continued. SALARIES—continued.	æ. 	æ
		GENERAL DIVISION.	ĺ	
	İ	2 at £700 1,400	1	
		1 at £700 (9 months) 525		
		$egin{array}{cccccccccccccccccccccccccccccccccccc$		
		1 at £600 $63600$ 1 at £600 (9 months) $43600$		
		1 at £410 410		
		$2 \text{ at } \pounds 400$ 800		
		6 at £370 2,220	1	
		$\begin{bmatrix} 5 \text{ at } \pounds 345 & \dots & 1,725 \\ 19 \text{ at } \pounds 330 & \dots & \dots & 6,270 \end{bmatrix}$		
		19 at £330 6,270 7 at £320 2,240		
		8 at £310 2,480	İ	
		7 at £285 1,995		
		1 at £277 277	1	
	-	1 at £250 250		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		2 at £152 304		
71		2 at £124 248		
99			24,064	
	-	Less proportion of salaries allowed for but not payable	34,027 240	
				*99.76
		Total—Subdivision No. I Subdivision No. II.—General Development and Manage-		*33,78
	2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 22	Subdivision No. II.—General Development and Management of State Forests, Provisional State Forests, and forested Reserves.  OTHER CHARGES FOR AND INCIDENTAL TO— Advertising	50 75 100 455 550 1,250 1,400 1,400 1,400 1,060 800 1,865 1,000 275 900 750 100 320 250	*33,78
	3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21	Subdivision No. II.—General Development and Management of State Forests, Provisional State Forests, and forested Reserves.  OTHER CHARGES FOR AND INCIDENTAL TO—Advertising	50 75 100 455 550 1,250 1,400 1,400 250 50 150 1,060 800 1,865 1,000 275 900 750 100 320	*33,78

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

## $Appropriations\ for\ State\ Forests\ Account.$

#### NEW ZEALAND STATE FORESTS ACCOUNT—continued.

of Persons.	Item.	STATE FOREST SERVICE—continued.	1921-	<b>22</b> .
1921–22.	 	VOTE No. 69—continued.		
		Subdivision No. III.—Forest Fire Fighting and Preven- tion: Indigenous Forests.	£	£
	27	OTHER CHARGES FOR AND INCIDENTAL TO— Equipment	475	
	28	Locomotion	575	
	29	Protection improvement	200	
	30	Wages	2,175	
		Total—Subdivision No. III		3,42
	31 32 33	Subdivision No. IV.—Education: National Forestry School, Ranger Instruction School, Working Reference Library, Departmental Publications, and Statistical Data.  Other Charges for and incidental to— Forest exhibits and Technological Museum Photographic records and material Preparation and publication of Departmental bulletins Rangers Instruction School	100 340 200 300	
	35	Reference library	580	
	36	School of Forestry, grant for	3,020	
		Total—Subdivision No. IV		4,54
,		Subdivision No. V.—Forest Research: Silvicultural		
		Ecological Utilization and Forest Management.	<u> </u>	
,	37	OTHER CHARGES FOR AND INCIDENTAL TO— Forest Ecology	1,000	
	38	OTHER CHARGES FOR AND INCIDENTAL TO— Forest Ecology Silvicultural management studies	590	
		OTHER CHARGES FOR AND INCIDENTAL TO— Forest Ecology		
·	38	OTHER CHARGES FOR AND INCIDENTAL TO— Forest Ecology Silvicultural management studies	590	
	38	OTHER CHARGES FOR AND INCIDENTAL TO— Forest Ecology Silvicultural management studies Utilization	590 820 2,410	1,410
	38	OTHER CHARGES FOR AND INCIDENTAL TO— Forest Ecology Silvicultural management studies Utilization  Less amount not required	590 820 2,410	1,410
	38	Other Charges for and incidental to— Forest Ecology Silvicultural management studies Utilization  Less amount not required  Total—Subdivision No. V  Subdivision No. VI.—General Afforestation: Building, Tree-planting, Maintenance and Protection of Plantations, Operations of Nurseries, and Collateral Activities.  Other Charges for and incidental to— Nurseries—	590 820 2,410	1,410
	38 39	Other Charges for and incidental to— Forest Ecology Silvicultural management studies Utilization  Less amount not required  Total—Subdivision No. V  Subdivision No. VI.—General Afforestation: Building, Tree-planting, Maintenance and Protection of Plantations, Operations of Nurseries, and Collateral Activities.  Other Charges for and incidental to— Nurseries— Hanmer	2,410 1,000 4,480	1,410
	38 39 40 41	Other Charges for and incidental to— Forest Ecology Silvicultural management studies Utilization  Less amount not required  Total—Subdivision No. V  Subdivision No. VI.—General Afforestation: Building, Tree-planting, Maintenance and Protection of Plantations, Operations of Nurseries, and Collateral Activities.  Other Charges for and incidental to— Nurseries— Hanmer Hanmer Ranfurly	2,410 1,000 4,480 2,105	1,410
	38 39 40 41 42	Other Charges for and incidental to— Forest Ecology Silvicultural management studies Utilization  Less amount not required  Total—Subdivision No. V  Subdivision No. VI.—General Afforestation: Building, Tree - planting, Maintenance and Protection of Plantations, Operations of Nurseries, and Collateral Activities.  Other Charges for and incidental to— Nurseries— Hanmer Hanmer Ranfurly Rotorua	2,410 1,000 4,480 2,105 7,985	1,410
	38 39 40 41	Other Charges for and incidental to— Forest Ecology Silvicultural management studies Utilization  Less amount not required  Total—Subdivision No. V  Subdivision No. VI.—General Afforestation: Building, Tree - planting, Maintenance and Protection of Plantations, Operations of Nurseries, and Collateral Activities.  Other Charges for and incidental to— Nurseries— Hanmer Hanmer Ranfurly Rotorua Tapanui	2,410 1,000 4,480 2,105	1,410
	38 39 40 41 42	Other Charges for and incidental to— Forest Ecology Silvicultural management studies Utilization  Less amount not required  Total—Subdivision No. V  Subdivision No. VI.—General Afforestation: Building, Tree - planting, Maintenance and Protection of Plantations, Operations of Nurseries, and Collateral Activities.  Other Charges for and incidental to— Nurseries— Hanmer Hanmer Ranfurly Rotorua	4,480 2,105 7,985 5,645	1,410
	38 39 40 41 42 43 44 45	Other Charges for and incidental to— Forest Ecology	2,410 1,000 4,480 2,105 7,985	1,410
	38 39 40 41 42 43 44 45 46	Other Charges for and incidental to— Forest Ecology	4,480 2,105 7,985 5,645 3,045 1,650 50	1,410
	38 39 40 41 42 43 44 45	Other Charges for and incidental to— Forest Ecology	4,480 2,105 7,985 5,645 3,045 1,650	1,410

# Appropriations for State Forests Account.

Number of Persons.	Item.	STATE FOREST SERVICE—continued.	1921-	<b>-22.</b>
1921-22.		VOTE No. 69—continued.  Subdivision No. VI.—General Afforestation: Building, Tree-planting, &c.—continued.	£	£
	50 51 52 53 54 55 56 57 58 60 61 62 63 64 65	OTHER CHARGES FOR AND INCIDENTAL TO—continued.  Hanmer Springs Kaingaroa Kaingaroa West Naseby Puhipuhi Pukerau Raincliffe Te Kapo Waiotapu Waiotapu Waitahuna Whakarewarewa Cost of distribution of trees gratis to soldiers Land purchase for extension of nurseries and plantations Preparation of planting plans and forest extension Sand dune reclamation and afforestation *Temporary assistance	1,725 7,715 4,795 2,160 1,200 800 50 25 3,400 25 4,620 600 2,950 1,000 1,500 485	
	66	Tree seed collection, indigenous  Less amount not required  Total—Subdivision No. VI	63,870 7,500	56,37
	67 68	Subdivision No. VII.—Acquisition of Indigenous Forests.  Repayment of advance under Government Loans to Local Bodies Act for roading to acquire area in Block XII, Manganui Survey District, as a Provisional State Forest	151 7,022	7.17
	. 69 70 71 72 73	Subdivision No. VIII.—Grants and Subsidies to Local Bodies for Tree-planting: Miscellaneous.  Allowance to the widow of the late Forest Ranger W. Steers for furniture-removal expenses Trounson's Kauri Park— Fencing and erection of caretaker's cottage for a Forest Guard at Law-costs in connection with acquisition of Subsidy (£1 for £1) to Wellington City Council for tree-planting Subsidy (£1 for £1) to New Brighton Borough Council for tree-planting	10 750 72 1,000 500	7,17
		TOTAL—VOTE No. 69		2,33 131,24

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

#### STATE COAL-MINES ACCOUNT.

						1	921–22.	
					Salaries. Other		her Charges.	Total.
Jote No. 5	70 —9	State Coal-mine			£ 14,	477	£ 279,975	£ 294,45
1010 1101			•••					
		TOTAL	•••		14,	477	279,975	294,45
Number of Persons.	Item.						192	1–22.
19 <b>2</b> 1–22.		VOTE No. 70	STATE COAL-	MINE	S.		£	£
	1	Salaries—	Professional D	IVICION	,			
•		Class A—				:	050	
1		Class B—	0 (General Manage:	r, Stat	e Coal-m	ines)	850	
1		1 at £60	0				600	
	1	Class D—	0			£		
3		2 at £45	 5 (£20 increase for	10 mai	nths)	$900 \\ 412$		
O		1 00 211	o (who increase for	TO IIIO	11115)		1,312	
			CLERICAL DIVI	sion.				
1		Class III-		0	∆h a\		404	
1		Class IV-	0 (£25 increase for	9 mon	unsj	• • •	494	
1		1 at £45	0 (£20 increase for	10 mo	nths)		446	
0		Class V—	0				1 000	
3		3 at £40 Class VI—		•	•••	•••	1,200	
. 3			0 (1 £25 increase fo	or 9 m	onths)		1,045	
		Class VII-	<del>-</del>		,	4 000		
		6 at £32		•	•••	1,920		
		1 at £25		6 m/	···	250 470	1	
			0 (1 £20 increase for 5 (£15 increase for			102	1	
12			0 (£15 increase for			96		
		1 40 1410	0 (020 1110100000101	0 1110111	,110)		2,838	
	İ	1	GENERAL DIVI	SION.				
		1 at £425	••		•••	425		
		1 at £390			• • •	390		ŀ
		3 at £371				1,118		
		1 at £360	••	•	• • •	360		
		2 at £295	••	•	•••	590		
		1 at £290	••	• '	•••	290 560		
		2 at £280 3 at £275	••	•		<b>5</b> 60 825		
		2 at £253	••	•	•••	506		
		2 at £238	• • • • • • • • • • • • • • • • • • • •		•••	476		
19			£12 increase for 5	$\mathbf{month}$		157		
	-		•		•		5,692	
44	_	•					*14,477	-
		1						

## Appropriations for State Coal-mines Account.

#### STATE COAL-MINES ACCOUNT -- continued.

Number of Persons.	Item.		1921-	-22.
1001 00	-	STATE COAL-MINES—continued.		
1921–22.		VOTE No. 70—continued.	£	£
		OTHER CHARGES FOR AND INCIDENTAL TO		
	2	Audit fees for inspection of accounts	100	
	3	Compensation and expenses under Workers' Com-	100	
		pensation Acts	2,000	
		Depots: Purchase of stocks and trading expenses—	2,000	
	4	Christchurch	15,000	
	5	Dunedin	50	
	6	Wanganui	6,000	
	7	Wellington	44,000	
	8	Grant towards purchase of new residence for Doctor	22,000	
		at Runanga	100	
	9	Harbour rates and royalty	9,000	
	10	Head office expenses	150	
	11	James colliery expenses	17,000	
	12	Liverpool Colliery expenses	185,000	
	13	Office fittings and requisites (including printing and		
		stationery	100	
	14	Point Elizabeth Colliery expenses	50	
	15	Postage, telegrams, and rent of boxes	250	
		Prospecting and Development of State Coal-mines—		
	16	MacDonald Mine	4,000	
	17	James Mine	9,000	
	18	Liverpool Mine	3,000	
	19	Purchase price of Doctor's former residence at		
•		Runanga, for Mine-manager, State Coal-mines	350	
	20	Seddonville Colliery expenses	<b>5</b> 0	
		Subsidies—		
	21	Runanga Medical Association	200	
	22	Runanga Brass Band, for instruments	150	
	23	Runanga Brass Band, on account maintenance	75	
	24	Travelling allowances and expenses	300	
	25	Contingencies, including unforeseen expenditure in-		
		cidental to the other items of the vote	50	
			295,975	
		Less estimated credits under section 48 of the	10 000	
		Public Revenues Act, 1910	16,000	
			070 077	
		TOTAL—VOTE No. 70	279,975	904
		TOTAL—VOTE No. 70		294,4

STATE COAL-MINES ACCOUNT

.... £294,452

## SCENERY PRESERVATION ACCOUNT.

	·					1921–22.			
		<del></del>	· <u></u>	,	-	Salaries.	Othe	or Charges.	Total.
Vote No. 7	′1. –S	cenery Pres	ervation			£ 25		£ 68,268	£ 68,293
		TOTAL	•••	•••	·	25		68,268	68,293
Number of Persons.	Item.			<del></del>				1921	-22.
	-		SCENE	RY PRES	ERVATI	ON.			
1921–22.		VOTE No.	71—cont	inued.				£	£
				· · · · · · · · · · · · · · · · · · ·					~
	1	Salaries		LERICAL DI	Melon				
		Class 1		LERICAL DI	VIBION.				
1		1 at	£25_(bein	ng portion	of salary	of Chief Cl	erk,		
		La	ınds Depa	rtment, £5	50)	•••	•••	25	•
	$\stackrel{!}{:}$ 2	OTHER C	HARGES F	OR AND INC	IDENTAL	то— Wairau Par	iah	- :	
	. 4		es Mounta		on 14,	wairau Par	ısn,	452	
	3	Administration of reserves and historic spots (includ-							
		ing fencing and other works)						500	
	. 4			ic., in cont nery Preser			ken	750	
	5					ng the Wangs	nui	, , ,	
		Rive		NT 41		,	•••	100	
	6					ken for scer under the Pu			
	İ					Land Act, 19		500	
	7	Expens	ses of Boa	${ m rds}$	•••	•••		20	
	8					ock VI, Wint			
	·	£1)	noution to	owarus pur	chase of	(subsidy, £1	IOF	360	
	9	Kaitun	a Scenic	Reserve, co	ontributio	n towards p	our-		
	10			dy, £1 for		•••		500	
	10 11			nu, planting pakura, acq		f	•••	$250 \\ 2,500$	
	12					River protec		_,555	
	1.0	work	s (£1 for a	£1)		···	;	25	
	13					ensation for l River for sce			
		purp		Julii bona c				6,485	
	14	Puketa	rata 4н В			i, acquisition	ı of	400	
	15 16			ınson's Kaı of 874 acr		; oui Estate to	 he	40,000	
	10					d at Lake V			
		karei	noana		• • •	•••		7,430	
	17					Part Section 8	332,	500	
	18			Robinson S. : Renovati		•••	•••	$\begin{array}{c c} 520 \\ 100 \end{array}$	
	19					yment of cap	oital		
	00	value	9			•••	•••	680	
	20	Section	177, Paris	sh of Manai	a: Purch	nase price	•••	30	

## Appropriations for Scenery Preservation Account.

## SCENERY PRESERVATION ACCOUNT—continued.

Number of Persons.	Item.		1921-	22.
$\phantom{00000000000000000000000000000000000$	ļ	SCENERY PRESERVATION—continued.		
1921–22.		VOTE No. 71—continued.	£	£
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.		
	21	Section 45, Huatoki Settlement: Payment of capital		
	00	value	200	
	22	South Island landless Natives: Acquisition of land set apart for	4 945	
	23	Surveys, valuations, and incidental expenses	4,245 $200$	
	24	Turuturumokai Pa Scenic Reserve: Cost of planting	200	
		native trees	76	
	25	Waipu Gorge Scenic Reserve: Acquisition of Part	200	
	26	Section 137-9, Wairau Parish Whangarei Borough Scenic Reserve: Contribution	200	
	20	towards purchase (subsidy, £1 for £1)	685	
	27	Whangaroa Scenic Reserve: Purchase of portion of		
		Block 24, Taupo, Whangaroa S.D. (balance)	1,060	
		-	CO 000	
		TOTAL—VOTE No. 71	68,268	68,29
		101AL-VOLE NO. 71		00,200

SCENERY PRESERVATION ACCOUNT

£68,293

# Appropriations for Nauru and Ocean Islands Account.

## NAURU AND OCEAN ISLANDS ACCOUNT.

					21–22.	22.	
				Salaries.	Oth	er Charges.	Total.
ote No. 7	72.—N	Vauru and Ocean Islands	•••	£ 		£ 130,000	£ 130,000
		TOTAL		•••	~	180,000	130,000
Number of Persons.	Item.				All All Parish and All All All All All All All All All Al	1921	<b>–22.</b>
1921-22.	1	NAURU AND OCE VOTE No. 72. SALARY—	AN ISI	ANDS.		£	£
		Commissioner		•••	•••	*	 
	2	OTHER CHARGES FOR AND INC Purchase and distribution Zealand, freight, agen- expenses, &c.	of pho cy expo	osphates in enses, trave 		130,000	
	1	TOTAL—VO	ΓE No.	72			130,000

 $<sup>\</sup>boldsymbol{*}$  Salary payable from working expenses of the business.

## LAND FOR SETTLEMENTS ACCOUNT.

				1921–22.			
				Salaries.	Oth	er Charges.	Total.
Vote No. 7	<b>73.—</b> -]	Land for Settlements Exper	nses	£ 1,569	2	£ 11,799	£ 13,368
		TOTAL		1,569		11,799	13,368
Number of Persons.	Item.	LAND FOR SETTL	EMENTS E	CPENSES		192	1–22.
1921–22.		VOTE No. 73.	13141114 113 122	XI 111(0136).		£	£
1	1	SALARIES— CLERICA 1 at £825	L Division.		•••	8 <b>25</b>	
1		Class V— 1 at £450		•••		450	
1	!	Class VII— 1 at £130			• . •	130	 
	   	GENERA	L Division.				
1		1 at £218 (9 months)	•••	••.		164	
4						*1,569	
	2 3 4 5 6 7 8 9	OTHER CHARGES FOR AN Advertising, photogra other publications Grant to J. D. Ritchi on retirement, in lies Interest on overdue per over Office fittings and requestationery) Postage, telegrams, an Preliminary expenses, where Land Settlement Refund of proportion estates purchased for Telephone services (incommaintenance, rent, a Travelling allowances a Typewriters: Purchase	phs, books, r e, Land Purce of leave of altyments and reliable distributions, and Finance Act of land-tax r settlements luding installa nd calls) and expenses	hase Controbsence mortgages ta ng printing l expenses un and rates u	ller,  ken  and  ider 	10 413 200 20 100 900 100 20 1,250	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

## Appropriations for Land for Settlements Account.

#### ${\bf LAND\ FOR\ SETTLEMENTS\ ACCOUNT--} continued.$

M 1				
Number f Persons.	Item.	l.	<b>1</b> 921–	22.
		LAND FOR SETTLEMENTS EXPENSES—continued.		
921– <b>2</b> 2.		VOTE No. 73—continued.	£	£
	12	OTHER CHARGES FOR AND INCIDENTAL TO—continued.  Contingencies, including unforeseen expenditure incidental to the other items of the vote	10	
		Lands Department—		
	1	Roading, drainage, improvements, &c., for the benefit or protection of settlements under Section 77 of		
	13	the Land for Settlements Act, 1908:— Beaumont: River protective works (subsidy, £1		
		for £1)	400	
	14	Cricklewood Settlement: Water-supply	1,515	
	15	Harihari Settlement: River protection (sub-	90	
	16	sidy, £1 for £4) Hereford Settlement: Water-supply, Section 1	$\begin{array}{c c} 80 \\ 150 \end{array}$	
	17	Kota Settlement: Formation and metalling Kota	100	
		Road	500	
	18	Longbush Settlement: Roading and fencing	475	
	19 20	Mahupuku Settlement: Roading and fencing  Makareao Settlement: Extra mileage charge levied by Railways Department on railway-line	475	
		to lime-works	346	
	21	Ohauiti Settlement: Road to Oropi	400	
	22	Otanomomo:— Artesian wells	20	
	23	Metalling roads (additional)	288	
	24	Otekaike Settlement: Boring wells and erection		
	25	of wind-mills (subsidy, £1 for £1) Otekaike Settlement: Repairs to water-race,	635	
		Western Bank	500	
	26	Otekaike Settlement: River protective works	210	
	$\frac{27}{28}$	Putorino Settlement: Water-supply Remuera Settlement, Auckland: Drainage of	150	
		Lake Omapere	1,340	
	29	Selwyn Settlement : Roading	55	
	30	Waari Hamlet: Formation of streets	120	
	$\begin{vmatrix} 31 \\ 32 \end{vmatrix}$	Waddington Settlement: Roading	317	
	52	Waipapa: Protective works, South Bank George Stream, through Harkaway Flat (subsidy,	**	
	20	£1 for £1)	50	
	$\begin{array}{c} 33 \\ 34 \end{array}$	Waitohi Peaks Settlement: Roading Wangapeka Settlement: Protective works to	290	
	01	prevent encroachment of river	100	
	35	Warnock Settlement: River protective works	350	
		TOTAL VOTE No. 73	11,799	

LAND FOR SETTLEMENTS ACCOUNT

£13,368

# Appropriations for Native Land Settlement Account.

#### NATIVE LAND SETTLEMENT ACCOUNT.

						199	21–22.	
					Salaries.	Other	Charges.	Total.
ote No. 7	4.—N	ative Land Purcha	se Expenses		£ 1,500		£ 1,850	£ 3,350
		TOTAL			1,500		1,850	3,350
Number of Persons.	Item.	1921–					<b>–22.</b>	
1921–22.	ļ	NATIVE LA	AND PURCHAS	SE EX	PENSES.		£	£
1	1	SALARIES—  Class II— 1 at £550	CLERICAL DIVI	SION.			550	-
1		Class III— 1 at £500				•••	500	
3	-	Class IV— 1 at £450			•	•••	*1,500	
	2 3	CHARGES FOR AN Travelling and Valuation fees	l general admini		expenses	•••	1,600 250	
			TOTAL—VO	ΓΕ No.	74		1,850	3,35

NATIVE LAND SETTLEMENT ACCOUNT .... £3,350

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

# Appropriations for Housing Account.

## HOUSING ACCOUNT.

						1	921–22.	
					Salari	es. Ot	her Charges.	Total.
Vote No. 7	75.—]	Housing .		•••	£ £ 240,299			£ 252,61
		TOTAL		•••		,314	240,299	252,61
Number of Persons.	Item.		ноп	OING.	T		192	1–22.
1921–22.		VOTE No. 75.	1100	SING.			£	£
	1	Salaries					, &	±
	!		Profession	AL Division	٧.			
1		Class C— 1 at £470	0		•••		470	
		Class III-		Division.				V 1
1		1 at £500		•••		• • •	500	
1	! 	Class IV— 1 at £425		•••	•••	•••	425	
1		Class V— 1 at £380	0	•••	•••	•••	380	
1	<u> </u> 	Class VI— 1 at £350			•••		350	
		Class VII-  1 at £326 1 at £316 1 at £296 1 at £276 1 at £266 2 at £236 2 at £166	) ) ) ) )			£ 320 310 290 270 260 460 320		
11	i !	2 at £100	Ď		•••	200		
		10 at £335 3 at £325 1 at £230 1 at £184	GENERAL	Division		3,350 975 230 184		
20		1 at £164 2 at £152 1 at £140 1 at £100		 	•••	164 304 140 100		
		1 at £1,000		SSIFIED.		1,000	1	
		1 at £1,000 1 at £350 2 at £345 1 at £312 1 at £293 1 at £267	,			350 689 312 293 267		

## Appropriations for Housing Account.

#### HOUSING ACCOUNT—continued.

Number of Persons.	Item.		1921-	22.
		HOUSING—continued.		
1921–22.		NOME IN THE		0
		VOTE No. 75 continued.	£	£
	1	Salaries—continued.		
		Unclassified—continued.		
		1 at £260 260	1	
		1 at £254 254		
		1 at £241 241		
11		1 at £241 (3 months) 60	3,726	
47		Lodging-allowance to Cadets and Typistes	40	
			13,768	
		Less proportion of increases to salaries provided		
		for but not payable during current year	1,454	
			*12,314	-
		OTHER CHARGES FOR AND INCIDENTAL TO-		
	2	Acquisition of land	2,000	
	3	Advertising, books, photographs, newspapers, and		
		other publications	100	
	4	Allowances to officers temporarily performing special	150	
	5	or higher duties	$\begin{array}{c c} 150 \\ 100 \end{array}$	
	6	Bicycles: Purchase and upkeep	364	
	7	Commission	200	
	8	Erection	215,000	
	9	Expenses in connection with report on Waller	,,,,,	
	10	Housing Scheme	8	
	10	Freight, cartage, and transport charges	10	
	$egin{array}{c} 11 \ 12 \end{array}$	Fuel, light, power, and water Insurance	$\frac{141}{2,500}$	
	13	Law-costs	200	
	14	Loan to Westhaven Limited for purchase of engine	200	
		and boiler	750	
	15	Office fittings and requisites (including printing and	į	
		stationery)	900	
	16	Overtime and meal allowances	10	
	17	Payment to Labour Department for services of	9 901	
	18	officers Postage, telegrams, and rent of boxes	3,891 582	
	19	Proportion of cost of sewerage at Miramar to connect	002	
	10	with workers' dwellings	1,350	
	20	Purchase of dwellings already erected	2,000	
	21	Rates	600	
	22	Rent	450	
	23	Repairs and maintenance	500	
	24	Roading, surveying, &c	7,000	
	25	Telephone services (including installation, extension,	140	
	26	maintenance, rent, and call)  *Temporary assistance	140 50	
	27	Travelling allowances and expenses	1,000	
	28	Typewriters: Purchase and repairs	53	
	29	Contingencies, including unforeseen expenditure in-		
		cidental to the other items of the vote	250	
,			240,299	
		TOTAL—VOTE No. 75	,,,,,,	252,0

HOUSING ACCOUNT

£252,613

 $<sup>\</sup>boldsymbol{*}$  Includes cost-of-living increase to scale salaries or wages.

## Appropriations for Discharged Soldiers Settlement Account and Fishing Industry Fromotion Account.

#### DISCHARGED SOLDIERS SETTLEMENT ACCOUNT.

			<del></del>				1921–22.
ote No.	76.—	Expenses of Management		.,,		•••	£ 40,000
		TOTAL	•••				40,000
Number of Persons.	Item.	EXPENSES OF	' MANAGEI	MENT.		1921	-22.
1921–22.		VOTE No. 76.	2,212,120,22		j~	£	£
	1	Lands Department: other departmenta administration of t ment Act	l expenses co	nnected w	vith the	40,000	
		TOTAL—VO	ΓΕ No. 76		-		40,000

## FISHING INDUSTRY PROMOTION ACCOUNT.

			_		}	1921-22.			
						Salaries.	Oth	er Charges.	Total.
Vote No. 77.— Fishing Industry Promotion			£	£ £ 10,000		£ 10,000			
		TOTAL	•••	•••		***		10,000	10,000
Number of Persons.	Itom.	FISHING INDUSTRY PROMOTION.						1921-22.	
1921–22.		VOTE No. 77.  Charges for and incidental to—					£		£
	1	Advance motio	n Act,	1919	•••	ng Industry	Pro-	10,000	
			T	OTAL—VO	OTE No.	77	•••		10,000

## WESTPORT HARBOUR BOARD ACCOUNT.

. <del></del> .				19	21–22.		
			Salaries.	Oth	er Charges.	Total.	
Vote No. 7	78	Westport Harbour	£ 2,140	£ 59,980		£ 62,120	
		TOTAL	2,140	-	59,980	62,120	
Number of Persons.	Item.	WESTPORT HARBO	IIR.		192	1–22.	
1921–22.		VOTE No. 78.	(7 10)		£	£	
	1	Salaries	•••	•••	2,140		
	2 3	Other Charges for and incidental to— Liquidation of overdraft on wo Harbour Board with interest to 2 Refund to Treasury of interest adv	rking account 26th April, 192	1	13,760		
	4	April, 1921 Harbour-works—	prior w		14,000		
		Dredging (including repairs and tenance) Harbour expenses and tug Maintenance	$ \begin{array}{ccc} \dots & 21, \\ \dots & 5, \end{array} $	£ 000 000	31,000		
	5 6	Accident insurance Contingencies, including unforeseer dental to the other items of the v	expenditure	inci-	320		
		Less estimated credits under	section 48 of	the	62,220		
		Public Revenues Act, 1910			100		
		TOTAL—VOTE No.	78	•••		62,120	

WESTPORT HARBOUR BOARD ACCOUNT

£62,120

## WAR EXPENSES ACCOUNT.

		,	1921–22.				
		Salaries. Of		er Charges.	Total.		
Vote No.	79. — V	War Expenses—	£		£	£	
Subdivis	ion I	I.—General Expenditure	93,041 28,000	1,	695,799 17,009	1,788,840 45,009	
		TOTAL	121,041	1,	712,808	1,833,849	
Number of Persons	Item.			1921–22.			
1921-22.	-	WAR EXPENSES.					
	i	VOTE No. 79.			£	£	
	İ	Subdivision No. I.—General Exp	enditure.				
	1	General Expenses—					
	$\frac{1}{2}$	Advertising, office expenses, printing Amount required to recoup Impre			10,000		
		vouchers lost in transit after paym	ent	101	49		
	3	Camps, expenses of			70,000		
	4	Camps, purchase new boiler, &c.,					
	İ	Trentham (£2,072 less progress last year)	payment £1	,500	572		
	5	Canteens, ex troopships	•••		8,500		
	6	Clerical assistance			35,000		
	7	Clerical assistance, Audit Branch			3,000		
	8	Clerical Assistance: Proportion sala					
		missioner's staff, engaged on cler expenses, transport, &c	icai work re		1,500		
	9	Commissions and Courts of Inquiry-		•••	1,000		
		Expenses re H. H. Thompson Con	nmission		137		
	10	Compensation to Lieutenant Eric M	lorgan for ef	fects			
	1 4 4	erroneously disposed of		•••	60		
	11	Compensation to H. H. Thompson in tence of court-martial, subsequent		sen-	100		
	12	Compassionate allowance to Mrs.	M. A. Hui	iter.	100	Ì	
		widow of 17890, William Hunter,	N.Z.E.F.		45		
	13	Compassionate allowance to Mrs.					
		wife of 39125 E. C. Trendle, in fir			50		
	14	all claims against the New Zealan Cost of special constables, and foo			50		
		sworn in at Rarotonga to quell riot	s by Raroton	ngan			
		members of New Zealand Expedi	tionary Forc	e on	1		
	4.	their return to Cook Islands	•••		190		
	15 16	Educational and vocational training Equipment	•••	•••	25,000 20,000		
	17	Financial assistance to soldiers	•••		100		
	18	Forage	••:	• • • •	5,000		
	19	Grant to Mrs. M. Okeby, towards lo	ss of luggage	e	25		
	20	Grant to Soldiers' Recreation Fund, T Hospital, towards loss by embezz					
		tional Accountant			50		
	21	Hanmer Farm	•••	• • •	3,000		
	$\begin{vmatrix} 22 \\ 23 \end{vmatrix}$	Home defence Hospital ship "Maheno"	•••	•••	$ \begin{array}{c c} 125 \\ 20,000 \end{array} $		
	$\frac{23}{24}$	Hospital ship "Marama"	•••	• • •	20,000		

# Appropriations for War Expenses Account.

#### WAR EXPENSES ACCOUNT—continued.

Number of Persons.	Item.	WAR EXPENSES—continued.	1921-	-22.
1921–22.	 	VOTE No. 79—continued.		
		Subdivision No. 1.—General Expenditure—continued.	£	£
	25	General Expenses—continued.  League of Nations: New Zealand's proportion of secretariat expenses—  Half-year to 31st December, 1920 3,120		
		For year ending 31st December, 1921 6,000	9,120	
	26	Mechanical transport	10,000	
	27	Cost of war medals	50,000	
	28	Pay of medal engraving staff, materials, ribbons, &c. Medical expenses, &c.—	2,000	
	29	Subsidy to Hanmer Golf Club for use of links by	*0	
	90	patients	50	
	$\frac{30}{31}$	Artificial-limb manufacture  Dental services	10,000	
	32	Funeral expenses of ex-members of New Zealand	1,500	
	33	Expeditionary Force Cost of medical treatment of late Reverend J. A.	2,000	
	บบ	Luxford, Chaplain to N.Z.E.F	67	
	34	Cost of medical treatment, Lieutenant J. J. Trainer	59	
	35	Payment to Public Health Department re V.D.		
		clinics to 31st May, 1921	1,100	
	36	Medical supplies and treatment of soldiers at mili-	222 222	
	37	tary hospitals, sanatoria, and at public hospitals Salaries of administrative staff	$360,000 \\ 5,041$	
		Military Supplies Purchase Office—	J, 011	
	38	Salaries and office expenses	*	
	39	Office Expenses: Proportion rent, High Commis-		
		sioner's office, in connection with war-expenses	900	
	40	matters and graves-registration  Payment to General Post Office to reimburse stamp	300	
	10	credit placed in hands of N.C.O. at Somes Island	1	
		by Chief Postmaster and not accounted for	3	
		Pay of Troops—		
	41	Provision for issues not cleared, balances of pay still		
		due, balances deceased soldiers' estates, refunds due to Australian and Imperial forces for advances to New Zealand Expeditionary Force, &c.	50,000	
	42	Retrospective Allowances—	,	
		Married 5,000 5,000 5,000		
		Children's 5,000 Widowed mothers and other dependants 50,000		
			60,000	
	43	Difference between New Zealand Expeditionary	,000	
		Force and Imperial rates of pay, allowances and		
		gratuities for members of Imperial, Naval, and	15 000	
	44	Air Forces domiciled in New Zealand Postage, telegrams, cables, telephones, &c	15,000 10,000	
	111	Preparation War Histories—	10,000	
	45	Further payment to Colonel Hugh Stewart, as		
		writer of second volume, Official History of New	150	
	10	Zealand Expeditionary Force Payment to LieutCol. C. G. Powles for services	150	
	46	in writing a volume of Official History of New		
	i	Zealand Expeditionary Force	250	
	47	Prisoners of war and alien enemies, maintenance and		
	1	repatriation of	5,000	
	48	Proportion of damages assessed against New Zealand		
		troops in connection with riots at Ismailia, Egypt, in December, 1918	4,048	
	49	Pukeora Sanatorium Farm	3,000	
	50	Rations	40,000	

<sup>\*</sup>Transferred to vote, "New Zealand Military Forces and Cadets.—Subdivision No. V."

# $Appropriations \ for \ War \ Expenses \ Account.$

### WAR EXPENSES ACCOUNT—continued.

Number of Persons.	Item.		1921	l-2 <b>2.</b>
1001 00	ļ	WAR EXPENSES—continued.		
1921–22.		VOTE No. 79—continued.	£	£
		Subdivision No. I.—General Expenditure—continued.		
	51	General Expenses—continued.  Refund to Wairarapa Patriotic Association of propor-		
		tion of proceeds of sale of Soldiers' Club, and officers' mess buildings at Featherston camp Sale of surplus stores—	300	
	52 53	Expenses in connection with Superannuation: Contributions of public servants	2,000	
	54	serving with New Zealand Expeditionary Force Arrears of Contributions of Railway servants while	100	
	55	serving with New Zealand Expeditionary Force Transport of troops— Assisted passages of wives and fiancés	950 10,000	
	56 57	Four weeks' privilege rail fares in New Zealand Freight and charges on divisional equipment from	10,000	
	58 59	United Kingdom to New Zealand  General transport in New Zealand  Liability to Ministry of Shipping for passage	20,000 15,000	
		money of New Zealand troops, proportion cost reconditioning vessels, coal, bedding, &c	420,000	
	60	Cost of transport of New Zealand Expeditionary Force officers' horses from United Kingdom to New Zealand	15	
	61	50 per cent. increase in railway fares for carriage of troops in United Kingdom from 1st April, 1919		
	62	Travelling-expenses War gratuities—	27,000 700	
	63 64	New Zealand Expeditionary Force V.A.D.s. of British domicile who worked in New Zealand hospitals	65,000	
	65	War Graves: Supply of headstones for war graves in New Zealand and expenses incidental thereto.	7,000	
	66	Amount required to 31st March, 1921  War graves and memorials—  New Zealand's proportion of expenses	500	
		of Imperial War-graves Commission £ 1st October, 1920, to 31st March, 1921 13, 284		
	67	1st April, 1921, to 31st December, 1921 35,000  Miscellaneous expenses, photographing graves, &c.	48,284 3,000	
	68	Contribution to Internal Affairs Department for proportion cost of staff dealing with overseas	5,000	
	69	graves records and correspondence	600 30,000	
	70	War Office Account— Estimated balance of claims for animals, issues of		
		equipment, miscellaneous charges against New Zealand Expeditionary Force, interest, &c	350,000	
		Less estimated credits under section 48 of the Public	1,871,640	
		Revenues Act, 1910	82,800	
	t	Total—Subdivision No. I		1,788,

## Appropriations for War Expenses Account.

#### WAR EXPENSES ACCOUNT—continued.

Number of Persons.	Item.		192	L <b>–22.</b>
1001 00	-	WAR EXPENSES—continued.		
1921-22.		VOTE No. 79continued.	£	£
		Subdivision No. II—Repatriation.		
	-	Repatriation (Repatriation Act, 1918)—		
	71	Salaries	28,000	
		OTHER CHARGES FOR AND INCIDENTAL TO		
	72	Advertising, photographs, books, newspapers, and		
		other publications	460	
	73	Cost of passage repatriating 9/906, John Burridge, to		
		Tasmania, under arrangements made with the Australian Government, who declined to refund, as		
		Burridge did not remain in Australia	9	
	74	Fees for attendance at Board meetings	500	
	75	Postage, telegrams, and rent of boxes	2,200	
	76	Printing and stationery	2,500	
	77	Rent	2,400	
	78	Telephone services (including installations, extensions, maintenance, rent, and calls)	400	
	79	Travelling allowances and expenses	1,000	
	80	General administration expenses	1,000	
	81	Financial assistance to soldiers (mostly recoverable)	456,600	
			495,009	
		Less estimated credits under section 48 of the Public	,	
		Revenues Act, 1910, and repayments of loans	450,000	
		Total—Subdivision No. II		45,009
		TOTAL—VOTE No. 79		1,833,849

WAR EXPENSES ACCOUNT .... £1,833,849

# Appropriations for Public Trustee's Account.

### PUBLIC TRUSTEE'S ACCOUNT.

						1	921-22.	
		en i manage		· <u></u>	Salaries	s. Ot	her Charges.	Total.
Vote No. 8	32 l	Public Trustee's <i>?</i>	Account		£ 164,6	325	£ 47,852	£ 212,477
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		TOTAL			164,6		47,852	212,477
								212,111
Number of Persons.	Item.		on the Public	Trustee's	Accou	nt.	1921	-22.
1921-22.	1	VOTE No. 82.			,		0	· ·
4		1 at £1,050 ( 1 at £1,000 (6 months	Unclassii Public Trustee Assistant Publi (Assistant Pu ) inancial Advise	) ic Trustee) blic Trust 	 see), 	£ 1,250 1,050 500		£
•	1	ì	Professional	,	•••		3,300	
3		Class A— 1 at £900 1 at £750	(Solicitor to Pu (Chief Account (First Assistant	blic Trust	•••	900 750 700 ———	2,350	
12		11 at £550	1			6,050	)	
		Class C— 1 at £510		•••	• • •	510		
2		1 at £490 Class D— 6 at £450 10 at £430 2 at £415 6 at £395	)	•••	•••	490 2,700 4,300 830 2,370	1,000 )	
33	į	7 at £375 2 at £360				2,625 720	5	
30		. 2 & ( \$500	<i>a</i> . 10		•••		13,545	
		Special Clas	Clerical Dis—	IVISION.				
6		5 at £750 1 at £700 Class I—				3,750 700 ———	) 	
14		11 at £650 3 at £600		• • •		7,150 $1,800$	) !	
8	ļ	Class II— 8 at £550					8,950 $4,400$	
6	İ	Class III 5 at £500 1 at £475 Class IV				2,500 475	$\begin{bmatrix} 2 & 2,975 \end{bmatrix}$	· ! !
9	İ	7 at £450 2 at £425			•••	3,150 850	)	
52		Class V—  14 at £400 1 at £385 32 at £380 5 at £365  *Class VI— 1 at £380 15 at £350 16 at £335	) )			5,600 385 12,160 1,825 380 5,250 5,280 325	19,970	
49		15 at £310 1 at £290	)			4,650 290		
10				- <del></del>			16,175	i

## $Appropriations\ for\ Public\ Trustee's\ Account.$

Number Persons.	Item.	. Didi io mpilomin	ua Aaaam	(17)		1921-9	2 <b>2</b> .
921–22.	- - <del></del>	PUBLIC TRUSTEE	'S ACCOUN	T—contu	nuea.	1	
		VOTE No. 82—continued				£	£
	1	Salaries —continued.					
		CLERICAL D	ivision—cont	inued.			
		Class VII—			£		
		17 at £320	•••		5,440		
		5 at £310 5 at £290	•••		$1,550 \\ 1,450$		
		14 at £270	•••	•••	3,780		
	!	34 at £250			8,500		
		11 at £230		• • •	2,530		
	i	16 at £215	•••		3,440		
	i i	71 at £160		•	11,360		
		4 at £140	•••	• • •	560		
	Į.	63 at £115 48 at £100	***	•••	$7,245 \\ 4,800$		
289	i	1 at £85	***	•••	85		
_00			•••			50,740	
	}		AL Division.		1 050		
		3 at £450	•••	• • •	1,350		
	į	1 at £400 2 at £350	• • •	• • • •	400 760	1	
		1 at £340	• •		340		
		1 at £315			315		
		4 at £310		• • •	1,240		
		1 at £290		•••	290	!	
		1 at £270	• • • •		270		
		1 at £260		• • • •	260		
		5 at £250 3 at £240	•••	• • • •	$\frac{1,250}{720}$		
	!	22 at £230	•••	•••	5,060		
		2 at £218	***	•••	436		
		11 at £206		•••	2,266		
	İ	1 at £190	•••	• • • •	190		
		16 at £184	•••		2,944		
		1 at £180	•••		$\frac{180}{2,952}$		
		18 at £164 15 at £152	•••	•••	$\frac{2,352}{2,280}$		
		15 at £140	•••		2,100		
		13 at £124	•••	•••	1,612		
		3 at £115	•••		345		
143		3 at £100	•••		300		
690	-	Taduinu allamanaa	è			27,800	
630		Lodging-allowances— 35 at £20	-		700		
-		13 at £30		•••	390		
	ļ	25 40 255		***		1,090	
		Clerical assistance—					
		Temporary Officers	•••			7,500	
						174,895	
		Less salaries and	proportion of	increases	provided	_, _, _	
		for but not requ				10,270	
						*164,625	
		OTHER CHARGES FOR AL				į	
	2	Additions, improvement				£ 000	
	3	surance of premises				5,000	
	, 0	Advertising, photogra	ipus, nooks,	nowshah	ers, and	3,000	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

### Appropriations for Public Trustee's Account.

### PUBLIC TRUSTEE'S ACCOUNT—continued.

Number of Persons.	Item.		1921	-22.
		PUBLIC TRUSTEE'S ACCOUNT—continued.		
1921–22.		VOTE No. 82—continued.	g£	£
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.		
	4	Allowance of three months' salary to W. A. Ford-		
	_	ham, together with leave under Regulation 65D	262	
	5	Allowance to Mrs. Triggs (compassionate allowance)	1,250	
	. 6	Audit Office for inspection of accounts	900	
	7	Commission to agents other than permanent officers	3,500	
	8	Overtime and meal allowances	400	
		Payment to Department of Internal Affairs on ac-		
		count of—		
	9	Wages of custodian, messengers, charwomen, &c.	6,000	
	10	Salary of officer in High Commissioner's office	1,090	
	11	Payment to Post and Telegraph Department for	==0	
	10	services of officers	750	
	12	Postage, telegrams, rent of boxes, freight, and cartage	5,750	
	13	Printing and stationery	5,500	
	14	Proportion of rent of High Commissioner's Office	200	
	15	Rent	3,500	
	$egin{array}{c c} 16 & \\ 17 & \\ \end{array}$	Stores for cleaning, lighting, firing, &c	3,000	
	11	Telephone services (including installation, extensions,	750	
	18	maintenance, rent, and calls)  Travelling allowances and expenses	5,000	
	19	Contingencies, including unforeseen expenditure in-	5,000	
		cidental to the other items of the vote	2,000	
		·  -	47,852	
		TOTAL—VOTE No. 82		212,47

PUBLIC TRUSTEE'S ACCOUNT .. £212,477

### NATIVE TRUSTEE'S ACCOUNT.

				1921–22.			
		<del></del>	-	Salaries.	Othe	er Charges.	Total.
ote No. 8	3.—1	Vative Trustee's Ac	ecount	£ 5,01	6	£ 1,870	£ 6,88
		TOTAL		5,01	6	1,870	6,88
Number of Persons.	Item.		<u> </u>		11 10 10 10 11 1 10 1	192	1-22.
		For Services char	geable on the Native T	rustee's Ac	count.		
		VOTE No. 83.				£	£
	1	Salaries—	Unclassified.			· c	
1		1 at £1,000 (	Native Trustee)			1,000	
		F	PROFESSIONAL DIVISION				
1		1 at £550		***	,	550	
			CLERICAL DIVISION.				
		Class V—	Chemona Division.		£		
0		1 at £400	•••	•••	400		
2		1 at £360 Class VII—	•••	•••	360	760	
		3 at £320	***		960	100	
		1 at £270	• • • • • • • • • • • • • • • • • • • •	•••	270		
		1 at £230 1 at £160	•••	•••	$\frac{230}{160}$		
		1 at £135	•••	•••	135		
9		2 at £125		•••	250		
			GENERAL DIVISION.			2,005	
		1 at £206	CEMERAL DIVISION.		206		
2		1 at £125		•••	125		
15	-					331	
						4,646	-
	2		o Native Department			100	
	3	Temporary as	sistance	•••	• • •	270	
						*5,016	
			FOR AND INCIDENTAL	то—		İ	-
	5	Additions, rep Advertising	airs, &c	•••	•••	300	
	6		or inspection of accour	 nts		50	
	7	Overtime and	meal allowances			100	
	8 9	Postage, teleg	rams, and rent of boxe		• • •	50	
	10	Printing and a Rent	stationery	•••		350 250	
	11		ning, lighting, firing, &			50	
	$\frac{12}{12}$	Telephone cha	irges		•••	100	
	$\begin{array}{ c c c c }\hline 13 \\ 14 \end{array}$		owances and expenses	•••	•••	500	
	1.4	Contingencies	•••	••	•••	. 100	
		!	ГОТАL—VOTE No. 8	12		1,870	0.00
			TOTAL TOTAL NO. C	ю	• • • •		6,88

NATIVE TRUSTEE'S ACCOUNT

£6,886

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

## Appropriations for Government Insurance Account.

### GOVERNMENT INSURANCE ACCOUNT.

<u> </u>	-				1921–22.					
		<del></del>			Salarie	ов. О	ther Cha	irges.	Total.	
Vote No. 8	34.—	Government Insurance Acc	ount		44	£ ,511		£ ,165	£ 112,67	
		TOTAL	••	•••	44	,511	68,	165	112,670	
Number of Persons.	Item.							1921	L- <b>22.</b>	
1001 00	ļ-—	Chargeable on the Gov	ernment	·Insur	ance A	ccount.				
1921–22.	1	VOTE No. 84. Salaries—						£	£	
	!	Administr	ATIVE D	ivisioi	N.		į			
1		1 at £1,250 (Commiss	sioner)					1,250		
		Profess	•	TVICION	· · · ·	•	į	-,		
1	,	1 at £975 (Actuary an				er)		975		
1		Class B—	_	•	1111981011		• '	510		
1	1	1 at £700 (Assistan	t Actuar	y)	•••		. 1	700		
	!	CLERIC	al Divi	SION.						
		Special Class-				£				
0		1 at £850 2 at £700	• • •			85 1,40				
3	İ	Class I—						2,250		
3		3 at £600	• • •		• • •	•	1	1,800		
1		Class II— 1 at £525						EOE		
1		Class III—	•••		•••	•	'*	525		
2		2 at £500						1,000		
6		Class IV— 6 at £450						2,700		
U		Class V—	•••		• • •		·•   	2,100	!	
		9 at £400				3,60	0			
16		7 at £380 Class VI—	• · ·		•••	2,66	<u> </u>	6,260		
		20 at £350				7,00	0	0,200	)	
21		1 at £330			•••	38	0	<b>7</b> 990		
		Class VII— 14 at £320				4,48	0	7,330		
		3 at £310				93	0			
		3 at £290			• • •	87				
	1	8 at £270 8 at £250	• • •			$\frac{2,16}{2,00}$				
		6 at £230				1,38				
		5 at £215				1,07				
		20 at £160	•••		•••	3,20				
		2 at £115				23			<u> </u>	
71	İ	2 at £100				20				
		Lodging-allowances	•••		•••		_ 1	$16,525 \\ 400$		
			D							
		1 at £250	AL DIVI	SION.		25	0		į	
		3 at £184				55			i	
		1 at £164				16				
7		2 at £140			• • •	28				
		1						1,246	I	

# Appropriations for Government Insurance Account.

#### ${\bf GOVERNMENT\ INSURANCE\ ACCOUNT--} continued.$

of Persons.	Item.	COMPANY TAXABLE AND AND ADDITION OF THE PROPERTY OF THE PROPER	1921-	<b>-22.</b>
1921–22.		GOVERNMENT INSURANCE ACCOUNT—continued.		
		VOTE No. 84—continued.	£	£
	1	Salaries—continued.		
		General Division—continued.		
1		Chief Medical Officer	450	
134		For auditing accounts High Commissioner's Office, London—	325	
		Half salary of one clerk	175	
		Probationary cadets	600	
			*44,511	
		OTHER CHARGES FOR AND INCIDENTAL TO—		
	$\frac{2}{}$	Advertising, photographs, books, newspapers, and other publications	500	
	3	Allowances to officers temporarily performing higher	100	
	4	duties	$\begin{bmatrix} 100 \\ 2,643 \end{bmatrix}$	
	5	Bank exchange and agency fees	200	
	$\begin{vmatrix} 6 \\ 7 \end{vmatrix}$	Commission	37,500	
	`	in new business and commission to officers	1,500	
•	8 9	Contribution to salary of Minister's Private Secretary Fees for certificates of death, &c	58   25	
	10	Freight, cartage, and transport charges	800	
	11	Fuel, light, power, and water	600	
	12 13	Insurance premiums Law-costs	250 500	
	14	Medical fees	7,000	
	15 16	Office-cleaning Office fittings and requisites (including printing and	100	
	10	stationery)	3,000	
	17 18	Overtime and meal allowances Payment to Department of Internal Affairs for	1,500	
	,	services of messengers, night-watchmen, and char- women	5,529	
	19	Postage, telegrams, and rent of boxes	3,000	
	20	Remuneration to Post and Telegraph Department for	1 000	
	21	services rendered Rent	1,000 1,500	
	22	Repairs, &c	3,000	
	23	Special travelling-allowance to Supervisor of New	60	
	24	Business Telephone services (including installation, extensions,	60	
		maintenance, rent, and calls)	250	
	25	Temporary assistance Travelling allowances and expenses	750* 500	
	26 27	Travelling allowances and expenses Typewriters: Purchase and upkeep	50	
	<b>2</b> 8	Valuation fees	150	
	29	Contingencies, including unforeseen expenditure incidental to the other items of the vote	100	
			72,165	
			116,676	
		Less estimated credits under section 48 of the Public Revenues Act, 1910	4,000	
		TOTAL—VOTE No. 84		112,67

GOVERNMENT INSURANCE ACCOUNT

£112,676

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

### GOVERNMENT ACCIDENT INSURANCE ACCOUNT.

	1921–22.				
•	Salaries.	Salaries. Othe		Total.	
ote No. 85. – Government Accident Insurance Account	£ 		£ 11,002	£ 11,002	
TOTAL			11,002	11,002	
Number of Persons.		<b>1</b> 921– <b>22</b> .			
Chargeable on the Government Acci Account.	dent Insura	nce	£	£	
VOTE No. 85.  CHARGES FOR AND INCIDENTAL TO— Advertising, printing, and stationery A. Marryatt's defalcations (less amo Commission Commission to Officers of Departme Law-costs Provision for payments to Life Bra 24 of the Government Acciden 1908 Travelling allowances and expenses Contingencies, including unforeseer cidental to the other items of the	unt recovere unt nch under c t Insurance a expenditur	lause Act,	400 902 4,500 50 250 4,800 50		

### STATE FIRE INSURANCE ACCOUNT.

							19	21-22.	
		<del></del>		w.,	Salarie	e.	Othe	er Charges.	Total.
ote No. 8	36.—S	State Fire Insurance	·		£ 2 <b>4</b> ,			£ 56,020	£ 80,959
		TOTAL	•••		24,	939	<u> </u>	56,020	80,959
Number of Persons.	Item.	Chargeable on	the State Fire	Insura	nce Acc	Boun	t.	1921	-22.
1921–22.	<del> </del>	  VOTE No. 86.						_	
	1	SALARIES—						£	£
	-		MINISTRATIVE D	IVISION	Ι.				
		1 at £1 000 (G	eneral Manager	١		1	£ 000		
2		1 at £800 (Der	outy General Ma	i anager)	)		800		
		` •	•	,				1,800	
		Special Class-	OLERICAL DIVIS	SION.					
1		1 at £725						725	
4		Glass I—						0.50	
1		1 at £650 Class II—	• • •		• • •		•••	650	
		1 at £575	9.2				575		
2		1 at £550	• • •				550		
1		Class III—						1,125	
1		1 at £500 Class IV—	• • •		•••		•••	500	
2		2 at £450						900	
	1	Class V—					400		
3		1 at £400 2 at £380	• • • •				400 760		
J		Class VI—	• • •				100	1,160	
		5 at £350					750		
6		1 at £330					330	0.000	
		Class VII— 5 at £320				1	600	2,080	
		5 at £310	•••				550		
		3 at £290					870		
		3 at £270					810		
		5 at £250 4 at £230			1.5		250 <b>920</b>		
		6 at £215				1.	290		
		6 at £160					960		
**	}	10 at £115					150		
53		6 at £100	4.4.4				600	11,000	
			GENERAL DIVIS	SION.				11,500	
		3 at £230					690		
		2 at £206					412		
		1 at £190 3 at £184	• • •		• • •		$\frac{190}{552}$		
	-	4 at £164	***				656		
		5 at £152					760		
		5 at £140	***				700		

# Appropriations for State Fire Insurance Account.

#### STATE FIRE INSURANCE ACCOUNT—continued.

Number of Persons.	Item.			1921-	2 <b>2.</b>
	.	STATE FIRE INSURANCE ACCOUNT—contin	ued.		
1921–22.		VOTE No. 86—continued.		£	£
		VOIE No. 00—continuea.		~	_
	1	Salaries—continued.			
		GENERAL DIVISION—continued.	£		
		1 at £124	124		
	1	2 at £115	230		
	İ	6 at £100	600		
33		1 at £85	85	4,999	
104			;	*24,939	
	2 3 4 5 6 7	OTHER CHARGES FOR AND INCIDENTAL TO— Allowances to officers temporarily performing s or higher duties Board fees for unofficial members Lodging-allowances Office Premises: Land, Buildings, Alterations, tions, Repayment of Mortgages, and Incid Expenses— Auckland (on account) Hamilton Now Plymouth (on account)	Addi- lental	25 90 85 20 5,500 500	
	8	New Plymouth (on account)	•••	1,700	
	9	Palmerston North (on account) Wellington (on account)	•••	48,000	
	10	Contingencies, including unforeseen expenditure	re in-	10,000	
		cidental to the other items of the vote		100	
			ļ	56,020	
	1	TOTAL—VOTE No. 86		,	80,9

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

### STATE ADVANCES ACCOUNT.

			1921–22.			
		<del></del>	Salaries.	Othe	or Charges.	Total.
Vote No. 87.—State Advances—			£		£	£
Subdivision I.—Advances to Settlers Branch			15,479		355,300	370,779
" II.—Advances to Workers Branch		2,815		99,785	102,600	
"	111	.—Advances to Local Authorities Branch	380		104,425	104,80
		TOTAL	18,674		559,510	578,18
Number	Item.	1	DHANGES		1921–22.	
of Persons.						
1921–22.		VOTE No. 87.—STATE ADV	ANCES.			
		Subdivision No. I.—Advances to S	Settlers Brane	ch.	£	£
	1	Salaries—				
		CLASSIFICATION AND INCREASES I	INDER ACT.			
		Administrative Division				
		1 at £100 (Superintendent), (also Sec				
3		to the Treasury, Receiver, and master-General, and Registrar Ne land Consols and New Zealand Ins Stock, £1,150)  1 at £850 (Superintendent), (also W Branch, £50), (3 months)  1 at £800 (Deputy Superintendent	w Zea- scribed  orkers' 	£ 100 213		
		Workers Branch, £50)  PROFESSIONAL DIVISION		800	1,113	
		Class B—				
1		1 at £575 (also Workers Branch,	£25)	••	575	
		CLERICAL DIVISION.				
		Class II—	CO5)		4575	
1		1 at £475 (also Workers Branch, Class IV—	#20)	•••	475	•
		3 at £400	1	,200		
4		1 at £375 Class V—		375	1,575	!
		1 at £350		350	1,010	;
4		3 at £330	• • •	990		
	ļ	Class VI— 1 at £320	_	320	1,340	
4		3 at £300	•••	900		
		Class VII—	-		1,220	
		1 at £290		290		
		$2$ at £270 $\dots$ 2 at £260 $\dots$		540 520		
	i	1 at £240	•••	240		
		2 at £180	•••	360		
		2 at £165	•••	330		i
		6 at £140	•••	840		
		3 at £100		300		
24		5 at £80		400		

## Appropriations for State Advances Account.

### ${\bf STATE\ ADVANCES\ ACCOUNT--} continued.$

-22.	1921				Item.	of Persons.				
	1	tinued.	$\mathtt{CES}\_cont$	TE ADVAN	VOTE No. 87.—STAT	1921–22. VOTE No. 87.				
£	£	anch	ettlers Bra	Advances to bontinued.	Subdivision No. I.—Ac		1921–22.			
					Salaries -continued.					
		omtimued	5 Acm 40	******	CLASSIFICATION AND INC.	1				
		1								
		£		RAL DIVISION						
		$\begin{array}{c} 220 \\ 190 \end{array}$	•••	•••	1 at £220 1 at £190					
		288	•••		2 at £144					
		120	•••		1 at £120		5			
	818				m	1	÷			
		245	•	DRARY CLERK	1 at £245	1 1				
		215	•••	•••	1 at £215					
		1,456		•••	7 at £4 per week					
		195	•••	k	1 at £3 15s. per week	]	,			
		150	• • •	•••	1 at £150	1				
		104	•••		1 at £2 per week					
	2,443	78		к	1 at £1 10s. per week		13			
	2,110	uniform	rovide for	required to	Additional amount re		59			
	1,900	r wages	salaries o	ease to scale	cost-of-living increa	-				
	200	•••	•••	vances	Cadets' lodging-allows					
	15,479	[-		•						
	10,110	_								
			L TO—	AND INCIDENT	OTHER CHARGES FOR A					
		ers, and			OTHER CHARGES FOR AT Advertising, photogra	2				
	25	ers, and		raphs, books	Advertising, photogra other publications	2				
	25 300	***	newspape 	raphs, books n of	Advertising, photogra- other publications Audit fees, proportion	3				
	300	respect of	newspape  dered in re	raphs, books n of	Advertising, photogra- other publications Audit fees, proportion Fees paid for special	-				
	300 65	respect of	newspape 	raphs, books n of	Advertising, photogra- other publications Audit fees, proportion Fees paid for special securities	3 4				
	300	respect of	newspape  dered in re	raphs, books n of al services re	Advertising, photogra- other publications Audit fees, proportion Fees paid for special securities Interest on loan	3 4 5				
	300 65	respect of	newspape  dered in re  and doubt	raphs, books n of al services re n of securities	Advertising, photogra- other publications Audit fees, proportion Fees paid for special securities Interest on loan Losses on realization	3 4				
	300 65	respect of	newspape  dered in re  and doubt	raphs, books n of al services re n of securities	Advertising, photogra- other publications Audit fees, proportion Fees paid for special securities Interest on loan	3 4 5				
	300 65 345,500 640	respect oftful secu-	newspape  dered in re  and doubt ended 31st	raphs, books n of al services re n of securities n for the year	Advertising, photogra- other publications Audit fees, proportion Fees paid for special securities Interest on loan Losses on realization rities written down	3 4 5				
	300 65 345,500 640 800	respect oftful secu-	newspape  dered in re  and doubt ended 31st	raphs, books n of al services re n of securities n for the year	Advertising, photogra other publications Audit fees, proportion Fees paid for special securities Interest on loan Losses on realization rities written down 1921 Office fittings and restationery)	3 4 5 6				
	300 65 345,500 640	respect of tful secu- tful secu- t March, nting and	newspape dered in re and doubt ended 31st iding prin	raphs, books n of al services re n of securities n for the year equisites (inc	Advertising, photogra other publications Audit fees, proportion Fees paid for special securities Interest on loan Losses on realization rities written down 1921 Office fittings and restationery) Office maintenance	3 4 5 6				
	300 65 345,500 640 800 200	respect of tful secu- tt March, nting and ment for	newspape dered in re and doubt ended 31st iding prin	raphs, books n of al services re n of securities n for the year equisites (inc	Advertising, photogra other publications Audit fees, proportion Fees paid for special securities Interest on loan Losses on realization rities written down 1921 Office fittings and restationery) Office maintenance Payment to Post an	3 4 5 6				
	300 65 345,500 640 800	respect of tful secu- tful secu- t March, nting and	dered in re and doubt ended 31st iding prin Departm	raphs, books n of n of services re n of securities n for the year equisites (inc	Advertising, photogra other publications Audit fees, proportion Fees paid for special securities Interest on loan Losses on realization rities written down 1921 Office fittings and restationery) Office maintenance Payment to Post an services of officers	3 4 5 6				
	300 65 345,500 640 800 200	respect of tful secu- tt March, nting and ment for	dered in re and doubt ended 31st iding prin Departm	raphs, books n of n of services re n of securities n for the year equisites (inc	Advertising, photogra other publications Audit fees, proportion Fees paid for special securities Interest on loan Losses on realization rities written down 1921 Office fittings and restationery) Office maintenance Payment to Post an services of officers Payment to Valuation	3 4 5 6				
	300 65 345,500 640 800 200 700	respect of tful secu- tt March, nting and ment for	dered in re and doubt ended 31st iding prin Departm	raphs, books n of n of services re n of securities n for the year equisites (inc	Advertising, photogra other publications Audit fees, proportion Fees paid for special securities Interest on loan Losses on realization rities written down 1921 Office fittings and restationery) Office maintenance Payment to Post an services of officers	3 4 5 6				
	300 65 345,500 640 800 200 700 650 4,000 40	respect of tful secu- tt March, nting and ment for	dered in re and doubt ended 31st ding prin Departm	raphs, books n of n of securities n of securities n for the year equisites (inc	Advertising, photogra other publications Audit fees, proportion Fees paid for special securities Interest on loan Losses on realization rities written down 1921 Office fittings and restationery) Office maintenance Payment to Post an services of officers Payment to Valuation Agency work Valuation fees Petty general exper	3 4 5 6 7 8 9 10				
	300 65 345,500 640 800 200 700 650 4,000 40 800	respect of tful secu- tf March, nting and ment for	dered in re and doubt ended 31st ding prin Departm for—	raphs, books n of n of securities n of securities n for the year equisites (inc	Advertising, photogra other publications Audit fees, proportion Fees paid for special securities Interest on loan Losses on realization rities written down 1921 Office fittings and restationery) Office maintenance Payment to Post an services of officers Payment to Valuation Agency work Valuation fees Petty general exper	3 4 5 6 7 8 9 10 11				
	300 65 345,500 640 800 200 700 650 4,000 40 800 750	respect of tful secu- tf March, nting and ment for	dered in re and doubt ended 31st ding prin Departm for—	raphs, books n of n of securities n of securities n for the year equisites (inc and Telegrap on Departmen enses and rent of be	Advertising, photogra other publications Audit fees, proportion Fees paid for special securities Interest on loan Losses on realization rities written down 1921 Office fittings and restationery) Office maintenance Payment to Post an services of officers Payment to Valuation Agency work Valuation fees Petty general exper Postage, telegrams, an Refund valuation fees	3 4 5 6 7 8 9 10 11 12 13 14				
	300 65 345,500 640 800 200 700 650 4,000 40 800	respect of tful secu- tful se	dered in re and doubt ended 31st ding prin Departm for— entertaine	raphs, books n of n of n of securities n for the year equisites (inc and Telegrap on Departmen enses and rent of bo	Advertising, photogra other publications Audit fees, proportion Fees paid for special securities Interest on loan Losses on realization rities written down 1921 Office fittings and restationery) Office maintenance Payment to Post an services of officers Payment to Valuation Agency work Valuation fees Petty general exper Postage, telegrams, an Refund valuation fees Solicitor's costs and of	3 4 5 6 7 8 9 10 11 12 13 14 15				
	300 65 345,500 640 800 200 700 650 4,000 40 800 750 20	respect of tful secu- tful se	dered in re and doubt ended 31st ding prin Departm for— entertaine	raphs, books n of n of n of securities n for the year equisites (inc and Telegrap on Departmen enses and rent of bo s on loans no Court costs including inst	Advertising, photogra other publications Audit fees, proportion Fees paid for special securities Interest on loan Losses on realization rities written down 1921 Office fittings and restationery) Office maintenance Payment to Post an services of officers Payment to Valuation Agency work Valuation fees Petty general exper Postage, telegrams, an Refund valuation fees Solicitor's costs and Officers costs and Officers Telephone services (in	3 4 5 6 7 8 9 10 11 12 13 14				
	300 65 345,500 640 800 200 700 4,000 40 800 750 20	respect of tful secu- tful se	dered in re and doubt ended 31st ding prin Departm for— entertaine	raphs, books n of n of n of securities n for the year equisites (inc and Telegrap on Departmen enses and rent of bo s on loans no Court costs including inst, and calls)	Advertising, photogra other publications Audit fees, proportion Fees paid for special securities Interest on loan Losses on realization rities written down 1921 Office fittings and restationery) Office maintenance Payment to Post an services of officers Payment to Valuation Agency work Valuation fees Petty general exper Postage, telegrams, an Refund valuation fees Solicitor's costs and of Telephone services (in maintenance, rent,	3 4 5 6 7 8 9 10 11 12 13 14 15 16				
	300 65 345,500 640 800 200 700 650 4,000 40 800 750 20	respect of tful secu- tful se	dered in re dered in re and doubt ended 31st ding prin Departm for— entertaine llation, ext	raphs, books n of n of n of securities n for the year equisites (inc and Telegrap on Departmen enses and rent of bo s on loans no Court costs including inst , and calls)	Advertising, photogra other publications Audit fees, proportion Fees paid for special securities Interest on loan Losses on realization rities written down 1921 Office fittings and restationery) Office maintenance Payment to Post an services of officers Payment to Valuation Agency work Valuation fees Petty general exper Postage, telegrams, an Refund valuation fees Solicitor's costs and Office the phone services (in maintenance, rent, Temporary assistance	3 4 5 6 7 8 9 10 11 12 13 14 15 16				
	300 65 345,500 640 800 200 700 650 4,000 40 800 750 20 60 300	respect of tful secu- tful secu- tful secu- tful secu- tful secu- tful secu- tful secu- tful secu- tful secu- tful secu- tful secu- tensions and tensions, provide	dered in re dered in re and doubt ended 31st ding prin Departm for— entertaine entertaine quired to	raphs, books n of n of n of services re n of securities n for the year equisites (inc and Telegrap on Departmen enses and rent of be se on loans no Court costs including inst n, and calls) se ce (amount in	Advertising, photogra other publications Audit fees, proportion Fees paid for special securities Interest on loan Losses on realization rities written down 1921 Office fittings and restationery) Office maintenance Payment to Post an services of officers Payment to Valuation Agency work Valuation fees Petty general exper Postage, telegrams, an Refund valuation fees Solicitor's costs and (Telephone services (in maintenance, rent, Temporary assistance	3 4 5 6 7 8 9 10 11 12 13 14 15 16				
	300 65 345,500 640 800 200 700 650 4,000 40 800 750 20 60 300	respect of tful secu- tful secu- tful secu- tful secu- tful secu- tful secu- tful secu- tful secu- tful secu- tful secu- tful secu- tensions and tensions, provide	dered in re dered in re and doubt ended 31st ading prin a Departm for— entertaine entertaine quired to se to scale	raphs, books n of n of n of services re n of securities n for the year equisites (inc and Telegrap en Departmen enses and rent of be so n loans no Court costs including inst n, and calls) te (amount in of-living incre	Advertising, photogra other publications Audit fees, proportion Fees paid for special securities Interest on loan Losses on realization rities written down 1921 Office fittings and restationery) Office maintenance Payment to Post an services of officers Payment to Valuation Agency work Valuation fees Petty general exper Postage, telegrams, an Refund valuation fees Solicitor's costs and of Telephone services (in maintenance, rent, Temporary assistance for uniform cost-of or wages)	3 4 5 6 7 8 9 10 11 12 13 14 15 16				
	300 65 345,500 640 800 200 700 650 4,000 40 800 750 20 60 300	respect of tful secuti	dered in re dered in re and doubt ended 31st ding prin Departm for— entertaine llation, ext quired to se to scale	raphs, books n of n of n of services re n of securities n for the year equisites (inc and Telegrap on Departmen enses and rent of be so n loans no Court costs including inst n, and calls) se (amount no of-living incre s and expens	Advertising, photogra other publications Audit fees, proportion Fees paid for special securities Interest on loan Losses on realization rities written down 1921 Office fittings and restationery) Office maintenance Payment to Post an services of officers Payment to Valuation Agency work Valuation fees Petty general exper Postage, telegrams, an Refund valuation fees Solicitor's costs and officers costs and officers Telephone services (in maintenance, rent, Temporary assistance for uniform cost-of or wages) Travelling allowances	3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18				
	300 65 345,500 640 800 200 700 4,000 40 800 750 20 60 300	respect of tful secu- tful secu- tful secu- tful secu- tful secu- tful secu- tful secu- tful secu- tful secu- tful secu- tensions and provide e salaries	dered in re dered in re and doubt ended 31st ding prin Departm for— entertaine llation, ext quired to se to scale	raphs, books n of n of n of securities n for the year equisites (inc and Telegrap on Departmen enses and rent of bos on loans no Court costs including inst , and calls) e ce (amount in of-living incres and expensions ding machines	Advertising, photogra other publications Audit fees, proportion Fees paid for special securities Interest on loan Losses on realization rities written down 1921 Office fittings and restationery) Office maintenance Payment to Post an services of officers Payment to Valuation Agency work Valuation fees Petty general exper Postage, telegrams, an Refund valuation fees Solicitor's costs and Officers costs and Officers Temporary assistance for uniform cost-of or wages) Travelling allowances Typewriters and addeservations	3 4 5 6 7 8 9 10 11 12 13 14 15 16				
	300 65 345,500 640 800 200 700 650 4,000 40 800 750 20 60 300	respect of tful secuti	dered in re dered in re and doubt ended 31st ding prin Departm for— entertaine llation, ext quired to se to scale	raphs, books n of n of n of services re n of securities n for the year equisites (inc and Telegrap on Departmen enses and rent of be so n loans no Court costs including inst n, and calls) se (amount no of-living incre s and expens	Advertising, photogra other publications Audit fees, proportion Fees paid for special securities Interest on loan Losses on realization rities written down 1921 Office fittings and restationery) Office maintenance Payment to Post an services of officers Payment to Valuation Agency work Valuation fees Petty general exper Postage, telegrams, an Refund valuation fees Solicitor's costs and officers costs and officers Telephone services (in maintenance, rent, Temporary assistance for uniform cost-of or wages) Travelling allowances	3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18				

# Appropriations for State Advances Account.

### STATE ADVANCES ACCOUNT—continued.

Number of Persons.						1921-	2 <b>2.</b>	
1921–22.		VOTE No. 87.—STATE	ADVANCE	ES—contir	nucd.	£	£	
		Subdivision No. II.—Adve	ances to W	orkers Br	anch.			
	21	Salaries—						
		Administrati	VE DIVISIO	N.				
		1 at £50 (also Settlers Br	ranch, £800	)		50		
		Professiona	L Division					
		Class C— 1 at £25 (also Settlers	Branch, £5	75)		25		
		Clerical	Division.					
		Class III— 1 at £25 (also Settlers	Branch, £4	75)		25		
		Class VI—						
1		1 at £300	•••	•••		300	•	
		Class VII—			£			
		2 at £240	•••	•••	$\begin{array}{c c} 480 \\ 220 \end{array}$			
		1 at £220 1 at £200	•••	•••	200	. [		
	1 1	1 at £165	•••		165			
	1 1	4 at £140	•••	•••	560	ļ		
10		1 at £95	•••	•••	95	1,720		
		GENERAL	Division.			1,720		
		1 at £115	•••		115	)		
2		1 at £80	•••	•••	80	105		
13	-	Additional amount requ	ired to pro	vide for	uniform	195		
	-	cost-of-living increase Cadets' lodging-allowance	to scale sa	daries or	wages	450 50		
	,	0			-	2,815		
					_			
	22	OTHER CHARGES FOR AND Audit expenses, proportion		то—		150		
	23 24	Interest on loans Losses on realization	 of securitie	s and d	loubtful	97,000		
•		securities written dow March, 1921				725		
	25	Office fittings and require stationery)	sites (includ	ing printi	ng and	200		
	26	Payment to Post and	Telegraph	Departm	ent for			
		services of officers Payment to Valuation De	 epartment f	or <u>—</u>	•••	400		
	27	Agency work	- [	•••		350		
	28	Valuation fees	•••	•••		700		
	29	Petty general expenses	3	•••	•••	10 150		
	1 00	Th. 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	ond of her-	.~				
	30 31	Postage, telegrams, and a Refund of valuation fees	rent of boxe	s t entertai	ned	100		

## Appropriations for State Advances Account.

#### STATE ADVANCES ACCOUNT—continued.

Number of Persons.			<b>19</b> 21–2 <b>2</b> .	
	_	VOTE No. 87.—STATE ADVANCES—continued.		
1921–22.		Subdivision No. III.—Advances to Local Authorities Branch.	£	£
	32	Salaries—  Clerical Division.  Class V—		
1		1 at £330	330	
		Additional amount required to provide for uniform cost-of-living increase to scale salaries or wages	50	
			380	
	33 34 35	OTHER CHARGES FOR AND INCIDENTAL TO— Audit expenses, proportion of Interest on loan Office fittings and requisites (including printing and stationery)	50 104,000 125	
	36   37	Payment to Post and Telegraph Department for services of officers  Postages, telegrams, and rent of boxes	100 150	
		Total—Subdivision No. III	104,425	104,80
		TOTAL-VOTE No. 87		578,18

By Authority: MARCUS F. MARKS, Government Printer, Wellington.—1921.